BT

JIS MAS 403 / B6339
PRECISION TOOL HOLDERS SYSTEM

BT JI W R

CNC TOOL SYSTEMS




S EEVALER D

60°
L3 S
» (46
L4 d°
5 3 3 Tj 93 ol
Y || Y
a || | > |
L2 NN
) L1 >
D d4 | d5 2] 3] L a T
i ) =
AR/ BS Model | o | d1 | d2 | d3 | o | ypo | 96 | L1 | 05| vin | Min | | +0.4 6H
BT30 46 |31.75]56.14 | 38 | 12.5 | 16.1 | 8 | 70.4 | 48.4 | 34 | 24 | 20 | 2 | M12*L.75P
BT40 63 |44.45|75.679| 53 | 17 | 16.1 | 10 | 92.4 | 654 | 70 | 30 | 25 | 2 | M16*2.0P
BT50 100 | 69.85]119.02] 83 | 25 | 25.7 | 15 |139.8|101.8] 90 | 45 | 35 | 3 | M24*3.0P

Y.

OfEEREE: <AT3

OEFHME: JIS-SCM415 or JIS SNCM220 or JIS SNCM439

OFEE: HRC56° ~58° ElixiAE >0.8mm

OHEIE: <0.8um

OFRMBREE: Ra<0.5um

O7NMAFTTBIMEE: @iF V BEZ iRk 4§ (DIN-69871-AD+B)

O ER. EOC, FMA. FMB. MLC, MLD. MLT. SCK. SFC. SKS. SLN (DIN. FID, JIS) . SOM, TG E&&: @I IMAEdiitik
#4& (DIN-69871-AD)

OTIABEFIIT HEEIFE G6.3, FAIBIMEEREBHTES G2.5

O7{FH#ISE: JIS MAS 403 &2 B6339

Features:

© Taper tolerance<AT3

© Basic Material:JIS-SCM415

© Hardness>HRC 56° Carbon depth>0.8mm
© Roundness<0.8um

© Surface roughness:Ra<0.5um

O Ifitis suitable for center coolant standard(DIN-69871-AD or B),it can be ordered

© ER. EOC. FMA. FMB, MLC, MLD, MLT, SCK. SFC. SKS. SLN(DIN. FID. JIS). SOM. TG Are in compliance
with:Water through the chuck body center type(DIN-69871-AD)

© The shank has pre-balance at G6.3,and can provide percision balance at G2.5,made by request

© Shank body standard:JIS MAS 403 and B6339

b

\¥
Y

S RE

S71001 OND




BT30-PHC &£ BT30-PHC HYDRAULIC TOOL HOLDER

FI1G. 1 C
D
BT.NO %—/ g C1
| I E— Jmu = 58
L4
L3 L2
L1
L
C
FIG. 2 o1
D
BT.NO I N /
A7
B
L4
L2
L1
L
1= BRAENRE C | RMENRE C1 B2
BS Model L L1|L2| L3 |L4| D |D1|D2/D3 d Max.inserti:)ndepth Mimnsertiondepth G FIG KGS
BT30-PHC03-60 108.4( 60 (38| 22 (28| 46 [20(23(45| 3 * 18 * 1| 0.75
BT30-PHC3.175-60 |108.4| 60 | 38 | 22 (28 | 46 [20|23(45|3.175 * 18 * 1| 0.75
BT30-PHC04-60 108.4| 60 (38| 22 (28| 46 |21|24|45( 4 * 24 * 1| 0.75
BT30-PHC05-60 108.4| 60 (38| 22 [ 28| 46 |22|25|45| 5 * 26 * 1| 0.75
BT30-PHC06-70 118.4| 70 (48 | 22 (28| 46 | 23|26(45 6 37 27 M5*0.8P | 1 0.8
BT30-PHCO08-70 118.4| 70 |48 | 22 | 28| 46 |25(28|45 8 37 27 M6*1.0P | 1 | 0.85
BT30-PHC10-75 123.4| 75 (53| 22 |36 | 46 |27|30(45( 10 41 31 M8*1.0P | 1 | 0.85
BT30-PHC12-75 123.4| 75 (53| 22 |36 | 46 |29|32|45( 12 46 36 M10*1.0P| 1 | 0.85
BT30-PHC14-85 133.4| 85 (63| 22 (44| 46 |31|34|45( 14 46 36 M10*1.0P| 1 | 0.95
BT30-PHC16-90 138.4| 90 | 68| 22 |48 | 46 (35(38|45( 16 52 39 M12*1.0P| 1 | 1.05
BT30-PHC18-90 138.4| 90 (68 | 22 |48 | 46 |37|40|45( 18 52 39 M12*1.0P| 1 1.1
BT30-PHC20-90 138.4| 90 (68| 22 |48 | 46 |39(|42|45( 20 52 41 M16*1.0P| 1 | 1.15
BT30-PHC25-105 |153.4|105|83 | 22 |44 | 46 |52|55|63| 25 80 47 M16*1.0P| 2 | 1.65
BT30-PHC32-105 |153.4|105|83| 22 |39 46 |57|60/68| 32 80 51 M16*1.0P| 2 1.8
BT30 - PHC - 03 - 60
L» L1 KE | Length (L1)

71 #f H & | Diameter
> 11 8 X S | Holder type
> 3 W2 R ] Taper size

Fos [



BIETITR RS
BT30-PHC HYDRAULIC TOOL HOLDER

iz

e

=

L3

D3

L4

L1

#E Model L |11 |L2|13|L4a]|D|D1|D2|D3|d M‘?‘;’ﬁﬁﬁ‘lo’f’fpfh ﬁﬂi{;ﬁ'ﬁﬂ G KGE;
BT30-PHC05-101.6 | 150 |101.6|79.6| 22 |54.5| 46 | 22 |25(45| 5 * 26 *
BT30-PHC06-101.6 | 150 |101.6|79.6| 22 |54.5| 46 |22.2|26(45| 6 37 27 M5%0.8P | 2
BT30-PHC08-101.6 | 150 |101.6|79.6| 22 |54.5| 46 |22.2|26(45| 8 37 27 M6*1.0P | 2
BT30-PHC10-101.6 | 150 |101.6|79.6| 22 |55.7| 46 | 26 |30|45 |10 a1 31 M8*1.0P | 2
BT30-PHC12-101.6 | 150 |101.6|79.6| 22 |56.2| 46 | 26 |32]45|12 46 36 M10*1.0P| 2
BT30-PHC14-101.6 | 150 |101.6|79.6| 22 | 57 | 46 | 30 36|45 |14 46 36 M10*1.0P| 2
BT30-PHC16-101.6 | 150 |101.6|79.6| 22 | 57 | 46 | 32 |38|45|16 49 39 M12*1.0P| 2
BT30-PHC18-101.6 | 150 |101.6|79.6| 22 | 58 | 46 | 34 |40|45|18 49 39 M12*1.0P| 2
BT30-PHC20-101.6 | 150 |101.6|79.6| 22 |59.5| 46 | 36 |42|45 |20 51 41 M16*1.0P| 2

BT30 - PHC - 05 - 101.6

2
<

e

%
=
7
A

0
=
(o]
-
o
o
-
(7]

S Fo4

Length (L1)
Diameter
=@ Holder type
={@ Taper size




BT40-PHC &ETIA BT40-PHC HYDRAULIC TOOL HOLDER

FIG. 1

#E Model L |t1|2|{L3|4| b |p1|D2|D3| d M‘i’ffﬁﬁ‘ﬁﬁp& H:ﬁﬂi{t‘m’?‘n’ii: 6 |FIG| 45
BT40-PHCO03-75 |140.4| 75 | 48 | 27 | 26 | 63 | 20 |23[50| 3 * 18 * 1.28
BT40-PHC03-90 |155.4| 90 | 63 | 27 | 29 | 63 | 20 |23]50] 3 * 18 * 1.38
BT40-PHC3.175-75|140.4| 75 | 48 | 27 | 26 | 63 | 20 |23|50 [3.175 * 18 * 1.28
BT40-PHC3.175-90|155.4| 90 | 63 | 27 | 29 | 63 | 20 |23]50 |3.175 * 18 * 1.38
BT40-PHC04-75 |140.4| 75 | 48 | 27 | 26 | 63 | 21 |24|50| 4 * 24 * 1.28

* 24 *
* 26 *
* 26 *

BT40-PHC04-90 |155.4(90 |63 |27 |29 |63 | 21 |24|50| 4

BT40-PHC05-75 (140.4| 75|48 | 27 |26 | 63 | 22 [25|50| 5

BT40-PHC05-90 |155.4|90 63 |27 |29 | 63 | 22 |25|50| 5

BT40-PHC06-75 (140.4| 75|48 | 27 |26 | 63 | 23 [26|50| 6 37 27 M5*0.8P
6
8
8

BT40-PHC06-90 (155.4]|90 | 63 | 27 | 29 | 63 | 23 (26|50 37 27 M5*0.8P

1

1

1

1

1

1

1

1

1

1
BT40-PHC08-75 (140.4| 75 |48 | 27 |26 | 63 | 25 (28|50 37 27 M6*1.0P | 1 | 1.36
BT40-PHC08-90 (155.4|90 | 63 | 27 |30 | 63 | 25 (28|50 37 27 M6*1.0P | 1 | 1.46
BT40-PHC10-75 (140.4| 75|48 [ 27 |26 | 63 | 27 (30|50 | 10 41 31 M8*1.0P | 1 | 1.43
BT40-PHC10-90 (155.4]|90 |63 |27 (35|63 | 27 (30|50 | 10 41 31 M8*1.0P | 1 | 1.57
BT40-PHC12-75 (140.4|75 |48 [ 27 |26 | 63 | 29 (32|50 | 12 46 36 M10*1.0P| 1 | 1.46
BT40-PHC12-90 (155.4|90 |63 |27 (40| 63 | 29 (32|50 | 12 46 36 M10*1.0P| 1 | 1.62
BT40-PHC14-75 |140.4(75 |48 | 27 (26 ( 63 | 31 |[34|50 | 14 46 36 M10*1.0P| 1 | 1.48
BT40-PHC14-90 |155.4(90 |63 | 27 |40 | 63 | 31 |34|50| 14 46 36 M10*1.0P| 1 | 1.68
BT40-PHC16-75 [140.4(75 |48 | 27 |26 ( 63 | 35 |38|50 | 16 75 39 M12*1.0P| 1 | 1.51
BT40-PHC16-90 |155.4(90 |63 | 27 |45 | 63 | 35 [38|50 | 16 75 39 M12*1.0P| 1 1.7
BT40-PHC18-75 [140.4|75 |48 | 27 |26 | 63 | 37 [40|50 | 18 75 39 M12*1.0P| 1 | 1.51
BT40-PHC18-90 |155.4(90 |63 | 27 |46 | 63 | 37 |40|50 | 18 75 39 M12*1.0P| 1 1.7 //
BT40-PHC20-75 [140.4|75 |48 | 27 |26 | 63 [ 39 (42|50 | 20 80 41 M16*1.0P| 1 | 1.52 ’t”/
BT40-PHC20-90 |155.4|90 |63 | 27 (47 | 63 | 39 (42|50 | 20 80 41 M16*1.0P| 1 | 1.75 @'
BT40-PHC25-105 |170.4|{105| 78 | 27 [ 50 | 63 | 52 |55[63 [ 25 80 47 M16*1.0P| 1 | 2.05 o
BT40-PHC32-105 |170.4|105| 78 | 27 (48 | 63 | 60 |63 73| 32 90 51 M16*1.0P| 2 | 2.34 i %
BT40-PHC40-120 |185.4(120( 93 | 27 63 40 90 M16*1.0P| 2 3 =
BT40-PHC42-120 |185.4(120( 93 | 27 63 42 90 M16*1.0P| 2 3 7 '8

A &

BT40 - PHC - 03 - 75

Length (L1

> 8 X S | Holder type
»(& 8 # R | Taper size

Fos [



BIETITR RS
BT40-PHC HYDRAULIC TOOL HOLDER

BT. NO

[}

0 | N 2 o em el R
— L
L
L3 | L2
L1
L
S Model L |L1|L2/3|L4| D |D1|D2|D3|d M‘jf("fﬁft‘lfifh ﬁﬁﬁﬁﬁﬁ%ﬂ G | EEKGS
BT40-PHC05-140 |205.4|140(113 27 |43 | 63 |22 |25 | 45 | 5 * 26 * 2.1
BT40-PHC06-140 |205.4|140(113| 27 |43 | 63 | 23 | 26 | 45 | 6 37 27 M5%0.8P | 2.1
BT40-PHC08-140 |205.4|140|113| 27 |44 | 63 | 25 | 28 | 45 | 8 37 27 M6*L.0P | 2.1
BT40-PHC10-140 |205.4 140|113| 27 | 44 | 63 | 27 | 30 | 45 |10 41 31 M8*1.0P | 2.1
BT40-PHC12-140 |205.4|140(113| 27 | 44 | 63 | 29 | 32 | 45 |12 46 36 M10*1.0P| 2.1
BT40-PHC14-140 |205.4140|113| 27 | 44 | 63 | 31 | 34 | 45 |14 46 36 M10*1.0P| 2.2
BT40-PHC16-140 |205.4140|113| 27 | 47 | 63 | 35 | 38 | 45 |16 52 42 M12*1.0P| 2.2
BT40-PHC18-140 |205.4|140(113) 27 |47 | 63 | 37 | 40 | 45 |18 52 42 M12*1.0P, 2.2
BT40-PHC20-140 |205.4|140|113| 27 | 47 | 63 | 39 | 42 | 45 |20 52 42 M16*1.0P 2.2
BT40-PHC25-140 |205.4|140|113 27 | 47 | 63 | 52 | 55 | 57 |25 57 47 M16*1.0P| 2.8
BT40-PHC32-140 |205.4|140|113 27 | 47 | 63 | 60 | 63 | 62 |32 61 51 M16*L.0OP| 2.9

BT40 - PHC - 05 - 140

2

@

%
=
7
A

0
=
(o]
-
o
o
-
(7]

—r—> Length (L1)
Diameter
=@ Holder type
={@ Taper size




BT40-JPHC &IE 7] BT40-JPHC HYDRAULIC TOOL HOLDER

o

C1

BE Model L |t |12|13|wa| D |D1|p2|p3|d | BAEAREC |RMEARECL) ¢ | m@Kes
BT40-JPHC05-150 | 215.4 | 150 | 123 | 27 [103] 63 | 21 [25]50] 5 * 26 * 2.1
BT40-JPHC05-200 | 265.4 | 200 | 173 | 27 [153| 63 | 21 [25]50] 5 * 26 * 2.2
BT40-JPHC05-250 | 315.4 | 250 | 223 | 27 |203 63 | 21 [25]50] 5 * 26 * 2.3
BT40-JPHC06-150 | 215.4 | 150 | 123 | 27 [103| 63 [ 22 [26]50] 6 37 27 M5%0.8P | 2.1
BT40-JPHC06-200 | 265.4 | 200 | 173 | 27 [153| 63 | 22 [26]50] 6 37 27 M5%0.8P | 2.2
BT40-JPHC06-250 | 315.4 | 250 | 223 | 27 [203| 63 [ 22 [26]50] 6 37 27 M5*0.8P | 2.3
BT40-JPHC08-150 | 215.4 | 150 | 123 | 27 |104] 63 | 24 [28]50[ 8 37 27 M6*1.0P | 2.1
BT40-JPHC08-200 | 265.4 | 200 | 173 | 27 [154| 63 | 24 [28]50] 8 37 27 M6*1.0P | 2.2
BT40-JPHC08-250 | 315.4 | 250 | 223 | 27 |204] 63 | 24 [28]50] 8 37 27 M6*1.0P | 2.3
BT40-JPHC10-150 | 215.4 | 150 | 123 | 27 |104| 63 | 26 [30] 50 |10 41 31 M8*1.0P | 2.1
BT40-JPHC10-200 | 265.4 | 200 | 173 | 27 [154] 63 | 26 [30] 5010 41 31 M8*1.0P | 22
BT40-JPHC10-250 | 315.4 | 250 |223 | 27 [204] 63 | 26 [30] 5010 a1 31 M8*L.OP | 2.3
BT40-JPHC12-150 | 215.4 | 150 | 123 | 27 [105] 63 | 28 [32]50 |12 46 36 M10*1.0P| 2.1
BT40-JPHC12-200 | 265.4 | 200 | 173 | 27 [155| 63 | 28 [32]50 |12 46 36 M10*1.0P| 2.2
BT40-JPHC12-250 | 315.4 | 250 | 223 | 27 [204| 63 | 28 [32]50 |12 46 36 M10*1.0P| 2.3
BT40-JPHC14-150 | 215.4 | 150 | 123 | 27 [105| 63 | 30 |34 50 |14 46 36 M10*1.0P| 2.1
BT40-JPHC14-200 | 265.4 | 200 | 173 | 27 [155] 63 | 30 [34]50 [14 46 36 M10*1.0P| 2.2
BT40-JPHC14-250 | 315.4 | 250 |223 | 27 [204] 63 | 30 [34]50 |14 46 36 M10*1.0P| 2.3
BT40-JPHC16-150 | 215.4 | 150 | 123 | 27 [106| 63 | 34 [38]50[16 49 39 M12*1.0P| 2.2
BT40-JPHC16-200 | 265.4 | 200 | 173 | 27 |156| 63 | 34 [38]50 |16 49 39 M12*1.0P| 2.3
BT40-JPHC16-250 | 315.4 | 250 |223 | 27 [206| 63 | 34 [38]50 |16 49 39 M12*1.0P| 2.4
BT40-JPHC18-150 | 215.4 | 150 | 123 | 27 |107| 63 | 36 [40|50 |18 49 39 M12*1.0P| 2.2
BT40-JPHC18-200 | 265.4 | 200 | 173 | 27 [157 63 | 36 [40]50 |18 49 39 M12*1.0p| 2.3
BT40-JPHC18-250 | 315.4 | 250 |223 | 27 [207] 63 | 36 [40]50 |18 49 39 M12*1.0P| 2.4
BT40-JPHC20-150 | 215.4 | 150 | 123 | 27 |108| 63 | 38 [42]50]20 51 41 M16*1.0p| 2.3
BT40-JPHC20-200 | 265.4 | 200 |173 | 27 |158| 63 | 38 [42]5020 51 a1 M16*1.0P| 2.4
BT40-JPHC20-250 | 315.4 | 250 | 223 | 27 [208| 63 | 38 [42{50 |20 51 a1 M16*1.0P| 2.5

BT40 - JPHC - 05 - 150

Length (L1)
Diameter
=@ Holder type
=@] Taper size




SIETIWMRT
BT40-PHC HYDRAULIC TOOL HOLDER

C
C1
D
o %
4
e L s
L3 L2
L1
L
= BRAENRE C | RMENZRE C1
BS Model L L1 L2 /13 D D1 D2 d Max.insertit')ndepth Mimnserti:)ndepth G E& KGS
BT40-PHC20-32.5 97.9 | 32,5 |5.5(27 | 63 | 34| 49.5| 20 51 41 M16*1.0P 0.7

BT40 - PHC - 20 - 32.5

L@ e
Diameter

> 1 8 X S | Holder type

> M R ) Tapersize




BT50-PHC &E7IA BT50-PHC HYDRAULIC TOOL HOLDER

D
I

I

C1

: ST 1r9e
o]
\ L4
L3 L2
L1
L

BE Model L |t1|2|3 |4l p|p1|D2| D3 |d Mﬁ’fjﬁﬁ‘ﬁ‘i& Hjﬁn/'lrfsﬁe{t‘ﬁ’:{'g: G KG%
BT50-PHC05-90 [191.8|90 |52 | 38 |32 [100| 22 | 25 | 49.5 | 5 * 26 * 4.2
BT50-PHC05-120 |221.8(120|82 | 38 |44 [100| 22 | 25 | 49.5 | 5 * 26 * 4.5
BT50-PHC06-90 [191.890 |52 | 38 |32 [100{ 23 | 26 | 49.5 | 6 37 27 M5*0.8P | 4.2
BT50-PHC06-120 |221.8(120| 82 | 38 |44 [100| 23 | 26 | 49.5 | 6 37 27 M5%0.8P | 4.5
BT50-PHC08-90 [191.8|90 |52 | 38 |32 [100( 25 | 28 |49.5 | 8 37 27 M6*1.0P | 4.2
BT50-PHC08-120 |221.8(120|82 | 38 |44 |100| 25 | 28 |49.5 | 8 37 27 M6*L.OP | 4.5
BT50-PHC10-90 [191.890 | 52 | 38 | 32 [100| 27 | 30 | 49.5 |10 41 31 M8*LOP | 4.2
BT50-PHC10-120 |221.8|120 82 | 38 | 44 [100| 27 | 30 | 49.5 10 41 31 M8*1.0P | 4.5
BT50-PHC12-90 [191.8|90 |52 |38 |32 [100( 29 | 32 |49.5 |12 46 36 M10*1.0P | 4.3
BT50-PHC12-120 |221.8{120|82 | 38 |44 |100 29 | 32 | 49.5 [12 46 36 M10*1.0P | 4.5
BT50-PHC14-90 [191.8|90 |52 | 38 32 (100 31 | 34 | 49.5 14 46 36 M10*1.0P | 4.3
BT50-PHC14-120 |221.8(120| 82 | 38 |44 [100| 31 | 34 | 49.5 14 46 36 M10*1.0P | 4.6
BT50-PHC16-90 [191.8|90 |52 | 38 | 32 (100 35 | 38 | 49.5 |16 75 39 M12*1.0P | 4.3
BT50-PHC16-120 |221.8|120 82 | 38 | 48 [100| 35 | 38 | 49.5 |16 75 39 M12*1.0P | 4.6
BT50-PHC18-90 |191.8|90 |52 | 38 |32 [100| 37 | 40 | 49.5 |18 75 39 M12*1.0P | 4.4
BT50-PHC18-120 |221.8120|82 | 38 | 48 |100| 37 | 40 | 49.5 |18 75 39 M12*1.0P | 4.6
BT50-PHC20-90 |191.8 90 |52 | 38 |32 [100( 39 | 42 | 49.5 |20 75 a1 M16*1.0P | 4.4
BT50-PHC20-120 |221.8|120 82 | 38 | 48 [100| 39 | 42 | 49.5 |20 75 41 M16*1.0P | 4.7
BT50-PHC25-120 |221.8|120| 82 | 38 |48 [100| 53 | 57 | 63 |25 80 47 M16*1.0P | 4.9
BT50-PHC32-120 |221.8{120|82 | 38 |48 |100|58 | 62 | 70 (32 90 51 M16*1.0P | 5.2
BT50-PHC40-120 |221.8{120|82 38| |100 40 90 61 M16*1.0P | 6
BT50-PHC42-120 |221.8|120{82(38| |[100 42 90 61 M16*1.0P | 6
BT50-PHC50-120 |221.8{120|82 38| |100 50 90 61 M16*1.0P | 7

BT50 - PHC - 05 - 90

Length (L1)
Diameter
=@) Holder type
=@) Taper size

Fog [



BIETITR RS
BT50-PHC HYDRAULIC TOOL HOLDER

D c
BT. NO o o
| SNE
|
\7 L4
L3 L2
L1
L

#E Model L |t1|L2|L3|L4| p |p1|D2| D3 |d ngiletrﬁr)t\lofz%psh ‘:ﬁﬂi{t‘ﬁﬁﬁ G KG%
BT50-PHC05-140 | 241.8 [140|102| 38 | 29 |100| 22 |25|49.5| 5 * 26 * 4.8
BT50-PHC05-200 | 301.8 |200[162| 38 |29 [100| 22 |25[49.5| 5 * 26 * 5.2
BT50-PHC06-140 | 241.8 [140|102| 38 | 29 | 100 23 |26|49.5| 6 37 27 M5*0.8P | 4.8
BT50-PHC06-200 | 301.8 |200(162| 38 |29 |100| 23 |26]49.5| 6 37 27 M5*0.8P | 5.2
BT50-PHC08-140 | 241.8 (140|102| 38 |30 [100| 25 |28(49.5| 8 37 27 M6*1.0P | 4.8
BT50-PHC08-200 | 301.8 [200(162| 38 |30 [100| 25 |28[49.5| 8 37 27 M6*1.0P | 5.2
BT50-PHC10-140 | 241.8 [140|102| 38 | 35 |100| 27 |30|49.5 |10 41 31 M8*1.0P | 4.8
BT50-PHC10-200 | 301.8 |200|162| 38 | 35 | 100 27 {30[49.5 |10 a1 31 M8*1.0P | 5.2
BT50-PHC12-140 | 241.8 |140|102| 38 | 40 |100] 29 |32]49.5 |12 46 36 M10*1.0P | 4.8
BT50-PHC12-200 | 301.8 |200(162| 38 | 40 |[100| 29 {32]49.5|12 46 36 M10*1.0P | 5.2
BT50-PHC14-140 | 241.8 [140|102| 38 |40 |100| 31 |34|49.5|14 46 36 M10*1.0P | 4.8
BT50-PHC14-200 | 301.8 |200(162| 38 |40 [100| 31 [34(49.5|14 46 36 M10*1.0P | 5.2
BT50-PHC16-140 | 241.8 |140|102| 38 | 45 |100] 35 |38|49.5 |16 75 39 M12*1.0P | 4.8
BT50-PHC16-200 | 301.8 [200|162| 38 | 45 |100| 35 |38]49.5 |16 75 39 M12*1.0P | 5.2
BT50-PHC18-140 | 241.8 [140|102| 38 | 46 [100| 37 |40|49.5|18 75 39 M12*1.0P | 4.9
BT50-PHC18-200 | 301.8 |200|162| 38 | 46 |100| 37 |40|49.5 |18 75 39 M12*1.0P | 5.3
BT50-PHC20-140 | 241.8 |140|102| 38 | 42 |100| 39 |42|49.5 |20 75 a1 M16*1.0P | 4.9
BT50-PHC20-200 | 301.8 [200|162| 38 | 42 [100| 39 |42{49.5|20 75 a1 M16*1.0P | 5.3
BT50-PHC25-140 | 241.8 |140|102| 38 | 48 [100| 53 |57| 63 |25 80 47 M16*1.0P | 5.6

BT50-PHC25-200 | 301.8 [200|162| 38 |48 |100| 53 |57| 63 |25 80 47 M16*1.0P | 6
Nu BT50-PHC32-140 | 241.8 [140|102| 38 | 50 |100] 58 [62| 70 |32 90 51 M16*1.0P | 5.8
: BT50-PHC32-200 | 301.8 [200|162| 38 | 50 [100| 58 |62| 70 |32 90 51 M16*1.0P | 6.2

BT50 - PHC - 05 - 140
L@ tengr v

> 8 X 5 | Holder type
>3 1 7 R ) Taper size

%
5
=
7]
i

0
=
(o]
-
o
o
-
(%]




BT50-JPHC i&RE IR BT50-JPHC HYDRAULIC TOOL HOLDER

G C1
- 22 =5 8|8
L4
L3 L2
L1
L
BE Model L |t1|2|3|4| o |p1|D2| D3 |d Mﬂj"ff:ift‘ﬁ'f;pfh ‘:"ﬁjiﬁ\ﬁ%ﬂ G KGE;
BT50-JPHC05-160 |261.8|160(122] 38 [104]100 22 | 25 | 49.5 | 5 * 26 * 4.8
BT50-JPHC05-200 |301.8|200|162| 38 [144[100] 22 | 25 | 49.5 | 5 * 26 * 5.2
BT50-JPHC05-250 |351.8250(212| 38 [194[100] 22 | 25 | 49.5 | 5 * 26 * 5.6
BT50-JPHC06-160 |261.8|160|122| 38 |104[100{ 23 | 26 | 49.5 | 6 37 27 M5%0.8P | 4.8
BT50-JPHC06-200 |301.8|200(162| 38 [144[100] 23 | 26 | 49.5 | 6 37 27 M5%0.8P | 5.2
BT50-JPHC06-250 |351.8|250(212] 38 [194]100( 23 | 26 | 49.5 | 6 37 27 M5%0.8P | 5.6
BT50-JPHC08-160 |261.8|160|122] 38 [104[100( 25 | 28 | 49.5 | 8 37 27 M6*1.0P | 4.8
BT50-JPHC08-200 |301.8|200(162] 38 |144]100| 25 | 28 | 49.5 | 8 37 27 M6*1.0P | 5.2
BT50-JPHC08-250 |351.8|250(212] 38 [194]100( 25 | 28 | 49.5 | 8 37 27 M6*1.0P | 5.6
BT50-JPHC10-160 |261.8160|122| 38 [105(100] 27 | 30 | 49.5 | 10 41 31 M8*1.0P | 4.8
BT50-JPHC10-200 |301.8]200|162| 38 |145(100] 27 | 30 | 49.5 |10 41 31 M8*1.0Pp | 5.2
BT50-JPHC10-250 |351.8|250(212] 38 [195]100| 27 | 30 | 49.5 | 10 41 31 M8*1.0P | 5.6
BT50-JPHC12-160 |261.8|160|122] 38 [105]100( 29 | 32 | 49.5 |12 46 36 M10*1.0P | 4.8
BT50-JPHC12-200 |301.8|200(162] 38 [145]100| 29 | 32 | 49.5 |12 46 36 M10*1.0P | 5.2
BT50-JPHC12-250 |351.8|250|212] 38 [195]100( 29 | 32 | 49.5 |12 46 36 M10*1.0P | 5.6
BT50-JPHC14-160 |261.8|160(122] 38 [107]100| 31 | 34 | 49.5 | 14 46 36 M10*1.0P | 4.8
BT50-JPHC14-200 |301.8|200(162| 38 |147[100| 31 | 34 | 49.5 |14 46 36 M10*1.0P | 5.2
BT50-JPHC14-250 |351.8]250(212| 38 [197[100] 31 | 34 | 49.5 |14 46 36 M10*1.0P | 5.6
BT50-JPHC16-160 |261.8]160|122| 38 |107[100] 35 | 38 | 49.5 |16 75 39 M12*1.0P | 5
BT50-JPHC16-200 |301.8|200(162| 38 [147|100( 35 | 38 | 49.5 |16 75 39 M12*1.0P | 5.4
BT50-JPHC16-250 |351.8|250|212] 38 [197]100( 35 | 38 | 49.5 | 16 75 39 M12*1.0P | 5.8
BT50-JPHC18-160 |261.8|160(122] 38 [108]100| 37 | 40 | 49.5 |18 75 39 M12*1.0P | 5
BT50-JPHC18-200 |301.8|200|162| 38 [148[100( 37 | 40 | 49.5 |18 75 39 M12*1.0P | 5.4
BT50-JPHC18-250 |351.8]250(212| 38 [198(100] 37 | 40 | 49.5 |18 75 39 M12*1.0P | 5.8
BT50-JPHC20-160 |261.8]160|122| 38 |108[100] 39 | 42 | 49.5 |20 75 41 M16*1.0P | 5
BT50-JPHC20-200 |301.8]200162| 38 [148[100] 39 | 42 | 49.5 |20 75 41 M16*1.0P | 5.4
BT50-JPHC20-250 |351.8|250(212| 38 |198(100] 39 | 42 | 49.5 |20 75 41 M16*1.0P | 5.8
BT50-JPHC25-160 |261.8|160(122] 38 [110[100| 53 |57 | 63 |25 80 47 M16*1.0P | 5.2
BT50-JPHC25-200 |301.8]200162| 38 |150[100] 53 | 57 | 63 |25 80 47 M16*1.0P | 5.6
BT50-JPHC25-250 |351.8|250(212] 38 [200[100| 53 | 57| 63 |25 80 47 M16*1.0P | 6
BT50-JPHC32-160 |261.8|160|122] 38 [110[100| 58 | 63 | 70 |32 90 51 M16*1.0P | 6
BT50-JPHC32-200 |301.8|200(162] 38 [150[100| 58 [ 63| 70 |32 90 51 M16*1.0P | 6.2
BT50-JPHC32-250 |351.8|250(212] 38 [200[100| 58 [ 63 | 70 |32 90 51 M16*1.0P | 6.4
BT50 - JPHC - 05 - 160

Length (L1

NHERE
> I B X S | Holder type
»( # # R | Taper size

Diameter



S EEVALER D

BT50-PHC &RIE7IA BT50-PHC HYDRAULIC TOOL HOLDER

V7
S 7|77 e ,-J = a8
L3 L2
L1
L
RAENZE C | &MENZRE C1 =
L L1 L2113 D D1 D2 d Max.inserti(l)ndepth Mi:inseni;ndepth G B8 KGS
BT50-PHC32-51 (152.8| 51 13 | 38 | 100 | 46 | 70.5 | 32 71 61 M16*1.0P 3.8

BT50 - PHC - 32 - 51

Length (L1)

Diameter




BT30-SPHC &[E71H BT30-SPHC HYDRAULIC TOOL HOLDER

22 Model L [t1[t2|13|ta| D [D1|D2| D3 |d |BNENREC BMENRECL ¢ |mE@Kes
BT30-SPHC03-85 [133.4|85 |63 |22 |42 46 | 11 a5 |3 * 18 * 11
BT30-SPHC04-85 [133.485 |63 |22 |42 46 | 11 45 | 4 * 24 * 11
BT30-SPHC05-85 [133.485 |63 |22 |42 46 | 12 45 | 5 * 26 * 1.4
BT30-SPHC06-115 |163.4|115| 93 | 22 | 74| 46 | 13 45 |6 37 27 M5%0.8P | 1.4
BT30-SPHC08-115 |163.4(115|93 | 22 |74 | 46 | 15 45 | 8 37 27 M6*1.0P | 1.4
BT30-SPHC10-115 |163.4|115|93 | 22 |74 | 46 | 17 45 |10 41 31 M8*1.0P | 1.4
BT30-SPHC12-115 |163.4(115|93 | 22 |75 | 46 | 19 45 |12 46 36 M10*1.0P | 1.4

BT30 - SPHC - 03 - 85

Length (L1)
Diameter
=@ Holder type
=@] Taper size

&
4

HE
ST00.1 JOND

Hd




BIETITR RS
BT40-SPHC HYDRAULIC TOOL HOLDER

%
5
=
7]
i

0
=
(o]
-
o
o
-
(%]

Length (L1)

7] ¥ H 12 | Diameter

St

> I B X S | Holder type
>3 8 # R ] Taper size

G c

o
L e S [
L4
L2
L |t1|2|3|L4| o |D1|D2| D3 |d M‘?ﬁ(’f:sﬁ;ﬁo’f‘ipfh ‘:ﬁﬂi{tﬁ%g: G B8 KGS
BT40-SPHC03-90 |155.4] 90 | 63 | 27 |42 63 | 11 46 | 3 * 18 * 1.1
BT40-SPHC03-120 |185.4|120[ 93 | 27 [72] 63 | 11 46 |3 * 18 * 1.3
BT40-SPHC04-90 |155.4] 90 | 63 | 27 |42 | 63 | 11 46 | 4 * 24 * 1.1
BT40-SPHC04-120 |185.4|120[ 93 | 27 [72] 63 | 11 46 | 4 * 24 * 13
BT40-SPHC05-90 |155.4] 90 | 63 | 27 | 42| 63 | 12 46 | 5 * 26 * 1.4
BT40-SPHC05-120 |185.4|120[93 | 27 [72] 63 | 12 46 | 5 * 26 * 13
BT40-SPHC06-120 |185.4(120| 93 | 27 [ 74| 63 | 13 46 | 6 37 27 M5%0.8P | 1.4
BT40-SPHC06-150 |215.4|150(123] 27 |104] 63 | 13 46 | 6 37 27 M5*0.8P | 1.5
BT40-SPHC06-200 |265.4(200|173] 27 [154| 63 | 13 46 | 6 37 27 M5%0.8P | 1.7
BT40-SPHC08-120 |185.4(120| 93 | 27 [ 74| 63 | 15 46 | 8 37 27 M6*1.0P | 1.4
BT40-SPHC08-150 |215.4150|123] 27 [104| 63 | 15 46 | 8 37 27 M6*1.0p | 1.5
BT40-SPHC08-200 |265.4|200(173| 27 [154] 63 | 15 46 | 8 37 27 M6*1.0P | 1.7
BT40-SPHC10-120 |185.4|120|93 | 27 |74 63 | 17 46 |10 41 31 M8*1.0P | 1.4
BT40-SPHC10-150 |215.4|150|123| 27 |104] 63 | 17 46 |10 41 31 M8*1.0Pp | 1.5
BT40-SPHC10-200 |265.4|200(173] 27 [154] 63 | 17 46 |10 41 31 M8*1.0P | 1.7
BT40-SPHC12-120 |185.4]120|93 | 27 | 75| 63 | 19 46 |12 46 36 M10*1.0P | 1.4
BT40-SPHC12-150 |215.4|150123] 27 |105] 63 | 19 46 |12 46 36 M10*1.0P | 1.5
BT40-SPHC12-200 |265.4|200(173| 27 [154] 63 | 19 46 |12 46 36 M10*1.0P | 1.7
BT40-SPHC14-120 |185.4]120|93 | 27 |75 | 63 | 21 46 |14 46 36 M10*1.0P | 1.4
BT40-SPHC14-150 |215.4|150123] 27 |105] 63 | 21 46 |14 46 36 M10*1.0P | 1.5
BT40-SPHC14-200 |265.4|200(173| 27 |154] 63 | 21 46 |14 46 36 M10*1.0P | 1.7
BT40-SPHC16-120 |185.4]120|93 | 27 | 75| 63 | 23 50 |16 49 39 M12*1.0P | 1.5
BT40-SPHC16-150 |215.4|150(123| 27 |105] 63 | 23 50 |16 49 39 M12*1.0P | 16
BT40-SPHC16-200 |265.4|200(173| 27 [154] 63 | 23 50 |16 49 39 M12*1.0P | 1.8
BT40-SPHC18-120 |185.4|120|93 | 27 |75 | 63 | 25 50 |18 49 39 M12*1.0P | 15
BT40-SPHC18-150 |215.4|150(123| 27 |105] 63 | 25 50 |18 49 39 M12*1.0P | 1.6
BT40-SPHC18-200 |265.4|200(173| 27 |154] 63 | 25 50 |18 49 39 M12*1.0P | 1.8
BT40-SPHC20-120 |185.4]120|93 | 27 |75 63 | 27 50 |20 51 41 M16*1.0P | 1.6
BT40-SPHC20-150 |215.4150|123| 27 |105 63 | 27 50 |20 51 41 M16*1.0P | 1.7
BT40-SPHC20-200 |265.4|200(173| 27 |154 63 | 27 50 |20 51 41 M16*1.0P | 1.9
BT40 - SPHC - 03 - 90




BT50-SPHC & E 1R BT50-SPHC HYDRAULIC TOOL HOLDER

D
BT. NO

= 001
I Pﬁ — <=7 <398
ol = —
L4
L3 L2
L1
L

#E Model L |tr|2|3|wa| o |p1|p2|D3|d M%’fjiﬁo’fﬂ%pfh ‘:"‘Iﬂi{t‘w’?‘n’iﬁ G KGE;
BT50-SPHC05-150 | 251.8 | 150 | 112 38 | 80 |100] 12 50 | 5 * 26 * 4.2
BT50-SPHC05-200 | 301.8 | 200 | 162 | 38 |130]100] 12 50 | 5 * 26 * 4.4
BT50-SPHC05-250 | 351.8 | 250 | 212 38 |180[100] 12 50 | 5 * 26 * 4.6
BT50-SPHC05-300 | 401.8 | 300 | 262 | 38 [230]100] 12 50 | 5 * 26 * 4.8
BT50-SPHC06-150 | 251.8 | 150 | 112 38 | 80 [100] 13 50 | 6 37 27 M5*0.8P | 4.2
BT50-SPHC06-200 | 301.8 | 200 | 162 | 38 [130]100] 13 50 | 6 37 27 M5*0.8P | 4.4
BT50-SPHC06-250 | 351.8 | 250 | 212 | 38 [180[100] 13 50 | 6 37 27 M5*0.8P | 4.6
BT50-SPHC06-300 | 401.8 | 300 | 262 | 38 [230[100] 13 50 | 6 37 27 M5*0.8P | 4.8
BT50-SPHC08-150 | 251.8 | 150 | 112| 38 | 80 |100] 15 50 | 8 37 27 M6*1.0P | 4.2
BT50-SPHC08-200 | 301.8 | 200 | 162 | 38 [130[100] 15 50 | 8 37 27 M6*1.0P | 4.4
BT50-SPHC08-250 | 351.8 | 250 | 212 | 38 |180[100] 15 50 | 8 37 27 M6*1.0P | 4.6
BT50-SPHC08-300 | 401.8 | 300 | 262 | 38 |230[100] 15 50 | 8 37 27 M6*1.0P | 4.8
BT50-SPHC10-150 | 251.8 | 150 | 112 38 | 80 |100] 17 50 |10 a1 31 M8*1.0P | 4.3
BT50-SPHC10-200 | 301.8 | 200 | 162 38 [130]100] 17 50 |10 41 31 M8*1.0P | 4.5
BT50-SPHC10-250 | 351.8 | 250 |212] 38 [180]100] 17 50 |10 a1 31 M8*1.0P | 4.7
BT50-SPHC10-300 | 401.8 | 300 | 262 | 38 |230[100] 17 50 |10 41 31 M8*1.0P | 4.9
BT50-SPHC12-150 |251.8 | 150 | 112 38 | 80 [100] 19 50 |12 46 36 M10*1.0P| 4.3
BT50-SPHC12-200 | 301.8 | 200 | 162 | 38 [130100] 19 50 |12 46 36 M10*1.0P| 4.5
BT50-SPHC12-250 |351.8 | 250 | 212 38 [180]100] 19 50 |12 46 36 M10*1.0P| 4.7
BT50-SPHC12-300 | 401.8 | 300 | 262 | 38 [230]100] 19 50 |12 46 36 M10*1.0P| 4.9
BT50-SPHC14-150 |251.8 | 150 |112] 38 | 80 |100] 21 50 |14 46 36 M10*1.0P| 4.4
BT50-SPHC14-200 | 301.8 | 200 | 162 | 38 [130]100] 21 50 |14 46 36 M10*1.0P| 4.6
BT50-SPHC14-250 |351.8 | 250 | 212 38 [180[100] 21 50 |14 46 36 M10*1.0P| 4.8
BT50-SPHC14-300 | 401.8 | 300 | 262 | 38 [230]100] 21 50 |14 46 36 M10*1.0P| 5
BT50-SPHC16-150 |251.8 | 150 112 38 | 80 [100] 23 50 |16 75 39 M12*1.0P| 4.4
BT50-SPHC16-200 | 301.8 | 200 | 162 | 38 [130]100] 23 50 |16 75 39 M12*1.0P| 4.6
BT50-SPHC16-250 |351.8 | 250 | 212 38 |180|100] 23 50 |16 75 39 M12*1.0P| 4.8
BT50-SPHC16-300 | 401.8 | 300 | 262 | 38 |230100] 23 50 |16 75 39 M12*1.0p| 5
BT50-SPHC18-150 |251.8 | 150 | 112 38 | 80 |100] 25 50 |18 75 39 M12*1.0P| 4.5
BT50-SPHC18-200 | 301.8 | 200 | 162 | 38 [130100] 25 50 |18 75 39 M12*1.0P| 4.7
BT50-SPHC18-250 |351.8 | 250 | 212 38 |180[100] 25 50 |18 75 39 M12*1.0P| 4.9
BT50-SPHC18-300 | 401.8 | 300 | 262 | 38 230100/ 25 50 |18 75 39 M12*1.0P| 5.1
BT50-SPHC20-150 | 251.8 | 150 | 112 38 | 80 |100] 27 50 |20 75 41 M16*1.0P| 4.6
BT50-SPHC20-200 | 301.8 | 200 | 162 | 38 |130]100] 27 50 |20 75 41 M16*1.0P| 4.8
BT50-SPHC20-250 | 351.8 | 250 | 212 38 |180|100] 27 50 |20 75 a1 M16*1.0P| 5
BT50-SPHC20-300 | 401.8 | 300 | 262 | 38 |230[100] 27 50 |20 75 41 M16*1.0P| 5.2




BIETITR RS
BT30-ZPHC ZERO FIT HYDRAULIC TOOL HOLDER

X IHEERET
zero fit screw
D G ¢
BT. NO [ %
1@ L=
L4
L3 L2
L1
L
o RAEBNRE C [RMENFE C1 =
ES Model L L1|L2|L3|L4| D |D1/D2| D3 d Max. insertion depth Min/insertiondepth G E& KGS
BT30-ZPHC06-90 [138.4|90 | 68 | 22 |48 | 46 | 23 (26| 45 | 6 41 31 M5*0.8P 0.8
BT30-ZPHC08-90 (138.4|90 (68 | 22 |48 |46 |25 |28| 45 | 8 41 31 M6*1.0P 0.8
BT30-ZPHC10-90 [138.4|90 |68 | 22 | 51| 46 | 27 (30| 45 |10 48 38 M8*1.0P 0.8
BT30-ZPHC12-95 (143.4|95 (73|22 |56 46 | 29 |32| 45 |12 53 43 M10*1.0P 0.9
BT30-ZPHC16-100 |148.4|100| 78 [ 22 |58 | 46 | 35 (38| 45 |16 58 48 M12*1.0P 1.1
BT30-ZPHC20-105 (153.4|105(83 | 22 |63 | 46 | 39 |42| 45 |20 58 48 M16*1.0P 1.2
BT30 - ZPHC - 06 - 90

\ %
5§
=
7]
]

0
=
(o]
-
o
o
-
(7]

Length (L1)
THER
:@] Holder type
=@] Taper size

Diameter




sy A et sk i BT40-ZPHC ZERO FIT HYDRAULIC TOOL HOLDER

e ]
D
I c
N C1
* \M BT ik
L4
L3 L2
L1

L
)2 BRAHENRE C | RMENRE C1 BE
BS Model L L1L2| L3 L4 D D1 D2 | D3 | d Max.insertit,mdepth Mimnsertiondepth G KGS
BT40-ZPHC05-90 (155.4|90 (63|27 | 44 | 63 |22 (25| 50 |5 * 26 * 1.4
BT40-ZPHC06-90 (155.4|90 |63 | 27 | 44 63 (23 (26| 50 | 6 41 31 M5*0.8P 1.4
BT40-ZPHC08-90 (155.4|90 (63 | 27 | 44 63 | 25|28 | 50 | 8 41 31 M6*1.0P 1.4
BT40-ZPHC10-95 (160.4| 95|68 (27| 49 | 63 |27 |30| 50 (10 48 38 M8*1.0P 1.5
BT40-ZPHC12-100 (165.4|100| 73 | 27 | 54 63 |29 |32| 50 (12 53 43 M10*1.0P 1.6
BT40-ZPHC16-105 (170.4|105| 78 | 27 | 63 63 [ 35(38( 50 |16 58 48 M12*1.0P 1.7
BT40-ZPHC20-105 |170.4(105(78 | 27 | 63 | 63 | 39 |42 | 50 |20 58 48 M16*1.0P | 1.8
BT40-ZPHC25-110 |175.4(110| 83 | 27 * 63 | 53 | 57| 57 |25 67 57 M16*1.0P 2.3
BT40-ZPHC32-115 (180.4|115| 88 | 27 | * 63 |58 |62| 62 |32 71 61 M16*1.0P | 2.6

BT40 - ZPHC - 05 - 90

Length (L1)

> I B X S | Holder type

»( 8 17 iz X ) Taper size

o 6

frey
g

(8]
=
(o]
-
o
o
-
(7]

Hd




BIETITR RS
BT50-ZPHC ZERO FIT HYDRAULIC TOOL HOLDER

D Al
2 c
c1
’| '3 8"8
L4
BE Model L |t1|2|3|a| o |p1|p2|D3|d M‘?ﬁﬁf’ip& F:ﬁﬂi{t‘ﬁ’ig: G KG%
BT50-ZPHC05-105 |206.8(105| 67 | 38 (47 |100| 21| 25| 50 |5 * 26 * 4.2
BT50-ZPHC06-105 (206.8|105( 67 | 38 |47 (100( 23 | 26 | 50 | 6 41 31 M5*0.8P 4.2
BT50-ZPHC08-105 |206.8|105| 67 | 38 | 47 |100| 25 ( 28 | 50 | 8 41 31 M6*1.0P 4.2
BT50-ZPHC10-110 |211.8|110( 72| 38 |52|100| 27 | 30 | 50 (10 48 38 M8*1.0P 4.3
BT50-ZPHC12-115 |216.8|115| 77 | 38 | 57 |100| 29 | 32 | 50 |12 53 43 M10*1.0P 4.3
BT50-ZPHC16-120 (221.8/120( 82|38 |62(100( 35| 38 | 50 (16 58 48 M12*1.0P 4.5
BT50-ZPHC20-120 |221.8|120| 82| 38 | 62 |100| 39 | 42 | 50 |20 58 48 M16*1.0P 4.6
BT50-ZPHC25-125 |226.8|125(87 (38 | * |100( 53 | 57 | 57 |25 67 57 M16*1.0P 5.2
BT50-ZPHC32-125 |226.8|125(87 |38 * |100| 58 | 62 | 62 |32 71 61 M16*1.0P 5.4
BT50 - ZPHC - 05 - 105
Length (L1)
7] #f B £ | Diameter
> RS Holder type

> W # R ) Tapersize

2

5
=
7]
i

()
=
(g}
—
o
o
-
(72}




BT30/40-SLK #H45 B bl ik BT30/40-SLK SEMI-FINISHED SHRINK FIT CHUCK

FIG. 2
BT. NO 3°

_ o __ L= =Y | . N

L4

L3 L2
L1

L4

L5

L2
L1
L
1 #& Model L L1 L2 L3 L4 L5 D D1 d FIG EE KGS
BT30-SLK12-45 93.4 45 23 22 - - 40 - 38 1
BT40-SLK12-45 110.4 45 18 27 - - 40 - 38 1 1.15
BT40-SLK12-75 140.4 75 48 27 - - 42.4 - 38 1 1.45
BT40-SLK12-135 200.4 | 135 108 27 89 - 47 - 38 2 2.2
BT40-SLK12-165 230.4 | 165 138 27 89 = 47 z 38 2 2.65
BT40-SLK12-200 265.4 | 200 173 27 89 145 47 52 38 3 3.25
BT40-SLK12-225 290.4 | 225 198 27 89 145 47 52 38 3 3.7




S EEVALER D

RNV BT50-SLK SEMI-FINISHED SHRINK FIT CHUCK

FIG.2 BT50

§
P

# & Model L L1 L2 L3 L4 D D1 D2 d FIG | EE KGS
BT50-SLK12-75 176.8 75 37 38 - 100 41 - 38 1
BT50-SLK12-105 206.8 105 67 38 12 100 43 65 38 2
BT50-SLK12-135 236.8 135 97 38 12 100 46.5 65 38 2
BT50-SLK12-165 266.8 165 127 38 12 100 50 65 38 2
BT50-SLK12-200 301.8 200 162 38 12 100 53.5 65 38 2
BT50-SLK12-225 326.8 225 187 38 12 100 56 65 38 2
BT50-SLK12-265 366.8 265 227 38 12 100 60 65 38 2
BT50-SLK12-315 416.8 315 277 38 12 100 65.5 65.5 38 2




AR (&) HEAT SHRINKABLE EXTENSION ROD (STANDARD)

MIO*1.5 1 Il
FIG. 1
30
O
M10¥1. 5 NEIRI R A
'e'[ v
L4 o
L3, >
L7
< L2 >
B L1 )
FIG. 2 L
L4 idSSafety sign E{EEO
Thickness
[ )}
RERFKE
I_5 Minimum clamping length
TIEBRKIBANKE
L6 Maximum insertion depth
# & Model L L1 L2 L3 L4 L5 L6 L7 D D1 d t FIG B2 KGS
CR12-3-35 80 35 22 3.5 9.5 12 - - 7.5 9.9 3 2.25 1 0.2
CR12-3-55 100 55 42 3.5 9.5 12 - - 7.5 12 3 2.25 1 0.2
CR12-3-80 125 80 67 3.5 9.5 12 - - 7.5 14.6 3 2.25 1 0.2
CR12-4-35 80 35 22 3.5 9.5 16 - - 10 12.4 4 3 1 0.2
CR12-4-55 100 55 42 3.5 9.5 16 - - 10 14.5 4 3 1 0.2
CR12-4-80 125 80 67 3.5 9.5 16 - - 10 17.1 4 3 1 0.2
CR12-4-110 155 110 97 3.5 9.5 16 - - 10 20.2 4 3 1 0.25
CR12-5-35 80 35 22 3.5 9.5 18 - - 11 13.3 5 3 1 0.2
CR12-5-55 100 55 42 3.5 9.5 18 - - 11 15.4 5 3 1 0.2
CR12-5-80 125 80 67 3.5 9.5 18 - - 11 18.1 5 3 1 0.2
CR12-5-110 155 110 97 3.5 9.5 18 - - 11 21.2 5 3 1 0.25
CR12-6-35 80 35 22 3.5 9.5 23 - - 12 14.4 6 3 1 0.2
CR12-6-55 100 55 42 3.5 9.5 23 - - 12 16.5 6 3 1 0.2
CR12-6-80 125 80 67 3.5 9.5 23 - - 12 19.1 6 3 1 0.2
CR12-6-110 155 110 97 3.5 9.5 23 - - 12 22.2 6 3 1 0.25
CR12-8-35 80 35 22 3.5 9.5 27 - - 14 16.4 8 3 1 0.2
CR12-8-55 100 55 42 3.5 9.5 27 - - 14 18.5 8 3 1 0.2
CR12-8-80 125 80 67 3.5 9.5 27 - - 14 21.1 8 3 1 0.3
CR12-8-110 155 110 97 3.5 9.5 27 - - 14 24.2 8 3 1 0.35
CR12-10-35 80 35 22 3.5 9.5 32 42 - 16 18.4 10 3 1 0.2
CR12-10-55 100 55 42 3.5 9.5 32 42 - 16 20.5 10 3 1 0.2
CR12-10-80 125 80 67 3.5 9.5 32 42 - 16 23.1 10 3 1 0.3
CR12-10-110 155 110 97 3.5 9.5 32 42 86 16 25.1 10 3 2 0.35
CR12-12-35 80 35 22 3.5 9.5 37 48 - 20 22.4 12 4 1 0.2
CR12-12-55 100 55 42 3.5 9.5 37 48 = 20 24.5 12 4 1 0.2
CR12-12-80 125 80 67 3.5 9.5 37 48 48 20 25.5 12 4 2 0.3
CR12-12-110 155 110 97 3.5 9.5 37 48 48 20 25.1 12 4 2 0.35




HETIMARS
HEAT SHRINKABLE EXTENSION ROD (THIN WALL STYLE)

3°
-';_E woxts b (RE | |ee
—— _ ) L5
L4 L2
L3 L1
FIG. 1 L
N >
o | WMok s - TN s [ |l
L4 idSSafety sign e e Jl.“\ S
| Thickness L4 L5
B )} L3 L6
B K L7
L5 Minimum clamping length L2
TIBRATENKE L1
L6 Maximum insertion depth
FIG. 2 L
# & Model L L1 L2 L3 L4 L5 L6 L7 D D1 d t FIG B=E KGS
CS12-3-35 80 35 22 3.5 9.5 12 - - 6 8.4 3 1.5 1 0.2
CS12-3-55 100 55 42 3.5 9.5 12 - - 6 10.5 3 1.5 1 0.2
CS12-3-80 125 80 67 3.5 9.5 12 - - 6 13.1 3 1.5 1 0.2
CS12-3-110 155 110 97 3.5 9.5 12 - - 6 16.2 3 1.5 1 0.25
CS12-4-35 80 35 22 3.5 9.5 16 - - 7 9.4 4 1.5 1 0.2
CS12-4-55 100 55 42 3.5 9.5 16 - - 7 11.5 4 1.5 1 0.2
CS12-4-80 125 80 67 3.5 9.5 16 - - 7 14.1 4 1.5 1 0.2
CS12-4-110 155 110 97 3.5 9.5 16 - - 7 17.2 4 1.5 1 0.25
CS12-5-35 80 35 22 3.5 9.5 18 - - 8 10.4 5 1.5 1 0.2
CS12-5-55 100 55 42 3.5 9.5 18 - - 8 12.5 5 1.5 1 0.2
CS12-5-80 125 80 67 3.5 9.5 18 - - 8 15.1 5 1.5 1 0.2
CS12-5-110 155 110 97 3.5 9.5 18 - - 8 18.2 5 1.5 1 0.25
CS12-6-35 80 35 22 3.5 9.5 23 - - 9 11.4 6 1.5 1 0.2
CS12-6-55 100 55 42 3.5 9.5 23 - - 9 13.5 6 1.5 1 0.2
CS12-6-80 125 80 67 3.5 9.5 23 - - =) 16.1 6 1.5 1 0.2
CS12-6-110 155 110 97 3.5 9.5 23 - - 9 19.2 6 1.5 1 0.25
CS12-7-35 80 35 22 3.5 9.5 25 - - 10 12.4 7 1.5 1 0.2
CS12-7-55 100 55 42 3.5 9.5 25 - - 10 14.5 7 1.5 1 0.2
CS12-7-80 125 80 67 3.5 9.5 25 - - 10 17.1 7 1.5 1 0.2
CS12-7-110 155 110 97 3.5 9.5 25 - - 10 20.2 7 1.5 1 0.25
CS12-8-35 80 35 22 3.5 9.5 27 - - 11 13.4 8 1.5 1 0.2
CS12-8-55 100 55 42 3.5 9.5 27 - - 11 15.5 8 1.5 1 0.2
CS12-8-80 125 80 67 3.5 9.5 27 - - 11 18.1 8 1.5 1 0.2
CS12-8-110 155 110 97 3.5 9.5 27 - - 11 21.2 8 1.5 1 0.25
\\\¢ CS12-9-35 80 35 22 3.5 9.5 29 42 - 12 14.4 9 1.5 1 0.2
> Q CS12-9-55 100 55 42 3.5 9.5 29 42 - 12 | 16.5 9 1.5 1 0.2
CS12-9-80 125 80 67 3.5 9.5 29 42 - 12 19.1 9 1.5 1 0.2
2 % CS12-9-110 155 | 110 97 3.5 9.5 29 42 - 12 | 22.2 9 1.5 1 0.25
(g) = CS12-10-35 80 35 22 3.5 9.5 32 42 - 13 15.4 10 1.5 1 0.2
(_)' 7] CS12-10-55 100 55 42 3.5 9.5 32 42 - 13 17.5 10 1.5 1 0.2
2 CS12-10-80 125 80 67 3.5 9.5 32 42 - 13 20.1 10 1.5 1 0.2
n i CS12-10-110 155 | 110 97 3.5 9.5 32 42 - 13 23.2 10 1.5 1 0.25
CS12-11-35 80 35 22 3.5 9.5 34 44 - 14 16.4 11 1.5 1 0.2
CS12-11-55 100 55 42 3.5 9.5 34 44 - 14 18.5 11 1.5 1 0.2
CS12-11-80 125 80 67 3.5 9.5 34 44 - 14 21.1 11 1.5 1 0.2
CS12-11-110 155 110 97 3.5 9.5 34 44 - 14 24.2 11 1.5 1 0.25
CS12-12-35 80 35 22 3.5 9.5 37 48 - 15 17.4 12 1.5 1 0.2
CS12-12-55 100 55 42 3.5 9.5 37 48 - 15 19.5 12 1.5 1 0.2
CS12-12-80 125 80 67 3.5 9.5 37 48 - 15 | 22.1 12 1.5 1 0.2
CS12-12-110 155 110 97 3.5 9.5 37 48 95 15 25 12 1.5 2 0.25

F22



-\
Sl S A L R R EL o 4D BT30-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

FIG. 1 D
BT.NO

L4
>

i ET T

FIG. 2 D

L4
[

- — = |ol g a
L2
L1
# & Model L L1 L2 L3 L4 D D1 D2 d R FIG B= KGS
BT30-SF03-80 128.4 80 58 22 12 46 15 20 3 5 1 0.6
BT30-SF04-80 128.4 80 58 22 16 46 15 20 4 5 1 0.6
BT30-SF04-120 168.4 120 98 22 16 46 15 20 4 5 2 0.7
BT30-SF05-80 128.4 80 58 22 18 46 15 20 5 5 1 0.6
BT30-SF05-120 168.4 120 98 22 18 46 15 20 5 5 2 0.7

8

A"E& o
5
7
7]
1A

S71001 OND




S EEVALER D

SRl ES F e R U 1y 2i<) B8 BT30-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

FIG. 1 D
BT. NO

FIG. 2 D
L5
L4
45 o5 a
# 1 Model L L1 |L2(L3|L4|(L5| D |D1|D2| d T Tl R FIG | B2 KGS

BT30-SF06-80 128.4 (80 |58 |22 |26 |36 |46 |21 |27 | 6 | M5*0.8P | M6*1.0P 1 1 0.7
BT30-SF06-120 168.4 (120| 98 | 22 |26 |36 |46 |21 |27 | 6 | M5*0.8P | M6*1.0P 5 2 0.9
BT30-SF08-80 128.4 (80 | 58 |22 |26 |36 |46 |21 |27 | 8 | M6*1.0P | M6*1.0P 1 1 0.7
BT30-SF08-120 168.4 (120| 98 | 22 |26 |36 |46 |21 |27 | 8 | M6*1.0P | M6*1.0P 5 2 0.9
BT30-SF10-80 128.4 (80 | 58 |22 (32|42 |46 |24 |32 (10| M8*1.0P | M6*1.0P 1 1 0.8
BT30-SF10-120 168.4 |120| 98 | 22 (32 (42|46 |24 | 32 | 10 | M8*1.0P M6*1.0P 5 2 1.1
BT30-SF12-80 128.4 | 80 (58 | 22 |37 | 47 |46 | 24 | 32 | 12 | M10*1.0P | M6*1.0P 1 1 0.8
BT30-SF12-120 168.4 |120| 98 | 22 [ 37 |47 |46 | 24 | 32 | 12 | M10*1.0P | M6*1.0P 5 2 1.1
BT30-SF14-80 128.4 [ 80 | 58 | 22 | 37 | 47 | 46 | 27 | 34 | 14 | M10*1.0P | M6*1.0P 1 1 0.8
BT30-SF14-120 168.4 |120( 98 | 22 | 37 | 47 |46 | 27 | 34 | 14 | M10*1.0P | M6*1.0P 3 2 1.1
BT30-SF16-90 138.4 [ 90 [ 68 | 22 (40 | 50 | 46 | 27 | 34 | 16 | M12*1.0P | M6*1.0P 1 1 0.8
BT30-SF16-120 168.4 |120( 98 | 22 |40 | 50 | 46 | 27 | 34 | 16 | M12*1.0P | M6*1.0P 3 2 1.1
BT30-SF18-90 138.4 [ 90 (68 | 22 (40 | 50 | 46 | 33 | 42 | 18 | M12*1.0P | M6*1.0P 1 1 1

BT30-SF18-120 168.4 (120 98 | 22 |40 | 50 | 46 | 33 | 42 | 18 | M12*1.0P | M6*1.0P 1 2 1.5
BT30-SF20-90 138.4 [ 90 (68 | 22 (42 | 52 |46 | 33 | 42 | 20 | M16*1.0P | M6*1.0P 1 1 1

BT30-SF20-120 168.4 (120 98 | 22 |42 |52 (46 | 33 | 42 | 20 | M16*1.0P | M6*1.0P 1 2 1.5

5
=
7]
i

0
=
(o]
-
o
o
-
(7]

I



BT40-SF A4 714K (4.5 EiFER)

BT40-SF SHRINK FIT TOOL HOLDER

FI1G. 1

BT.NO

4.5 °

STANDARD VERS [ON)

L4

D2

FIG. 2

LA

- <t g &
[ P.129 ]

# & Model L L1 L2 L3 L4 D D1 D2 d R FIG B= KGS
BT40-SF03-90 155.4 90 63 27 12 63 15 20 3 5 1 1.1
BT40-SF03-120 185.4 120 93 27 12 63 15 20 3 5 2 1.2
BT40-SF03-160 225.4 160 133 27 12 63 15 25 3 5 2 1.3
BT40-SF04-90 155.4 90 63 27 16 63 15 20 4 5 1 1.1
BT40-SF04-120 185.4 120 93 27 16 63 15 20 4 5 2 1.2
BT40-SF04-160 225.4 160 133 27 16 63 15 25 4 5 2 1.3
BT40-SF05-90 155.4 90 63 27 18 63 15 20 5 5 1 1.1
BT40-SF05-120 185.4 120 93 27 18 63 15 20 5 5 2 1.2
BT40-SF05-160 225.4 160 133 27 18 63 15 25 5 5 2 1.3

&

HE & ¢

(8]
=
(o]
-
o
o
-
(7]

3 d




S EEVALER D

HAETIH (4.5 EiRER) BT40-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

FIG.1 D
BT. NO

FIG. 2 D

FIG. 3

# 4% Model L L1 |L2|L3|L4|L5|L6| D |D1|D2|D3|d T T R |FIG |E= KGS

BT40-SF06-90 155.4 | 90 | 63 | 27 |26 | 36 | - |[63]21]27| - | 6 | M50.8P | M6*1.0P | 5 | 1 1.2
BT40-SF06-120 185.4 (120193 |27 | 26 |36 | - |63 21 |27| - | 6 | M5*0.8P | M6*1.0P | 5 | 2 1.5
BT40-SF06-160 225.4 [160[133| 27 | 26 | 36 | 79 |63 | 21| 27| 40| 6 | M5*0.8P | M6*1.0P | 6 | 3 1.8
BT40-SF06-200 265.4 [200(173| 27 | 26 | 36 |119|63 | 21|27 | 40| 6 | M5*0.8P | M6*1.0P | 6 | 3 2.2
BT40-SF06-250 315.4 [250(223| 27 | 26 | 36 |169| 63 | 21| 27| 40| 6 | M5*0.8P | M6*1.0P | 6 | 3 2.6
BT40-SF06-300 365.4 |300|273| 27 | 26 | 36 (21963 |21 |27 |40 | 6 | M5*0.8P | M6*1.0P | 6 | 3 3.1
BT40-SF08-90 155.4 | 90 | 63 | 27 | 26 | 36 | - [63]21 27| - | 8 | M6*1.0P | M6*1.0P | 5 | 1 1.2
BT40-SF08-120 185.4 112093 | 27 (26 | 36| - [63[21]27] - | 8 | M6*1.0P | M6*1.0P | 5 | 2 1.5
BT40-SF08-160 225.4 [160[133| 27 | 26 | 36 |79 |63 | 21|27 | 40| 8 | M6*1.0P | M6*1.0P | 6 | 3 1.8
BT40-SF08-200 265.4 [200(173| 27 | 26 | 36 [119|63 |21 |27 | 40| 8 | M6*1.0P | M6*1.0P | 6 | 3 2.2
BT40-SF08-250 315.4 [250(223| 27 | 26 | 36 |169|63 | 21|27 | 40| 8 | M6*1.0P | M6*1.0P | 6 | 3 2.6
BT40-SF08-300 365.4 (1300|273 |27 | 26 | 36 (21963 |21 |27 |40 | 8 | M6*1.0P | M6*1.0P | 6 | 3 3.1
BT40-SF10-90 155.4 | 90 | 63 | 27 [ 32 | 42| - [63]24 32| - |10 | M8*1.0P | M6*1.0P | 3 | 1 1.3
BT40-SF10-120 185.4 /112093 | 27 [ 32 | 42| - [63[24 32| - | 10| M8*1.0P | M6*1.0P | 10| 2 1.6
BT40-SF10-160 225.4 [160(133| 27 |32 |42 |79 |63 |24[32]39] 10| M8*1.0p | M6*1.0P | 7 | 3 1.9

\\\\& BT40-SF10-200 265.4 [200(173| 27 | 32 | 42 |[119|63 |24 |32]39| 10| M8*1.0p | M6*1.0P | 7 | 3 2.3
N BT40-SF10-250 315.4 (250|223 | 27 | 32 | 42 [169| 63 |24 | 32|39 | 10 | M8*1.0P | M6*1.0P | 7 | 3 2.7
'5‘ BT40-SF10-300 365.4 (300|273 |27 | 32 | 42 (21963 |24 | 32|39 |10 | M8*1.0P | M6*1.0P | 7 | 3 3.2
o BT40-SF12-90 155.4 | 90 | 63 | 27 |37 | 47 | - |63 |24 |32| - |12 | M10*1.0P | M6*1.0P | 3 | 1 1.3
(Z,;,., BT40-SF12-120 185.4 (120 93 | 27 |37 | 47| - | 63|24 32| - |12 | M10*1.0P | M6*1.0P | 10| 2 1.6
- = BT40-SF12-160 225.4 (160|133 |27 | 37 | 47 | 79 |63 | 24 |32 |39 |12 | M10*1.0P | M6*1.0P | 7 | 3 1.9
873 BT40-SF12-200 265.4 (200|173 | 27 | 37 | 47 [119|/63 | 24|32 |39 |12 | M10*1.0P | M6*1.0P | 7 | 3 2.3
0 i BT40-SF12-250 315.4 [250(223| 27 | 37 | 47 |169| 63 | 24| 32|39 | 12 | M10*1.0P | M6*1.0P | 7 | 3 2.7
BT40-SF12-300 365.4 |300(273| 27 | 37 | 47 [219] 63 |24 | 32|39 | 12 | M10*1.0P | M6*1.0P | 7 | 3 3.1
BT40-SF14-90 155.4 | 90 | 63 | 27 | 37 | 48| - [63[27 34| - | 14 | M10*1.0P | M6*1.0P | 3 | 1 1.3
BT40-SF14-120 185.4 112093 | 27 [ 37 | 47| - |63 ]27 |34 | - | 14 | M10*1.0P | M6*1.0P | 10 | 2 1.6
BT40-SF14-160 225.4 [160[133| 27 |37 | 47 |78 | 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 | 3 1.9
BT40-SF14-200 265.4 [200(173| 27 | 37 | 47 |118| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 | 3 2.3
BT40-SF14-250 315.4 [250(223| 27 | 37 | 47 |168| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 | 3 2.7
BT40-SF14-300 365.4 (300|273 | 27 | 37 | 47 |218| 63 |27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 | 3 3.1




OB AT R CR L k- 2) B BT40-SF SHRINK FIT TOOL HOLDER (4.5 °

FIG. 1 D
BT. NO

FIG. 2 D

STANDARD VERSION)

Bl

FIG. 3

u
— 3
45
| I
d]
D1
D2

L1

# # Model L LT [ L2 |3 | L4 | L5 |L6| D |D1|D2|D3]| d T T1 R | FIG |E& KGS
BT40-SF16-90 155.4| 90 | 63 | 27 | 40 | 50 | - | 63|27 |34 | - |16 | M12*1.0P | M6*1.0P | 3 | 1 1.3
BT40-SF16-120 |185.4|120| 93 | 27 | 40 | 50 | - |63 |27 34| - |16 | M12*1.0P | M6*1.0P | 10| 2 1.6
BT40-SF16-160 |225.4| 160 | 133 | 27 | 40 | 50 | 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 | 3 1.9
BT40-SF16-200 |265.4| 200 | 173 | 27 | 40 | 50 |118| 63 |27 | 34| 42 | 16 | M12*1.0P | M6*1.0P | 5 | 3 2.3
BT40-SF16-250 |315.4| 250 | 223 | 27 | 40 | 50 |168| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 | 3 2.7
BT40-SF16-300 |365.4| 300 | 273 | 27 | 40 | 50 |218|63 |27 |34 | 42|16 | M12*1.0P | M6*1.0P | 5 | 3 3.1
BT40-SF18-90 |[155.4| 90 | 63 | 27 | 40 | 50 | - |63 (33|41 | - |18 | M12*1.0P | M6*1.0P | 2 | 1 1.4
BT40-SF18-120 |185.4|120| 93 | 27 | 40 | 50 | - |63 |33 [42| - |18 | M12*1.0P | M6*1.0P | 5 | 2 1.8
BT40-SF18-160 |225.4| 160 | 133 |27 | 40 | 50 | - |63 |33 42| - |18 | M12*1.0P | M6*1.0P | 5 | 2 2.1
BT40-SF18-200 |265.4| 200|173 |27 | 40 | 50 | - |63 |33 |42| - |18 | M12*1.0P | M6*1.0P | 5 | 2 2.4
BT40-SF18-250 |315.4| 250 [ 223 | 27 | 40 | 50 | - | 63|33 |42 | - |18 | M12*1.0P | M6*1.0P | 5 | 2 2.8
BT40-SF18-300 |365.4| 300|273 |27 | 40 | 50 | - | 63|33 [42| - |18 | M12*1.0P | M6*1.0P | 5 | 2 3.2
BT40-SF20-90 |155.4| 90 | 63 |27 | 42 | 50 | - |63 33|41 | - |20 | M16*1.0P | M6*1.0P | 2 | 1 1.4
BT40-SF20-120 |185.4|120| 93 | 27 | 42 | 50 | - |63 |33 |42| - |20 | M16*1.0P | M6*1.0P | 5 | 2 1.8
BT40-SF20-160 |225.4| 160 | 133 | 27 | 42 | 50 | - |63 |33 42| - |20 | M16*1.0P | M6*1.0P | 5 | 2 2.1 ,
BT40-SF20-200 |265.4 | 200 [ 173 | 27 | 42 | 50 | - | 63|33 |42 | - |20 | M16*1.0P | M6*1.0P | 5 | 2 2.4 x(//
BT40-SF20-250 |315.4| 250 | 223 |27 | 42 | 52 | - |63 |33 |42| - |20 | M16*1.0P | M6*1.0P | 5 | 2 2.8 @
BT40-SF20-300 |365.4| 300|273 |27 | 42 | 52 | - | 63|33 [42| - |20 | M16*1.0P | M6*1.0P | 5 | 2 3.2
BT40-SF25-100 |155.4| 90 | 63 | 27 | 48 | 58 | - |63 |44 53| - |25 | M16*1.0P | M6*1.0P | 2 | 1 2.1 ’&"Z’
BT40-SF25-120 |185.4|120 | 93 | 27 | 48 | 58 | - |63 |44 53| - | 25| M16*1.0P | M6*1.0P | 2 | 2 2.3 iz O
BT40-SF25-160 | 225.4 (160 | 133 | 27 | 48 | 58 | - |63 |44 |53 | - | 25 | M16*1.0P | M6*1.0P | 2 | 2 2.6 735'
BT40-SF25-200 |265.4|200 | 173 |27 | 48 | 58 | - | 63 |44 |53 | - | 25| M16*1.0P | M6*1.0P | 2 | 2 3.1 ,9
BT40-SF25-250 |315.4| 250 | 223 | 27 | 48 | 58 | - | 63 |44 53| - | 25| M16*1.0P | M6*1.0P | 2 | 2 3.6 AN
BT40-SF25-300 |365.4| 300|273 |27 | 48 | 58 | - | 63 |44 |53 | - | 25| M16*1.0P | M6*1.0P | 2 | 2 4.1
BT40-SF32-100 |155.4| 90 | 63 | 27 | 52 | 62 | - | 63 |44 |53 | - [32| M16*1.0P | M6*1.0P | 2 | 1 2.1
BT40-SF32-120 |185.4|120| 93 | 27 | 52 | 62 | - |63 |44 |53 | - | 32| M16*1.0P | M6*1.0P | 2 | 2 2.3
BT40-SF32-160 |225.4| 160 | 133 | 27 | 52 | 62 | - | 63|44 |53 | - | 32| M16*1.0P | M6*1.0P | 2 | 2 2.6
BT40-SF32-200 |265.4|200 | 173 |27 | 52 | 62 | - | 63 |44 |53| - | 32| M16*1.0P | M6*1.0P | 2 | 2 31
BT40-SF32-250 |315.4| 250 | 223 |27 | 52 | 62 | - | 63 |44 |53 | - |32| M16*1.0P | M6*1.0P | 2 | 2 3.6
BT40-SF32-300 |365.4| 300|273 |27 | 52 | 62 | - | 63|44 |53 | - | 32| M16*1.0P | M6*1.0P | 2 | 2 41




S EEVALER D

BT50-SF #4574 (4.5 EinER) BT50-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

FIG. 1 D
BT. NO
o]
| ¢ 777
e s EEL
/% =
3 L2

L1

FIG.2 D

BT. NO

L4
I N p— r./%[ 727 i =FT
/Q;; P
L3 o L2
L
# 1% Model L L] 2] 13 |ta] D] DL D2 d R FIG | & KGS

BT50-SF03-100 | 201.8 | 100 | 62 | 38 | 12 | 100 | 15 | 20 3 10 1 37
BT50-SF03-120 | 221.8 | 120 | 82 | 38 | 12 | 100 | 15 | 20 3 10 2 3.9
BT50-SF03-160 | 261.8 | 160 | 122 | 38 | 12 | 100 | 15 | 25 3 10 2 4.2
BT50-SF04-100 | 201.8 | 100 | 62 | 38 | 16 | 100 | 15 | 20 4 10 1 3.7
BT50-SF04-120 | 221.8 | 120 | 82 | 38 | 16 | 100 | 15 | 20 3 10 2 3.9
BT50-SF04-160 | 261.8 | 160 | 122 | 38 | 16 | 100 | 15 | 25 4 10 2 4.2
BT50-SF05-100 | 201.8 | 100 | 62 | 38 | 18 | 100 | 15 | 20 5 10 1 37
BT50-SF05-120 | 221.8 | 120 | 82 | 38 | 18 | 100 | 15 | 20 5 10 2 3.9
BT50-SF05-160 | 261.8 | 160 | 122 | 38 | 18 | 100 | 15 | 25 5 10 B 4.2

5
=
7]
i

()
=
(g}
—
o
o
-
(72}




BT50-SF #4ETIHA (4.5 BinER)

BT50-SF SHRINK FIT TOOL HOLDER

FIG. 1

4.5°

STANDARD VERSION)

# #% Model L L1 | L2 | L3 |L4|L5|L6| D |D1|D2|D3]| d T T1 R | FIG | =8 KGS
BT50-SF06-100 | 201.8 [100| 62 | 38 | 26 | 36 | - |100| 21 (27| - | 6 | M5*0.8P | M6*1.0P | 2 | 1 3.7
BT50-SF06-120 | 221.8 [120| 82 | 38 | 26 | 36 | - |100| 21 |27 | - | 6 | M5*0.8P | M6*1.0P | 12| 2 3.9
BT50-SF06-160 | 2618 (160|122 | 38 | 26 | 36 | 58 |100| 21 | 27 [ 39 | 6 | M5*0.8P | M6*1.0P | 12 | 3 4.2
BT50-SF06-200 | 301.8 200|162 | 38 | 26 | 36 | 92 |100| 21 | 27 | 42| 6 | M5*0.8P | M6*1.0P | 12| 3 5.8
BT50-SF06-250 | 351.8 | 250|212 | 38 | 26 | 36 |142[100| 21 | 27 | 42| 6 | M5*0.8P | M6*1.0P | 12| 3 7.4
BT50-SF06-300 | 401.8 [300|262| 38 | 26 | 36 |192|100| 21 | 27 | 42| 6 | M5*0.8P | M6*1.0P | 12| 3 8.9
BT50-SF08-100 | 201.8 |100| 62 | 38 | 26 | 36 | - [100|21 |27 | - | 8 | M6*1.0P | M6*1.0P | 2 | 1 3.8
BT50-SF08-120 | 221.8 [120| 82 | 38 | 26 | 36 | - |100| 21 |27 | - | 8 | M6*1.0P | M6*1.0P | 12| 2 3.9
BT50-SF08-160 | 2618 | 160|122 | 38 | 26 | 36 | 58 [100| 21 |27 | 39 | 8 | M6*1.0P | M6*1.0P | 12 | 3 4.2
BT50-SF08-200 | 301.8 (200|162 | 38 | 26 | 36 | 92 |100| 21 | 27 | 42| 8 | M6*1.0P | M6*1.0P | 12| 3 5.8
BT50-SF08-250 | 351.8 | 250|212 | 38 | 26 | 36 |142[100| 21 | 27 | 42| 8 | M6*1.0P | M6*1.0P | 12| 3 7.4
BT50-SF08-300 | 401.8 [300|262| 38 | 26 | 36 |192|100| 21 | 27 | 42| 6 | M5*0.8P | M6*1.0P | 12| 3 8.9
BT50-SF10-100 | 201.8 |100| 62 | 38 | 32 | 42 | - [100| 24 |32 | - |10 | M8*1.0P | M6*1.0P | 2 | 1 3.9
BT50-SF10-120 | 221.8 [120| 82 | 38 | 32 | 42| - |100| 24 |32 | - | 10| M8*1.0P | M6*1.0P | 10| 2 4.1
BT50-SF10-160 | 2618 (160|122 | 38 | 32 | 42 | 72 |100| 24 | 32 | 38 | 10 | M8*1.0P | M6*1.0P | 15| 3 4.3
BT50-SF10-200 | 301.8 200|162 | 38 | 32 | 42 |107|100| 24 | 32 |39 | 10 | M8*1.0P | M6*1.0P | 15| 3 5.9 4@?
BT50-SF10-250 | 351.8 | 250|212 | 38 | 32 | 42 |127[100| 24 | 32|39 | 10 | M8*1.0P | M6*1.0P | 15| 3 7.5 5o
BT50-SF10-300 | 401.8 [300|262 | 38 | 32 | 42 |207|100| 21 | 27 | 39 | 10 | M5*0.8P | M6*1.0P | 15| 3 8.9 @i
BT50-SF12-100 | 201.8 |100| 62 | 38 | 37 | 47 | - [100| 24 | 32| - |12 | M10*1.0P | M6*1.0P | 2 | 1 3.9 o
BT50-SF12-120 | 221.8 [120| 82 | 38 | 37 | 47 | - |100{ 24 |32 | - | 12 | M10*1.0P | M6*1.0P | 10 | 2 41 =
BT50-SF12-160 | 2618 | 160|122 | 38 | 37 | 47 | 72 [100| 24 | 32 | 38 | 12 | M10*1.0P | M6*1.0P | 15| 3 43 f"_’,
BT50-SF12-200 | 301.8 (200|162 | 38 | 37 | 47 |107|100| 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 15| 3 5.9 738
BT50-SF12-250 | 351.8 | 250|212 | 38 | 37 | 47 |157[100| 24 | 32|39 | 12 | M10*1.0P | M6*1.0P | 15| 3 7.5 W
BT50-SF12-300 | 401.8 [300|262 | 38 | 37 | 47 |207|100| 24 | 32 |39 | 12 | M10*1.0P | M6*1.0P | 15| 3 9.1
BT50-SF14-100 | 201.8 |100| 62 | 38 | 37 | 47 | - [100| 27 | 34| - | 14 | M10*1.0P | M6*1.0P | 4 | 1 3.9
BT50-SF14-120 | 221.8 [120| 82 | 38 | 37 | 47 | - |100| 27 | 34| - | 14 | M10*1.0P | M6*1.0P | 10 | 2 41
BT50-SF14-160 | 2618 | 160|122 | 38 | 37 | 47 | 67 |100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 4.3
BT50-SF14-200 | 301.8 | 200|162 | 38 | 37 | 47 |107|100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 5.9
BT50-SF14-250 | 351.8 | 250|212 | 38 | 37 | 47 |157[100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 7.5
BT50-SF14-300 | 401.8 | 300|262 | 38 | 26 | 36 |207|100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 9.1




S EEVALER D

BT50-SF #4ETIHA (4.5 BinER)

BT50-SF SHRINK FIT TOOL HOLDER

FIG. 1

4.5°

STANDARD VERSION)

4
D1

D2

=

N

d
D1
D2

k=
= |
I
@ i
‘[r_u‘
2

5
=
7]
i

0
=
(o]
-
o
o
-
(7]

M ¥ Model L L1 L2 | L3 |L4|L5|L6| D |D1|D2|D3]| d T T1 R |FIG | & KGS
BT50-SF16-100 201.8 | 100 | 62 | 38 | 40 | 50 | - |100| 27 | 34| - | 16 | M12*1.0P | M6*1.0P | 4 | 1 3.9
BT50-SF16-120 221.8 | 120 | 82 | 38|40 | 50 | - |100| 27 |34 | - | 16 | M12*1.0P | M6*1.0P | 10 | 2 4.1
BT50-SF16-160 2618 | 160 | 122 | 38 | 40 | 50 | 67 [100| 27 | 34 | 41 | 16 | M12*1.0P | M6*1.0P | 15| 3 4.3
BT50-SF16-200 301.8 | 200 | 162 | 38 | 40 | 50 [107|100| 27 | 34 | 41 | 16 | M12*1.0P | M6*1.0P | 15| 3 5.9
BT50-SF16-250 351.8 | 250 | 212 | 38 | 40 | 50 |157|100| 27 | 34 | 41 | 16 | M12*1.0P | M6*1.0P | 15 | 3 7.5
BT50-SF16-300 401.8 | 300 | 262 | 38 | 40 | 50 [207|100| 27 | 34 | 41 | 16 | M5*0.8P | M6*1.0P | 15 | 3 9.1
BT50-SF18-100 201.8 | 100 | 62 | 38 | 40 | 50 | - |100| 33 |42 | - | 18 | M12*1.0P | M6*1.0P | 3 | 1 4.1
BT50-SF18-120 221.8 | 120 | 82 | 38 |40 | 50 | - |100|33 |42 | - |18 | M12*1.0P | M6*1.0P | 4 | 2 4.2
BT50-SF18-160 2618 | 160 | 122 | 38 | 40 | 50 | 77 |100| 33 | 42 | 47 | 18 | M12*1.0P | M6*1.0P | 12 | 3 4.4
BT50-SF18-200 301.8 | 200 | 162 | 38 | 40 | 50 |107|100| 33 | 42 | 50 | 18 | M12*1.0P | M6*1.0P | 12 | 3 6.1
BT50-SF18-250 351.8 | 250 | 212 | 38 | 40 | 50 |157|100| 33 | 42 | 50 | 18 | M12*1.0P | M6*1.0P | 12 | 3 7.8
BT50-SF18-300 401.8 | 300 | 262 | 38 | 40 | 50 |207|100| 27 | 34 | 50 | 18 | M5*0.8P | M6*1.0P | 12 | 3 9.4
BT50-SF20-100 201.8 | 100 | 62 | 38 | 42 | 52 | - |100|33 |42 | - |20 | M16*1.0P | M6*1.0P | 3 | 1 4.1
BT50-SF20-120 221.8 |120| 82 | 38 |42 |52 | - |100|33 |42 | - |20 | M16*1.0P | M6*1.0P | 4 | 2 4.2
BT50-SF20-160 2618 | 160 | 122 | 38 | 42 | 52 | 77 |100| 33 | 42 | 47 | 20 | M16*1.0P | M6*1.0P | 12 | 3 4.4
BT50-SF20-200 301.8 | 200 | 162 | 38 | 42 | 52 |107|100| 33 | 42 | 50 | 20 | M16*1.0P | M6*1.0P | 12 | 3 6.1
BT50-SF20-250 351.8 | 250 | 212 | 38 | 42 | 52 |157|100| 33 | 42 | 50 | 20 | M16*1.0P | M6*1.0P | 12 | 3 7.8
BT50-SF20-300 401.8 | 300 | 262 | 38 | 42 | 52 [207|100| 33 | 42 | 50 | 18 | M5*0.8P | M6*1.0P |12 | 3 9.4
BT50-SF25-110 211.8 | 110 | 72 | 38 | 48 | 58 | - |100| 44 |53 | - | 25 | M16*1.0P | M6*1.0P | 1 1 4.5
BT50-SF25-120 221.8 | 120 | 82 |38 |48 |58 | - |100|44 |53 | - |25 | M16*1.0P | M6*1.0P | 3 | 2 4.7
BT50-SF25-160 2618 | 160 | 122 | 38 | 48 | 58 | 79 |100 | 44 | 53 | 57 | 25 | M16*1.0P | M6*1.0P | 8 | 3 5.1
BT50-SF25-200 301.8 | 200 | 162 | 38 | 48 | 58 [107|100| 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 6.1
BT50-SF25-250 351.8 | 250 | 212 | 38 | 48 | 58 |157|100| 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 7.8
BT50-SF25-300 401.8 | 300 | 262 | 38 | 48 | 58 | 207|100 | 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 9.7
BT50-SF32-110 211.8 | 110 | 72 | 38 | 52 | 62 | - |100| 44 |53 | - | 32 | M16*1.0P | M6*1.0P | 1 1 4.5
BT50-SF32-120 221.8 | 120 | 82 | 38 | 52 | 62| - |100|44 |53 | - |32 | M16*1.0P | M6*1.0P | 3 | 2 4.7
BT50-SF32-160 2618 | 160 | 122 | 38 | 52 | 62 | 79 |100| 44 | 53 | 57 | 32 | M16*1.0P | M6*1.0P | 8 | 3 5.1
BT50-SF32-200 301.8 | 200 | 162 | 38 | 52 | 62 |107|100| 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 6.1
BT50-SF32-250 351.8 | 250 | 212 | 38 | 52 | 62 |157|100| 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 7.8
BT50-SF32-300 401.8 | 300 | 262 | 38 | 52 | 62 |207|100| 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 9.7




SRlES A e LS BT30-SFS SHRINK CHUCK (3° C SLENDER TYPE)

D1

FIG.2 D
BT. NO
L3 o
L
1 #& Model L L1 |12 |13 |L4|L5| D [(D1|D2]| d T RKAEEN | FIG | EE KGS
BT30-SFS03-80 1284 [ 80 | 58 [ 22 |12 | - |46 | 7 (13| 3 = 5 1 0.6
BT30-SFS03-120 1684 (120 98 | 22 |12 | - |46 | 7 (17| 3 - 5 2 0.9
BT30-SFS04-80 1284 [ 80 | 58 [ 22 |16 | - (46 | 8 (14| 4 = 5 1 0.6
BT30-SFS04-120 1684 (120 98 | 22 |16 | - |46 | 8 [ 18 | 4 - 5 2 0.9
BT30-SFS05-80 1284 (80 | 58 [ 22 | 18 | - |46 | 9 [15 ] 5 - 5 1 0.6
BT30-SFS05-120 1684 (120 98 | 22 | 18 | - |46 | 9 (19| 5 - 5 2 0.9
BT30-SFS06-80 128.4 | 80 [ 58 | 22 [ 26 | 36 | 46 | 10 | 16 | 6 | M5*0.8P 5 1 0.7
BT30-SFS06-120 168.4 |120| 98 | 22 | 26 | 36 | 46 | 10 | 20 | 6 | M5*0.8P 5 2 1
BT30-SFS08-80 128.4 | 80 | 58 | 22 [ 26 | 36 | 46 | 12 | 16 | 8 | M6*1.0P 5 1 0.7
BT30-SFS08-120 168.4 |120| 98 | 22 | 26 | 36 | 46 | 12 | 20 | 8 | M6*1.0P 5 2 1
BT30-SFS10-80 128.4 | 80 | 58 | 22 | 32 | 42 [ 46 | 14 | 16 | 10 | M8*1.0P 5 1 0.8
BT30-SFS10-120 168.4 |120| 98 | 22 | 32 | 42 | 46 | 14 | 20 | 10 | M8*1.0P 5 2 1.1
BT30-SFS12-80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 16 | 22 | 12 | M10*1.0P 5 1 0.8
BT30-SFS12-120 168.4 |120| 98 | 22 | 37 | 47 | 46 | 16 | 26 | 12 | M10*1.0P 5 2 1.1
BT30-SFS14-80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 18 | 24 | 14 [ M10*1.0P 5 1 1
BT30-SFS14-120 168.4 |120| 98 | 22 | 37 | 47 | 46 | 18 | 28 | 14 | M10*1.0P 5 2 1.2
BT30-SFS16-80 128.4 | 80 | 58 | 22 | 40 | 50 | 46 | 22 | 28 | 16 [M12*1.0P 5 1 1
BT30-SFS16-120 168.4 |120| 98 | 22 | 40 | 50 | 46 | 22 | 31 | 16 | M12*1.0P 5 2 1.2

# @.&’w
N

;ﬁ'l

S71001 OND

Hd




BIETINEZRS
BT40-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 D

1 #& Model L L1 L2 L3 L4 D D1 D2 d RKEEN | FIG EE KGS
BT40-SFS03-90 155.4 90 63 27 12 63 9 15 8 10 1 i
BT40-SFS03-120 185.4 120 93 27 12 63 9 16 3 10 2 1.1
BT40-SFS03-160 225.4 160 | 133 27 12 63 9 19 3 10 2 1.2
BT40-SFS03-200 265.4 200 | 173 27 12 63 9 22 3 10 2 1.2
BT40-SFS04-90 155.4 920 63 27 16 63 10 16 4 10 1 1
BT40-SFS04-120 185.4 120 93 27 16 63 10 17 4 10 2 1.1
BT40-SFS04-160 225.4 160 | 133 27 16 63 10 20 4 10 2 1.2
BT40-SFS04-200 265.4 | 200 | 173 27 16 63 10 23 4 10 2 1.3
BT40-SFS05-90 155.4 90 63 27 18 63 11 17 ) 10 1 1.1
BT40-SFS05-120 185.4 120 93 27 18 63 11 18 5 10 2 1.1
BT40-SFS05-160 225.4 160 | 133 27 18 63 11 21 D) 10 2 1.2
BT40-SFS05-200 265.4 | 200 | 173 27 18 63 11 24 5 10 2 1.3

2

ZNmEe”

S71001 OND




SEOES FS e El e i) BT40-SFS SHRINK CHUCK (3° C SLENDER TYPE)

1 1 Model L L1 | L2 | L3 | L4 L5 D |Dl1|D2]| d T R KEN [FIG | E& KGS
BT40-SFS06-90 1554 [ 90 [ 63 [ 27 | 26 | 36 [ 63 | 12 | 18 | 6 M5*0.8P 10 1 1.1
BT40-SFS06-120 185.4 [120] 93 [ 27 | 26 | 36 [63 |12 |21 | 6 M5*0.8P 10 2 1.1
BT40-SFS06-160 2254 1160|133 27 | 26 | 36 | 63|12 )24 | 6 M5*0.8P 10 2 1.2
BT40-SFS06-200 265.4 1200|173 27 [ 26 | 36 |63 |12 | 27T | 6 M5*0.8P 10 2 1.3
BT40-SFS06-250 315.4 1250|223 27 | 26 | 36 | 63 | 12 6 M5*0.8P 10 2 14
BT40-SFS08-90 1554 [ 90 [ 63 [ 27 | 26 | 36 [63 |14 | 20| 8 M6*1.0P 10 1 1.1
BT40-SFS08-120 185.4 (120 93 [ 27 | 26 | 36 [63 | 14| 23 | 8 M6*1.0P 10 2 1.2
BT40-SFS08-160 2254 1160|133 27 [ 26 | 36 |63 |14 | 26 | 8 M6*1.0P 10 2 1.3
BT40-SFS08-200 265.4 1200|173 27 | 26 | 36 |63 )14 )29 8 M6*1.0P 10 2 14
BT40-SFS08-250 315.4 (250122327 |26 | 36 | 63| 14 8 M6*1.0P 10 2 1.5
BT40-SFS10-90 155.4 | 90 | 63 | 27 [ 32| 42 | 63 |16 | 22 | 10 | M8*1.0P 10 1 1.1
BT40-SFS10-120 185.4 [120| 93 [ 27 | 32| 42 |63 |16 | 25| 10 | M8*1.0P 10 2 1.2
BT40-SFS10-160 2254 [160(133| 27 | 32 | 42 |63 |16 | 28 | 10 | M8*1.0P 10 2 158
BT40-SFS10-200 265.4 [200(173| 27 | 32 | 42 |63 |16 | 31 | 10 | M8*1.0P 10 2 1.5
BT40-SFS10-250 315.4 12501223 27 | 32| 42 | 63| 16 10 | M8*1.0P 10 2 1.7
BT40-SFS12-90 155.4 | 90 | 63 [ 27 | 37| 47 |63 | 18 | 24 | 12 | M10*1.0P 10 1 1.1
BT40-SFS12-120 185.4 |120| 93 [ 27 | 37 | 47 | 63 | 18 | 27 | 12 | M10*1.0P 10 2 1.2
BT40-SFS12-160 225.4 [160(133| 27 | 37 | 47 |63 | 18 | 30 | 12 | M10*1.0P 10 2 14
BT40-SFS12-200 265.4 [200(173| 27 | 37 | 47 |63 |18 | 33 | 12 | M10*1.0P 10 2 1.6
BT40-SFS12-250 315.4 250|223 27 | 37 | 47 | 63 | 18 12 | M10*1.0P 10 2 1.8
BT40-SFS14-90 155.4 | 90 | 63 [ 27 | 37 | 47 | 63 | 20 | 26 | 14 | M10*1.0P 10 1 1.1
BT40-SFS14-120 185.4 |120)| 93 | 27 [ 37 | 47 | 63| 20 | 29 | 14 | M10*1.0P 10 2 13
BT40-SFS14-160 2254 [160(133| 27 | 37 | 47 |63 | 20 | 32 | 14 | M10*1.0P 10 2 1.5
BT40-SFS14-200 265.4 200|173 27 | 37 | 47 |63 | 20| 35 | 14 | M10*1.0P 10 2 1.7
BT40-SFS14-250 315.4 | 250|223 | 27 | 37 | 47 | 63 | 20 14 | M10*1.0P 10 2 1.9
BT40-SFS16-90 155.4 | 90 | 63 [ 27 | 40 | 50 | 63 | 22 | 28 | 16 | M12*1.0P 10 1 1.2
BT40-SFS16-120 185.4 (120 93 | 27 (40 | 50 | 63 | 22 | 31 | 16 | M12*1.0P 10 2 13
BT40-SFS16-160 225.4 |160)133)| 27 | 40 | 50 |63 | 22| 34 | 16 | M12*1.0P 10 2 1.5
BT40-SFS16-200 265.4 [200(173| 27 | 40 | 50 | 63 [ 22 | 37 | 16 | M12*1.0P 10 2 1.8
BT40-SFS16-250 315.4 250|223 27 | 40 | 50 | 63 | 22 16 | M12*1.0P 10 2 2
BT40-SFS18-90 155.4 | 90 | 63 | 27 [ 40 | 50 | 63 | 24 | 30 | 18 [ M12*1.0P 10 1 1.2
BT40-SFS18-120 185.4 |120| 93 [ 27 | 40| 50 | 63 | 24 | 33 | 18 | M12*1.0P 10 2 1.3
BT40-SFS18-160 2254 [(160(133| 27 | 40 | 50 | 63 [ 24 | 36 | 18 | M12*1.0P 10 2 1.6
BT40-SFS18-200 265.4 [200(173| 27 | 40 | 50 | 63 | 24| 39 | 18 | M12*1.0P 10 2 1.9
BT40-SFS18-250 315.4 12501223 27 |40 | 50 | 63 | 24 18 | M12*1.0P 10 2 2.1
BT40-SFS20-90 155.4 | 90 | 63 [ 27 | 42| 52 | 63| 26 | 32 | 20 | M16*1.0P 10 1 1.2
BT40-SFS18-120 185.4 |120)| 93 | 27 [ 42 | 52 | 63 | 26 | 35 | 20 | M16*1.0P 10 2 18
BT40-SFS18-160 225.4 [160(133| 27 | 42 | 52 | 63 | 26 | 38 | 20 | M16*1.0P 10 2 1.7
BT40-SFS18-200 265.4 [200(173| 27 | 42 | 52 | 63 | 26 | 41 | 20 | M16*1.0P 10 2 2
BT40-SFS18-250 315.4 12501223 ) 27 | 42| 52 | 63 | 26 20 | M16*1.0P 10 2 2.2

T IJ9J




S EEVALER D

B A e LS BT50-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 D

L5

L2

F1G.2 D

L5

L4
# D T
L3 o
#1 #& Model L L1 (L2 | L3 |L4(|(L5]| D D1 |D2| d T RKEEN | FIG | E& KGS
BT50-SFS06-100 201.8 |100| 62 | 38 ( 26 | 36 |100( 12 | 18 | 6 M5*0.8P 10 1 3.8
BT50-SFS06-120 221.8 |120| 82 | 38 ( 26 | 36 |100( 12 | 20 | 6 M5*0.8P 10 1 3.9
BT50-SFS06-160 162.8 |160|122( 38 | 26 | 36 (100 12 | 24 | 6 M5*0.8P 10 2 4.2
BT50-SFS06-200 301.8 |200|162| 38 ( 26 | 36 |100( 12 | 28 | 6 M5*0.8P 10 2 5.8
BT50-SFS06-250 351.8 | 250|212 38 | 26 | 36 |100( 12 6 M5*0.8P 10 2 7.2
BT50-SFS08-100 201.8 |100| 62 | 38 | 26 | 36 (100 14 | 20 | 8 M6*1.0P 10 1 3.8
BT50-SFS08-120 221.8 (120| 82 | 38 | 26 | 36 |100| 14 | 22| 8 M6*1.0P 10 1 3.9
BT50-SFS08-160 162.8 [160(122| 38 | 26 | 36 (100| 14 | 26 | 8 M6*1.0P 10 2 4.2
BT50-SFS08-200 301.8 (200|162| 38 | 26 | 36 |100| 14 | 30 | 8 M6*1.0P 10 2 5.8
BT50-SFS08-250 351.8 | 250|212 38 | 26 | 36 (100| 14 8 M6*1.0P 10 2 7.2
BT50-SFS10-100 201.8 (100| 62 | 38 | 32 | 42 |100| 16 | 22 [ 10 | M8*1.0P 10 1 3.9
BT50-SFS10-120 221.8 (120 82 | 38 | 32| 42 (100| 16 | 24 | 10 | M8*1.0P 10 1 4.1
BT50-SFS10-160 162.8 (160|122 38 | 32 | 42 |100| 16 | 28 | 10 | M8*1.0P 10 2 4.3
BT50-SFS10-200 301.8 (200|162| 38 | 32 | 42 |100| 16 | 32 | 10 | M8*1.0P 10 2 5.9
BT50-SFS10-250 351.8 | 250(212( 38 | 32 | 42 |100| 16 10 | MS8*1.0P 10 2 7.6
BT50-SFS12-100 201.8 |100| 62 | 38 | 37 | 47 |100( 18 | 24 | 12 | M10*1.0P 10 1 3.9
\\\& BT50-SFS12-120 221.8 (120| 82 | 38 | 37 | 47 |100| 18 | 26 | 12 | M10*1.0P 10 1 4.1
j ‘@ BT50-SFS12-160 162.8 |160(122| 38 | 37 | 47 |100| 18 | 30 | 12 [ M10*1.0P 10 2 4.3
BT50-SFS12-200 301.8 (200|162| 38 | 37 | 47 |100| 18 | 34 [ 12 | M10*1.0P 10 2 5.9
BT50-SFS12-250 351.8 |[250(212| 38 | 37 | 47 (100| 18 12 | M10*1.0P 10 2 7.6

%
=
7
A

()
=
(g}
—
o
o
-
(72}

I Fe




B A S BT50-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 D

L5

F16.2 D

L5

A4 s,

y o~
a «
L3

’ ﬂ # T
B~ L2
T L1

X
o -

1 ¥ Model L L1 | L2 | L3 ]| L4 | L5 D D1 | D2 | d T R KEM FIG | EE KGS
BT50-SFS14-100 201.8 |100| 62 | 38 | 37 | 47 |100| 20 | 26 | 14 | M10*1.0P 10 1 3.9
BT50-SFS14-120 221.8 |120( 82 | 38 | 37 | 47 |100| 20 28 | 14 | M10*1.0P 10 1 4.1
BT50-SFS14-160 162.8 |160|122| 38 | 37 | 47 |100( 20 | 32 | 14 | M10*1.0P 10 2 4.3
BT50-SFS14-200 301.8 |200|162| 38 | 37 | 47 |100| 20 | 36 | 14 | M10*1.0P 10 2 5.9
BT50-SFS14-250 351.8 | 250(212( 38 | 37 | 47 |100| 20 14 | M10*1.0P 10 2 7.6
BT50-SFS16-100 201.8 |100| 62 | 38 | 40 | 50 |100| 22 | 28 | 16 | M12*1.0P 10 1 4
BT50-SFS16-120 221.8 |120| 82 | 38 | 40 | 50 |100| 22 | 30 | 16 [ M12*1.0P 10 1 4.2
BT50-SFS16-160 162.8 [160(122| 38 [ 40 | 50 [100| 22 | 34 | 16 | M12*1.0P 10 2 4.4
BT50-SFS16-200 301.8 | 200|162 38 | 40 | 50 |100| 22 | 38 | 16 | M12*1.0P 10 2 6
BT50-SFS16-250 351.8 (250|212 38 | 40 | 50 (100 22 16 | M12*1.0P 10 2 1.7
BT50-SFS18-100 201.8 |100| 62 | 38 | 40 | 50 (100( 24 | 30 | 18 | M12*1.0P 10 1 4
BT50-SFS18-120 221.8 |120| 82 | 38| 40 | 50 (100( 24 | 32 | 18 | M12*1.0P 10 1 4.2
BT50-SFS18-160 162.8 [160(122( 38 | 40 | 50 (100| 24 | 36 | 18 | M12*1.0P 10 2 4.4
BT50-SFS18-200 301.8 |200|162| 38 | 40 | 50 (100| 24 | 40 | 18 | M12*1.0P 10 2 6
BT50-SFS18-250 351.8 [ 250|212| 38 | 40 | 50 (100( 24 18 | M12*1.0P 10 2 1.7
BT50-SFS20-100 201.8 |100| 62 | 38 | 42 | 52 [(100| 26 | 32 | 20 | M16*1.0P 10 1 4.1
BT50-SFS20-120 221.8 |120| 82 | 38 | 42 | 52 (100( 26 | 34 | 20 | M16*1.0P 10 1 4.3 {t///'
BT50-SFS20-160 162.8 | 160|122| 38| 42 | 52 |100| 26 | 38 | 20 | M16*1.0P 10 2 4.4 ®, :
BT50-SFS20-200 301.8 |200|162( 38 | 42 | 52 |(100( 26 | 42 | 20 | M16*1.0P 10 2 6.1 #
BT50-SFS20-250 351.8 | 250|212| 38 | 42 | 52 (100| 26 20 | M16*1.0P 10 2 7.8 i

(8]
=
(o]
-
o
o
-
(7]

Hd

Fas [



S EEVALER D

BT30-SFK #4874 (4.5°@7k &)

FIG.1

BT30-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

1 1& Model L L1 L2 L3 L4 D D1 D2 d R FIG | E& KGS
BT30-SF03-80K 128.4 80 58 22 12 46 15 20 3 5 1 0.6
BT30-SF03-120K 168.4 | 120 98 22 12 46 15 20 3 5 2 0.9
BT30-SF04-80K 128.4 80 58 22 16 46 15 20 4 ) 1 0.6
BT30-SF04-120K 168.4 | 120 98 22 16 46 15 20 4 5 2 0.9
BT30-SF05-80K 128.4 80 58 22 18 46 15 20 5 5 1 0.6
BT30-SF05-120K 168.4 | 120 98 22 18 46 15 20 5 5 2 0.9

res
i3

0
=
(o]
-
o
o
-
(7]

= d




BT30-SFK #4871 (4.5°@7k &)

BT30-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG

A
BT. NO

T L4

2-M3*0. 5P

<t o

N
[=]

2-M3%0. 5P

D
D2

1 #& Model L L1 | L2 (L3 |L4)|L5]| D |D1|D2| d T Tl R | FIG |E& KGS
BT30-SF06-80K 128.4 | 80 | 58 [ 22 | 26 | 36 | 46 | 21 | 27 | 6 M5*0.8P M6*1.0P 3 1 0.7
BT30-SF06-120K | 168.4 |120| 98 | 22 | 26 | 36 | 46 | 21 | 27 | 6 M5*0.8P M6*1.0P 5 2 1
BT30-SF08-80K 128.4 [ 80 | 58 [ 22 | 26 | 36 [ 46 | 21 | 27 | 8 M6*1.0P M6*1.0P 3 1 0.7
BT30-SF08-120K | 168.4 |120| 98 | 22 | 26 | 36 | 46 | 21 | 27 | 8 M6*1.0P M6*1.0P 5 2 1
BT30-SF10-80K 128.4 | 80 [ 58 | 22 | 32 (42 | 46 | 24 | 32 | 10 | M8*1.0P M6*1.0P 1 1 0.8
BT30-SF10-120K | 168.4 |120( 98 | 22 | 32 | 42 | 46 | 24 | 32 | 10 | M8*1.0P M6*1.0P 4 2 1.1
BT30-SF12-80K 128.4 | 80 | 58 | 22 | 37 [ 47 | 46 | 24 | 32 | 12 | M10*1.0P | M6*1.0P 1 1 0.8
BT30-SF12-120K | 168.4 |120| 98 | 22 | 37 | 47 [ 46 | 24 | 32 | 12 | M10*1.0P | M6*1.0P 4 2 1.1
BT30-SF14-80K 128.4 | 80 | 58 | 22 | 37 [ 47 | 46 | 27 | 34 | 14 | M10*1.0P | M6*1.0P 1 1 0.8
BT30-SF14-120K [ 168.4 |120| 98 [ 22 | 37 | 47 | 46 | 27 | 34 | 14 | M10*1.0P | M6*1.0P 3 2 1.1
BT30-SF16-80K 128.4 | 80 | 58 | 22 | 40 [ 50 | 46 | 27 | 34 | 16 | M12*1.0P | M6*1.0P 1 1 0.8
BT30-SF16-120K [ 168.4 |120| 98 [ 22 | 40 | 50 | 46 | 27 | 34 | 16 | M12*1.0P | M6*1.0P 3 2 1.1
BT30-SF18-90K 138.4 | 90 | 68 | 22 | 40 [ 50 | 46 | 33 | 42 | 18 | M12*1.0P | M6*1.0P 1 1 0.9
BT30-SF18-120K | 168.4 |120| 98 [ 22 | 40 | 50 | 46 | 33 | 42 | 18 | M12*1.0P | M6*1.0P 1 2 1.2
BT30-SF20-90K 138.4 | 90 | 68 | 22 | 42 [ 52 | 46 | 33 | 42 | 20 | M16*1.0P | M6*1.0P i1 i1 0.9
BT30-SF20-120K | 168.4 |120| 98 | 22 | 42 | 52 | 46 | 33 | 42 | 20 | M16*1.0P | M6*1.0P 1 2 1.2

o 6

frey
g

(8]
=
(o]
-
o
o
-
(7]

Hd




S EEVALER D

BT40-SFK #4874 (4.5°@7k &)

BT40-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

1 & Model L L1 L2 L3 L4 D D1 D2 d R FIG ES KGS
BT40-SF03-90K 155.4 920 63 27 12 63 15 20 3 5 1 1.1
BT40-SF03-120K 185.4 120 93 27 12 63 15 20 3 5 2 1.2

BT40-SF03-160K 225.4 160 | 133 27 12 63 15 25 3 5 2 18

BT40-SF04-90K 155.4 90 63 27 16 63 15 20 4 5 1 1.1
BT40-SF04-120K 185.4 120 93 27 16 63 15 20 4 5 2 1.2
BT40-SF04-160K 225.4 160 | 133 27 16 63 15 25 4 5 2 1.3
BT40-SF05-90K 155.4 920 63 27 18 63 15 20 9 5 1 1.1
BT40-SF05-120K 185.4 120 93 27 18 63 15 20 5 5 2 1.2
BT40-SF05-160K 225.4 160 | 133 27 18 63 15 25 9 5 2 1.3

D

%
=
7
A

0
=
(o]
-
o
o
-
(7]




74 (4.5°%@7k &) BT40-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1 D
BT.NO L5
m
L4, 5o
: ! —3 - 1ot 5 §
I e
T
13 L2
L1
L
F1G. 2 D
BT. NO L5
T1
‘l L4 2-M3%0. 5P
h T v - ot 5] 8
e T
13 L2
L1
L
FIG. 3

2-M3%0. 5P

R

‘

L _P.129 ]

»
L2

L1

L
# #& Model L L1 (L2 |L3|L4|L5(L6| D |D1|D2|D3| d T T1 R | FIG |E£ KGS
BT40-SF06-90K 1554 | 90 | 63 | 27 | 26 | 36 | - |63 | 21 | 27 | - 6 M5*0.8P | M6*1.0P | 5 1 1.2
BT40-SF06-120K 185.4 |120| 93 | 27 | 26 | 36 | - | 63 | 21 | 27 | - 6 M5*0.8P | M6*1.0P | 5 2 1.5
BT40-SF06-160K 225.4 160 133 | 27 | 26 | 36 | 79 | 63 | 21 | 27 | 40 | 6 M5*0.8P | M6*1.0P | 6 3 1.8
BT40-SF06-200K 265.4 | 200 (173 | 27 | 26 | 36 |119| 63 | 21 | 27 | 40 | 6 M5*0.8P | M6*1.0P | 6 3 2.2
BT40-SF06-250K 315.4 | 250 1223 | 27 | 26 | 36 |169| 63 | 21 | 27 | 40 | 6 M5*0.8P | M6*1.0P | 6 3 2.6
BT40-SF06-300K 365.4 [ 300|273 | 27 | 26 | 36 |[219| 63 | 21 | 27 | 40 | 6 M5*0.8P | M6*1.0P | 6 3 3.1
BT40-SF08-90K 1554 | 90 | 63 | 27 | 26 | 36 | - |63 |21 | 27 | - 8 M6*1.0P | M6*1.0P | 5 1 1.2
BT40-SF08-120K 185.4 |120| 93 | 27 | 26 | 36 | - | 63 | 21 | 27 | - 8 M6*1.0P | M6*1.0P | 5 2 1.5
BT40-SF08-160K 225.4 160|133 | 27 | 26 | 36 | 79 | 63 | 21 | 27 | 40 | 8 M6*1.0P | M6*1.0P | 6 3 1.8
BT40-SF08-200K 265.4 | 200|173 | 27 | 26 | 36 |119| 63 | 21 | 27 | 40 | 8 M6*1.0P | M6*1.0P | 6 3 2.2
BT40-SF08-250K 315.4 | 250 1223 | 27 | 26 | 36 [169| 63 | 21 | 27 | 40 | 8 M6*1.0P | M6*1.0P | 6 3 2.6
BT40-SF08-300K 365.4 | 300 273 | 27 | 26 | 36 (219 63 | 21 | 27 | 40 | 8 M6*1.0P | M6*1.0P | 6 3 3.1
BT40-SF10-90K 1554 | 90 | 63 | 27 | 32 | 42 | - |63 |24 |32 - 10 | M8*1.0P | M6*1.0P | 3 1 1.3
BT40-SF10-120K 185.4 |120| 93 | 27 | 32 | 42 | - | 63 | 24 | 32 | - 10 | M8*1.0P | M6*1.0P | 10 2 1.6
BT40-SF10-160K 225.4 |160 133 | 27 | 32 | 42 | 79 | 63 | 24 | 32 | 39 | 10 | M8*1.0P | M6*1.0P | 7 3 1.9 x///
BT40-SF10-200K 265.4 | 200|173 | 27 | 32 | 42 |119| 63 | 24 | 32 | 39 | 10 | M8*1.0P | M6*1.0P | 7 3 2.3 N/
BT40-SF10-250K 315.4 | 250|223 | 27 | 32 | 42 |169 | 63 | 24 | 32 | 39 | 10 | M8*1.0P | M6*1.0P | 7 3 2.7 @;’ ‘
BT40-SF10-300K 365.4 | 300|273 | 27 | 32 | 42 |219| 63 | 24 | 32 | 39 | 10 | M8*1.0P | M6*1.0P | 7 3 3.2
BT40-SF12-90K 1554 | 90 | 63 | 27 | 37 | 47 | - | 63 | 24 | 32 | - 12 | M10*1.0P | M6*1.0P | 3 1 1.3 2 2
BT40-SF12-120K 185.4 |120| 93 | 27 | 37 | 47 | - | 63 | 24 | 32 | - 12 | M10*1.0P | M6*1.0P | 10 2 1.6 iz 0
BT40-SF12-160K 225.4 | 160|133 | 27 | 37 | 47 | 79 | 63 | 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 7 3 %9 7 3
BT40-SF12-200K 265.4 | 200|173 | 27 | 37 | 47 |119| 63 | 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 7 3 2.3 o
BT40-SF12-250K 315.4 | 250|223 | 27 | 37 | 47 |169 | 63 | 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 7 3 27 ] 5
BT40-SF12-300K 365.4 | 300|273 | 27 | 37 | 47 |219| 63 | 24 | 32 | 39 | 12 | M10*1.0P | M6*1.0P | 7 3 3.1
BT40-SF14-90K 1554 | 90 | 63 | 27 | 37 | 48 | - | 63 | 27 | 34 | - 14 | M10*1.0P | M6*1.0P | 3 1 1.3
BT40-SF14-120K 185.4 |120| 93 | 27 | 37 | 47 | - | 63 | 27 | 34 | - 14 | M10*1.0P | M6*1.0P | 10 2 1.6
BT40-SF14-160K 225.4 | 160|133 | 27 | 37 | 47 | 78 | 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 ) 1.9
BT40-SF14-200K 265.4 | 200|173 | 27 | 37 | 47 |118| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 3 2.3
BT40-SF14-250K 315.4 | 250|223 | 27 | 37 | 47 | 168 | 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 B 251
BT40-SF14-300K 365.4 | 300|273 | 27 | 37 | 47 |218| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 3 3.1

Fag [



S EEVALER D

HUETIHG (4.5%587KE) BT40-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

F16.1 D
BT. NO L5
T1
L4, wos
B et 3 8
il O ———
P
L3 L2
L1
L
FIG. 2 D
BT. NO L5
T1
‘l L4 2-M340. 5P
. - - ot 5 8

L3

L1

FIG. 3
BT. NO D
7
e 2-M3*0. 5P
[0 e ] ey
' & = S e < a8
M
13 L2
L1
L
#; # Model L LT [ L2 | 3| L4 | L5 |L6| D |D1|D2|D3]| d T T1 R | FIG |EE& KGS
BT40-SF16-90 155.4 | 90 | 63 | 27 | 40 | 50 | - | 63|27 34| - | 16 | Mm12*1.0p | Me*1.0P | 3 | 1 1.3
BT40-SF16-120 | 185.4 | 120 | 93 | 27 | 40 | 50 | - |63 |27 |34 | - | 16 | M12*1.0P | M6*1.0P | 10 | 2 1.6
BT40-SF16-160 | 225.4 | 160 | 133 | 27 | 40 | 50 | 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 | 3 19
BT40-SF16-200 | 265.4 | 200 | 173 | 27 | 40 | 50 [118| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 | 3 2.3
BT40-SF16-250 | 315.4 | 250 | 223 | 27 | 40 | 50 |168| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0p | 5 | 3 27
BT40-SF16-300 | 365.4 | 300 | 273 | 27 | 40 | 50 [218| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 | 3 3.
BT40-SF18-90 | 155.4 | 90 | 63 | 27 | 40 | 50 | - |63 |33 |41 | - [ 18| M12*1.0P | M6*1.0P | 2 | 1 1.4
BT40-SF18-120 | 185.4 | 120 | 93 | 27 | 40 | 50 | - |63 |33 |42 | - |18 | M12*1.0P | M6*1.0P | 5 | 2 1.8
BT40-SF18-160 | 225.4 | 160 | 133 | 27 | 40 | 50 | - |63 |33 |42 | - | 18 | M12*1.0P | M6*1.0P | 5 | 2 21
BT40-SF18-200 | 265.4 | 200 | 173 | 27 | 40 | 50 | - | 63|33 |42 | - |18 | M12*1.0p | M6*1.0P | 5 | 2 2.4
BT40-SF18-250 | 315.4 | 250 | 223 | 27 | 40 | 50 | - |63 |33 |42 | - | 18 | M12*1.0P | M6*1.0P | 5 | 2 2.8
BT40-SF18-300 | 365.4 | 300 | 273 | 27 | 40 | 50 | - | 63|33 |42 - |18 | M12*1.0p | M6*1.0P | 5 | 2 3.2
BT40-SF20-90 | 1554 | 90 | 63 | 27 | 42 | 50 | - |63 |33 41| - |20 | M16*1.0P | M6*1.0P | 2 | 1 1.4
BT40-SF20-120 | 185.4 | 120 | 93 | 27 | 42 | 50 | - | 63|33 |42 | - | 20 | M16*1.0p | M6*10P | 5 | 2 1.8
BT40-SF20-160 | 225.4 | 160 | 133 | 27 | 42 | 50 | - |63 |33 |42 | - | 20 | M16*1.0P | M6*1.0P | 5 | 2 21
BT40-SF20-200 | 265.4 | 200 | 173 | 27 | 42 | 50 | - |63 33|42 | - | 20 | M16*1.0P | M6*1.0P | 5 | 2 2.4
@ BT40-SF20-250 | 315.4 | 250 | 223 | 27 | 42 | 52 | - | 63|33 |42 | - | 20 | M16*1.0P | M6*1.0P | 5 | 2 2.8
= BT40-SF20-300 | 365.4 | 300 | 273 | 27 | 42 | 52 | - |63 ]33 ]42| - | 20 | M16*1.0P | M6*1.0P | 5 | 2 3.2
g 5 BT40-SF25-100 | 155.4 | 90 | 63 | 27 | 48 | 58 | - |63 |44 [ 53| - | 25 | M16*1.0P | M6*1.0P | 2 | 1 21
(o] ;_"‘E BT40-SF25-120 185.4 | 120 93 27 48 58 . 63 | 44 | 53 - 25 M16*1.0P M6*1.0P 2 2 2.3
5' 7 BT40-SF25-160 | 225.4 | 160 | 133 | 27 | 48 | 58 | - | 63|44 |53 | - | 25 | M16*1.0p | Me*1.0P | 2 | 2 2.6
o BT40-SF25-200 265.4 | 200 173 27 48 58 - 63 | 44 | 53 . 25 M16*1.0P M6*1.0P 2 2 3.1
0 i BT40-SF25-250 | 315.4 | 250 | 223 | 27 | 48 | 58 | - | 63|44 |53 | - | 25 | M16*1.0p | M6*1.0P | 2 | 2 3.6
BT40-SF25-300 365.4 | 300 | 273 27 48 58 = 63 | 44 | 53 . 25 M16*1.0P M6*1.0P 2 2 41
BT40-SF32-100 | 155.4 | 90 | 63 | 27 | 52 | 62 | - | 63|44 |53 | - | 32| mMi6*1.0p | Me*1.0p | 2 | 1 2.1
BT40-SF32-120 185.4 | 120 93 27 52 62 - 63 | 44 | 53 - 32 M16*1.0P M6*1.0P 2 2 2.3
BT40-SF32-160 | 225.4 | 160 | 133 | 27 | 52 | 62 | - | 63|44 | 53| - | 32| mi6*1.0p | Me*10Pp | 2 | 2 2.6
BT40-SF32-200 265.4 | 200 173 27 52 62 - 63 | 44 | 53 - 32 M16*1.0P M6*1.0P 2 2 31
BT40-SF32-250 | 315.4 | 250 | 223 | 27 | 52 | 62 | - | 63|44 |53 | - | 32| mi6*1.0p | Me*10P | 2 | 2 3.6
BT40-SF32-300 365.4 | 300 | 273 27 52 62 - 63 | 44 | 53 - 32 M16*1.0P M6*1.0P 2 2 41

R0



BT50-SFK #.45 774 (4.5°%@7k &) BT50-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1 D

2-M3*0. 5P

ta o

FIG. 2 D

L5

— > 2-M3*0.5P

overl iz 1=t 5 8
[ | PR B A

D1

L2

L3

L1

Q FIG. 3 D

2-M3*0. 5P

~f5|a

# % Model L 0] 3[w@]L5]L6]D|DI|D2[D3] d T T R |FIG | && KGS
BT50-SF06-100 | 201.8 |100] 62 | 38 | 26 | 36 | - |100] 21 [27| - | 6 | m5*0.8P | mM6*1.0Pp | 2 | 1 37
BT50-SF06-120 | 221.8 |120] 82 | 38 |26 | 36 | - |100]|21[27 ] - | 6 | mM5*0.8P | Mée*1.0P | 12| 2 3.9
BT50-SF06-160 | 2618 | 160|122| 38 | 26 | 36 | 58 [100] 21 [ 27 [ 39| 6 | M5*0.8P | M6*1.0P | 12 | 3 4.2
BT50-SF06-200 | 301.8 | 200|162 | 38 | 26 | 36 | 92 |[100] 21 [ 27 42| 6 | M5%0.8P | M6*1.0P |12 3 5.8
BT50-SF06-250 | 351.8 | 250|212 | 38 | 26 | 36 |142[100| 21 [ 27 [ 42| 6 | mM5*0.8P | M6*1.0P | 12| 3 7.4
BT50-SF06-300 | 401.8 | 300|262 | 38 | 26 | 36 |192]100] 21 |27 | 42| 6 | M5%0.8P | M6*1.0P |12 3 8.9
BT50-SF08-100 | 201.8 |100| 62 | 38 [ 26 [ 36 | - [100|21 27| - | 8 | Me*1.0P | M6*1.0P | 2 | 1 3.8
BT50-SF08-120 | 221.8 |120] 82 | 38 [ 26 | 36 | - [100|21 27| - | 8 | me*1.0Pp | Me*1.0P |12 ] 2 3.9
BT50-SF08-160 | 2618 | 160|122 | 38 | 26 | 36 | 58 [100] 21 [ 27 [ 39| 8 | mée*1.0p | M6e*1.0P |12 3 4.2
BT50-SF08-200 | 301.8 | 200|162 | 38 | 26 | 36 | 92 |100| 21 | 27 | 42| 8 | mM6*1.0P | M6*1.0P | 12| 3 5.8
BT50-SF08-250 | 351.8 | 250|212 | 38 | 26 | 36 [142]100| 21 [ 27 [ 42| 8 | Me*1.0P | M6*1.0P [ 12| 3 7.4
BT50-SF08-300 | 401.8 | 300|262 | 38 | 26 | 36 [192]100| 21 |27 | 42| 6 | M5*0.8P | Mé*1.0P | 12| 3 8.9
BT50-SF10-100 | 201.8 |100| 62 | 38 | 32 [ 42 | - [100|24 32| - [ 10| ms8*1.0Pp | Me*1.0P | 2 | 1 3.9
BT50-SF10-120 | 221.8 |120] 82 | 38 |32 |42 | - |100]| 24| 32| - | 10| mM8*1.0p | M6*1.0P | 10| 2 4.1
BT50-SF10-160 | 2618 | 160|122 | 38 | 32 | 42 [ 72 [100] 24 [ 32 [ 38 [ 10 | m8*1.0p | M6*1.0P |15 3 43 7
BT50-SF10-200 | 301.8 | 200|162 | 38 | 32 | 42 [107]100] 24 [ 32|39 | 10 | m8*1.0p | M6*1.0P | 15] 3 5.9 i
BT50-SF10-250 | 351.8 | 250|212 38 | 32 | 42 [127]100| 24 [ 3239 [ 10| m8*1.0p | M6*1.0P [ 15| 3 75 &
BT50-SF10-300 | 401.8 | 300|262 | 38 | 32 | 42 [207]100] 21 [ 27 | 39 | 10 | M5*0.8P | M6*1.0P | 15] 3 8.9 % o
BT50-SF12-100 | 201.8 |100| 62 | 38 [ 37 [ 47 [ - [100] 2432 - [12 [ mMi10*1.0p | Me*1.0P | 2 | 1 3.9 =z
BT50-SF12-120 | 221.8 [120] 82 | 38 | 37 | 47| - [100| 24 [ 32| - [ 12| M10*1.0P | M6*1.0P | 10| 2 47 }"“_"
BT50-SF12-160 | 2618 | 160|122 38 | 37 [ 47 [ 72 [100| 24 [ 32 [ 38 [ 12 | M10*1.0P | M6*1.0P [ 15| 3 4.3 7] ©
BT50-SF12-200 | 301.8 | 200|162 | 38 | 37 | 47 [107]100] 24 [ 32| 39 | 12 | m10*1.0P | M6*1.0P | 15| 3 5.9 mg
BT50-SF12-250 | 351.8 | 250|212 38 | 37 | 47 [157[100| 24 [ 32 [ 39 [ 12 | M10*1.0P | M6*1.0P [ 15| 3 75 L
BT50-SF12-300 | 401.8 | 300|262 | 38 | 37 | 47 [207]100] 24 [ 32| 39 | 12 | m10*1.0p | M6*1.0P |15 3 9.1
BT50-SF14-100 | 201.8 |100| 62 | 38 |37 [ 47 | - [100|27 34| - [ 14 | M10*1.0P | M6*1.0P | 4 | 1 3.9
BT50-SF14-120 | 221.8 |120] 82 | 38 |37 | 47 | - |100| 27|34 | - | 14 | Mm10*1.0P | M6*1.0P | 10 | 2 4
BT50-SF14-160 | 2618 | 160|122 | 38 | 37 | 47 [ 67 [100| 27 [ 34 | 41 [ 14 | Mm10*1.0P | M6*1.0P [ 15| 3 4.3
BT50-SF14-200 | 301.8 | 200|162 | 38 | 37 | 47 [107|100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 5.9
BT50-SF14-250 | 351.8 | 250|212 38 | 37 | 47 [157[100| 27 [ 34 [ 41 [ 14 | Mm10*1.0P | M6*1.0P [ 15| 3 75
BT50-SF14-300 | 401.8 | 300|262 | 38 | 26 | 36 |207|100| 27 | 34 | 41 | 14 | M10*1.0P | M6*1.0P | 15| 3 9.1

Far [



S EEVALER D

BT50-SFK #.45 774 (4.5°%@7k &) BT50-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FI1G. 1 D

2-M3*0. 5P

ta o

FIG. 2 D

L5

T1
L4l o mgno sp

Lyulg:,vEg

- i Ao

L2

L3

L1

Q FIG.3 D
ﬂl F—'Ls'-“ 2-M3%0. 5P
’4—»
A L T <f58
J I A—
T
L2
L
M #& Model L L[]l b |b1|p2[bp3]d T T R |FIG] E& KGS
BT50-SF16-100 | 201.8 | 100 | 62 | 38 | 40 | 50 | - [100]27 34| - |16 | M12*1.0P | M6*1.0P | 4 | 1 3.9
BT50-SF16-120 | 221.8|120| 82 |38 |40 | 50 | - |100|27 |34 | - | 16 | M12*1.0P | M6*1.0P | 10 | 2 41
BT50-SF16-160 | 2618 | 160 | 122 | 38 | 40 | 50 | 67 |100| 27 | 34 | 41 | 16 | M12*1.0P | M6*1.0P | 15| 3 4.3
BT50-SF16-200 | 301.8 | 200 | 162 | 38 | 40 | 50 [107|100| 27 | 34 | 41 | 16 | M12*1.0P | M6*1.0P | 15 | 3 5.9
BT50-SF16-250 | 351.8 | 250 | 212 | 38 | 40 | 50 [157|100| 27 | 34 [ 41 | 16 | M12*1.0P | M6*1.0P | 15 | 3 7.5
BT50-SF16-300 | 401.8 | 300 | 262 | 38 | 40 | 50 |207|100| 27 | 34 | 41 | 16 | M5*0.8P | M6*1.0P | 15 | 3 9.1
BT50-SF18-100 | 201.8 | 100 | 62 |38 | 40 | 50 | - [100|33 |42 | - |18 | M12*1.0P | M6*1.0P | 3 | 1 4]
BT50-SF18-120 | 221.8 | 120 | 82 |38 |40 |50 | - [100]33 |42 | - | 18| M12*1.0P | M6*1.0P | 4 | 2 4.2
BT50-SF18-160 | 2618 | 160 | 122 | 38 | 40 | 50 | 77 [100| 33 | 42 | 47 | 18 | M12*1.0P | M6*1.0P | 12 | 3 4.4
BT50-SF18-200 | 301.8 | 200 | 162 | 38 | 40 | 50 (107|100 | 33 | 42 | 50 | 18 | M12*1.0P | M6*1.0P | 12 | 3 6.1
BT50-SF18-250 | 351.8 | 250 | 212 | 38 | 40 | 50 (157 |100| 33 | 42 | 50 | 18 | M12*1.0P | M6*1.0P | 12 | 3 7.8
BT50-SF18-300 | 401.8 | 300 | 262 | 38 | 40 | 50 (207|100| 27 | 34 | 50 | 18 | M5*0.8P | M6*1.0P | 12 | 3 9.4
BT50-SF20-100 | 201.8 | 100 | 62 |38 | 42 | 52 | - [100|33 42| - |20 | M16*1.0P | M6*1.0P | 3 | 1 41
BT50-SF20-120 | 221.8 | 120 | 82 |38 |42 | 52 | - [100|33 |42 | - |20 | M16*1.0P | M6*1.0P | 4 | 2 4.2
N BT50-SF20-160 | 2618 | 160 | 122 | 38 | 42 | 52 [ 77 [100| 33 | 42 | 47 | 20 | M16*1.0P | M6*1.0P | 12 | 3 4.4
\\\@4 BT50-SF20-200 | 301.8 | 200 | 162 | 38 | 42 | 52 [107[100| 33 | 42 | 50 | 20 | M16*1.0P | M6*1.0P | 12 | 3 6.1
lg BT50-SF20-250 | 351.8 | 250 | 212 | 38 | 42 | 52 [157[100| 33 | 42 [ 50 | 20 | M16*1.0P | M6*1.0P [ 12 | 3 7.8
- BT50-SF20-300 | 401.8 | 300 | 262 | 38 | 42 | 52 (207[100|33 |42 | 50 | 18 | M5*0.8P | M6*1.0P | 12 | 3 9.4
= BT50-SF25-110 | 211.8 | 110 | 72 | 38 | 48 [ 58 | - [100] 44 |53 | - |25 | M16*1.0P | M6*1.0P | 1 | 1 4.5
‘:'}:"é BT50-SF25-120 | 221.8 | 120 | 82 |38 |48 |58 | - [100|44 |53 | - |25 | M16*1.0P | M6*1.0P | 3 | 2 4.7
o 73 BT50-SF25-160 | 2618 | 160 | 122 | 38 | 48 | 58 | 79 |100| 44 | 53 | 57 | 25 | M16*1.0P | M6*1.0P | 8 | 3 5.1
= BT50-SF25-200 | 301.8 | 200 | 162 | 38 | 48 | 58 |107|100| 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 6.1
» 1 BT50-SF25-250 | 351.8 | 250 | 212 | 38 | 48 | 58 [157|100| 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 7.8
BT50-SF25-300 | 401.8 | 300 | 262 | 38 | 48 | 58 |207|100| 44 | 53 | 61 | 25 | M16*1.0P | M6*1.0P | 8 | 3 9.7
BT50-SF32-110 | 211.8 | 110 | 72 [ 38 [ 52 | 62 | - [100| 44 |53 | - |32 | M16*1.0P | M6*1.0P | 1 | 1 45
BT50-SF32-120 | 221.8 | 120 | 82 |38 |52 | 62 | - |100| 44 |53 | - |32 | M16*1.0P | M6*1.0P | 3 | 2 47
BT50-SF32-160 | 2618 | 160 | 122 | 38 | 52 | 62 | 79 [100| 44 | 53 | 57 | 32 | M16*1.0P | M6*1.0P | 8 | 3 5.1
BT50-SF32-200 | 301.8 | 200 | 162 | 38 | 52 | 62 (107|100 | 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 6.1
BT50-SF32-250 | 351.8 | 250 | 212 | 38 | 52 | 62 [157|100| 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 7.8
BT50-SF32-300 | 401.8 | 300 | 262 | 38 | 52 | 62 [207|100| 44 | 53 | 61 | 32 | M16*1.0P | M6*1.0P | 8 | 3 9.7

SR



BT30-SL #4704 (3°—{#E!) BT30-SL SHRINK FIT HOLDER(3° MONO)

BT. NO

T === ©

tﬂﬂﬂ i mIAKE
L1 M Working \eng(hl
L

*%q "r WEEER
ﬁ‘ ® HIET ECC IR, BfE

SEALRAT .
ﬁ**%’? ® JIRRE FATIAN, %L
TEBABAKE ) FE e S ERIALE

BS Model
BT30-SLSA3-75-M22 3 6 1.5 75 22 | 31 8.3 25 9 99 0.4 4.6
BT30-SLSA3-95-M42 3 6 1.5 95 42 | 31 104 | 25 9 119 0.4 9.2
BT30-SLSA3-120-M67 3 6 1.5 120 67 31 13 25 9 144 0.5 14.9
BT30-SLRA3-75-M22 3 7.5 2.25 75 22 | 31 9.8 25 9 99 0.5 2.8
BT30-SLSA3.175-75-M22 3.175| 6.175 | 1.5 75 22 | 31 8.5 25 9 99 0.4 4.4
BT30-SLSA3.175-95-M42 3.175| 6.175 | 1.5 95 42 | 31 10.6 | 25 9 119 0.4 8.8
BT30-SLSA4-75-M22 4 7 1.5 75 22 | 31 9.3 25 | 12 929 0.4 3.6
BT30-SLSA4-95-M42 4 7 1.5 95 42 | 31 11.4 | 25 | 12 | 119 0.4 7.3
BT30-SLSA4-120-M67 4 7 1.5 120 67 | 31 14 25 | 12 | 144 0.5 11.9
BT30-SLRA4-75-M22 4 10 3 75 22 31 123 | 25 | 12 929 0.5 1.8
BT30-SLSA6-75-M22 6 9 1.5 75 22 | 31 113 | 25 | 18 929 0.4 24
BT30-SLSA6-95-M42 6 1.5 95 42 | 31 13.4 | 25 | 18 | 119 0.4 4.9
BT30-SLSA6-120-M67 6 9 1.5 120 67 | 31 16 25| 18 | 144 0.5 8.3
BT30-SLRA6-75-M22 6 12 3 75 22 31 143 | 25 | 18 929 0.4 1.4
BT30-SLRA8-75-M22 8 14 3 75 22 31 16.3 | 25 | 24 929 0.4 1.2
BT30-SLRA10-75-M22 10 16 3 75 22 | 31 18.3 | 25 | 30 929 0.4 1.1
BT30-SLRA12-75-M22 12 20 4 75 22 31 223 | 25| 30 929 0.5 1
BT30-SLRA16-60-M22 16 26 5 60 22 | 16 28.3 | 34| 32 60 0.5 0.5
BT30-SLRA20-65-M22 20 32 6 65 22 | 21 343 | 40 | 38 60 0.5 0.4

BT30 - SLSA - 3 - 75 - M22

s %

Working length

Length (L)
={@ Diameter
=@] Holder type
>[5 1 X ] Taper size

e
t

()
=
(g}
—
o
o
-
(72}

Hd

Fas [



S EEVALER D

BT30-SL #4871 (CV i&EEY) BT30-SL SHRINK FIT HOLDER(GV CURVE)

FIG. 1 — s
2D curve
%WQT ol s
M MIBEYKE
Working length
L
FIG. 2
b 32124

2D curve

i cEC

mIERKE

Working length

e TEE o
Z2inS £F miEEEm

( Safety mark ) ( Thickness )

© HIFT HEMMINIT, B

ﬁ DA AL .
W?*J*ﬁ*g ® IRZE HAJIAN, %L

h DEBKBAKE | KIIARA A S BRI E
BE Model FIG D c t L M ca H h  ®EEKGS S
BT30-SLSA4-75CV 1| 4 7 15| 75 53 | 34 | 12| 99 0.5 1.8
BT30-SLSA4-90CV 1| 4 7 |15 90 68 | 34 | 12| 114 0.5 2.8
BT30-SLSA4-120CV 1| 4 7 | 15| 120 98 | 34 | 12| 144 0.5 6.6
BT30-SLRA4-90CV 2 | 4 0 |3 90 68 | 34 | 12| 114 0.5 2
BT30-SLRA4-120CV 2 | 4 0 |3 120 98 | 34 | 12| 144 0.5 2.9
BT30-SLSA6-75CV 1 | s 15| 715 53 | 34 | 18| 99 0.5 1.5
BT30-SLSA6-90CV 1 | s 9 |15]| 90 68 | 34 | 18| 114 0.5 2.4
BT30-SLSA6-120CV 1 | s 15| 120 98 | 34 | 18 | 144 0.5 5.6
BT30-SLRA6-90CV 2 | s 13 [35] 90 68 | 34 | 18| 114 0.5 1.6
BT30-SLRA6-120CV 2 | s 13 35| 120 98 | 34 | 18 | 144 0.5 2.5
BT30-SLSAS-75CV 1 | 8 11 |15 75 53 | 34 | 24| 99 0.5 1.3
BT30-SLSA8-90CV 1 | 8 11 |15 90 68 | 34 | 24| 114 0.6 22
N; BT30-SLRAS-90CV 2 | s 16 | 4 90 68 | 34 | 24| 114 0.5 1.1
$ BT30-SLSA10-75CV 1 | 10| 13 [15] 75 53 | 34 |30 99 0.5 1.2
o BT30-SLSA10-90CV 1 | 10| 13 [15] 90 68 | 34 | 30| 114 0.5 2
- BT30-SLRA10-90CV 1 | 10| 19 [a5] o0 68 3 | 30| 114 0.6 1.1
S
g BT30 - SLSA - 4 - 75 - CV

Length (L)
> 7] ¥ H & | Diameter

>3 8 X S | Holder type

>3 2 R | tapersize




BT40-SL #4870 (3°—{FE!)

FIG. 2

BT40-SL SHRINK FIT HOLDER(3° MONO)

D]
c
Gl

MITEMAKE

Working length

MIBMIKE | working length
Length (L)

> 7] #f H £ ) Diameter

> Ih B £ S | Holder type

>3 1A 5 X ]Tapersize

25 SR, EEEEEH
] ® HIST WE{EMBIECT, s
B ool * BALRLET .

H <M.m§f;§s§sﬁﬁf%wou ® DE?% A TIEE, 1550

h NEBRAENKE 7] Bl A 2 410 5 BRI E

BIE Model FIG D C t L M L1 L2 (oh § c2 C3 H h E&£ KGS S
BT40-SLSA3-95-M42 1 3 6 1.5 95 42 26 * 10.4 25 * 9 130 1 9.1
BT40-SLSA3-120-M67 1 3 6 1.5 120 67 26 * 13 25 * 9 155 1 14.6
BT40-SLSA3-125-M42 1 3 6 1.5 125 42 56 * 10.4 25 * 9 160 1.1 9.7
BT40-SLSA3-150-M67 1 3 6 1.5 150 67 56 * 13 25 * 9 185 1.1 15.7
BT40-SLSA3-150-M97 1 3 6 1.5 150 97 26 * 16.2 25 * 9 185 1.1 20.4
BT40-SLSA3-155-M42 2 3 6 1.5 155 42 33 | 53 104 | 26 | 40 9 190 1.4 9.9
BT40-SLSA3-180-M67 2 3 6 1.5 180 67 33 | 53 13 25 | 39 9 215 1.4 15.7
BT40-SLSA3-180-M97 1 3 6 1.5 180 97 56 * 16.2 25 * 9 215 1.2 22.1
BT40-SLSA3-210-M97 2 3 6 1.5 210 97 33 | 53 16.2 25 | 39 9 245 14 22.1
BT40-SLRA3-75-M22 1 3 |7.5]2.25 75 22 26 * 9.8 25 * 9 110 1 2.7
BT40-SLRA3-95-M42 1 3 [75](2.25 95 42 26 * 11.9 25 * 9 130 1 5.3
BT40-SLRA3-105-M22 1 3 [75(2.25]| 105 22 56 * 9.8 25 * 9 140 1.1 3.2
BT40-SLRA3-120-M67 1 3 |7.5]2.25| 120 67 26 * 14.5 25 * 9 155 1.1 8.8
BT40-SLRA3-125-M42 1 3 |7.5]2.25| 125 42 56 * 119 25 * 9 160 1.1 6
BT40-SLRA3-135-M22 2 3 |7.5]2.25| 135 22 33 | 53 9.8 25 | 39 9 170 1.4 3.2
BT40-SLRA3-150-M67 1 3 |7.5]2.25| 150 67 56 * 14.5 25 * 9 185 1.2 14.5
BT40-SLRA3-150-M97 1 3 |7.5]2.25| 150 97 26 * 17.7 25 * 9 185 1.1 12.8
BT40-SLRA3-155-M42 2 3 |7.5]2.25| 155 42 33 | 53 11.9 25 | 39 9 190 1.4 6
BT40-SLRA3-180-M67 2 3 [7.5]2.25( 180 67 33 | 53 14.5 26 | 40 9 215 1.4 9.8
BT40-SLRA3-180-M97 1 3 |7.5]|2.25| 180 97 56 * 17.7 25 * 9 215 1.2 14.3
BT40-SLRA3-180-M127 1 3 [75(2.25| 180 127 | 26 * 20.8 36 * 9 215 1.1 15.7
BT40-SLRA3-210-M97 2 3 [75(2.25| 210 97 33 | 53 17.7 25| 39 9 245 1.5 14.4
BT40-SLRA3-210-M127 1 3 |7.5]2.25| 210 127 | 56 * 20.8 32 * 9 245 1.4 16.5
BT40-SLRA3-240-M127 2 3 |7.5]|2.25| 240 127 | 28 | 58 20.8 36 | 50 9 275 1.8 16.3

BT40 - SLSA - 3 - 95 - M42



S EEVALER D

BT40-SL #487048 (3°—{#E!) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1

Faf o G[S

MITERKE

orking length

FIG. 2

I
€
I
D]
c
cl

M hllv%ﬁ?gnﬁhfﬁ
£ R, EEEEEm
| ® HIST iS7EMIE U, B4
C 0] SUERDLI
W | IREKE e JJARE HAJIAN, %L
h NEBRAENKE 7] B\ 2 410 5 BRI E
EIS Model FIG D C t L M L1 L2 c1 C2 C3 H h ZEEKGS S
BT40-SLFB3-75-M22 1 3 [9.5](3.25 75 22 26 * 11.8 25 * 9 110 1 1.9
BT40-SLFB3-95-M42 1 3 19.5]3.25 95 42 26 * 13.9 25 * 9 130 1 3.2
BT40-SLFB3-105-M22 1 3 19.5|3.25| 105 22 56 * 11.8 25 * 9 140 1.1 2.3
BT40-SLFB3-120-M67 1 3 19.5]3.25| 120 67 26 * 16.5 25 * 9 155 1.1 5.3
BT40-SLFB3-125-M42 1 3 [9.5(3.25| 125 42 56 * 13.9 25 * 9 160 1.1 3.9
BT40-SLFB3-135-M22 2 3 19.5|3.25| 135 22 33 | 53 11.8 25 | 39 9 170 1.4 2.3
BT40-SLFB3-150-M67 1 3 19.5]|3.25| 150 67 56 * 16.5 25 * 9 185 1.2 6.4
BT40-SLFB3-155-M42 2 3 19.5]|3.25| 155 42 33 | 53 13.9 25 | 39 9 190 1.4 3.9
BT40-SLFB3-180-M67 2 3 [9.5(3.25| 180 67 33 | 53 16.5 26 | 40 9 215 1.4 6.3
BT40-SLSA4-95-M42 1 4 7 1.5 95 42 26 * 11.4 25 * 12 130 1 7.1
BT40-SLSA4-120-M67 1 4 7 1.5 120 67 26 * 14 25 * 12 | 155 1 11.7
BT40-SLSA4-125-M42 1 4 7 1.5 125 42 56 * 11.4 25 * 12 160 1.1 7.9
BT40-SLSA4-150-M67 1 4 7 1.5 150 67 56 * 14 25 * 12 185 1.1 12.8
BT40-SLSA4-150-M97 1 4 7 1.5 150 97 26 * 17.2 25 * 12 185 1.1 16.5
BT40-SLSA4-155-M42 2 4 7 1.5 155 42 33 | 53 11.4 25 | 39 12 | 190 1.4 7.9
BT40-SLSA4-180-M67 2 4 7 1.5 180 67 33 | 53 14 25 | 39 12 | 215 1.4 12.8
BT40-SLSA4-180-M97 1 4 7 1.5 180 97 56 * 17.2 25 * 12 215 1.2 18.3
BT40-SLSA4-210-M97 2 4 7 1.5 210 97 33 | 53 17.2 25 39 12 245 1.5 18.2
BT40-SLRA4-75-M22 1 4 10 3 75 22 26 * 12.3 25 * 12 110 1 1.7
\&\m BT40-SLRA4-95-M42 1 4 10 3 95 42 26 * 14.4 25 * 12 130 1 3.1
\ «’ BT40-SLRA4-105-M22 1 4 10 3 105 22 56 * 12.3 25 * 12 140 1.1 2.2
@‘ BT40-SLRA4-120-M67 1 4 10 3 120 67 26 * 17 25 * 12 155 1.1 5.1
2 54 BT40-SLRA4-125-M42 1 4 10 3 125 42 56 * 14.4 25 * 12 160 1.1 3.8
a o BT40-SLRA4-135-M22 2 4 10 3 135 22 33 | 53 12.3 25 39 12 170 1.4 2.2
6' BT40-SLRA4-150-M67 1 4 10 3 150 67 56 * 17 25 * 12 185 1.2 6.3
'9 7] BT40-SLRA4-150-M97 1 4 10 3 150 97 26 * 20.2 25 * 12 185 1.1 1.7
(7,]
& BT40 - SLFB- 3 - 756 - M22 @
Working length SLFB

Length (L)
=@ Diameter
=@] Holder type
»(3& # 7 X ) taper size

S Fas



BT40-SL AR (3°—(45)

FIG. 1
BT. NO

BT40-SL SHRINK FIT HOLDER(3° MONO)

% —
—_— . e e G o[o
L1 M H%ﬁ%ﬂg
L
- o - afo|s
M LR
28 2E masEm
[ O e sty e, Sl
ﬁ D_b! EFLRET .
Jﬁ?***ﬁﬁg ® JIARE AT, 50
h NEBRBAKE I R L A8 S IR IILE .

S Model FIG D C t L M L1 L2 €1 €2 €3 H h HBEEKGS S
BT40-SLRA4-155-M42 2 | 4f10] 3 | 155 42 [33[53] 144 [25]39] 12 [190] 1.4 3.8
BT40-SLRA4-180-M67 2 | 4]10] 3 | 180 [ 67 [33[53] 17 [25] 39 [ 12 [215] 1.4 6.2
BT40-SLRA4-180-M97 14|10 3 18097 [56] * 202 25| * [12]215] 1.2 9.5
BT40-SLRA4-180-M127 | 1 | 4 |10 | 3 | 180 [127 |26 | * | 233 [32] * [ 12 [215] 1.2 9.4
BT40-SLRA4-210-M97 2 410 3 [ 210 97 [33[53] 202 [25]39]12[245] 15 9.4
BT40-SLRA4-210-M127 | 1 | 4 [10| 3 | 210 [127 56 | * | 233 [32] * [ 12 [245| 14 | 103
BT40-SLRA4-240-M127 | 2 | 4 10| 3 | 240 [ 127 [ 30 [ 56 | 23.3 [ 32| 46 | 12 [ 275 | 1.8 | 10.4
BT40-SLFB4-75-M22 1| a12] 4| 715 [ 22|26 * [ 143 25| * [ 12110 1 1.3
BT40-SLFB4-95-M42 14|12 4 | 95 [ 4226 * [ 164 [25] * [ 12 [130] 11 2.2
BT40-SLFB4-105-M22 14|12 4 [105] 2256 * 143 25| * [ 12 140] 11 1.8
BT40-SLFB4-120-M67 14|12 4 [120 [ 67 [26 ] * 19 (25| * [ 12155 1a 3.5
BT40-SLFB4-125-M42 1 | 4|12 4 [ 125 | 42 |56 ~ | 164 [ 25| * [ 12 [160 ] 1.2 2.9
BT40-SLFB4-135-M22 2 |4 ]12] 4 | 135 | 22 [33 53] 143 [25] 3912 [170] 14 1.8
BT40-SLFB4-150-M67 1| 4|12] 4 [150 [ 67 [56] * 19 [25] * [ 12 [185 | 1.2 4.7
BT40-SLFB4-155-M42 2 |4 [12] 4 [ 155 | 42 [33 53] 164 [25[ 39 [ 12 [190 ] 1.4 2.9
BT40-SLFB4-180-M67 2 [ 412 4 [ 180 [ 67 [33[53] 19 [25[39 [ 12 [215] 15 4.7
BT40-SLSA6-95-M42 1|6 |9 |15 95 [ 42 [26] * | 134 [25] * | 18 | 130 1 4.8
BT40-SLSA6-120-M67 1|6 |9 |15]120[ 67 [26] * 16 |25 *~ [ 18 155 11 8
BT40-SLSA6-125-M42 1|6 |9 |15)125 42 [56] * 134 [25] * [ 18 [160] 1.1 5.6
BT40-SLSA6-150-M67 1|6 |9[15]15 |67 [56] * 16 |25 *~ [ 18 [185 ] 1.2 9.2 :(//
BT40-SLSA6-150-M97 1|6 |9 |15[150 [97 [26] * [ 192 [32] *~ [ 18 [185] 11 11 &
BT40-SLSA6-155-M42 2 | 6|9 |15 155 42 [33[53] 134 [25] 39 18 [190] 1.4 5.6
BT40-SLSA6-180-M67 2 |69 |15]18 [ 67 [33|[53] 16 [25] 3918 [215] 1.4 9.2 o
BT40-SLSA6-180-M97 1|6 |9 [15]18 [97 [56] * [ 192 [32] * |18 [215] 1.3 11.7 Za
BT40-SLSA6-210-M97 2 6|9 1521097 [3056] 192 [32]46] 18 [245] 17 | 117 718

BT40 - SLFB- 3 - 75 - M22 i &
Working length SLﬂE

Length (L)

> 7] # B & ] Diameter
=@] Holder type
> 58 1 i X Taper size




S EEVALER D

BT40-SL #487048 (3°—{#E!) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1

-t ol G[S

MITERKE

orking length

FIG. 2

\
€
|
D]
c
cl

MITEMKE

M Working length

£ R, EEEEEm
| ® HIST iH7EMMEIUF, Sl
B O_Dl BALRLET .

| R e JIARE AN, WY

h NEBRAENKE 7] B\ 2 410 5 BRI E

RS Model FIG D C t L M L1 L2 Cl Cc2 «3 H h ==& KGS S
BT40-SLSB6-95-M42 1 6 |10 2 95 42 26 * 144 | 25 * 18 | 130 1 3.6
BT40-SLSB6-120-M67 1 6 |10 2 120 67 26 * 17 25 * 18 155 1.1 6.1
BT40-SLSB6-125-M42 1 6 |10 2 125 42 56 * 14.4 25 * 18 160 1.1 4.5
BT40-SLSB6-150-M67 1 6 |10 2 150 67 56 * 17 25 * 18 185 1.2 7.4
BT40-SLSB6-150-M97 1 6 |10 2 150 97 26 * 20.2 | 32 * 18 | 185 1.2 8.5
BT40-SLSB6-155-M42 2 6 |10 2 155 42 33 | 53 14.4 25 | 39 18 190 1.4 4.4
BT40-SLSB6-180-M67 2 6 |10 2 180 67 33 | 53 17 25 | 39 18 | 215 14 7.4
BT40-SLSB6-180-M97 1 6 |10 2 180 97 56 * 20.2 | 32 * 18 | 215 1.3 9.2
BT40-SLSB6-180-M127 1 6 |10 2 180 | 127 | 26 * 23.3 | 32 * 18 | 215 1.2 11
BT40-SLSB6-210-M97 2 6 |10 2 210 97 30 | 56 20.2 | 32 | 46 18 | 245 1.7 9.2
BT40-SLSB6-210-M127 1 6 |10 2 210 | 127 | 56 * 23.3 | 32 * 18 | 245 1.4 12
BT40-SLSB6-210-M157 1 6 |10 2 210 | 157 | 26 * 26.5 | 32 * 18 | 245 1.3 13.2
BT40-SLSB6-240-M127 2 6 |10 2 240 | 127 | 30 | 56 23.3 | 32 | 46 18 | 275 1.8 12
BT40-SLSB6-240-M157 1 6 |10 2 240 | 157 | 56 * 26.5 36 * 18 | 275 1.7 14.5
BT40-SLSB6-270-M157 2 6 |10 2 270 | 157 | 30 | 56 26.5 32 | 46 18 | 305 1.9 14.6
BT40-SLRB6-75-M22 1 6 |14 4 75 22 26 * 16.3 32 * 18 | 110 1.1 1
BT40-SLRB6-95-M42 1 6 | 14 4 95 42 26 * 18.4 | 32 * 18 | 130 1.1 1.6

\\\ BT40-SLRB6-105-M22 1 6 |14 4 105 22 56 * 16.3 32 * 18 | 140 1.2 1.2
A\ ‘.g,}' BT40-SLRB6-120-M67 1 6 |14 4 120 67 26 * 21 32 * 18 | 155 1.2 2.6
?\ BT40-SLRB6-125-M42 1 6 | 14 4 125 42 56 * 18.4 | 32 * 18 | 160 1.3 1.9
2 58 BT40-SLRB6-135-M22 2 6 | 14 4 135 22 30 | 56 16.3 32 | 46 18 | 170 1.6 1.2
a) = BT40-SLRB6-150-M67 1 6 | 14 4 150 67 56 * 21 32 * 18 | 185 1.3 3
5' 7 BT40-SLRB6-155-M42 2 6 |14 4 155 42 30 | 56 184 | 32 | 46 18 | 190 1.6 1.9
,9 i BT40-SLRB6-180-M67 2 6 |14 4 180 67 30 | 56 21 32 | 46 18 | 215 1.7 3.1

(7,]
BT40 - SLSB- 6 - 95 - M42
Working length

Length (L)

> 7] i B & ] Diameter
=@] Holder type
=[ ¥ WA ]Tapersize

s



BT40-SL #4870 (3°—{FE!)

FIG. 1

FIG. 2

BT. NO

BT40-SL SHRINK FIT HOLDER(3° MONO)

Faf o 6[8

AR

Working length

[
c
c1

MITEYKE

Working length

REIES

( Safety mark )

g5
( Thickness )

)DIi

=

RIZREFKE

H (Minimum insert length of the tool )

TIERRIAAKE

h ( Maximum insert length of the tool )

W EEEm
® HUET WM, B
LA

® JIRRE HHATIHIN, H5L
EEPAREE N e o iRR= RPN VAT

Length (L)

> 7] ¥ E & | Diameter

>3 B X S | Holder type
> 58 1 7 R ]Taper size

B S Model D t
BT40-SLFB6-75-M22 1 6 |14 4 75 22 26 * 16.3 32 * 18 | 110 1.1 1
BT40-SLFB6-95-M42 1 6 |14 4 95 42 26 * 18.4 | 32 * 18 | 130 1.1 1.6
BT40-SLFB6-105-M22 1 6 | 14 4 105 22 | 56 * 16.3 | 32 * 18 | 140 1.2 1.2
BT40-SLFB6-120-M67 1 6 | 14 4 120 67 | 26 * 21 32 * 18 | 155 1.2 2.6
BT40-SLFB6-125-M42 1 6 |14 4 125 42 56 * 18.4 | 32 * 18 | 160 1.3 1.9
BT40-SLFB6-135-M22 2 6 | 14 4 135 22 | 30 | 56 16.3 | 32 | 46 18 | 170 1.6 1.2
BT40-SLFB6-150-M67 1 6 |14 4 150 67 56 * 21 32 * 18 | 185 1.3 3
BT40-SLFB6-155-M42 2 6 |14 4 155 42 30 | 56 18.4 32 | 46 18 | 190 1.6 1.9
BT40-SLFB6-180-M67 2 6 | 14 4 180 67 | 30 | 56 21 32 | 46 18 | 215 1.7 3.1
BT40-SLSA8-95-M42 1 8 [11 ]| 1.5 95 42 26 * 15.4 25 * 24 | 130 1 34
BT40-SLSA8-120-M67 1 8 [11 ]| 1.5 120 67 26 * 18 32 * 24 | 155 1.1 5.4
BT40-SLSA8-125-M42 1 8 [11 ]| 1.5 125 42 56 * 15.4 25 * 24 | 160 1.1 4.3
BT40-SLSA8-150-M67 1 8 [11 ]| 1.5 150 67 56 * 18 32 * 24 | 185 1.3 5.9
BT40-SLSA8-150-M97 1 8 [11 ]| 1.5 150 97 26 * 21.2 32 * 24 | 185 1.2 7.9
BT40-SLSA8-155-M42 2 8 [11 ]| 1.5 155 42 33 | 53 15.4 25 | 39 24 | 190 1.4 4.3
BT40-SLSA8-180-M67 2 8 |11 | 1.5 180 67 | 30 | 56 18 32 | 46 24 | 215 1.6 5.9
BT40-SLSA8-180-M97 1 8 [11 ]| 1.5 180 97 56 * 21.2 32 * 24 | 215 1.3 8.7
BT40-SLSA8-210-M97 2 8 |11 | 1.5 | 210 97 | 28 | 58 21.2 | 36 | 50 24 | 245 1.9 8.4
BT40-SLSB8-95-M42 1 8 [13 | 2.5 95 42 26 * 17.4 32 * 24 | 130 1.1 2.1
BT40-SLSB8-120-M67 1 8 |13 | 2.5 120 67 | 26 * 20 32 * 24 | 155 1.1 3.5
BT40-SLSB8-125-M42 1 8 [13 | 2.5 125 42 56 * 17.4 36 * 24 | 160 1.3 2.3
BT40-SLSB8-150-M67 1 8 [13 | 2.5 150 67 56 * 20 32 * 24 | 185 1.3 4
BT40-SLSB8-150-M97 1 8 |13 | 2.5 150 97 | 26 * 23.2 | 32 * 24 | 185 1.2 5.2
BT40-SLSB8-155-M42 2 8 [13 | 2.5 155 42 30 | 56 17.4 32 | 46 24 | 190 1.6 2.5
BT40 - SLFB- 6 - 756 - M22
Working length SLFBE




S EEVALER D

BT40-SL #487048 (3°—{#E!) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1

Faf o G[S

MITERKE

orking length

FIG. 2

I
€
I
D]
c
cl

MITEMKE

M Working length

£2i28 ZE masEm
I ® HIST i {ENAIELF, s

C ol SEILEAT .
Jﬁ?*ﬂ*ﬁ*‘g o JIRRE HATIAN, Wk
h TEBAEAKE ) B R A BRI .
IS Model FIG D C t L M L1 L2 CIL C2 €3 H h ZEEKGS S
BT40-SLSB8-180-M67 2 13 | 2.5 180 67 30 | 56 20 32 | 46 24 | 215 1.7 4
BT40-SLSB8-180-M97 13 | 2.5 180 97 56 * 23.2 32 * 24 | 215 1.4 6
BT40-SLSB8-180-M127 13 | 2.5 180 127 | 26 * 26.3 32 * 24 | 215 1.3 7
BT40-SLSB8-210-M97 13 | 2.5 210 97 30 | 56 23.2 32 | 46 24 | 245 1.7 6

BT40-SLSB8-210-M127 13| 25| 210 | 127 | 56 | * 26.3 | 36 * 24 | 245 1.5 1.7

BT40-SLSB8-210-M157 13| 25| 210 | 157 | 26 | * 29.5 | 36 * 24 | 245 1.4 8.5

BT40-SLSB8-240-M127 13 [ 25 ] 240 | 127 | 30 [ 56 | 26.3 | 32 | 46 | 24 | 275 1.8 8.1

BT40-SLSB8-240-M157 13| 25| 240 | 157 [ 56 | * 295 [ 42| * 24 | 275 1.7 8.6

BT40-SLSB8-270-M157 13 [ 25 ) 270 | 157 | 28 [ 58 | 29.5 | 42 | 53 | 24 | 305 2.2 8.7

8

1 8

1 8

2 8

1 8

1 8

2 8

1 8

2 8
BT40-SLRB8-75-M22 1 8 | 18 5 75 22 | 26 * 20.3 | 32 * 24 | 110 1.1 0.7
BT40-SLRB8-95-M42 1 8 | 18 5 95 42 | 26 * 224 | 32 * 24 | 130 1.1 1.1
BT40-SLRB8-105-M22 1 8 |[18] 5 105 22 | 56 | * 20.3 | 32 * 24 | 140 1.2 0.9
BT40-SLRB8-120-M67 1 8 |18 5 120 67 | 26 * 25 32 * 24 | 155 1.2 1.7
BT40-SLRB8-125-M42 1 8 | 18 5 125 42 | 56 * 22.4 | 32 * 24 | 160 1.3 1.4
BT40-SLRB8-135-M22 2 8 | 18 5 135 22 | 30 [ 56 | 20.3 |32 | 46 | 24 | 170 1.6 1
BT40-SLRB8-150-M67 1 8 |[18] 5 150 | 67 | 56 | * 25 32 * 24 | 185 1.4 2.2
BT40-SLRB8-155-M42 2 8 |18 5 155 42 | 30 | 56 | 22.4 | 32 | 46 | 24 | 190 1.7 1.5
BT40-SLRB8-180-M67 2 8 | 18 5 180 67 | 30 [ 56 25 32 [ 46 | 24 | 215 1.8 2.2
BT40-SLFB8-75-M22 1 8 | 18 5 75 22 | 26 * 20.3 | 32 * 24 | 110 1.1 0.7
\&\.\- BT40-SLFB8-95-M42 1 8 | 18 5 95 42 | 26 * 224 | 32 * 24 | 130 1.1 1.1
R BT40-SLFB8-105-M22 1 8 [18] 5 105 22 | 56 | * 20.3 | 32 * 24 | 140 1.2 0.9
@ BT40-SLFB8-120-M67 1 8 | 18 5 120 67 | 26 * 25 32 * 24 | 155 1.2 1.7
2 24 BT40-SLFB8-125-M42 1 8 |18 5 125 42 | 56 * 22.4 | 32 * 24 | 160 1.3 1.4
O i BT40-SLFB8-135-M22 2 8 | 18 5 135 22 | 30 | 56 | 20.3 (32| 46 | 24 | 170 1.6 1
5' 7 BT40-SLFB8-150-M67 1 8 | 18 5 150 67 | 56 * 25 32 * 24 | 185 1.4 2.2
,9 BT40-SLFB8-155-M42 2 8 | 18 5 155 42 [ 30 | 56 | 22.4 [ 32| 46 | 24 | 190 1.7 1.5
v 1A BT40-SLFB8-180-M67 2 8 | 18 5 180 | 67 | 28 | 58 25 36 | 50 | 24 | 215 1.9 2

BT40 - SLSB- 8 - 180 - Mé7
_|:' Working length Sl-ﬂ@

Length (L)
=@ Diameter
=@] Holder type
={@ Taper size




BT40-SL #48701R (3°—{4E!) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1T grno

e 1edas
MITARAKE
L1 M Working length
L

FIG. 2

\
€
|
[
c
c1

MITEYKE

M Working length

28 2E masEm
[ O e sty e, Sl
ﬁ D_b! EFLRET .

Jﬁ?***ﬁﬁg ® JIARE AT, 50

h NEBRBAKE I R L A8 S IR IILE .

IS Model FIG D C t L M L1 L2 Cl C2 €3 H h EEKGS S
BT40-SLSA10-95-M42 1 10 (13| 1.5 95 42 26 * 17.4 25 * 30 130 1 2.6
BT40-SLSA10-120-M67 1 10 (13| 1.5 120 67 26 * 20 32 * 30 155 1.1 4
BT40-SLSA10-125-M42 1 10 (13| 1.5 125 42 56 * 17.4 25 * 30 | 160 1.1 3.6
BT40-SLSA10-150-M67 1 10 (13| 1.5 150 67 56 * 20 32 * 30 | 185 1.3 4.6
BT40-SLSA10-150-M97 1 10 (13| 1.5 150 97 26 * 23.2 | 32 * 30 | 185 1.2 6
BT40-SLSA10-155-M42 2 10 (13| 1.5 155 42 30 | 53 17.4 25 [ 39 30 190 1.4 3.6
BT40-SLSA10-180-M67 2 10 (13| 1.5 180 67 28 | 58 20 36 | 50 30 | 215 1.8 4.4
BT40-SLSA10-180-M97 1 10 (13| 1.5 180 97 56 * 23.2 32 * 30 | 215 1.3 6.9
BT40-SLSA10-210-M97 2 10 (13| 1.5 210 97 30 | 56 23.2 32 | 46 30 | 245 1.7 6.9
BT40-SLSB10-95-M42 1 10 | 16 3 95 42 26 * 204 | 32 * 30 | 130 1.1 1.4
BT40-SLSB10-120-M67 1 10 | 16 3 120 67 26 * 23 32 * 30 | 155 1.2 2.4
BT40-SLSB10-125-M42 1 10 | 16 3 125 42 56 * 204 | 32 * 30 | 160 1.3 1.8
BT40-SLSB10-150-M67 1 10 | 16 3 150 67 56 * 23 32 * 30 | 185 1.3 3
BT40-SLSB10-150-M97 1 10 | 16 3 150 97 26 * 26.2 32 * 30 | 185 1.3 3.6
BT40-SLSB10-155-M42 2 10 | 16 3 155 42 30 | 56 204 | 32 | 46 30 | 190 1.6 1.9
BT40-SLSB10-180-M67 2 10 | 16 3 180 67 30 | 56 23 32 | 46 30 | 215 1.7 3
BT40-SLSB10-180-M97 1 10 | 16 3 180 97 56 * 26.2 32 * 30 | 215 1.4 4.5
BT40-SLSB10-180-M127 1 10 | 16 3 180 | 127 | 26 * 29.3 42 * 30 | 215 1.4 4.5
BT40-SLSB10-210-M97 2 10 | 16 3 210 97 30 | 56 26.2 32 | 46 30 | 245 1.8 4.5
BT40-SLSB10-210-M127 1 10 | 16 3 210 | 127 | 56 * 29.3 | 42 * 30 | 245 1.6 4.9
BT40-SLSB10-210-M157 1 10 | 16 3 210 157 | 26 * 32.5 42 * 30 | 245 1.5 5.6
BT40-SLSB10-240-M127 1 10 | 16 3 240 | 127 | 86 * 29.3 50 * 30 | 275 2.1 5
BT40-SLSB10-240-M157 1 10 | 16 3 240 157 | 56 * 32.5 50 * 30 | 275 1.8 5.8
BT40-SLSB10-270-M157 2 10 | 16 3 270 | 157 | 28 | 58 32.5 | 42 | 53 30 | 305 2.3 6.3

BT40 - SLSA- 10 - 95 - M42

—|:> Working length
Length (L)

={@ Diameter

=@] Holder type

=l # X ] Taper size




S EEVALER D

BT40-SL #487048 (3°—{#E!) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1

Faf o G[S

MITERKE

Working length

FIG. 2

I
€
I
D]
c
cl

MITEMKE

M Working length

£2i28 ZE masEm
| ® HIST iH7E AR, St
C P} EALRAT
JI/HJ?*E****‘E o TIRZE TN, 5L
h NEBRAENKE 7] B\ 2 410 5 BRI E
BS Model t
BT40-SLRB10-75-M22 1 10 | 22 6 75 22 26 * 24.3 32 * 30 110 1.1 0.6
BT40-SLRB10-95-M42 1 10 | 22 6 95 42 26 * 26.4 32 * 30 130 1.2 0.8
BT40-SLRB10-105-M22 1 10 | 22 6 105 22 56 * 24.3 32 * 30 140 1.3 0.8
BT40-SLRB10-120-M67 1 10 | 22 6 120 67 26 * 29 42 * 30 155 1.3 1.1
BT40-SLRB10-125-M42 1 10 | 22 6 125 42 56 * 26.4 32 * 30 160 1.3 1.2
BT40-SLRB10-135-M22 2 10 | 22 6 135 22 30 | 56 24.3 32 | 46 30 170 1.7 0.9
BT40-SLRB10-150-M67 1 10 | 22 6 150 67 56 * 29 42 * 30 185 1.5 1.3
BT40-SLRB10-155-M42 2 10 | 22 6 155 42 30 | 56 26.4 32 | 46 30 190 1.7 1.3
BT40-SLRB10-180-M67 2 10 | 22 6 180 67 28 | 58 29 42 53 30 215 2.1 1.4
BT40-SLFB10-75-M22 1 10 | 22 6 75 22 26 * 24.3 32 * 30 110 1.1 0.6
BT40-SLFB10-95-M42 1 10 | 22 6 95 42 26 * 26.4 32 * 30 130 1.2 0.8
BT40-SLFB10-105-M22 1 10 | 22 6 105 22 56 * 24.3 32 * 30 | 140 1.3 0.8
BT40-SLFB10-120-M67 1 10 | 22 6 120 67 26 * 29 42 * 30 | 155 1.3 1.1
BT40-SLFB10-125-M42 1 10 | 22 6 125 42 56 * 26.4 32 * 30 160 1.3 1.2
BT40-SLFB10-135-M22 2 10 | 22 6 135 22 30 | 56 24.3 32 | 46 30 170 1.7 0.9
BT40-SLFB10-150-M67 1 10 | 22 6 150 67 56 * 29 42 * 30 | 185 1.5 1.3
BT40-SLFB10-155-M42 2 10 | 22 6 155 42 28 | 58 26.4 36 | 50 30 190 1.9 1.1
BT40-SLFB10-180-M67 2 10 | 22 6 180 67 28 | 58 29 42 53 30 215 2.1 1.4
BT40-SLSA12-95-M42 1 12 (15| 1.5 95 42 26 * 19.4 32 * 30 130 1.1 1.8
\\\\ BT40-SLSA12-120-M67 1 12|15 | 1.5 120 67 26 * 22 32 * 30 | 155 1.1 3.3
N BT40-SLSA12-125-M42 1 12|15 | 1.5 125 42 56 * 19.4 32 * 30 160 1.2 2.3
‘ ‘@ BT40-SLSA12-150-M67 1 12 (15| 1.5 150 67 56 * 22 36 * 30 185 1.4 3.6
o ¥ BT40-SLSA12-150-M97 1 12 (15| 1.5 150 97 26 * 25.2 32 * 30 185 1.2 4.9
¢21 i BT40-SLSA12-155-M42 2 12 (15| 1.5 155 42 30 | 56 19.4 32 | 46 30 190 1.6 2.3
5! T BT40-SLSA12-180-M67 2 12 (15| 1.5 180 67 30 | 56 22 32 | 46 30 215 1.7 3.9
o 7 BT40-SLSA12-180-M97 1 12 (15| 1.5 180 97 56 * 25.2 32 * 30 215 1.4 5.8
5 A BT40-SLSA12-210-M97 2 12 (15| 1.5 210 97 30 | 56 25.2 32 | 46 30 | 245 1.7 5.8

BT40 - SLSB- 10 - 75 - M22

—I_—> Working length SLFB @
Length (L)

> 7] #f B & | piameter

={@ Holder type

>3 1 2 ]Tapersize




BT40-SL #48701R (3°—{4E!) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1T grno

e 1edas
MITARAKE
L1 M Working length
L

FIG. 2

\
€
|
[
c
c1

MITEYKE

M Working length

28 2E masEm

[ O e sty e, Sl
ﬁ D_b! EFLRET .
Jﬁ?***ﬁﬁg o NIARE FiAJIAN, Wiy
h NEBRBAKE I R L A8 S IR IILE .
S Model

BT40-SLSB12-95-M42 1 (12|19 | 3.5 95 42 | 26 * 23.4 | 32 * 30 | 130 1.1 1.1
BT40-SLSB12-120-M67 1 (12|19 | 3.5 120 67 | 26 * 26 32 * 30 | 155 1.2 1.8
BT40-SLSB12-125-M42 1 12 (19| 3.5 125 42 56 * 23.4 32 * 30 160 1.3 1.5
BT40-SLSB12-150-M67 1 12 (19| 3.5 150 67 56 * 26 32 * 30 185 1.3 2.5
BT40-SLSB12-150-M97 1 (12|19 | 3.5 150 97 | 26 * 29.2 | 42 * 30 | 185 1.3 2.4
BT40-SLSB12-155-M42 2 12 (19| 3.5 155 42 30 | 56 23.4 32 | 46 30 190 1.7 1.6
BT40-SLSB12-180-M67 2 |12 )19 3.5 180 67 28 | 58 26 36 | 50 30 | 215 1.9 2.2
BT40-SLSB12-180-M97 1 (1219 | 3.5 180 97 56 * 29.2 | 50 * 30 | 215 1.7 2.6
BT40-SLSB12-180-M127 1 (1219 | 3.5 180 | 127 | 26 * 323 | 42 * 30 | 215 1.5 33
BT40-SLSB12-210-M97 2 |12 )19 3.5 210 97 28 | 58 29.2 | 42 | 53 30 | 245 2.1 2.9
BT40-SLSB12-210-M127 1 (1219 | 3.5 210 | 127 | 56 * 32.3 | 50 * 30 | 245 1.9 3.5
BT40-SLSB12-210-M157 1 12 (19| 3.5 210 | 157 | 26 * 35.5 42 * 30 | 245 1.7 4.1
BT40-SLSB12-240-M127 1 (12|19 | 3.5 240 | 127 | 86 * 32.3 | 50 * 30 | 275 2.2 3.8
BT40-SLSB12-240-M157 1 12 (19| 3.5 240 | 157 | 56 * 35.5 42 * 30 | 275 1.9 4.7
BT40-SLSB12-270-M157 2 12 (19| 3.5 270 | 157 | 28 | 58 35.5 42 | 53 30 | 305 2.4 4.8
BT40-SLRB12-75-M22 1 (12| 26 7 75 22 26 * 28.3 | 42 * 30 | 110 1.2 0.4
BT40-SLRB12-95-M42 1 (12| 26 7 95 42 26 * 304 | 42 * 30 | 130 1.2 0.6
BT40-SLRB12-105-M22 1 12 | 26 7 105 22 56 * 28.3 50 * 30 140 1.4 0.5
BT40-SLRB12-120-M67 1 (12|26 7 120 67 26 * 33 42 * 30 | 155 1.4 0.8
BT40-SLRB12-125-M42 1 12 | 26 7 125 42 56 * 30.4 42 * 30 160 1.5 0.7
BT40-SLRB12-135-M22 1 (12|26 7 135 22 86 * 28.3 | 50 * 30 | 170 1.8 0.6
BT40-SLRB12-150-M67 1 12 | 26 7 150 67 56 * 33 42 * 30 185 1.6 1.1
BT40-SLRB12-155-M42 2 |12 | 26 7 155 42 | 28 | 58 30.4 | 42 | 53 30 | 190 2 0.8
BT40-SLRB12-180-M67 2 |12 | 26 7 180 67 | 28 | 58 33 42 | 53 30 | 215 2.1 1.1

BT40 - SLSB- 12 - 95 - M42

—I_—> Working length
Length (L)

=(@ Diameter

=@] Holder type

=l AR ] Taper size

Fs3 [



S EEVALER D

BT40-SL #487048 (3°—{#E!) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1

Faf o G[S

MITERKE

orking length

FIG. 2

I
€
I
D]
c
cl

MITEMKE

M Working length

- N\
£ R, EEEEEm
| © HIST W/EIMAIE IR, s
L D_pl LA -
e ERKE | e MARE WAJIAR, 5%
h NEBKEANKE 7] BAfA L2405 FRIOALH . )
BE Model t

BT40-SLFB12-75-M22 1 12 | 26 7 75 22 26 * 28.3 42 * 30 | 110 1.2 0.4
BT40-SLFB12-95-M42 1 |12 26 7 95 42 | 26 * 304 | 42 * 30 | 130 1.2 0.6
BT40-SLFB12-105-M22 1 12 | 26 7 105 22 56 * 28.3 42 * 30 | 140 1.4 0.5
BT40-SLFB12-120-M67 1 12 | 26 7 120 67 26 * 33 42 * 30 | 155 1.4 0.8
BT40-SLFB12-125-M42 1 12 | 26 7 125 42 56 * 30.4 | 42 * 30 | 160 1.5 0.7
BT40-SLFB12-135-M22 2 |12 26 7 135 22 | 28 | 58 28.3 | 42 | 53 30 | 170 1.9 0.6
BT40-SLFB12-150-M67 1 12 | 26 7 150 67 56 * 33 42 * 30 | 185 1.6 1.1
BT40-SLFB12-155-M42 1 12 | 26 7 155 42 86 * 30.4 50 * 30 | 190 2 0.8
BT40-SLFB12-180-M67 2 |12 ] 26 7 180 67 | 28 | 58 33 42 | 53 30 | 215 2.1 1.1
BT40-SLSB16-95-M42 1 16 | 24 4 95 42 26 * 28.4 | 42 * 32 | 105 1.2 0.7
BT40-SLSB16-120-M67 1 16 | 24 4 120 67 26 * 31 42 * 32 | 130 1.3 1.1
BT40-SLSB16-125-M42 1 16 | 24 4 125 42 56 * 28.4 | 42 * 32 | 135 1.4 0.9
BT40-SLSB16-150-M67 1 16 | 24 4 150 67 56 * 31 42 * 32 | 160 1.5 1.4
BT40-SLSB16-150-M97 1 16 | 24 4 150 97 26 * 34.2 42 * 32 | 160 1.4 1.7

BT40-SLSB16-155-M42 2 16 | 24 4 155 42 28 | 58 284 | 42 | 53 32 | 165 1.9 1
BT40-SLSB16-180-M67 2 |16 | 24 4 180 67 | 28 | 58 31 42 | 53 32 | 190 2 1.5
BT40-SLSB16-180-M97 1 16 | 24 4 180 97 56 * 34.2 42 * 32 190 1.7 2.1
BT40-SLSB16-180-M127 1 16 | 24 4 180 | 127 | 26 * 37.3 53 * 32 190 1.7 2.1

&\\,\, BT40-SLSB16-210-M97 1 (16| 24 4 210 97 86 * 34.2 | 50 * 32 | 220 2.1 2.1
: @\ BT40-SLSB16-210-M127 1 16 | 24 4 210 | 127 | 56 * 37.3 50 * 32 | 220 2 2.5
o BT40-SLSB16-210-M157 1 16 | 24 4 210 | 157 | 26 * 40.5 53 * 32 | 220 1.9 2.7
% " BT40-SLSB16-240-M127 1 (16| 24 4 240 | 127 | 86 * 37.3 | 53 * 32 | 250 2.5 2.6
- = BT40-SLSB16-240-M157 1 16 | 24 4 240 | 157 | 56 * 40.5 50 * 32 | 250 2.2 3.1
8 7] BT40-SLSB16-270-M157 1 16 | 24 4 270 | 157 | 86 * 40.5 53 * 32 | 280 2.7 3.5

« 1

BT40 - SLFB- 12 - 75 - M22

—I__' Working length SLFB @
Length (L)

=@ Diameter

=@] Holder type

> 58 1A 7 R ] Taper size




BT40-SL #48701R (3°—{4E!) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1T grno

e 1edas
MITARAKE
L1 M Working length
L

FIG. 2

\
[
c

c1

MITEYKE

M Working length

- N\
228 2E masEm
[ O e s e, S
ﬁ )bl LA .
Jﬁ?***ﬁﬁg o NIARE FiAJIAN, Wiy
h TIEBRIEAKE ) B A e i S TR . )
RS Model FIG D C t L M L1 L2 (oh § c2 C3 H h EEKGS S
BT40-SLRB16-75-M22 | 1 |16 (32| 8 | 75 | 22 [ 26| * | 343 |42 | * | 32 | 85 1.2 0.3
BT40-SLRB16-95-M42 | 1 |16 (32| 8 | 95 | 42 |26 | * | 364 [42] * [ 32105 13 0.5
BT40-SLRB16-105-M22 | 1 |16 32| 8 | 105 | 22 [56 | * | 343 [42| * [ 32 [115] 14 0.5
BT40-SLRB16-120-M67 | 1 |16 |32 8 | 120 | 67 [26 | * | 39 [42| * [ 32 [130| 15 0.7
BT40-SLRB16-125-M42 | 1 |16 32| 8 | 125 | 42 |56 | * | 364 [42| * [ 32 [135| 16 0.7
BT40-SLRB16-135-M22 | 2 |16 32| 8 | 135 | 22 [ 28 [ 58 | 343 [42 | 53 [ 32 | 145 2 0.5
BT40-SLRB16-150-M67 | 1 |16 (32| 8 | 150 | 67 |56 | * | 39 [42] * |32 160 17 0.9
BT40-SLRB16-155-M42 | 2 [16 (32| 8 | 155 | 42 |28 [ 58| 36.4 |42 | 53 | 32 [165 | 21 0.7
BT40-SLRB16-180-M67 | 2 |16 32| 8 | 180 | 67 |28 [ 58| 39 |42 53 [ 32 [190 | 23 1
BT40-SLFB16-75-M22 | 1 |16 32| 8 | 75 | 22 [26 | * | 343 [42 ]| * | 32| 85 1.2 0.3
BT40-SLFB16-95-M42 11632 8 | 95 [ 42 [26] * | 36.4 [42| * [ 32 |105] 13 0.5
BT40-SLFB16-105-M22 | 1 |16 (32| 8 [ 105 | 22 [56 | * [ 343 [42| * [ 32 115 14 0.5
BT40-SLFB16-120-M67 | 1 |16 32| 8 | 120 | 67 [26 | * | 39 [42| * [ 32 130 15 0.7
BT40-SLFB16-125-M42 | 1 |16 (32| 8 | 125 | 42 |56 | * | 36.4 [42| * [ 32 [135] 16 0.7
BT40-SLFB16-135-M22 | 1 |16 (32| 8 | 135 | 22 [ 86| * | 343 [50| * [ 32 [145] 1.9 0.5
BT40-SLFB16-150-M67 | 1 |16 32| 8 | 150 | 67 [ 56| * | 39 [42] * [ 32 |160| 1.7 0.9
BT40-SLFB16-155-M42 1 16 | 32 8 155 42 86 * 36.4 50 * 32 165 2 0.7
BT40-SLFB16-180-M67 2 |16 | 32 8 180 67 28 | 58 39 42 | 53 32 | 190 2.3 1
BT40-SLSB20-95-M42 1 20129 | 45 95 42 26 * 33.4 42 * 40 | 105 1.2 0.6
BT40-SLSB20-120-M67 1 20129 | 45 120 67 26 * 36 42 * 40 | 130 1.3 0.9
BT40-SLSB20-125-M42 1 20129 | 45 125 42 56 * 33.4 42 * 40 135 1.5 0.8
BT40-SLSB20-150-M67 1 (20|29 | 4.5 150 67 56 * 36 42 * 40 | 160 1.6 1.2
BT40-SLSB20-150-M97 1 (20|29 | 4.5 150 97 26 * 39.2 | 53 * 40 | 160 1.6 1.2
BT40-SLSB20-155-M42 2 |20 29| 4.5 155 42 28 | 58 334 | 42 | 53 40 | 165 2 0.9

BT40 - SLFB- 16 - 75 - M22

—I_—> Working length SLFB @
Length (L)

=@ Diameter

=@] Holder type

>( 5 # % X ) Taper size




S EEVALER D

BT40-SL #487048 (3°—{#E!) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1

m"_——— e
! " nEEEE
L
Z2ins ZE masEm
] ® HIST WEMAIN IR, s
C ol SEILHAT .
| IRERE e ARE WATIAN, W5
h NEBREANKE 7] B\ 2 410 5 R E
BE Model D C t L M L1 Cl1 C2 H h EE KGS S
BT40-SLSB20-180-M67 20 29 4.5 180 67 86 36 50 40 190 2 1.2
BT40-SLSB20-180-M97 20 29 4.5 180 97 56 39.2 50 40 190 1.9 1.4
BT40-SLSB20-180-M127 20 29 4.5 180 127 26 42.3 53 40 190 1.8 1.6
BT40-SLSB20-210-M97 20 29 4.5 210 97 86 39.2 53 40 220 2.4 1.6
BT40-SLSB20-210-M127 20 29 4.5 210 127 56 42.3 50 40 220 2.1 1.9
BT40-SLSB20-210-M157 20 29 4.5 210 157 26 45,5 50 40 220 2 2.1
BT40-SLSB20-240-M127 20 29 4.5 240 127 86 42.3 50 40 250 2.4 2.3
BT40-SLSB20-240-M157 20 29 4.5 240 157 56 45.5 50 40 250 2.4 2.4
BT40-SLSB20-270-M157 20 29 4.5 270 157 86 45.5 50 40 280 2.7 2.9
BT40-SLRB20-95-M42 20 38 9 95 42 26 42.4 53 40 105 1.5 0.4
BT40-SLRB20-120-M67 20 38 9 120 67 26 45 53 40 130 1.7 0.5
BT40-SLRB20-125-M42 20 38 9 125 42 56 42.4 53 40 135 1.9 0.5
BT40-SLRB20-150-M67 20 38 9 150 67 56 45 50 40 160 2 0.7
BT40-SLRB20-155-M42 20 38 9 155 42 86 42.4 53 40 165 2.2 0.6
BT40-SLRB20-180-M67 20 38 9 180 67 86 45 50 40 190 2.3 0.9
BT40-SLFB20-95-M42 20 38 9 95 42 26 42.4 53 40 105 1.5 0.4
BT40-SLFB20-120-M67 20 38 9 120 67 26 45 53 40 130 1.7 0.5
BT40-SLFB20-125-M42 20 38 9 125 42 56 42.4 53 40 135 1.9 0.5
BT40-SLFB20-150-M67 20 38 9 150 67 56 45 50 40 160 2 0.7
BT40-SLFB20-155-M42 20 38 9 155 42 86 42.4 50 40 165 2.1 0.7
BT40-SLFB20-180-M67 20 38 9 180 67 86 45 50 40 190 2.3 0.9
BT40-SLRB25-95-M42 25 45 10 95 42 26 49.4 53 45 105 1.5 0.3
BT40-SLRB25-125-M42 25 45 10 125 42 56 49.4 53 45 135 1.9 0.4
\&\ BT40-SLRB25-155-M42 25 45 10 155 42 86 49.4 53 45 165 2.3 0.6
N *’ BT40-SLFB25-95-M42 25 45 10 95 42 26 49.4 53 45 105 1.5 0.3
‘Q\ BT40-SLFB25-125-M42 25 45 10 125 42 56 49.4 53 45 135 1.9 0.4
BT40-SLFB25-155-M42 25 45 10 155 42 86 49.4 53 45 165 2.3 0.6
BT40-SLRB32-95-M42 32 54 11 95 42 26 58.4 63 50 87 1.8 0.3

BT40 - SLSB- 20 - 180 - Mé67

Working length SLFB E
Length (L)

=@ Diameter

={@ Holder type

={@ Taper size

%
=
7
A

0
=
(o]
-
o
o
-
(7]




BT40-SL SHRINK FIT HOLDER (CV CURVE)

BT40-SL A4 (CV dh4%E!)

FI1G. 1 ZHfhik
2D curve
m aro)s
" MIEYAKE
Working length
L

FIG. 2

it .:: % 4

2D curve

S

M mIEMKE
L
e R e
Z2is er, MEEER
| ® HIST iE7E NI ECT, Al
L DI ILRAT .

W R @ TIARE WATIAN, WAL
ARBRBAKE | KIIR 2 A0S R

h ( Maximum insert length of the tool )

RS Model FIG D (ot t L M C1 H h EE KGS S
BT40-SLSA4-90CV 1 4 7 1.5 920 63 53 12 125 1.2 1.8
BT40-SLSA4-120CV 1 4 7 1.5 120 93 53 12 155 1.3 2.7
BT40-SLSA4-150CV 1 4 7 1.5 150 123 53 12 185 1.5 4
BT40-SLSA4-180CV 1 4 7 1.5 180 153 53 12 215 1.5 6.6
BT40-SLSA4-210CV 1 4 7 1.5 210 183 53 12 245 1.6 11.6
BT40-SLSA4-240CV 1 4 7 1.5 240 213 53 12 275 1.8 14
BT40-SLRA4-120CV 2 4 10 3 120 93 53 12 155 1.3 1.9
BT40-SLRA4-150CV 2 4 10 3 150 123 53 12 185 1.4 2.9
BT40-SLRA4-180CV 2 4 10 3 180 153 53 12 215 1.5 4.2
BT40-SLRA4-210CV 2 4 10 3 210 183 53 12 245 1.7 5.7
BT40-SLSA6-90CV 1 6 9 1.5 920 63 53 18 125 1.2 1.6
BT40-SLSA6-120CV 1 6 9 1.5 120 93 53 18 155 1.3 2.3
BT40-SLSA6-150CV 1 6 9 1.5 150 123 53 18 185 1.5 3.6
BT40-SLSA6-180CV 1 6 9 1.5 180 153 53 18 215 1.5 5.7
BT40-SLSA6-210CV 1 6 9 1.5 210 183 53 18 245 1.7 7.3
BT40-SLSA6-240CV 1 6 9 1.5 240 213 53 18 275 1.8 12
BT40-SLRA6-90CV 2 6 13 3.5 920 63 53 18 125 1.2 1.2
BT40-SLRA6-120CV 2 6 13 3.5 120 93 53 18 155 1.3 1.7 @,
BT40-SLRA6-150CV 2 6 13 3.5 150 123 53 18 185 1.5 2.1 o
BT40-SLRA6-180CV 2 6 13 3.5 180 153 53 18 215 1.7 2.8 5 %
BT40-SLRA6-210CV 2 6 13 3.5 210 183 53 18 245 1.7 4.8 3

BT40 - SLSA - 4 - 90- CV H,Q
1
B 2% 2 | curve
Length (L)

> 7] ¥ E 12 | Diameter
>0 &€ X S | Holder type
> 8 B R ) Tapersize




BIETIMRT

FIG. 1

FIG. 2

BT. NO

A1) BT40-SL SHRINK FIT HOLDER(GY GURVE)

4l

2D curve

MIAHKE

Working length

k33323

2D curve

mLAMAKE

Working length

<

5
=
7]
i

0
=
(o]
-
o
o
-
(7]

228 22 masEm
[ ] ® HIST /MM, Sl
ﬁ ot SEILRAT .

W?*J*ﬁ*’g ® JIRZE AT, Wi

h TIERKIEAKE ) U A b i R IRLE
BIE Model FIG D C t L M Cl1 H h EE KGS S
BT40-SLFA6-90CV 2 6 13 3.5 920 63 53 18 125 1.2 1.2
BT40-SLFA6-120CV 2 6 13 3.5 120 93 53 18 155 1.3 1.7
BT40-SLFA6-150CV 2 6 13 3.5 150 123 53 18 185 1.5 2.1
BT40-SLFA6-180CV 2 6 13 3.5 180 153 53 18 215 1.7 2.8
BT40-SLFA6-210CV 2 6 13 3.5 210 183 53 18 245 1.7 4.8
BT40-SLSA8-90CV 1 8 11 1.5 920 63 53 24 125 1.2 1.4
BT40-SLSA8-120CV 1 8 11 1.5 120 93 53 24 155 1.3 2
BT40-SLSA8-150CV 1 8 11 1.5 150 123 53 24 185 1.5 2.7
BT40-SLSA8-180CV 1 8 11 1.5 180 153 53 24 215 1.6 5
BT40-SLSA8-210CV 1 8 11 1.5 210 183 53 24 245 1.7 6.6
BT40-SLSA8-240CV 1 8 11 1.5 240 213 53 24 275 1.9 8.3
BT40-SLRA8-90CV 2 8 16 4 920 63 53 24 125 1.2 0.7
BT40-SLRA8-120CV 2 8 16 4 120 93 53 24 155 1.4 1.2
BT40-SLRAS8-150CV 2 8 16 4 150 123 53 24 185 1.6 1.8
BT40-SLRAS8-180CV 2 8 16 4 180 153 53 24 215 1.7 2.6
BT40-SLRA8-210CV 2 8 16 4 210 183 53 24 245 1.8 3.5
BT40-SLFA8-90CV 2 8 16 4 920 63 53 24 125 1.2 0.7
BT40-SLFA8-120CV 2 8 16 4 120 93 53 24 155 1.4 1.2
BT40-SLFA8-150CV 2 8 16 4 150 123 53 24 185 1.6 1.8
BT40-SLFA8-180CV 2 8 16 4 180 153 53 24 215 1.7 2.6
BT40-SLFA8-210CV 2 8 16 4 210 183 53 24 245 1.8 3.5

BT40 - SLFA - 6 - 90- CV
Curve SLFA @

L’ Length (L)

> 7] ¥ B 12 | Diameter

> 58 1 iz R ]Taper size




BT40-SL SHRINK FIT HOLDER (CV CURVE)

BT40-SL A4 (CV dh4%E!)

FI1G. 1 ZHfhik
2D curve
m aro)s
" MIEYAKE
Working length
L

FIG. 2

it .:: % 4

2D curve

S

M mITENKE
L
N EE A
28 et EEEEm
] ® HIST iS/E AU, B
C ool ' ILRAT .
H <M.m§f§s§sﬁ}g%mu L] DE?’&’ ﬁ)\ﬂﬁlﬁy 1%%%‘
h NEBRAENKE 7] B\ 2 410 5 BRI E )

B Z= Model FIG D C t L M Cl H h EE KGS S
BT40-SLSA10-90CV 1 10 13 1.5 90 63 53 30 125 1.2 1.8
BT40-SLSA10-120CV 1 10 13 1.5 120 93 53 30 155 1.5 1.3
BT40-SLSA10-150CV 1 10 13 1.5 150 123 53 30 185 1.6 2.2
BT40-SLSA10-180CV 1 10 13 1.5 180 153 53 30 215 1.7 34
BT40-SLSA10-210CV 1 10 13 1.5 210 183 53 30 245 1.7 6
BT40-SLSA10-240CV 1 10 13 1.5 240 213 53 30 275 2 5.8
BT40-SLRA10-90CV 2 10 19 4.5 20 63 53 30 125 1.3 0.7
BT40-SLRA10-120CV 2 10 19 4.5 120 93 53 30 155 14 0.9
BT40-SLRA10-150CV 2 10 19 4.5 150 123 53 30 185 1.6 1.4
BT40-SLRA10-180CV 2 10 19 4.5 180 153 53 30 215 1.8 2
BT40-SLRA10-210CV 2 10 19 4.5 210 183 53 30 245 1.8 3.1
BT40-SLFA10-90CV 2 10 19 4.5 920 63 53 30 125 1.3 0.7
BT40-SLFA10-120CV 2 10 19 4.5 120 93 53 30 155 1.4 0.9
BT40-SLFA10-150CV 2 10 19 4.5 150 123 53 30 185 1.6 1.4
BT40-SLFA10-180CV 2 10 19 4.5 180 153 53 30 215 1.8 2
BT40-SLFA10-210CV 2 10 19 4.5 210 183 53 30 245 1.8 3.1
BT40-SLSA12-90CV 1 12 15 1.5 920 63 53 30 125 1.3 1.5 p
BT40-SLSA12-120CV 1 12 15 1.5 120 93 53 30 155 1.5 1.2
BT40-SLSA12-150CV 1 12 15 1.5 150 123 53 30 185 1.5 2.4 ’é .
BT40-SLSA12-180CV 1 12 15 1.5 180 153 53 30 215 1.7 3.3 5
BT40-SLSA12-210CV 1 12 15 1.5 210 183 53 30 245 1.9 4.6
BT40-SLSA12-240CV 1 12 15 1.5 240 213 53 30 275 2 5.5 =

BT40 - SLSA - 10 - 90- CV

o @mas) ane sLea 5
Length (L)

> 7] i H & | Diameter
>IN B 1 S | Holder type
> 5 # A2 X | Tapersize

(8]
=
(o]
-
o
o
-
(7]

Hd

Fs9 [



BIETIMRT

BT. NO

A1) BT40-SL SHRINK FIT HOLDER(GY GURVE)

Z#rphik

2D curve

ofels

MIAHKE

Working length

> 7] ¥ E & | Diameter

] *r B EER
I © HIST W/EMAMIUT, St
#T’Jﬁ**ﬁ o NARE FAJIAN, WY
TEBAEAKE ) B i S SRR
RS Model D C t L M Cl1 H B8 KGS S
BT40-SLRA12-90CV 12 22 5 20 63 53 30 125 1.3 0.6
BT40-SLRA12-120CV 12 22 5 120 93 53 30 155 1.6 0.7
BT40-SLRA12-150CV 12 22 5 150 123 53 30 185 1.7 1.1
BT40-SLRA12-180CV 12 22 5 180 153 53 30 215 1.7 1.9
BT40-SLRA12-210CV 12 22 5 210 183 53 30 245 1.8 2.8
BT40-SLFA12-90CV 12 22 5 90 63 53 30 125 1.3 0.6
BT40-SLFA12-120CV 12 22 5 120 93 53 30 155 1.6 0.7
BT40-SLFA12-150CV 12 22 5 150 123 53 30 185 1.7 1.1
BT40-SLFA12-180CV 12 22 5 180 153 53 30 215 1.7 1.9
BT40-SLFA12-210CV 12 22 5 210 183 53 30 245 1.8 2.8
BT40-SLSB16-90CV 16 21 2.5 920 63 53 32 100 1.3 0.6
BT40-SLSB16-120CV 16 21 2.5 120 93 53 32 130 1.5 0.8
BT40-SLSB16-150CV 16 21 2.5 150 123 53 32 160 1.6 1.5
BT40-SLSB16-180CV 16 21 2.5 180 153 53 32 190 1.9 1.9
BT40-SLSB16-210CV 16 21 2.5 210 183 53 32 220 2 3
BT40-SLSB16-240CV 16 21 2.5 240 213 53 32 250 2.2 3.7
BT40-SLSB20-90CV 20 26 3 90 63 50.5 40 100 1.3 0.5
BT40-SLSB20-120CV 20 26 3 120 93 53 40 130 1.5 0.8
BT40-SLSB20-150CV 20 26 3 150 123 53 40 160 1.6 1.3
BT40-SLSB20-180CV 20 26 3 180 153 53 40 190 1.9 1.8
BT40-SLSB20-210CV 20 26 3 210 183 53 40 220 2.1 2.3
BT40-SLSB20-240CV 20 26 3 240 213 53 40 250 2.4 3
4@ BT40 - SLFA - 6 - 90- CV
S B %R | curve SLFA @
2 Length (L)
7
L]

0
=
(o]
-
o
o
-
(7]

> 20 &€ X S | Holder type
28 1. R




BT50-SL #4870 (3°—{4R!) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1
7N
= R
RTA
L1 M mIBMLE
L
FIG. 2
2 T
T
L w | BERMKE
mao EE e
Z2S SE mEREm
] ® HIST S 7E AL R, sl
C ool ' ILRAT .
H (Mlmrrﬁ%ﬁ%r‘%ﬁﬁ}i!g&mm) L] DE?% ﬁﬁ)\ﬂﬁlﬁy 1%%%‘
h NABKENKE 7] Hm A % 4105 FIRIOE .
RS Model FIG D C t L M L1 L2 (oh § c2 C3 h E&£ KGS S

1.5 | 110 | 42 | 30 | * 10.4 | 25 *
1.5 | 135 | 67 | 30 | * 13 25 *
15| 140 | 42 | 60 | * 10.4 | 25 *
1.5 | 165 | 67 | 60 | * 13 25 *

6 165 3.6 9.1
6

6

6

6 | 1.5 | 165 | 97 (30| * 16.2 | 26 *

6

6

6

6

190 3.6 14.7
195 3.7 9.8
220 3.7 15.9
220 3.7 20.8
225 4.1 9.9
250 4.1 15.8
250 3.8 22.3
280 4.1 22.1
145 3.6 2.8
165 3.7 5.4
175 3.7 3.2

BT50-SLSA3-110-M42
BT50-SLSA3-135-M67
BT50-SLSA3-140-M42
BT50-SLSA3-165-M67
BT50-SLSA3-165-M97
BT50-SLSA3-170-M42
BT50-SLSA3-195-M67
BT50-SLSA3-195-M97
BT50-SLSA3-225-M97
BT50-SLRA3-90-M22
BT50-SLRA3-110-M42
BT50-SLRA3-120-M22

=

1.5 | 170 | 42 | 33 | 57 | 10.4 | 26 | 40
1.5 | 195 | 67 | 33 | 57 13 26 | 40
1.5 | 195 | 97 | 60 | * 16.2 | 26 | *
1.5 | 225 | 97 | 33 | 57 | 16.2 | 26 | 40
7.5(2.25| 90 22 |30 | * 9.8 25 | *
7.5(225| 110 | 42 [ 30 | * 119 | 26 | *
7.5(225| 120 | 22 | 60 | * 9.8 25 | *

BT50-SLRA3-135-M67 7.5(225| 135 | 67 |30 | * 145 | 26 | * 190 3.7 9
BT50-SLRA3-140-M42 2.25| 140 | 42 | 60 | * 119 |26 | * 195 3.8 6
BT50-SLRA3-150-M22 7.5|12.25| 150 [ 22 | 33 | 57 9.8 25 | 39 205 4 3.2

7.5|2.25| 165 | 67 | 60 | * 145 | 25 *
7.5|2.25| 165 | 97 | 30 | * 17.7 [ 26 | *
7.5(2.25| 170 | 42 | 33 | 57 | 11.9 | 26 | 40
7.5(2.25| 195 | 67 | 33 | 57 | 145 | 26 | 40
7.5|2.25| 195 | 97 [ 60 | * 17.7 [ 26 | *
7.5|2.25| 195 | 127 [ 30 | * 20.8 | 32 *
7.5|12.25| 225 | 97 | 33 | 57 | 17.7 | 25| 39
7.5|2.25| 225 | 127 | 60 | * 208 | 36 | *
7.5|12.25| 255 | 127 | 30 | 60 | 20.8 | 32 | 46

220 3.8 10
220 3.7 13
225 4.1 6
250 4.1 9.8
250 3.8 14.5
250 3.8 15.7
280 4.1 14.4
280 4.1 16.3
310 4.4 16.5

BT50-SLRA3-165-M67
BT50-SLRA3-165-M97
BT50-SLRA3-170-M42
BT50-SLRA3-195-M67
BT50-SLRA3-195-M97
BT50-SLRA3-195-M127
BT50-SLRA3-225-M97
BT50-SLRA3-225-M127
BT50-SLRA3-255-M127

BT50 - SLSA- 3 - 110

[N NN - NT-J NU-N NU-T V-3 NU- N NUJ NU-J U3 NU-J KU-T) NUCJ NU-J NU-J V- NU-J QU-J NU-J NUoJ NU-J RU-J NV 00

N|R[(N|R[EINN|R[(RN R R RN

gwwwwwwwwwwwwwwwwwwwwwwww
~
(&,

o
N

_|:> Working length
Length (L)

> 7] ¥ E % | Diameter

=@] Holder type

>[5 1 X ] Taper size




S EEVALER D

BT50-SL #4E7H% (3°—{F

FIG. 1

FIG. 2

BT50-SL SHRINK FIT HOLDER(3° MONO)

78
g
A
L1 M kB
L
2
P

L1

mITHBAKE

Working length

225 2 masEm
] ® HIST iH7E AT, il
L DI BALRLET .

Jﬁ?*ﬂ*ﬁkg ® JIRZE HATIAN, Wk

h NEBREANKE 7] B 2 410 5 R

BIE Model FIG D C t L M L1 L2 (oh § c2 C3 H h E&£ KGS S
BT50-SLFB3-90-M22 1 3 [9.5]3.25 90 22 30 * 11.8 26 * 9 145 3.6 1.9
BT50-SLFB3-110-M42 1 3 [9.5]3.25( 110 42 30 * 13.9 26 * 9 165 3.7 3.3
BT50-SLFB3-120-M22 1 3 [9.5]3.25( 120 22 60 * 11.8 25 * 9 175 3.7 2.4
BT50-SLFB3-135-M67 1 3 19.5|3.25| 135 67 30 * 16.5 26 * 9 190 3.7 5.4
BT50-SLFB3-140-M42 1 3 19.5|3.25| 140 42 60 * 13.9 25 * 9 195 3.7 4
BT50-SLFB3-150-M22 2 3 19.5|3.25| 150 22 33 | 57 11.8 25 | 39 9 205 4 2.3
BT50-SLFB3-165-M67 1 3 19.5|3.25| 165 67 60 * 16.5 26 * 9 220 3.8 6.4
BT50-SLFB3-170-M42 2 3 19.5|3.25| 170 42 33 | 57 13.9 25 | 39 9 225 4 3.9
BT50-SLFB3-195-M67 2 3 19.5|3.25| 195 67 33 | 57 16.5 25 | 39 9 250 4.1 6.4
BT50-SLSA4-110-M42 1 4 7 1.5 110 42 30 * 11.4 25 * 12 165 3.6 7.2
BT50-SLSA4-135-M67 1 4 7 1.5 135 67 30 * 14 25 * 12 190 3.6 11.8
BT50-SLSA4-140-M42 1 4 7 1.5 140 42 60 * 11.4 25 * 12 195 3.7 8
BT50-SLSA4-165-M67 1 4 7 1.5 165 67 60 * 14 25 * 12 | 220 3.7 13
BT50-SLSA4-165-M97 1 4 7 1.5 165 97 30 * 17.2 25 * 12 | 220 3.7 16.7
BT50-SLSA4-170-M42 2 4 7 1.5 170 42 33 | 57 11.4 25 | 39 12 | 225 4 7.9
BT50-SLSA4-195-M67 2 4 7 1.5 195 67 33 | 57 14 25 | 39 12 | 250 4 12.8
© BT50-SLSA4-195-M97 1 4 7 1.5 195 97 60 * 17.2 26 * 12 | 250 3.8 18.4
\\«'" BT50-SLSA4-225-M97 2 4 7 1.5 225 97 33 | 57 17.2 25 | 39 12 | 280 4.1 18.2
: ?‘ BT50-SLRA4-90-M22 1 4 110 3 90 22 30 * 12.3 25 * 12 | 145 3.6 1.7
o ¥ BT50-SLRA4-110-M42 1 4 |10 3 110 42 30 * 14.4 25 * 12 165 3.6 3.1
(Zw i BT50-SLRA4-120-M22 1 4 |10 3 120 22 60 * 12.3 25 * 12 175 3.7 2.2
5' 7 BT50-SLRA4-135-M67 1 4 |10 3 135 67 30 * 17 25 * 12 190 3.7 5.2
IQ BT50-SLRA4-140-M42 1 4 |10 3 140 42 60 * 14.4 25 * 12 195 3.7 3.9
w i BT50-SLRA4-150-M22 2 4 |10 3 150 22 33 | 57 12.3 25 | 39 12 | 205 4 2.2

BT50 - SLFB- 3 - 90 - M22
Working length SLFB @

Length (L)

> 7] ¥ B & ] piameter
={@ Holder type
> 58 1 it X ) Taper size




BT50-SL #4870 (3°—{4R!) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1
78
— L el
A
L1 M W
L
FI1G. 2
2
b
”w
L1 wo | PEEAEE

- N
AT D 5 -
222% 22 massm

( Safety mark ) ( Thickness )

I O e T TR, S
ﬁ DR EALRAT .
J(/J R

H (Minimum insert length of the tool ) L] Hﬂiﬁ jﬂi—)\jj E\-ETJ— ’ i%%‘ﬂ‘
h NEBRBANKE 7] B 2 4105 BRI E )

-+
-
=
-
[

BIS Model FIG D C
BT50-SLRA4-165-M67

L2 C1 C2 C3 H h ZEEKGS S

165 | 67 | 60 | * 17 25 * 12 | 220 3.8 6.4
165 | 97 | 30 | * 20.2 | 25 * 12 | 220 3.7 7.9
170 | 42 | 33 | 57| 144 | 25| 39 | 12 | 225 4 3.8
195 | 67 | 33 | 57 17 25 | 39 | 12 | 250 4.1 6.2
195 | 97 |60 | * 20.2 | 25 * 12 | 250 3.8 9.7
195 | 127 | 30 | * 23.3 | 32 * 12 | 250 3.8 9.4
225 [ 97 |30 [ 60 | 20.2 [ 25 39 | 12 | 280 4.1 9.4
225 | 127 | 60 | * 23.3 | 32 * 12 | 280 4 10.4
255 | 127 [ 30 [ 60 | 233 | 32| 46 | 12 | 310 4.4 10.3
22 |30 | * 143 | 25 * 12 | 145 3.6 14
110 | 42 | 30 | * 16.4 | 25 * 12 | 165 3.7 2.2
120 | 22 | 60 | * 143 | 25 * 12 | 175 3.7 1.9
135 | 67 |30 | * 19 26 * 12 | 190 3.7 3.6
140 | 42 |60 | * 16.4 | 26 * 12 | 195 3.8 2.9
150 | 22 (33 | 57| 143 | 25| 39 | 12 | 205 4 1.8
165 | 67 | 60 | * 19 25 * 12 | 220 3.8 4.8
170 | 42 | 33 | 57| 16.4 | 26 | 40 | 12 | 225 4.1 2.8
195 | 67 | 33 | 57 19 26 | 40 | 12 | 250 4.2 4.5
15| 110 | 42 |30 | * 13.4 | 25 * 18 | 165 3.6 4.8
15| 135 | 67 | 30 | * 16 25 * 18 | 190 3.7 8.1
1.5 | 140 | 42 |60 | * 13.4 | 25 * 18 | 195 3.7 5.7
15| 165 | 67 | 60 | * 16 25 * 18 | 220 3.8 9.4
15| 165 | 97 |30 | * 19.2 | 32 * 18 | 220 3.7 11
170 | 42 (33 | 57 | 13.4 | 26 | 40 | 18 | 225 4.1 5.5
15| 195 | 67 [ 33 | 57 16 25| 39 | 18 | 250 4 9.2
15| 195 | 97 | 60 | * 19.2 | 32 * 18 | 250 3.9 11.7
15| 225 | 97 | 30 [ 60 | 19.2 [ 32| 46 | 18 | 280 4.3 11.7

=

BT50-SLRA4-165-M97
BT50-SLRA4-170-M42
BT50-SLRA4-195-M67
BT50-SLRA4-195-M97
BT50-SLRA4-195-M127
BT50-SLRA4-225-M97
BT50-SLRA4-225-M127
BT50-SLRA4-255-M127
BT50-SLFB4-90-M22
BT50-SLFB4-110-M42
BT50-SLFB4-120-M22
BT50-SLFB4-135-M67
BT50-SLFB4-140-M42
BT50-SLFB4-150-M22
BT50-SLFB4-165-M67
BT50-SLFB4-170-M42
BT50-SLFB4-195-M67
BT50-SLSA6-110-M42
BT50-SLSA6-135-M67
BT50-SLSA6-140-M42
BT50-SLSA6-165-M67
BT50-SLSA6-165-M97
BT50-SLSA6-170-M42
BT50-SLSA6-195-M67
BT50-SLSA6-195-M97
BT50-SLSA6-225-M97

BT50 - SLRA- 4 - 165 - Mé

=
N
Hlp(D(D|D|DDP|P W WWW(WW(W[W[W
O
o

frey
g

(8]
=
(o]
-
o
o
-
(7]

Hd

[ R R e N N I I R R R R I R R R R R R A R R R R E e
-
N

N[NV R[R R R =] RN R R R (RN RN R R NS =

N [w|lwjwjololo(v(v|o
=
(E,]

5

MTEHKE ] working length SLFB@
Length (L)
> 7] 7 B 12 | Diameter

>3 & X S | Holder type
> M 2 R | tapersize Fé3 _




S EEVALER D

BT50-SL #4E7]H (3°—{F BT50-SL SHRINK FIT HOLDER(3° HONO)
FIG. 1
7
p—— . I"f;’ i[a[g
A
L1 M mIHHKE
L
FIG. 2
2
y o g
L1 M mw%kﬁ%nﬁhﬁ
Z2ins EE maEEm
] © ST VT DIAINELT,
[ DI SAALRIAT
h TERKEAKE ) A e it S IR .

BIE Model D t

BT50-SLSB6-110-M42 1 6 |10 2 110 42 30 * 144 | 25 * 18 | 165 3.6 3.7
BT50-SLSB6-135-M67 1 6 |10 2 135 67 30 * 17 25 * 18 | 190 3.7 6.2
BT50-SLSB6-140-M42 1 6 | 10 2 140 42 60 * 144 | 25 * 18 | 195 3.7 4.6
BT50-SLSB6-165-M67 1 6 | 10 2 165 67 | 60 * 17 25 * 18 | 220 3.8 7.6
BT50-SLSB6-165-M97 1 6 | 10 2 165 97 | 30 * 20.2 | 32 * 18 | 220 3.8 8.5
BT50-SLSB6-170-M42 2 6 | 10 2 170 42 33 | 57 144 | 25 | 39 18 | 225 4 4.4
BT50-SLSB6-195-M67 2 6 | 10 2 195 67 33 | 57 17 25 | 39 18 | 250 4.1 7.3
BT50-SLSB6-195-M97 1 6 | 10 2 195 97 | 60 * 20.2 | 32 * 18 | 250 3.9 9.2
BT50-SLSB6-195-M127 1 6 |10 2 195 | 127 | 30 * 23.3 | 32 * 18 | 250 3.8 11.1
BT50-SLSB6-225-M97 2 6 |10 2 225 97 | 30 | 60 | 20.2 | 32 | 46 18 | 280 4.3 9.2
BT50-SLSB6-225-M127 1 6 |10 2 225 | 127 | 60 * 23.3 | 32 * 18 | 280 4 12.1
BT50-SLSB6-225-M157 1 6 |10 2 225 | 157 | 30 * 26.5 | 32 * 18 | 280 3.9 13.3
BT50-SLSB6-255-M127 2 6 | 10 2 255 | 127 | 30 | 60 23.3 | 32 | 46 18 | 310 4.4 12
BT50-SLSB6-255-M157 1 6 |10 2 255 | 157 | 60 * 26.5 | 32 * 18 | 310 4.1 14.7
BT50-SLSB6-285-M157 2 6 |10 2 285 | 157 | 30 | 60 26.5 32 | 46 18 | 340 4.5 14.5

BT50-SLRB6-90-M22 1 6 | 14 4 90 22 30 * 16.3 32 * 18 | 145 3.7 1

N BT50-SLRB6-110-M42 1 6 | 14 4 110 42 30 * 18.4 | 32 * 18 | 165 3.7 1.6
\\@. BT50-SLRB6-120-M22 1 6 | 14 4 120 22 60 * 16.3 32 * 18 | 175 3.8 1.2
: @\ BT50-SLRB6-135-M67 1 6 | 14 4 135 67 | 30 * 21 32 * 18 | 190 3.8 2.6
O ¥ BT50-SLRB6-140-M42 1 6 | 14 4 140 42 60 * 18.4 | 32 * 18 | 195 3.9 1.9
(21 = BT50-SLRB6-150-M22 2 6 | 14 4 150 22 | 30 | 60 16.3 | 32 | 46 18 | 205 4.2 1.2
6! BT50-SLRB6-165-M67 1 6 | 14 4 165 67 | 60 * 21 32 * 18 | 220 3.9 3.1
o 7] BT50-SLRB6-170-M42 2 6 | 14 4 170 42 | 30 | 60 184 | 32 | 46 18 | 225 4.3 1.9
& L] BT50-SLRB6-195-M67 2 6 | 14 4 195 67 | 30 | 60 21 32 | 46 18 | 250 4.3 3

BT50 - SLSB- 6 - 110 - M42

—|:> Working length
Length (L)
=@ Diameter
=@] Holder type
_F64 > # % R ) Taper size




BT50-SL #4870 (3°—{4R!) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1
78
— L el
A
L1 M W
L
FI1G. 2
2
b
”w
L1 wo | PEEAEE

- N\
228 2E maEsm
I O e T TR, S
ﬁ DA ALRAT .
#T/HJE‘*J****E o NARE HAJIAN, ik
h NEBRBANKE 7] B 2 4105 BRI E )
BIS Model FIG D (of t L M L1 L2 Cl1 c2 C3 H h EEKGS S
BT50-SLFB6-90-M22 1 6 |14 4 90 22 30 * 16.3 32 * 18 | 145 3.7
BT50-SLFB6-110-M42 1 6 |14 4 110 42 30 * 18.4 | 32 * 18 | 165 3.7 1.6
BT50-SLFB6-120-M22 1 6 | 14 4 120 22 60 * 16.3 32 * 18 | 175 3.8 1.2
BT50-SLFB6-135-M67 1 6 | 14 4 135 67 | 30 * 21 32 * 18 | 190 3.8 2.6
BT50-SLFB6-140-M42 1 6 |14 4 140 42 60 * 18.4 32 * 18 | 195 3.9 1.9
BT50-SLFB6-150-M22 2 6 |14 4 150 22 | 30 | 60 16.3 | 32 | 46 18 | 205 4.2 1.2
BT50-SLFB6-165-M67 1 6 |14 4 165 67 60 * 21 32 * 18 | 220 3.9 3.1
BT50-SLFB6-170-M42 2 6 | 14 4 170 42 30 | 60 18.4 32 | 46 18 | 225 4.3 1.9
BT50-SLFB6-195-M67 2 6 | 14 4 195 67 30 | 60 21 32 | 46 18 | 250 4.3 3
BT50-SLSA8-110-M42 1 8 (11| 1.5 110 42 | 30 * 154 | 25 * 24 | 165 3.6 3.5
BT50-SLSA8-135-M67 1 8 (11| 15 135 67 30 * 18 32 * 24 | 190 3.7 5.4
BT50-SLSA8-140-M42 1 8 (11| 1.5 140 42 | 60 * 154 | 25 * 24 | 195 3.7 4.4
BT50-SLSA8-165-M67 1 8 |11 | 15 165 67 60 * 18 32 * 24 | 220 3.9 5.9
BT50-SLSA8-165-M97 1 8 (11| 15 165 97 | 30 * 21.2 | 32 * 24 | 220 3.8 7.9
BT50-SLSA8-170-M42 2 8 [11 ]| 1.5 170 42 33 | 57 15.4 25 | 39 24 | 225 4 4.3
BT50-SLSA8-195-M67 2 8 (11| 15 195 67 | 30 | 60 18 32 | 46 24 | 250 4.3 5.9
BT50-SLSA8-195-M97 1 8 |11 | 1.5 195 97 | 60 * 21.2 | 32 * 24 | 250 3.9 8.7
BT50-SLSA8-225-M97 2 8 (11| 1.5 | 225 97 | 28 | 62 21.2 | 36 | 50 24 | 280 4.5 8.3
BT50-SLSB8-110-M42 1 8 [13 | 2.5 110 42 30 * 17.4 32 * 24 | 165 3.7 2.1
BT50-SLSB8-135-M67 1 8 [13 | 25 135 67 30 * 20 32 * 24 | 190 3.7 3.5
BT50-SLSB8-140-M42 1 8 [13 | 2.5 140 42 60 * 17.4 32 * 24 | 195 3.8 2.4
BT50-SLSB8-165-M67 1 8 [13 | 25 165 67 60 * 20 32 * 24 | 220 3.9 4
BT50-SLSB8-165-M97 1 8 [13 | 2.5 165 97 | 30 * 23.2 | 32 * 24 | 220 3.8 5.3
BT50-SLSB8-170-M42 2 8 |13 | 2.5 170 42 30 [ 60 17.4 32 | 46 24 | 225 4.3 2.4
BT50 - SLFB- 6 - 90 - M22
Working length SLFB @

Length (L) —
=@ Diameter

=@] Holder type

={@ Taper size




S EEVALER D

BT50-SL #4870 (3°—{F

FIG. 1

BT50-SL SHRINK FIT HOLDER(3° MONO)

7
p—— o |7ﬁf‘77 i[a[g
|
L1 M mIBMLE
L
FIG. 2
- T
PsamEt
L1 M mw%kﬁfgnﬁ&
AT O I A
ZEiLS SF mEREm
| ® HIfT iHEINHECR, sl
B ool * TALRLET .
4/_‘:,HJ 1M.m§f%§%ﬁﬁfﬁmn (] DE&% WA JIERE, E% 0
h TIEBABNKE  ye0 ) Hg A L i S B AHO (L )
EIE Model FIG D C t L M L1 L2 CIL C2 €3 H h ZEEKGS S
BT50-SLSB8-195-M67 2 | 8|13[25| 195 | 67 |[30|60| 20 |32 46 | 24 | 250 | 4.3
BT50-SLSB8-195-M97 1 [ 8]13[25|195] 97 [e0] * ] 232 [32] * | 24 | 250 4 6.1
BT50-SLSB8-195-M127 1 |8 (13|25 195 [127 30| * | 263 [32| * | 24 | 250 3.9 7.1
BT50-SLSB8-225-M97 2 | 81325 225 | 97 |30 |60 | 23.2 [ 32| 46 | 24 | 280 | 4.4 6
BT50-SLSB8-225-M127 1 |8 |13|25] 225 [127]|60| * | 263 [32] * | 24 | 280 4 8.2
BT50-SLSB8-225-M157 1 [ 8]13[25| 22515730 * | 2905 [42] * | 24 | 280 4 8
BT50-SLSB8-255-M127 2 | 8|13 25| 255 [127 |30 |60 | 26.3 [ 32| 46 | 24 | 310 4.5 8.1
BT50-SLSB8-255-M157 1|8 |13|25] 255 [157 |60 | * | 295 42| * | 24 | 310 4.3 8.5
BT50-SLSB8-285-M157 2 | 8|13] 25| 285 |157 |28 |60 | 29.5 |42 | 56 | 24 | 340 4.9 8.5
BT50-SLRB8-90-M22 1][8]18] 5 90 | 22 [30] * [ 203 [32] * | 24 | 145 3.7 0.7
BT50-SLRB8-110-M42 1|8 (18| 5 | 110 | 42 |30 * | 224 [32]| * | 24 | 165 3.7 1.1
BT50-SLRB8-120-M22 1 |8 |18 5 | 120 22 |60 | * | 203 (32| * | 24 | 175 3.8 0.9
BT50-SLRB8-135-M67 1| 8|18 5 | 135 | 67 [30] * 25 [32] * | 24 | 190 3.8 1.7
BT50-SLRB8-140-M42 1| 8]18] 5 [140 ] 42 60| * | 224 [32] * | 24 | 195 3.9 1.4
BT50-SLRB8-150-M22 2 | 8|18 5 [ 150 | 22 |30 |60 | 203 [ 32| 46 | 24 | 205 4.3 0.9
BT50-SLRB8-165-M67 1|8 |18 5 | 165 | 67 |60 | * 25 32| * | 24 | 220 4 2.2
BT50-SLRB8-170-M42 2 | 8|18 5 | 170 | 42 |28 |62 | 22.4 [ 36| 50 | 24 | 225 4.5 1.3
BT50-SLRB8-195-M67 2 [ 8[18] 5 [195 [ 67 [30[60| 25 [32] 46 | 24 | 250 4.4 2.2
BT50-SLFB8-90-M22 1][8]18] 5 90 | 22 [30] * [ 203 [32] * | 24 | 145 3.7 0.7
\\\& BT50-SLFB8-110-M42 1|8 (18| 5 | 110 | 42 {30 * | 224 [32]| * | 24 | 165 3.7 1.1
‘ 'j/%\ BT50-SLFB8-120-M22 1| 8|18 5 [120| 22 |60 | * | 203 [32] * | 24 | 175 3.8 0.9
N BT50-SLFB8-135-M67 1|8 |18 5 |135 ] 67 [30] * 25 [32] * | 24 | 190 3.8 1.7
o BT50-SLFB8-140-M42 1 [8]18] 5 [140 ] 42 |60 * | 224 [32] * | 24 | 195 3.9 1.4
‘_’| ) BT50-SLFB8-150-M22 2 | 8|18 5 [ 150 | 22 [30 |60 | 203 |32 46 | 24 | 205 4.3 0.9
o 7 BT50-SLFB8-165-M67 1|8 |18 5 | 165 | 67 | 60| * 25 [32] * | 24 | 220 4 2.2
= - BT50-SLFB8-170-M42 2 | 8|18 5 | 170 | 42 |30 |60 | 22.4 [ 32| 46 | 24 | 225 43 1.4
n BT50-SLFB8-195-M67 2 | 818 5 | 195 | 67 |30 |60 | 25 |32 46 | 24 | 250 | 4.4 2.2
BT50 - SLSB- 8 - 195 - Mé67
L MIBEREE ) Working length SLFB @

Length (L)
=@ Diameter
=@] Holder type
={@ Taper size




BT50-SL #4870 (3°—{4R!) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1
78
— L el
A
L1 M W
L
FI1G. 2
2
b
”w
L1 wo | PEEAEE

- N
AT D 5 -
222% 22 massm

( Safety mark ) ( Thickness )

I O e T TR, S
ﬁ DR EALRAT .
LR ® TIARE HATIAM, %L

H (Minimum insert length of the tool )

ARBrmAKE H BT 5 BRI

h ( Maximum insert length of the tool )

S Model FIG D C t L M L1 L2 C1 c2 cC3 H h ZEEKGS S
BT50-SLSA10-110-M42 1|10|13| 15| 110 | 42 |30 | * 17.4 | 25 * 30 | 165 3.6 2.6
BT50-SLSA10-135-M67 1 (10|13 15| 135 | 67 (30| * 20 32 * 30 | 190 3.7 4
BT50-SLSA10-140-M42 1 |/10|13| 15| 140 | 42 |60 | * 17.4 | 25 * 30 | 195 3.7 3.7
BT50-SLSA10-165-M67 1 (10|13 15| 165 | 67 [ 60 | * 20 32 * 30 | 220 3.9 4.6
BT50-SLSA10-165-M97 1 (10|13 15| 165 [ 97 (30| * 23.2 | 32 * 30 | 220 3.8 6
BT50-SLSA10-170-M42 2 |10|13| 15 | 170 | 42 | 33 | 57 | 174 | 25| 39 | 30 | 225 4 3.5
BT50-SLSA10-195-M67 2 (1013 | 15| 195 | 67 | 30 | 60 20 32| 46 | 30 | 250 4.3 4.6
BT50-SLSA10-195-M97 1 |10|13| 15| 195 | 97 |60 | * 23.2 | 32 * 30 | 250 3.9 6.9
BT50-SLSA10-225-M97 2 (1013 | 15| 225 | 97 | 30 [ 60 | 23.2 | 32 | 46 | 30 | 280 4.4 6.8
BT50-SLSB10-110-M42 1 10|16 | 3 110 | 42 |30 | * 204 (32| * 30 | 165 3.7 1.4
BT50-SLSB10-135-M67 1 |10({16| 3 135 | 67 | 30 | * 23 32| * 30 | 190 3.8 2.4
BT50-SLSB10-140-M42 1 10|16 | 3 140 | 42 |60 | * 204 (32| * 30 | 195 3.9 1.8
BT50-SLSB10-165-M67 1 |10({16| 3 165 | 67 | 60 | * 23 32| * 30 | 220 3.9 3
BT50-SLSB10-165-M97 1 10|16 | 3 165 | 97 |30 | * 26.2 (32| * 30 | 220 3.9 3.7
BT50-SLSB10-170-M42 2 |10|16| 3 170 | 42 | 30 | 60 | 20.4 | 32 | 46 | 30 | 225 4.3 1.8
BT50-SLSB10-195-M67 2 11016 | 3 195 [ 67 | 30 | 60 23 32| 46 | 30 | 250 4.3 3
BT50-SLSB10-195-M97 1 10|16 | 3 195 | 97 | 60 | * 26.2 | 32| * 30 | 250 4 4.5

BT50-SLSB10-195-M127 1 10|16 | 3 195 | 127 | 30 | * 29.3 (42| * 30 | 250 4 4.5
BT50-SLSB10-225-M97 2 (10|16 3 225 | 97 | 30 | 60 | 26.2 |32 | 46 | 30 | 280 4.4 4.4
BT50-SLSB10-225-M127 1 |10({16| 3 225 | 127 [ 60 | * 293 (42| * 30 | 280 4.2 4.9
BT50-SLSB10-225-M157 1 10|16 | 3 225 | 157 | 30 | * 32.5 | 42 * 30 | 280 4.1 5.6
BT50-SLSB10-255-M127 2 10|16 | 3 255 | 127 | 28 | 62 | 29.3 | 42 | 56 | 30 | 310 4.8 4.9
BT50-SLSB10-255-M157 1 10|16 | 3 255 | 157 | 60 | * 32.5 | 42 * 30 | 310 4.4 6.1
BT50-SLSB10-285-M157 2 10|16 | 3 285 | 157 | 28 | 62 | 32.5 | 42 | 56 | 30 | 340 5 6.1

BT50 - SLSA- 10 - 110 - M42

Working length
Length (L)

=@ Diameter

%@ Holder type

> 38 1 B R ] Taper size




S EEVALER D

(o] o
BT50-SL #4704 (3°—{& BT50-SL SHRINK FIT HOLDER(3° MONO)
FIG. 1
7
— — = _9lge
A
L1 M mIHHKE
L
FIG. 2
7\ T
fifsamct
L1 M ﬂﬂ&ﬁ%ﬁ&
AT O I N
ZEiLS 2R maEEm
I ® ST A LT, S
L ool 7 TALRLET .
L H 1M.m§f%§%ﬁﬁfﬁmn (] I’Ei% Tﬂi)\ﬁﬁﬂﬁ, i%%‘i\é‘
h TIEBABNKE  ye0 ) Hg A L i S B AHO (L )
B = Model FIG D C t L M L1 L2 C1 c2 C3 H h E=ZKGS S
BT50-SLRB10-90-M22 1 10 | 22 6 90 22 30 * 24.3 32 * 30 145 3.7 0.6
BT50-SLRB10-110-M42 1 10 | 22 6 110 42 30 * 26.4 32 * 30 165 3.8 0.8
BT50-SLRB10-120-M22 1 10 | 22 6 120 22 60 * 24.3 32 * 30 175 3.9 0.8
BT50-SLRB10-135-M67 1 10 | 22 6 135 67 30 * 29 42 * 30 190 3.9 1.1
BT50-SLRB10-140-M42 1 10 | 22 6 140 42 60 * 26.4 32 * 30 195 3.9 1.2
BT50-SLRB10-150-M22 2 10 | 22 6 150 22 30 | 60 24.3 32 46 30 205 4.3 0.8
BT50-SLRB10-165-M67 1 10 | 22 6 165 67 60 * 29 42 * 30 220 4.1 1.3
BT50-SLRB10-170-M42 2 10 | 22 6 170 42 28 | 62 26.4 36 | 50 30 | 225 4.5 1
BT50-SLRB10-195-M67 2 10 | 22 6 195 67 28 | 62 29 42 | 56 30 | 250 4.7 1.3
BT50-SLFB10-90-M22 1 10 | 22 6 90 22 30 * 24.3 32 * 30 145 3.7 0.6
BT50-SLFB10-110-M42 1 10 | 22 6 110 42 30 * 26.4 32 * 30 165 3.8 0.8
BT50-SLFB10-120-M22 1 10 | 22 6 120 22 60 * 24.3 32 * 30 175 3.9 0.8
BT50-SLFB10-135-M67 1 10 | 22 6 135 67 30 * 29 42 * 30 | 190 3.9 1.1
BT50-SLFB10-140-M42 1 10 | 22 6 140 42 60 * 26.4 36 * 30 195 4 1
BT50-SLFB10-150-M22 2 10 | 22 6 150 22 30 | 60 24.3 32 46 30 205 4.3 0.8
BT50-SLFB10-165-M67 1 10 | 22 6 165 67 60 * 29 42 * 30 220 4.1 1.3
BT50-SLFB10-170-M42 2 10 | 22 6 170 42 30 | 60 26.4 32 | 46 30 | 225 4.3 1.2
BT50-SLFB10-195-M67 2 10 | 22 6 195 67 28 | 62 29 42 | 56 30 | 250 4.7 1.3
BT50-SLSA12-110-M42 1 12 (15| 1.5 110 42 30 * 19.4 32 * 30 165 3.7 1.9
‘&\ BT50-SLSA12-135-M67 1 12 (15| 1.5 135 67 30 * 22 32 * 30 190 3.7 3.3
N f"f}' BT50-SLSA12-140-M42 1 12 (15| 1.5 140 42 60 * 19.4 32 * 30 195 3.8 2.3
@ BT50-SLSA12-165-M67 1 12 (15| 1.5 165 67 60 * 22 32 * 30 | 220 3.9 3.9
[a) g& BT50-SLSA12-165-M97 1 12 (15| 1.5 165 97 30 * 25.2 32 * 30 220 3.8 4.9
(21 ;."E BT50-SLSA12-170-M42 2 12 (15| 1.5 170 42 30 | 60 19.4 32 46 30 225 4.3 2.3
5' BT50-SLSA12-195-M67 2 12|15 | 1.5 195 67 30 [ 60 22 32 | 46 30 | 250 4.3 3.9
o 7] BT50-SLSA12-195-M97 1 12 (15| 1.5 195 97 60 * 25.2 32 * 30 250 4 5.9
5 i BT50-SLSA12-225-M97 2 12 (15| 1.5 225 97 30 | 60 25.2 32 | 46 30 | 280 4.4 5.8

BT50 - SLRB- 10 - 90 - M22

> 7] #f H & ) Diameter

>3 B X 5 | Holder type
> 58 1 B R ] Taper size

—E» MIEHKE ) working length
Length (L)



BT50-SL #4870 (3°—{4R!) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1
78
— L el
A
L1 M W
L
FI1G. 2
2
b
”w
L1 wo | PEEAEE

- N\
225 22 massm
I O e R, S
ﬁ DA LA .
W?*ﬂ*ﬁ*fg ® JIARE AN, %
h NEBRBAKE 7] BN % 4105 IR AL E )
RS Model FIG D C t L M L1 L2 (oh § Cc2 G3 H h ==& KGS S

BT50-SLSB12-110-M42 1 12|19 | 3.5 110 42 30 * 23.4 32 * 30 165 3.7 1.1
BT50-SLSB12-135-M67 1 12119 | 3.5 135 67 30 * 26 32 * 30 | 190 3.8 1.9
BT50-SLSB12-140-M42 1 12 (19| 3.5 140 42 60 * 23.4 | 32 * 30 | 195 3.9 1.6
BT50-SLSB12-165-M67 1 12119 | 3.5 165 67 60 * 26 32 * 30 | 220 3.9 2.5
BT50-SLSB12-165-M97 1 12119 | 3.5 165 97 30 * 29.2 42 * 30 | 220 3.9 2.4
BT50-SLSB12-170-M42 2 |12 )19 | 3.5 170 42 28 | 62 23.4 | 36 | 50 30 | 225 4.5 1.3
BT50-SLSB12-195-M67 2 12 (19 | 3.5 195 67 30 | 60 26 32 | 46 30 | 250 4.4 2.4
BT50-SLSB12-195-M97 1 12119 | 3.5 195 97 60 * 29.2 42 * 30 | 250 4.2 2.7
BT50-SLSB12-195-M127 1 12 (19| 35 195 | 127 | 30 * 32.3 42 * 30 | 250 4.1 3.3
BT50-SLSB12-225-M97 2 12 (19 | 3.5 225 97 28 | 62 29.2 42 | 56 30 | 280 4.8 2.8
BT50-SLSB12-225-M127 1 12119 | 3.5 225 127 | 60 * 32.3 42 * 30 | 280 4.3 3.7
BT50-SLSB12-225-M157 1 12119 | 3.5 225 157 | 30 * 35.5 42 * 30 280 4.3 4.1
BT50-SLSB12-255-M127 2 12 (19| 3.5 255 | 127 | 28 | 62 32.3 42 | 56 30 | 310 4.9 3.7
BT50-SLSB12-255-M157 1 12 119 | 3.5 255 157 | 60 * 35.5 42 * 30 310 4.5 4.7
BT50-SLSB12-285-M157 2 12119 | 3.5 285 157 | 28 | 62 35.5 42 | 56 30 340 5.1 4.7
BT50-SLRB12-90-M22 1 12 | 26 7 20 22 30 * 28.3 42 * 30 | 145 3.7 0.4
BT50-SLRB12-110-M42 1 12 | 26 7 110 42 30 * 30.4 42 * 30 165 3.8 0.6
BT50-SLRB12-120-M22 1 12 | 26 7 120 22 60 * 28.3 42 * 30 175 4 0.5
BT50-SLRB12-135-M67 1 12 | 26 7 135 67 30 * 33 42 * 30 | 190 4 0.8
BT50-SLRB12-140-M42 1 12 | 26 7 140 42 60 * 30.4 42 * 30 195 4.1 0.7
BT50-SLRB12-150-M22 2 12 | 26 7 150 22 28 | 62 28.3 42 [ 56 30 205 4.6 0.5
BT50-SLRB12-165-M67 1 12 | 26 7 165 67 60 * 33 42 * 30 | 220 4.2 1
BT50-SLRB12-170-M42 2 12 | 26 7 170 42 28 | 62 30.4 42 | 56 30 225 4.7 0.7
BT50-SLRB12-195-M67 2 12 | 26 7 195 67 28 | 62 33 42 | 56 30 250 4.8 1.1

BT50 - SLSB- 12 - 110 - M42

Working length
Length (L)

=(@ Diameter

=@] Holder type

> 58 1 A R ] Taper size




S EEVALER D

BT50-SL #4574 (3°—1& BT50-SL SHRINK FIT HOLDER(3° MONO)
FIG. 1
7
—_—— — _7elge
A
L1 M mIBMLE
L
FIG. 2
2
o e 6|
L1 M mw%kﬁg%nﬁhﬁ
- N\
22S 2B massm
I © HIST W MIAMELT, S
B ool * TALRLET .
L n e BRE L e NARE WAJIAN, WL
h NEBKENKE T R 24105 FRIOE. )
RS Model t
BT50-SLFB12-90-M22 1 12 | 26 7 90 22 30 * 28.3 42 * 30 145 3.7 0.4
BT50-SLFB12-110-M42 1 12 | 26 7 110 42 30 * 30.4 42 * 30 165 3.8 0.6
BT50-SLFB12-120-M22 1 12 | 26 7 120 22 60 * 38.3 42 * 30 | 175 4 0.5
BT50-SLFB12-135-M67 1 12 | 26 7 135 67 30 * 33 42 * 30 190 4 0.8
BT50-SLFB12-140-M42 1 12 | 26 7 140 42 60 * 30.4 42 * 30 195 4.1 0.7
BT50-SLFB12-150-M22 2 12 | 26 7 150 22 28 | 62 28.3 42 | 56 30 | 205 4.6 0.5
BT50-SLFB12-165-M67 1 12 | 26 7 165 67 60 * 33 42 * 30 220 4.2 1
BT50-SLFB12-170-M42 2 12 | 26 7 170 42 28 | 62 30.4 42 56 30 225 4.7 0.7
BT50-SLFB12-195-M67 2 12 | 26 7 195 67 28 | 62 33 42 | 56 30 | 250 4.8 1.1
BT50-SLSB16-110-M42 1 16 | 24 4 110 42 30 * 28.4 42 * 32 165 3.8 0.7
BT50-SLSB16-135-M67 1 16 | 24 4 135 67 30 * 31 42 * 32 190 3.9 1.1
BT50-SLSB16-140-M42 1 16 | 24 4 140 42 60 * 28.4 42 * 32 195 4 0.9
BT50-SLSB16-165-M67 1 16 | 24 4 165 67 60 * 31 42 * 32 220 4.1 1.4
BT50-SLSB16-165-M97 1 16 | 24 4 165 97 30 * 34.2 42 * 32 220 4 1.7
BT50-SLSB16-170-M42 2 16 | 24 4 170 42 28 | 62 28.4 42 56 32 225 4.6 0.9
BT50-SLSB16-195-M67 2 16 | 24 4 195 67 28 | 62 31 42 56 32 250 4.7 1.4
BT50-SLSB16-195-M97 1 16 | 24 4 195 97 60 * 34.2 42 * 32 250 4.3 2
BT50-SLSB16-195-M127 1 16 | 24 4 195 127 | 30 * 37.3 53 * 32 250 4.2 2.1
&\‘,\. BT50-SLSB16-225-M97 2 16 | 24 4 225 97 28 | 62 34.2 42 | 56 32 280 4.9 2.1
: ?\ BT50-SLSB16-225-M127 1 16 | 24 4 225 127 | 60 * 37.3 53 * 32 280 4.6 2.3
o 8 BT50-SLSB16-225-M157 1 16 | 24 4 225 157 | 30 * 40.5 53 * 32 280 4.4 2.6
(21 - BT50-SLSB16-255-M127 2 16 | 24 4 255 127 | 28 | 62 37.3 53 67 32 310 5.5 2.3
5| BT50-SLSB16-255-M157 1 16 | 24 4 255 157 | 60 * 40.5 53 * 32 310 4.8 2.8
'(2 7 BT50-SLSB16-285-M157 2 16 | 24 4 285 157 | 28 | 62 40.5 53 67 32 340 5.7 2.9
n i

BT50 - SLFB - 12 - 90 - M22

Working length Sl—ﬂ@
Length (L)

> 7] # B & ) Diameter

>3 8 X S | Holder type

=[ WA R ] Taper size




BT50-SL #4870 (3°—{4R!) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1
7N
=R
RTA
L1 M mIBMLE
L
FIG. 2
2
o T e g,l
L1 M mw%ﬁ%éﬂ’i
- N\
225 22 massm
I O e R, S
ﬁ DI LA -
W?*ﬂ*ﬁ*fg ® JIARE AN, %
h NEBRBAKE 7] BN % 4105 IR AL E )
BE Model FIG D C t L M L1 L2 Cl c2 C3 H h EE KGS S
BT50-SLRB16-90-M22 1 16 | 32 8 920 22 30 * 34.3 42 * 32 | 145 3.8 0.3
BT50-SLRB16-110-M42 1 16 | 32 8 110 42 30 * 36.4 42 * 32 165 3.9 0.5
BT50-SLRB16-120-M22 1 16 | 32 8 120 22 60 * 34.3 42 * 32 175 4 0.5
BT50-SLRB16-135-M67 1 16 | 32 8 135 67 30 * 39 42 * 32 | 190 4.1 0.6
BT50-SLRB16-140-M42 1 16 | 32 8 140 42 60 * 36.4 42 * 32 195 4.2 0.6
BT50-SLRB16-150-M22 2 16 | 32 8 150 22 28 | 62 34.3 42 | 56 32 205 4.6 0.5
BT50-SLRB16-165-M67 1 16 | 32 8 165 67 60 * 39 42 * 32 | 220 4.3 0.9
BT50-SLRB16-170-M42 2 16 | 32 8 170 42 28 | 62 36.4 42 | 56 32 | 225 4.8 0.7
BT50-SLRB16-195-M67 2 16 | 32 8 195 67 28 | 62 39 42 | 56 32 250 4.9 0.9
BT50-SLFB16-90-M22 1 16 | 32 8 20 22 30 * 34.3 42 * 32 | 145 3.8 0.3
BT50-SLFB16-110-M42 1 16 | 32 8 110 42 30 * 36.4 42 * 32 | 165 3.9 0.5
BT50-SLFB16-120-M22 1 16 | 32 8 120 22 60 * 34.3 42 * 32 175 4 0.5
BT50-SLFB16-135-M67 1 16 | 32 8 135 67 30 * 39 42 * 32 | 190 4.1 0.6
BT50-SLFB16-140-M42 1 16 | 32 8 140 42 60 * 36.4 42 * 32 195 4.2 0.6
BT50-SLFB16-150-M22 2 16 | 32 8 150 22 28 | 62 34.3 42 | 56 32 205 4.6 0.5
BT50-SLFB16-165-M67 1 16 | 32 8 165 67 60 * 39 42 * 32 220 4.3 0.9
BT50-SLFB16-170-M42 2 16 | 32 8 170 42 28 | 62 36.4 42 | 56 32 225 4.8 0.7
BT50-SLFB16-195-M67 2 16 | 32 8 195 67 28 | 62 39 42 | 56 32 | 250 4.9 0.9
BT50-SLSB20-110-M42 1 20| 29 | 4.5 110 42 30 * 334 42 * 40 165 3.8 0.5
BT50-SLSB20-135-M67 1 20129 | 45 135 67 30 * 36 42 * 40 | 190 3.9 0.9
BT50-SLSB20-140-M42 1 20129 | 4.5 140 42 60 * 33.4 42 * 40 | 195 4.1 0.8
BT50-SLSB20-165-M67 1 20| 29 | 4.5 165 67 60 * 36 42 * 40 220 4.2 1.2
BT50-SLSB20-165-M97 1 20129 | 45 165 97 30 * 39.2 53 * 40 | 220 4.1 1.1
BT50-SLSB20-170-M42 2 20129 | 4.5 170 42 28 | 62 33.4 42 | 56 40 | 225 4.7 0.8

BT50 - SLRB - 16 - 90 - M22

—( MIEHKE ] working length SLFB @

Length (L)
> 7] # B & ) Diameter
>@] Holder type
=[ WA R ] Taper size




S EEVALER D

BT50-SL #4874/ (3° BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1

s
A
L1 M m\%ﬁ%ﬁh}%
L
FIG. 2
)
y o 3,
b | o |MEERKE
- N
Z2iEE E mEESEEH
| ® FIST i MAIMECE, S
DI HFLFAT .
h TRBAEAKE ) AR 2 4 5 R )
812 Model FIG D C t L M LI L2 €1 €2 €3 H h HEEKGS S
BT50-SLSB20-195-M67 | 2 |20 |29 | 45 | 195 | 67 | 28 | 62 | 36 |42 | 56 | 40 | 250 | 4.8 1.2
BT50-SLSB20-195-M97 | 1 |20 |29 | 45 | 195 | 97 | 60 | * | 39.2 |53 | * | 40 | 250 | 4.5 1.3
BT50-SLSB20-195-M127 | 1 |20 |29 | 45 | 195 | 127 | 30 | * | 423 |53 | * | 40 | 250 | 4.3 1.5
BT50-SLSB20-225-M97 | 2 |20 |29 | 4.5 | 225 | 97 | 28 | 62 | 39.2 | 53 | 67 | 40 | 280 | 5.4 1.3
BT50-SLSB20-225-M127 | 1 |20 |29 | 4.5 | 225 | 127 | 60 | * | 423 |53 | * | 40 | 280 | 4.7 1.8
BT50-SLSB20-225-M157 | 1 |20 |29 | 4.5 | 225 | 157 | 30 | * | 455 |53 | * | 40 | 280 | 4.6 1.7
BT50-SLSB20-255-M127 | 2 |20 | 29 | 4.5 | 255 | 127 | 28 | 62 | 42.3 |53 | 67 | 40 | 310 | 5.6 1.7
BT50-SLSB20-255-M157 | 1 |20 |29 | 4.5 | 255 | 157 | 60 | * | 455 | 53| * | 40 | 310 5 2.2
BT50-SLSB20-285-M157 | 2 |20 |29 | 4.5 | 285 | 157 | 28 | 62 | 45.5 | 53 | 67 | 40 | 340 | 5.9 2.2
BT50-SLRB20-110-M42 | 1 |20 (38| 9 | 110 | 42 |30 | * | 42.4 |53 | * | 40 | 165 4 0.3
BT50-SLRB20-135-M67 | 1 |20 |38 | 9 | 135 | 67 (30 | * | 45 |53 | * | 40 | 190 | 4.2 0.4
BT50-SLRB20-140-M42 | 1 |20 |38 | 9 | 140 | 42 |60 | * | 424 |53 | * | 40 | 195 | 4.4 0.4
BT50-SLRB20-165-M67 | 1 |20 |38 | 9 | 165 | 67 |60 | * | 45 |53 | * | 40 | 220 | 4.6 0.6
BT50-SLRB20-170-M42 | 2 |20 |38 | 9 | 170 | 42 |28 | 62 | 42.4 |53 | 67 | 40 | 225 | 5.3 0.4
BT50-SLRB20-195-M67 | 2 |20 |38 | 9 | 195 | 67 |28 | 62| 45 |53 | 67 | 40 | 250 | 5.5 0.6
- BT50-SLFB20-110-M42 | 1 |20 (38| 9 | 110 | 42 |30 | * | 424 |53 | * | 40 | 165 4 0.3
\\ BT50-SLFB20-135-M67 | 1 (20 |38 | 9 | 135 | 67 |30 | * | 45 |53 | * | 40 | 190 | 4.2 0.4
9 BT50-SLFB20-140-M42 | 1 (20 |38 | 9 | 140 | 42 | 60 | * | 424 |53 | * | 40 | 195 | 4.4 0.4
o BT50-SLFB20-165-M67 | 1 (20 |38 | 9 | 165 | 67 |60 | * | 45 |53 | * | 40 | 220 | 4.6 0.6
Q}EE BT50-SLFB20-170-M42 | 2 |20 |38 | 9 | 170 | 42 | 28 | 62 | 42.4 |53 | 67 | 40 | 225 | 5.3 0.4
S BT50-SLFB20-195-M67 | 2 |20 (38| 9 | 195 | 67 | 28 |62 | 45 |53 | 67 | 40 | 250 | 5.5 0.6
o i

BT50 - SLSB - 20 - 195 - Mé67

Working length SLFB E
Length (L) —

=@ Diameter

={@ Holder type

> 38 1 B R ] Taper size




BT50-SL #4E711/ (3°—{FE) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG. 1

TR
R

MITEYKE

L1 M Working length

FIG. 2

i | I — 0111 )
] — R — o L Pl
; RZA

L1 I Rt
- N\

ks e EEEEW
] ® HIST i IANIUR, it

C Dol SEILFT -
| IRBRE e ARE WATIAN, W50
h TIERABNKE  ye0 ) B A L i RO AL )

S Model

BT50-SLRB25-110-M42 1 ([25(45]| 10 110 42 30 * 494 | 53 * 45 | 165 4.1 0.3
BT50-SLRB25-140-M42 1 25| 45 10 140 42 60 * 49.4 53 * 45 195 4.5 0.4
BT50-SLRB25-170-M42 2 25 | 45 10 170 42 28 | 62 49.4 53 | 67 45 195 5.3 0.4
BT50-SLRB25-110-M42 1 (25(45| 10 110 42 30 * 494 | 53 * 45 | 165 4.1 0.3
BT50-SLRB25-140-M42 1 25 | 45 10 140 42 60 * 49.4 53 * 45 195 4.5 0.4
BT50-SLRB25-170-M42 2 |25|145( 10 170 42 28 | 62 494 | 53 | 67 45 | 195 5.4 0.4
BT50-SLRB35-110-M42 1 32| 54| 11 110 42 30 * 58.4 63 * 50 160 4.0 0.2
BT50-SLRB35-140-M42 1 32 (54| 11 140 42 60 * 58.4 63 * 50 | 171 4.6 0.3
BT50-SLRB35-170-M42 2 32|54 11 170 42 28 | 62 58.4 63 | 77 50 | 171 5.8 0.3

BT50 - SLRB - 25 - 110 - M42

Working length SLFB g
Length (L)

> 7] #f B & | piameter

=@) Holder type

=@] Taper size




S EEVALER D

FIG. 1

FIG. 2

M BT50-SL SHRINK FIT HOLDER (CV CURVE)

LAY

Working length

2

5
=
7]
i

0
=
(o]
-
o
o
-
(7]

> 5t i A2 X

Length (L)

> 7] #f H £ ) Diameter
> Ih B 1 S | Holder type

- N\
22T 2B maBEm
| ] ® HIST /AU, B
ﬁ ) bl EALIAT
#T/HJ?*J****"E o JIRZE fAJIAN, %L
h NEBRBANKE 447 B A L2405 R ALE )
FIG D (o} t L M Cl H h EE KGS S
BT50-SLSA4-165CV 1 4 7 1.5 165 127 85 12 220 5.2 1.8
BT50-SLSA4-195CV 1 4 7 1.5 195 157 85 12 250 5.3 2.6
BT50-SLSA4-225CV 1 4 7 1.5 225 187 85 12 280 5.5 3.8
BT50-SLSA4-255CV 1 4 7 1.5 255 217 85 12 310 5.6 5.7
BT50-SLSA4-285CV 1 4 7 1.5 285 247 85 12 340 6.4 5.9
BT50-SLSA4-315CV 1 4 7 1.5 315 277 85 12 370 8.3 7.7
BT50-SLSA6-165CV 1 6 9 1.5 165 127 85 18 220 5.1 1.5
BT50-SLSA6-195CV 1 6 9 1.5 195 157 85 18 250 5.2 24
BT50-SLSA6-225CV 1 6 9 1.5 225 187 85 18 280 5.7 2.9
BT50-SLSA6-255CV 1 6 9 1.5 255 217 85 18 310 5.9 4
BT50-SLSA6-285CV 1 6 9 1.5 285 247 85 18 340 6.2 5.2
BT50-SLSA6-315CV 1 6 9 1.5 315 277 85 18 370 8.4 6.9
BT50-SLSA8-165CV 1 8 11 1.5 165 127 85 24 220 4.9 1.4
BT50-SLSA8-195CV 1 8 11 1.5 195 157 85 24 250 5.3 1.9
BT50-SLSA8-225CV 1 8 11 1.5 225 187 85 24 280 5.8 2.3
BT50-SLSA8-255CV 1 8 11 1.5 255 217 85 24 310 5.8 3.7
BT50-SLSA8-285CV 1 8 11 1.5 285 247 85 24 340 6 4.9
BT50-SLSA8-315CV 1 8 11 1.5 315 277 85 24 370 8.4 5
BT50-SLRA8-195CV 2 8 16 4 195 157 85 24 250 5.4 1.1
BT50-SLRA8-225CV 2 8 16 4 225 187 85 24 280 5.6 1.5
BT50-SLRA8-255CV 2 8 16 4 255 217 85 24 310 5.8 2.2
BT50-SLRA8-285CV 2 8 16 4 285 247 85 24 340 5.9 3
BT50 - SLSA - 4 - 165- CV
B2 & | curve



WM (CV &) BT50-SL SHRINK FIT HOLDER (Y CURVE)

FIG. 1

SESEs

MIBHKE
W

jorking length

FIG. 2
Sl
A
. WS
L
- N\
Z2LS 2 massm
[ Qe weREIRT, S
ﬁ ool 7 EALRAT .
#Tff"*ﬂ*ﬁ*‘fﬁ ® JIRBE HEAJIAR, B
h NEBRBAKE 7] B L2 4185 BRI ALE )

BE Model FIGE D C t L M c1 H h  EEKGS g
BT50-SLFA8-195CV 2 8 | 16 | 4 | 195 | 157 | 85 | 24 | 250 5.4 1.1
BT50-SLFA8-225CV 2 8 | 16 | 4 | 225 | 187 | 85 | 24 | 280 5.6 1.5
BT50-SLFA8-255CV 2 8 | 16 | 4 | 255 | 217 | 85 | 24 | 310 5.8 2.2
BT50-SLFA8-285CV 2 8 | 16 | 4 | 285 | 247 | 85 | 24 | 340 5.9 3
BT50-SLSA10-165CV 1 10 13 1.5 165 127 85 30 220 4.9 1.2
BT50-SLSA10-195CV 1 10 13 1.5 195 157 85 30 250 5.5 1.5
BT50-SLSA10-225CV 1 10 13 1.5 225 187 85 30 280 5.4 2.4
BT50-SLSA10-255CV 1 10 13 1.5 255 217 85 30 310 6.1 2.6
BT50-SLSA10-285CV 1 | 10 | 13 | 15| 285 | 247 | 85 | 30 | 340 6.3 37
BT50-SLSA10-315CV 1 | 10 | 13 | 15| 315 | 217 | 85 | 30 | 370 8.4 4.6
BT50-SLRA10-165CV 2 | 10 | 19 | 45| 165 | 127 | 85 | 30 | 220 5.1 0.7
BT50-SLRA10-195CV 2 | 10 | 19 | 45| 195 | 157 | 85 | 30 | 250 5.2 1.1
BT50-SLRA10-225CV 2 | 10 | 19 | 45| 225 | 187 | 85 | 30 | 280 5.9 12
BT50-SLRA10-255CV 2 | 10 | 19 | 45| 255 | 217 | 85 | 30 | 310 6.1 1.7
BT50-SLRA10-285CV 2 10 19 4.5 285 247 85 30 340 6.2 2.4
BT50-SLFA10-165CV 2 10 19 4.5 165 127 85 30 220 5.1 0.7 /
BT50-SLFA10-195CV 2 10 19 4.5 195 157 85 30 250 5.2 1.1 @ ’
BT50-SLFA10-225CV 2 | 10 | 19 | 45| 225 | 187 | 85 | 30 | 280 5.9 12 -
BT50-SLFA10-255CV 2 | 10 | 19 | 45| 255 | 217 85 | 30 | 310 6.1 17 54
BT50-SLFA10-285CV 2 | 10 | 19 | 45 | 285 | 247 | 85 | 30 | 340 6.2 24 =

BT50 - SLFA - 8 - 195- CV

—r_’m Curve SLFA E
Length (L)

> 7] # B & ] Diameter

>1h 8 £ 5 ] Holder type

>(58 1 & = |

()
=
(g}
—
o
o
-
(72}

Hd




S EEVALER D

SEE LN ETEEZDM  B150-SL SHRINK FIT HOLDER(CV. CURVE)

Fl

Fl

G.1

G.2

LAY

Working length

ZEILS

( Safety mark )

B

( Thickness )

==

W EESEm

® HUET WHEMBA T, BifE

ol SBILBAT .
| R e JIARE AN, 5L
h TIERABNKE ) B\ L 4 2 RO

RS Model FIG D C t L M Cl H h EE KGS S
BT50-SLSA12-165CV 1 12 15 1.5 165 127 84 30 220 4.8 1.2
BT50-SLSA12-195CV 1 12 15 1.5 195 157 85 30 250 5.6 1.2
BT50-SLSA12-225CV 1 12 15 1.5 225 187 85 30 280 5.8 1.8
BT50-SLSA12-255CV 1 12 15 1.5 255 217 85 30 310 6 2.6
BT50-SLSA12-285CV 1 12 15 1.5 285 247 85 30 340 6.2 3.5
BT50-SLSA12-315CV 1 12 15 1.5 315 277 85 30 370 8.5 3.6
BT50-SLRA12-165CV 2 12 22 22 165 127 85 30 220 5.1 0.7
BT50-SLRA12-195CV 2 12 22 22 195 157 85 30 250 5.6 0.8
BT50-SLRA12-225CV 2 12 22 22 225 187 85 30 280 5.6 1.3
BT50-SLRA12-255CV 2 12 22 22 255 217 85 30 310 5.8 1.6
BT50-SLRA12-285CV 2 12 22 22 285 247 85 30 340 6.1 2.1
BT50-SLFA12-165CV 2 12 22 22 165 127 85 30 220 5.1 0.7
BT50-SLFA12-195CV 2 12 22 22 195 157 85 30 250 5.6 0.8
BT50-SLFA12-225CV 2 12 22 22 225 187 85 30 280 5.6 1.3
BT50-SLFA12-255CV 2 12 22 22 255 217 85 30 310 5.8 1.6
BT50-SLFA12-285CV 2 12 22 22 285 247 85 30 340 6.1 2.1

BT50 - SLSA - 12 - 165 - CV

\ %
5§
=
7]
]

()
=
(g}
—
o
o
-
(72}

—I__' Curve
Length (L)
> 7] #f B & | Diameter
> Zh 8E X S ] Holder type
JELTED




=l ol 5

LA
Working

ZLie8 EEE =
é%wl;ﬁ ( Thickness ) . 7155@

[ @ e AR, S
ﬁ i "y
W BIEREKE
h
L

( Minimum insert length of the tool ) ® JJIARE FHANJIEN, HEY
DEBABNKE | T 2T S ERIE.

S Model D C t M C1 H h BEE KGS S
BT50-SLSB16-165CV 16 21 2.5 165 127 85 32 220 5.4 0.6
BT50-SLSB16-195CV 16 21 2.5 195 157 85 32 250 5.4 11
BT50-SLSB16-225CV 16 21 2.5 225 187 85 32 280 6.3 1.2
BT50-SLSB16-255CV 16 21 2.5 255 217 85 32 310 6.1
BT50-SLSB16-285CV 16 21 2.5 285 247 85 32 340 7
BT50-SLSB16-315CV 16 21 2.5 315 277 85 32 370 8.6 2.6
BT50-SLSB20-165CV 20 26 3 165 127 85 40 220 5.4 0.6
BT50-SLSB20-195CV 20 26 3 195 157 85 40 250 6.1 0.7
BT50-SLSB20-225CV 20 26 3 225 187 85 40 280 5.8 12
BT50-SLSB20-255CV 20 26 3 255 217 85 40 310 6.7 13
BT50-SLSB20-285CV 20 26 3 285 247 85 40 340 7 17
BT50-SLSB20-315CV 20 26 3 315 277 85 40 370 8.9 23

BT50 - SLSB - 16 - 165 - CV

L Curve
Length (L)

> 71 # E 2 | Diameter

> 1 8 £ S ] Holder type

JELEED




S EEVALER D

SRRtk =t V=L hapaL i BT-C FORCE MILLING CHUCK

Y

Features:

OFHEMRITEITNARERHEE

Ot 2L EIFE L BHE 5% IBIREE

ORFERERLLIRIE, XL, tIHIENAESHIRIER ARV EIFRIE
B RER R, MERNRLFARSREEEERERSES

(N R

© This cover ring is connecting with the transfer screw cap by groove of
hermetic circle

©O This new power chuck millis belongs to the hermetic set for CNC
cutting tools

© The cover ring can prevent the water, dust and cutting scrap going to
the spacing from chuck body and transfer cap. It can prolong the using
time for the power milling chuck.

OF - @ FW2A

@ MR R ing
@ BER ..  © g6z

@ BR 10 WEFR .
© Xy O B
© FExzE

Body lock ring

&

)
&

EMIBHFKIZFERERE  The shortcoming for the power milling chuck of standard type

%
=
7
A

0
=
(o]
-
o
o
-
(7]

EKMESRNRFRSHIBIREFEERER, ERNSSEREH
BIRE. HINERRENEFE, H_EREMEBAUN, RIEHES
Rd. IBREE R, CREHERSFSRIBIENRE,
MEBSERTHH, ERNRLRISEERIERT TR, &RE&
RERFFHEN.

The standard milling chuck has the spacing between chuck
body and transfer screw cap. It easily makes water with dust
and cutting scrap into the spacing, and it also will be move to
take the dust and cutting scrap together running, it not only
fret the surface of chuck body and transfer screw cap, but also
break the needle roller bearing. The holding precision will be
falling, at last it lose holding capacity.



BT-C S ERNTIR

Ui

S

BT-C FORCE MILLING CHUCK

el =D ==
[ P.131 NN p.i16 NN p.129 | -
#ig | 815 Model L L1 L2 L3 D d1 d2 456 E Range
BT30-C20-80 128.4] 80 | 58 [ 22 | 46 | 20 [ 58 3456810121416
BT30-C25-100 148.4] 100 | 78 [ 22 | 46 | 25 | 63 3456810121416 1820
BT30-C32-105 153.4| 105 [ 83 | 22 | 46 [ 32 [ 73 3456810121416 1820222425
g | B1S Model L L1 L2 L3 D di | d2 KHFEE Range
BT40-C20-100 165.4] 90 | 63 [ 27 | 63 | 20 [ 58 3456810121416
BT40-C25-100 165.4] 100 | 73 | 27 | 63 | 25 | 63 3456810121416 1820
BT40-C25-135 200.4] 135 [ 108 [ 27 | 63 | 25 [ 63 3456810121416 1820
BT40-C32-105 170.4| 105 [ 78 | 27 | 63 [ 32 | 73 3456810121416 1820222425
BT40-C32-135 200.4[ 135 [ 108 | 27 [ 63 [ 32 | 73 3456810121416 1820222425
BT40-C32-165 230.4[ 165 [ 138 | 27 [ 63 [ 32 | 73 3456810121416 1820222425
BT40-C32-200 265.4] 200 [ 173 | 27 [ 63 [ 32 | 73 3456810121416 1820222425
BT40-C32-250 315.4[ 250 [ 223 | 27 [ 63 [ 32 | 73 3456810121416 1820222425
BT40-C42-130 195.4| 130 [ 103 | 27 | 63 | 42 | 88 | 345681012141618202224252830323436
g | #5 Model L L1 L2 L3 D d1 d2 F56E Range
BT50-C25-110 211.8[ 110 [ 72 | 38 [ 100 [ 25 | 63 34568101214161820
BT50-C25-165 236.8[ 165 [ 127 | 38 [ 100 [ 25 | 63 34568101214161820
BT50-C32-110 211.8[ 110 [ 72 | 38 [100 [ 32 | 73 3456810121416 1820222425
BT50-C32-135 236.8[ 135 [ 97 | 38 [100 [ 32 | 73 3456810121416 1820222425
BT50-C32-165 266.8[ 165 | 127 | 38 [ 100 [ 32 | 73 3456810121416 1820222425
BT50-C32-200 301.8] 200 [ 162 [ 38 [ 100 | 32 | 73 3456810121416 1820222425
BT50-C32-250 351.8| 250 [ 212 | 38 [ 100 | 32 | 73 3456810121416 1820222425
BT50-C32-300 401.8] 300 | 262 | 38 [ 100 | 32 | 73 3456810121416 1820222425
BT50-C42-135 236.8[ 135 | 97 | 38 [ 100 | 42 | 88 [ 345681012141618202224252830323436
BT50-C42-165 266.8 | 165 [ 127 | 38 [ 100 | 42 | 88 [ 345681012141618202224252830323436
BT50-C42-200 301.8 200 [ 162 | 38 [ 100 | 42 | 88 [ 345681012141618202224252830323436
BT60-C32-130 291.8[ 130 [ 92 | 48 [155 [ 32 | 73 3456810121416 1820222425
BT60-C42-130 291.8] 130 | 92 | 48 [ 155 | 42 | 88 | 345681012141618202224252830323436
9 Features:

BE. SRE. aFHEMIARS

O#&: 20CrMnTi/15CrMn

OfEE: HRC58-60, EMHGRE> 0.8mm

OHfMAEFR: <AT3

OTIMAFLHAEIT /18, LUBSLIETIAYS, WA
ORASHMEHHERHHAFRIFE, EKERES, HMEAREN
ORBXRIFAK, ESRES, 1H3EATENHE
OFTZEFmFING: SRR ERIE

OMFLZRFAE, 73X Ra0.4, EEIREMER
OIMEI R I S REREE, BJiX Ra0.4, EEEISEEIE

OFMH ViR SHFERE, RERMEE. MEX, REE3E,
BEERE, REENE, Bl WEMBRET, FREHFE,
ESUEES

OIRF. Hifl. WEABITUE

BT40 - C32 - 105

Length(L1)

> EWER Taper size

SRR Collet type C32

High speed, high accuracy, high durability C-STRAIGHT TOOL SERIES

© Material:20CrMnTi/15CrMn;

© Hardness:HRC58-60, Carbon depth > 0.8 O Tolerance class: < AT3
© Inner hole of the shank divide into 6 troughs to prevent the insert
remove, increase the grasp force

© Ball bearing cage is made of special material, improve the endurance,
enhance the grasp force

O Grasp force strong, centering accuracy high, suit to heavy cutting

© Two kinds looks provide:polishing or chemical nickel-plating
processing;

© Inner hole grinding for many times, so as to reach Ra0.4, has a mirror
effect;

© End and the cylindrical are grinding for many times, can reach
Ra0.4, has a mirror effect;

O Surface "environmental protection", special coating surface
treatment, improve the hardness and endurance of the surface,
cleaness better, accuracy stable, surface more smooth, antirust, feel
comfortable, appearance nice.

© The spanner. pullstud chuck must purchase alone.

P3mp 3D4k
| ¥
T




S EEVALER D

Sk Ak ESEED I ASe MILLING CHUCK SET

#t& | B85S Model fAig &5 Collet name Eo& 3% Prepared collet #RF Wrench
BT30-C32-105/7P( E) C32 681012162025 C32
BT40-C32-105/7P( E%) C32 681012162025 C32
BT50-C32-110/7P( E) C32 681012162025 C32
BT50-C42-135/7P( E%) C42 681016202532 C32

ST Features:
*: © Spindle conicity standard: JIS MAS 403 BT.

OZ{FEIIAE: JIS MAS 403 BT

O3RN B TINAATFL 5> BWE LABS LE 5B EhH A FSF 1.
ORBBEBRRE, KENR, HIEE,
OESEBBARIRZHTIAKE, BEUHIMIEEM,
OFAETNARETERE, URHIF,

AR EERERIRE, SUAIERSHIIGHRIT,
HERE:

&

. S
&

PALT TN 2 - e
‘/F: 1% XK= 14
HI§T: 14

%
=
7
A

0
=
(o]
-
o
o
-
(7]

BT40 - C32 - 105/7P

AR Collet No.

Length(L1)

Collet spec
%m Taper size

© Designed with inner hole separation trough to prevent
slipping and increase the clamping force.

© Equipped with sophisticated needle for hihg-speed and high
precision cutting

© Suitable for the diameter of integer specification tool
clamping

© Don’ tbe empty clamping unless damage for tool holder

© Remarks: Always use the recommended wrench or
spanner, unless there might cause damage of cutting tools.

© Contained:

Tool holder 1pc collet 7pc
Wrench 1pc Wooden case 1pc

Pull stud 1pc
@
SOk 304k
\

v
T




S0 b Dok aE b s U0 GOLLET INSTALLING AND REMOVING INSRUCT ION MANUAL

—, BERIRE

OTERFEWERILZHI, VTR RBEANGIRIES 2P (MEFMT) , AREE LRENSISIZERBITEIETRRIMLE, FE LA
RENTT AR FRERATE

OMRBRIEFERAMRE, ERERERLZA, BUIGKRE, HEBFBRYASSREMTE. EEIFETS.

Installation:

O Firstly should install collet into clamp nut then uses a wrench to lock it on tool holder before working.
© Clean the collet, clamping nut before using so as to get a good performance.

_ EFETI -
holder ‘ E_g
—) R
{RF spanner R M
collet
P ELEEE | @

screw cap

REEHRBENRKIES, REURRBLAAH—ERE, ARERNRENRBIENBEFER, NTEMR:

In the process of installation, clamping nut should be tilted some angles with collet. And lock it in card slot.

i

2.~
=

RXESHEBENRESRE
—. XEEI:
OFMEFLTIMIXETIA#TUIMIMIN, —EEEIBREXARETIAR, URTNAESEEEP CHEGA, HARLEY,
OBFIATNMAFRIMEREN, PEREETRRTANSIRIBIETEEDMHEZIT L, UHKREEHRARERRZ,
Warning

© Make sure that the cutter is correctly mounted in the holder before setting the tool in the machine in case of personal injury.
© Remove the cutter and collet from chuck.Otherwise, clamping force may be reduced. Even worse, cause the collet brittle fracture.

= &
N

e
t

()
=
(g}
—
o
o
-
(72}

Hd

IEffpREAN HREIREFN
holding right holding wrong



BIETITR RS
BT-ER COLLET GHUCK

BT.NO T &8

d1

L3

N %
[ _P.i31 NN P.ioc ]
# #& Model D di | d2 | d3 T %3556 E Range | EE KGS

BT30-ER11M-60 108.4 60 38 22 46 16 11 16 M8*1.0P 1-7Tmm 0.53
BT30-ER11M-100 148.4 | 100 78 22 46 16 11 16 M8*1.0P 1-7Tmm 0.53
BT30-ER16-60 108.4 60 38 22 46 28 16 28 M10*1.5P 1-10mm 0.58

BT30-ER16-100 148.4 | 100 | 78 22 46 28 16 28 M10*1.5P 1-10mm 0.7
BT30-ER20-60 108.4 60 38 22 46 34 20 34 | M13*1.75P 1-13mm 0.63

BT30-ER20-100 148.4 | 100 | 78 22 46 34 20 34 | M13*1.75P 1-13mm 0.8
BT30-ER20-150 198.4 | 150 | 128 | 22 46 34 20 34 | M13*1.75P 1-13mm 1.5
BT30-ER25-60 108.4 60 38 22 46 42 25 42 M18*2.0P 1-16mm 0.61

BT30-ER25-100 148.4 | 100 | 78 22 46 42 25 42 M18*2.0P 1-16mm 1
BT30-ER25-150 198.4 | 150 | 128 | 22 46 42 25 42 M18*2.0P 1-16mm 1.5

BT30-ER32-60 108.4 60 38 22 46 50 32 50 M22*2.0P 2-20mm 0.7

BT30-ER32-100 148.4 | 100 | 78 22 46 50 32 50 M22*2.0P 2-20mm 1
BT30-ER32-150 198.4 | 150 | 128 | 22 46 50 32 50 M22*2.0P 2-20mm 1.55

BT30-ER40-80 128.4 80 58 22 46 63 40 63 M28*2.0P 2-26mm 1
BT40-ER11M-70 135.4 70 43 27 63 16 11 16 M8*1.0P 1-7Tmm 1.15
BT40-ER11M-100 165.4 | 100 73 27 63 16 11 16 M8*1.0P 1-7Tmm 1.2
BT40-ER11M-150 215.4 | 150 | 123 | 27 63 16 11 16 M8*1.0P 1-Tmm 1.5
BT40-ER16-70 135.4 70 43 27 63 28 16 28 M10*1.5P 1-10mm 1.3

BT40-ER16-100 165.4 | 100 | 73 27 63 28 16 28 M10*1.5P 1-10mm 1.3
BT40-ER16-150 215.4 | 150 | 123 | 27 63 28 16 28 M10*1.5P 1-10mm 1.6
BT40-ER16-200 265.4 | 200 | 173 | 27 63 28 16 28 M10*1.5P 1-10mm 1.7

BT40-ER16-250 315.4 | 250 | 223 | 27 63 28 16 28 M10*1.5P 1-10mm 2
BT40-ER16-300 365.4 | 300 | 273 | 27 63 28 16 28 M10*1.5P 1-10mm 2.3

BT40-ER20-70 135.4 70 43 27 63 34 20 34 | M13*1.75P 1-13mm 1.2

BT40-ER20-100 165.4 | 100 | 73 27 63 34 20 34 | M13*1.75P 1-13mm 1.4
BT40-ER20-150 215.4 | 150 | 123 | 27 63 34 20 34 | M13*1.75P 1-13mm 1.7

BT40-ER20-200 265.4 | 200 | 173 | 27 63 34 20 34 | M13*1.75P 1-13mm 2
BT40-ER20-250 315.4 | 250 | 223 | 27 63 34 20 34 | M13*1.75P 1-13mm 2.1
BT40-ER20-300 365.4 | 300 | 273 | 27 63 34 20 34 | M13*1.75P 1-13mm 2.4

BT40-ER25-70 135.4 70 43 27 63 42 25 42 M18*2.0P 1-16mm 1.3

BT40-ER25-100 165.4 | 100 | 73 27 63 42 25 42 M18*2.0P 1-16mm 1.6
BT40-ER25-150 215.4 | 150 | 123 27 63 42 25 42 M18*2.0P 1-16mm 2.05

\\ BT40-ER25-200 265.4 | 200 | 173 | 27 63 42 25 42 M18*2.0P 1-16mm 255)
\ ¢ BT40-ER25-250 315.4 | 250 | 223 | 27 63 42 25 42 M18*2.0P 1-16mm 3.05
. Q BT40-ER25-300 365.4 | 300 | 273 | 27 63 42 25 42 M18*2.0P 1-16mm 3.55
o BT40-ER32-70 135.4 70 43 27 63 50 32 50 M22*2.0P 2-20mm 1.4
% - BT40-ER32-100 165.4 | 100 | 73 27 63 50 32 50 M22*2.0P 2-20mm 1.7
= # BT40-ER32-150 215.4 | 150 | 123 | 27 63 50 32 50 M22*2.0P 2-20mm 2.4
8 7] BT40-ER32-200 265.4 | 200 | 173 | 27 63 50 32 50 M22*2.0P 2-20mm 3.15
i i BT40-ER32-250 315.4 | 250 | 223 | 27 63 50 32 50 M22*2.0P 2-20mm 4
BT40-ER32-300 365.4 | 300 | 273 | 27 63 50 32 50 M22*2.0P 2-20mm 4.4

BT40-ER40-80 145.4 80 53 27 63 63 40 63 M28*2.0P 2-26mm 1.5

BT40-ER40-100 165.4 | 100 | 73 27 63 63 40 63 M28*2.0P 2-26mm 2.1
BT40-ER40-150 215.4 | 150 | 123 | 27 63 63 40 63 M28*2.0P 2-26mm 3.2
BT40-ER40-200 265.4 | 200 | 173 | 27 63 63 40 63 M28*2.0P 2-26mm 3.3
BT40-ER40-250 315.4 | 250 | 223 | 27 63 63 40 63 M28*2.0P 2-26mm 4.2
BT40-ER40-300 365.4 | 300 | 273 | 27 63 63 40 63 M28*2.0P 2-26mm 4.5
BT40-ER50-100 165.4 | 100 | 43 27 63 78 50 78 M36*2.0P 6-34mm 1.15




RV R LR AR I BTS0-ER COLLET CHUCK

FIG.2
BT. NO D
T
| p— |%7 B E——— Q%
— ;
L3 L1
L
1 #& Model L L1 L2 L3 D d1 d2 d3 FIG | Ji%BE Range | EE KGS
BT50-ER16-80 171.8( 80 42 38 100 28 16 28 1 1-10mm 3.7
BT50-ER16-100 201.8 | 100 62 38 100 28 16 28 1 1-10mm 3.9
BT50-ER16-150 251.8 | 150 112 38 100 28 16 28 1 1-10mm 4.2
BT50-ER16-200 301.8 | 200 162 38 100 28 16 28 1 1-10mm 4.3
BT50-ER16-250 351.8 | 250 212 38 100 28 16 31 2 1-10mm 4.7
BT50-ER16-300 401.8 | 300 262 38 100 28 16 33 2 1-10mm 5.5
BT50-ER16-350 451.8 | 350 312 38 100 28 16 35 2 1-10mm 6.3
BT50-ER20-80 181.8| 80 42 38 100 34 20 34 1 1-13mm 3.8
BT50-ER20-100 201.8 | 100 62 38 100 34 20 34 1 1-13mm 4
BT50-ER20-150 251.8 | 150 112 38 100 34 20 34 1 1-13mm 4.3
BT50-ER20-200 301.8 | 200 162 38 100 34 20 34 1 1-13mm 4.6
BT50-ER20-250 351.8| 250 212 38 100 34 20 37 2 1-13mm 5
BT50-ER20-300 401.8 | 300 262 38 100 34 20 85 2 1-13mm 5.45
BT50-ER20-350 451.8 | 350 312 38 100 34 20 41 2 1-13mm 5.1
BT50-ER20-400 501.8 ( 400 362 38 100 34 20 43 2 1-13mm 6.4
BT50-ER25-80 181.8| 80 42 38 100 42 25 42 1 1-16mm 4
BT50-ER25-100 201.8( 100 62 38 100 42 25 42 1 1-16mm 4.1
BT50-ER25-150 251.8 | 150 112 38 100 42 25 42 1 1-16mm 4.6
BT50-ER25-200 301.8( 200 162 38 100 42 25 42 1 1-16mm 5.1
BT50-ER25-250 351.8( 250 212 38 100 42 25 45 2 1-16mm 5.8
BT50-ER25-300 401.8 ( 300 262 38 100 42 25 47 2 1-16mm 6.2
BT50-ER25-350 451.8 350 312 38 100 42 25 49 2 1-16mm 7
BT50-ER25-400 501.8 ( 400 362 38 100 42 25 51 2 1-16mm 7.8

Fe3 [



S EEVLER D

CREB AR L35 P2k I BT50-ER COLLET CHUCK

FIG. 1

BT. NO

4
:

%
5
=
7]
i

0
=
(o]
-
o
o
Lo
(%]

L2
L1
& L
[ P.i31 N P.ioc N P33 NN P29 ]

#1 & Model L L1 L2 L3 D d1 d2 d3 FIG | Ji¥CHE Range | =& KGS
BT50-ER32-80 181.8 | 80 42 38 100 50 32 50 1 2-20mm 3.9
BT50-ER32-100 201.8 | 100 62 38 100 50 32 50 1 2-20mm 4.2
BT50-ER32-150 251.8 | 150 112 38 100 50 32 50 1 2-20mm 4.9
BT50-ER32-200 301.8 | 200 162 38 100 50 32 50 1 2-20mm 5.7
BT50-ER32-250 351.8 | 250 212 38 100 50 32 50 1 2-20mm 6.5
BT50-ER32-300 401.8 | 300 262 38 100 50 32 53 2 2-20mm 7.2
BT50-ER32-350 451.8 | 350 312 38 100 50 32 54 2 2-20mm 8
BT50-ER32-400 501.8 | 400 362 38 100 50 32 56 2 2-20mm 8.9
BT50-ER32-450 551.8 | 450 412 38 100 50 32 58 2 2-20mm 11.5
BT50-ER32-500 601.8 [ 500 462 38 100 50 32 60 2 2-20mm 125
BT50-ER32-550 651.8 [ 550 512 38 100 50 32 65 2 2-20mm 15
BT50-ER32-600 701.8 | 600 562 38 100 50 32 68 2 2-20mm 16
BT50-ER40-80 186.8 | 80 42 38 100 63 40 63 1 2-26mm 4.7
BT50-ER40-100 201.8( 100 62 38 100 63 40 63 1 2-26mm 5.2
BT50-ER40-150 251.8 150 112 38 100 63 40 63 1 2-26mm 6.5
BT50-ER40-200 301.8 | 200 162 38 100 63 40 63 1 2-26mm 7.5
BT50-ER40-250 351.8( 250 212 38 100 63 40 63 1 2-26mm 8.6
BT50-ER40-300 401.8( 300 262 38 100 63 40 66 2 2-26mm 9.8
BT50-ER40-350 451.8 ( 350 312 38 100 63 40 67 2 2-26mm 11.5
BT50-ER40-400 501.8 ( 400 362 38 100 63 40 70 2 2-26mm 13.5
BT50-ER40-450 551.8 ( 450 412 38 100 63 40 72 2 2-26mm 14
BT50-ER40-500 601.8| 500 462 38 100 63 40 73 2 2-26mm 16.5
BT50-ER40-550 651.8| 550 512 38 100 63 40 75 2 2-26mm 18.5
BT50-ER40-600 701.8| 600 562 38 100 63 40 78 2 2-26mm 21
BT50-ER50-100 201.8| 100 62 38 100 78 50 78 1 6-34mm 3.9
BT50-ER50-150 251.8| 150 112 38 100 78 50 78 1 6-34mm 6.2
BT50-ER50-200 301.8| 200 162 38 100 78 50 78 1 6-34mm 7.8

S e




AR AL ASE AL BT60-ER COLLET CGHUCK

BT. NO D
T d3
/ )
L o g%
\_ L
L2
L3 L1
L
#14& | BS Model L1 L2 L3 D d1 d2 d3 ®3HEE Range
BT60-ER32-100 261.8 100 52 48 155 50 32 50 2-20mm
BT60-ER32-150 311.8 150 102 48 155 50 32 50 2-20mm
BT60-ER40-100 261.8 100 52 48 155 63 40 63 2-26mm
BT60-ER40-150 311.8 150 102 48 155 63 40 63 2-26mm
BT60-ER50-100 261.8 100 52 48 155 78 50 78 6-34mm
BT60-ER50-150 311.8 150 102 48 155 78 50 78 6-34mm

/) IE® X iz () EmEFEES X iz ES
right wrong holding right holding wrong
9= Features:
i © Spindle conicity standard:JIS MAS 403 BT

OZS{EERANE: JIS MAS 403 BT
OFECH ER MERIR, FIEMATRIFHTI. ik, Lt
OXEBENARVPREBNED, BEANA, EEHENSG
OERAERIRF, FARHEEIR, FIEEEMTIEERF
ORF. fif]l. MRASRITEE

BT60 - ER - 32 - 100
Length(LL)

MERS
> hERS Holder type
> #WER Taper size

Model

© ER collet chuck set with ER collet with flexibility used for
gripping cutting tool, drill bit, draw bolt and so on.

© When using, nut should be clamped tensed firstly with
cutting tools then locked into the main body.

© Always use the recommended wrench or spanner, unless,
there might cause damage of cutting tools.

© The spanner. pull stud chuck must purchase alone.

-m -12um
kOgk 3D &b
[—
_ e 1 D ——
[—

&
%

HE
ST00.1 JOND

Hd

Fes [




BIETITR RS
BT30-FMB FACE MILL ARBOR

D K1
FIG1 BLNO N

L4

L3 L2

FIG.2 Br.NO
M
- == < C—&
.

# & Model L L1 L2 L3 L4 D di d2 K1 K2 M FIG EE KGS
BT30-FMB16-60 125.4| 60 38 22 17 46 16 38 | 3.2 8 M8*1.25P 1 0.5
BT30-FMB22-45 111.4| 45 23 22 18 46 22 48 4.8 10 M10*1.5P 2 0.75
BT30-FMB22-60 126.4| 60 38 22 18 46 22 48 4.8 10 M10*1.5P 2 1.5
BT30-FMB27-45 113.4| 45 23 22 20 46 27 58 5.8 12 M12*1.75P 2 1.45
BT30-FMB27-60 128.4| 60 38 22 20 46 27 58 5.8 12 M12*1.75P 2 1.45
BT30-FMB32-45 115.4| 45 23 22 22 46 32 63 6.8 14 M16*2.0P 2 1.5
BT30-FMB32-60 130.4| 60 38 22 22 46 32 63 | 6.8 | 14 M16*2.0P 2 1.6
BT30-FMB40-60 133.4| 60 38 22 25 46 40 63 | 6.8 | 14 M16*2.0P 2 1.8

9, Features:

P © Spindle conicity standard: JIS MAS 403 BT

OZ{ASEIHAE: JIS MAS 403 BT O With water through design that reduces vibration and
OB ARIT A RIABIES steady for cutting.

© Connecting part(d) designed for metric size.

OFEHNEEEM (d) HRAE h6 © Tool holders with BT shank for face mill chuck, Face mill

OERTFFEHAIMT holders equipped with screws and drive keys to assemble the
O EFIAEEHKE mill cutter to holder.
ORI T RSB {THIE © Can be made upon requested dimensions.

© The pull stud must purchase alone.
BERS, 2R SRERTIR

&

b

BT30 - FMB - 22 - 60
Lo i®E  Jiengny

BOE® ) piameter
> MRS Holder type
> ERER Taper size

.

%
=
7
A

0
=
(o]
-
o
o
-
(7]




RO SRRk B BT40-FMB FACE MILL ARBOR
" FIG. 1 BT.NO

L3

FI1G.2 BT.NO

L3

L2
g (2 ‘ 7 ‘ —
[ P.129 NN P.L02 ]
# 1 Model L L1 L2 L3 L4 D di d2 K1 K2 M FIG| EE KGS

BT40-FMB16-60 142.4| 60 33 27 17 63 16 38 | 3.2 8 M8*1.25P 1 1.3
BT40-FMB16-100 182.4| 100 | 73 27 17 63 16 38 | 3.2 8 M8*1.25P 1 1.4
BT40-FMB22-60 143.4| 60 33 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 1.5
BT40-FMB22-100 183.4| 100 | 73 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 2.05
BT40-FMB22-150 233.4| 150 | 123 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 2.75
BT40-FMB22-200 283.4( 200 | 173 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 3.6
BT40-FMB22-250 333.4( 250 | 223 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 4.25
BT40-FMB22-300 383.4( 300 | 273 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 4.9
BT40-FMB22-350 433.4| 350 | 323 | 27 18 63 | 22 | 48 | 4.8 [ 10 M10*1.5P 1 5.65
BT40-FMB22-400 483.4| 400 | 373 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 6.4
BT40-FMB22-450 533.4| 450 | 423 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 7.15
BT40-FMB22-500 583.4| 500 | 473 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 7.9
BT40-FMB27-60 145.4| 60 33 27 20 63 27 58 | 5.8 | 12 M12*1.75P 1 2.35
BT40-FMB27-100 185.4| 100 | 73 27 20 63 27 58 | 5.8 | 12 M12*1.75P 1 3.1
BT40-FMB27-150 235.4( 150 | 123 | 27 20 63 27 58 | 5.8 | 12 M12*1.75P 1 3.9
BT40-FMB27-200 285.4( 200 | 173 | 27 20 63 27 58 | 5.8 | 12 M12*1.75P 1 4.8
BT40-FMB27-250 335.4| 250 | 223 | 27 20 63 | 27 | 58 | 5.8 | 12 M12*1.75P 1 5.7
BT40-FMB27-300 385.4| 300 | 273 | 27 20 63 | 27 | 58 | 5.8 [ 12 M12*1.75P 1 6.6
BT40-FMB32-60 147.4| 60 33 27 22 63 | 32 [ 63 | 6.8 | 14 M16*2.0P 2 1.9
BT40-FMB32-100 187.4| 100 | 73 27 22 63 32 63 | 6.8 | 14 M16*2.0P 2 2.8
BT40-FMB32-150 237.4| 150 | 123 | 27 22 63 32 63 | 6.8 | 14 M16*2.0P 2 3.6
BT40-FMB32-200 287.4| 200 | 173 | 27 22 63 32 63 | 6.8 | 14 M16*2.0P 2 4.2
BT40-FMB40-60 150.4| 60 33 27 25 63 | 40 | 74 | 83 | 16 M16*2.0P 2 2.8
BT40-FMB40-100 190.4| 100 | 73 27 25 63 40 74 | 8.3 [ 16 M16*2.0P 2 3.6
BT40-FMB40-150 240.4| 150 | 123 | 27 25 63 40 74 | 8.3 [ 16 M16*2.0P 2 4.9
BT40-FMB40-200 290.4| 200 | 173 | 27 25 63 | 40 | 74 | 8.3 | 16 M16*2.0P 2 6.2

9 Features:

*: © Spindle conicity standard: JIS MAS 403 BT

OZA{FSEITINAE: JIS MAS 403 BT O V&itlf\ watgr through design that reduces vibration and

OB BT KRR %egogngztciﬂg I;?Sgr:t(d) designed for metric size.

OFmEKIELEEMI (d) MFAELE h6 h@ IZI-OOI holqlers‘\j/vit!;hBT shank fcérdfa_ce rl?ill cthuck, Fa;le Tti‘ll

ERTFEESET moill gﬁt gﬂg(l)php(ﬁd evl\{.l screws and drive keys to assemble the

ORI ERFEMKE © Can be made upon requested dimensions.

ORIfIMFBITHIE © The pull stud must purchase alone.

BERE, REAR ERERTIR BT40 - FMB - 22 - 60

Length(L1)
Diameter
=E) Holder type

H(mER ) Taper size

Fe7 [




BIETITR RS
BT50-FMB FACE MILL ARBOR

BT.NO

[

L2

L3

L1

L
. ‘ 7 ‘
[ P.129 NN P.L02 ]
i #& Model L L1 | L2 | L3 | L4 D dl d2 K1 | K2 M FIG| ZE= KGS
BT50-FMB16-60 178.8 | 60 | 22 | 38 | 17 | 100 16 38 |32 8 M8*1.25P | 1 4.0
BT50-FMB16-100 218.8 (100 | 62 | 38 | 17 | 100 | 16 38 | 32| 8 M8*1.25P 1 4.2
BT50-FMB16-150 268.8 (150 | 112 | 38 | 17 | 100 | 16 38 [3.2] 8 M8*1.25P 1 4.5
BT50-FMB16-200 318.8 (200|162 | 38 | 17 | 100 | 16 38 | 32| 8 M8*1.25P 1 4.8
BT50-FMB22-60-D48 179.8 | 60 [ 22 | 38 [ 18 | 100 | 22 48 | 4.8 | 10 | M10*1.5P 1 4.6
BT50-FMB22-100-D48 219.8 (100 62 | 38 [ 18 | 100 | 22 48 4.8 | 10 | M10*1.5P 1 4.55
BT50-FMB22-150-D48 269.8 (150|112 | 38 | 18 | 100 | 22 48 4.8 | 10 | M10*1.5P 1 5.25
BT50-FMB22-200-D48 319.8 (200162 | 38 | 18 | 100 | 22 48 4.8 | 10 | M10*1.5P 1 6
BT50-FMB22-250-D48 369.8 [ 250 | 212 | 38 | 18 | 100 | 22 48 4.8 | 10 | M10*1.5P 1 7
BT50-FMB22-300-D48 419.8 | 300|262 | 38 | 18 [ 100 | 22 48 4.8 | 10 | M10*1.5P 1 7.7
BT50-FMB22-350-D48 469.8 | 350|312 | 38 | 18 | 100 | 22 48 | 4.8 | 10 | M10*1.5P 1 8.4
BT50-FMB22-400-D48 519.8 [ 400|362 | 38 | 18 | 100 | 22 48 | 48| 10 | M10*1.5P 1 9.2
BT50-FMB22-450-D48 569.8 [ 450 | 412 | 38 | 18 | 100 | 22 48 4.8 | 10 | M10*1.5P 1 10
BT50-FMB22-500-D48 619.8 | 500|462 | 38 [ 18 | 100 | 22 48 4.8 | 10 [ M10*1.5P 1 11.2
BT50-FMB22-45-D60 164.8 | 45 7 38 | 18 | 100 | 22 60 4.8 | 10 | M10*1.5P 1 4.0
BT50-FMB22-60-D60 179.8 | 60 | 22 | 38 | 18 (100 | 22 60 4.8 | 10 | M10*1.5P 1 4.8
BT50-FMB22-100-D60 219.8 (100 | 62 | 38 | 18 | 100 | 22 60 | 48| 10 | M10*1.5P 1 5.9
BT50-FMB22-150-D60 269.8 [ 150 | 112 | 38 | 18 | 100 | 22 60 4.8 | 10 | M10*1.5P 1 5.9
BT50-FMB22-200-D60 319.8 [ 200|162 | 38 | 18 | 100 | 22 60 | 48| 10 | M10*1.5P 1 7.05
BT50-FMB22-250-D60 369.8 [ 250|212 | 38 | 18 | 100 | 22 60 | 4.8] 10 [ M10*1.5P 1 8.4
BT50-FMB22-300-D60 419.8 | 300|262 | 38 | 18 | 100 | 22 60 | 4.8] 10 [ M10*1.5P 1 9.45
BT50-FMB22-350-D62 469.8 [ 350|312 38 | 18 (100| 22 |62-58( 4.8 | 10 | M10*1.5P 1 10.5
BT50-FMB22-400-D62 519.8 | 400 (362 | 38 | 18 | 100 | 22 |62-58| 4.8 | 10 | M10*1.5P 1 12
BT50-FMB22-450-D62 569.8 | 450 (412 38 | 18 | 100 | 22 |62-58| 4.8 | 10 | M10*1.5P 1 13.25
BT50-FMB22-500-D62 619.8 [ 500 | 462 | 38 | 18 | 100 | 22 |62-58| 4.8 | 10 | M10*1.5P 1 15.6
BT50-FMB22-550-D62 669.8 | 550 | 512 | 38 | 18 | 100 | 22 |62-58| 4.8 | 10 | M10*1.5P 1 16.95
BT50-FMB22-600-D62 719.8 | 600 | 562 | 38 | 18 | 100| 22 |62-58| 4.8 | 10 | M10*1.5P 1 18
BT50-FMB22-650-D62 769.8 [ 650 (612 | 38 | 18 (100 | 22 |62-58( 4.8 | 10 | M10*1.5P 1 22
BT50-FMB22-700-D62 819.8 | 700 (662 | 38 | 18 | 100 | 22 |62-58)| 4.8 | 10 | M10*15P | 1 25
9= Features:
i © Spindle conicity standard: JIS MAS 403 BT
\\\ OASIFsEATINAE: JIS MAS 403 BT O With water through design that reduces vibration and
N OB AT kRS Steady for Cuttine.
= © Connecting part(d) designed for metric size.
OFEHIIE AL (d) HRAE h6 © Tool holders with BT shank for face mill chuck, Face mill
OEAFEEmEEHEIMT holders equipped with screws and drive keys to assemble the

=~ - mill cutter to holder.
©?E;ﬁ“5ﬁﬁ3*ﬂkl§ © Can be made upon requested dimensions.
ONIfTMBITHE © The pull stud must purchase alone.

BEME, R - ERERTIR

S

S71001 OND

BT50 - FMB - 22 - 60
Lo u®E  Jiengniy

BMOBE® ) piameter
> MRS Holder type
MR Taper size




R A Rk YAk BT50-FMB FACE MILL ARBOR

BT.NO

B L =
\
|
L3 L2
L1
L
# % Model L L1 L2 L3 L4 D dl d2 K1 K2 M EE KGS
BT50-FMB27-45 166.8 | 45 7 38 20 [ 100 | 27 60 [ 5.8 | 12 M12*1.75P 4.0
BT50-FMB27-60 181.8 | 60 22 38 20 | 100 | 27 60 | 5.8 | 12 M12*1.75P 4.5
BT50-FMB27-100 221.8 (100 | 62 | 38 | 20 | 100 | 27 | 60 | 5.8 | 12 M12*1.75P 4.8
BT50-FMB27-150 271.8 | 150 | 112 | 38 20 | 100 | 27 60 | 5.8 | 12 M12*1.75P 6.05
BT50-FMB27-200 321.8 [ 200|162 | 38 | 20 | 100 | 27 | 60 | 5.8 | 12 M12*1.75P 6.9
BT50-FMB27-250 371.8 | 250 | 212 | 38 20 | 100 | 27 60 | 5.8 | 12 M12*1.75P 8.4
BT50-FMB27-300 421.8 | 300 | 262 | 38 20 | 100 | 27 60 | 5.8 | 12 M12*1.75P 9.5
BT50-FMB27-350 471.8 | 350 | 312 | 38 20 | 100 | 27 62 | 5.8 | 12 M12*1.75P 10.5
BT50-FMB27-400 521.8 | 400 | 362 | 38 20 | 100 | 27 62 | 5.8 | 12 M12*1.75P 12
BT50-FMB27-450 571.8 | 450 | 412 | 38 20 | 100 | 27 62 | 5.8 12 M12*1.75P 13.5
BT50-FMB27-500 621.8 | 500 | 462 | 38 | 20 | 100 | 27 | 62 | 5.8 | 12 M12*1.75P 15
BT50-FMB27-550 671.8 [ 550 | 512 | 38 20 | 100 | 27 62 | 5.8 | 12 M12*1.75P 16.5
BT50-FMB27-600 721.8 | 600 | 562 [ 38 | 20 | 100 | 27 | 62 | 5.8 | 12 M12*1.75P 18
BT50-FMB32-60 183.8 | 60 22 38 22 | 100 | 32 70 | 6.8 | 14 M16*2.0P 4.65
BT50-FMB32-100 223.8 | 100 | 62 | 38 | 22 |100| 32 | 70 | 6.8 | 14 M16*2.0P 5.6
BT50-FMB32-150 273.8 [ 150 | 112 | 38 22 | 100 | 32 70 | 6.8 | 14 M16*2.0P 7.85
BT50-FMB32-200 323.8 [ 200 | 162 | 38 | 22 | 100 | 32 | 70 | 6.8 | 14 M16*2.0P ONG5
BT50-FMB32-250 373.8 | 250 | 212 | 38 22 | 100 | 32 70 | 6.8 | 14 M16*2.0P 12
BT50-FMB32-300 423.8 [ 300|262 | 38 | 22 |100| 32 | 70 | 6.8 | 14 M16*2.0P 15
BT50-FMB32-350 473.8 [ 350 | 312 | 38 | 22 |100| 32 | 70 | 6.8 | 14 M16*2.0P 16.5
BT50-FMB32-400 523.8 | 400 | 362 | 38 | 22 |100| 32 | 70 | 6.8 | 14 M16*2.0P 18
BT50-FMB32-450 573.8 | 450 | 412 | 38 22 | 100 | 32 70 | 6.8 | 14 M16*2.0P 18.5
BT50-FMB32-500 623.8 | 500 | 462 | 38 | 22 | 100 32 | 70 | 6.8 | 14 M16*2.0P 20
BT50-FMB40-60 186.8 | 60 | 22 | 38 | 25 | 100 | 40 | 80 | 83 | 16 M16*2.0P 5.5
BT50-FMB40-100 226.8 | 100 | 62 | 38 | 25 | 100 | 40 | 80 | 83 | 16 M16*2.0P 6.7
BT50-FMB40-150 276.8 | 150 | 112 | 38 25 | 100 | 40 80 | 8.3 | 16 M16*2.0P 7.5
BT50-FMB40-200 326.8 | 200 | 162 | 38 | 25 | 100 | 40 | 80 | 83 | 16 M16*2.0P 10.75
BT50-FMB40-250 376.8 | 250 | 212 | 38 25 | 100 | 40 80 | 8.3 | 16 M16*2.0P 12.75
BT50-FMB40-300 426.8 | 300 | 262 | 38 25 | 100 | 40 80 | 83| 16 M16*2.0P 14.75
BT50-FMB40-350 476.8 | 350 | 312 | 38 25 [ 100 | 40 80 | 83| 16 M16*2.0P 16.75
BT50-FMB40-400 526.8 | 400 | 362 | 38 | 25 | 100 | 40 | 80 | 83 | 16 M16*2.0P 18.75
BT50-FMB40-450 576.8 | 450 | 412 | 38 | 25 | 100 | 40 | 80 | 8.3 | 16 M16*2.0P 20.8
BT50-FMB40-500 626.8 | 500 | 462 | 38 | 25 | 100 | 40 | 80 | 8.3 | 16 M16*2.0P 22.8
9= Features:
pE © Spindle conicity standard: JIS MAS 403 BT
OZS{BSERTIFE: JIS MAS 403 BT © With water through design that reduces vibration and
OLEILEFIF ik RIEMS steady for cutting. . .
OFEESTIE AL (d) HMALE h6 © Connecting part(d) designed for metric size. )
OERTFFEELIMT © Tool holc_iers W|t_h BT shank for fape mill chuck, Face mill
O EEIE S K E holders equipped with screws and drive keys to assemble the
ORI RS FHIZ mill cutter to holder. . .
BERS, SHR - SSEATIR © Can be made upon requested dimensions.

© The pull stud must purchase alone.

Feg [



S EEVALER D

e A Ak GBS 2 ER DN BT-FMB FACE MILL ARBOR (EXTENSION TYPE)

N

BT. NO P K1

M
o = 5| @
\ B 60 L4
L3 L2
L1
L

== (@
([ P.129 NN P.L02 ]

# 1 Model Llufwe|[wu[wu|bo[dd]da] K] sk M Ei& KGS
BT40-FMB22-200BG |283.4| 200 | 173 | 27 18 63 22 | 48 60 | 4.8 10 M10*1.5P
BT40-FMB22-250BG |333.4| 250 | 223 | 27 18 63 22 | 48 60 | 4.8 10 M10*1.5P
BT40-FMB22-300BG |383.4| 300 | 273 | 27 | 18 | 63 | 22 | 48 | 60 | 4.8 10 M10*1.5P
BT40-FMB22-350BG  |433.4| 350 | 323 | 27 18 63 22 | 48 60 | 4.8 10 M10*1.5P
BT40-FMB22-400BG |483.4| 400 | 373 | 27 | 18 | 63 | 22 | 48 | 60 | 4.8 10 M10*1.5P
BT40-FMB22-450BG [533.4| 450 | 423 | 27 18 63 22 | 48 60 | 4.8 10 M10*1.5P
BT40-FMB22-500BG |583.4| 500 | 473 | 27 | 18 | 63 | 22 | 48 | 60 | 4.8 10 M10*1.5P
BT50-FMB22-200BG |319.8| 200 | 162 | 38 18 | 100 | 22 58 80 | 4.8 10 M10*1.5P 8.5
BT50-FMB22-250BG |369.8| 250 | 212 | 38 | 18 (100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 10
BT50-FMB22-300BG |419.8| 300 | 262 | 38 | 18 (100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 11
BT50-FMB22-350BG |469.8| 350 | 312 | 38 | 18 (100 | 22 | 58 [ 80 | 4.8 10 M10*1.5P
BT50-FMB22-400BG |519.8| 400 | 362 | 38 | 18 (100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 14.5
BT50-FMB22-450BG |569.8| 450 | 412 | 38 18 | 100 | 22 58 80 | 4.8 10 M10*1.5P 17
BT50-FMB22-500BG |619.8| 500 | 462 | 38 | 18 (100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 17.4
BT50-FMB22-550BG |669.8| 550 | 512 | 38 | 18 (100 | 22 | 58 [ 80 | 4.8 10 M10*1.5P 19
BT50-FMB22-600BG |719.8| 600 | 562 | 38 | 18 (100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 20.5
BT50-FMB22-650BG |769.8| 650 | 612 | 38 | 18 (100 | 22 | 58 [ 80 | 4.8 10 M10*1.5P
BT50-FMB22-700BG [819.8| 700 | 662 | 38 18 | 100 | 22 58 80 | 4.8 10 M10*1.5P
BT50-FMB27-200BG |321.8| 200 | 162 | 38 | 20 (100 | 27 | 60 [ 80 | 5.8 12 M12*1.75P
BT50-FMB27-250BG |371.8| 250 | 212 | 38 | 20 (100 | 27 | 60 [ 80 | 5.8 12 M12*1.75P
BT50-FMB27-300BG |421.8| 300 | 262 | 38 | 20 (100 | 27 | 60 [ 80 | 5.8 12 M12*1.75P
BT50-FMB27-350BG |471.8| 350 | 312 | 38 | 20 (100 | 27 | 60 | 80 | 5.8 12 M12*1.75P
BT50-FMB27-400BG |521.8| 400 | 362 | 38 | 20 (100 | 27 | 60 [ 80 | 5.8 12 M12*1.75P
BT50-FMB27-450BG |571.8| 450 | 412 | 38 20 | 100 | 27 60 80 | 5.8 12 M12*1.75P
BT50-FMB27-500BG |621.8| 500 | 462 | 38 | 20 (100 | 27 | 60 [ 80 | 5.8 12 M12*1.75P

e Features:
iE: © Spindle conicity standard: JIS MAS 403 BT
OZSBSERTIFE: JIS MAS 403 BT © With water through design that reduces vibration and
OFL A FHT UK RIARIER %eggr{:g::;‘rjl:g‘agl:t(d) designed for metric size

\%\é OFEMATIMEEML (d) WREQE h6 © Tool holders with BT shank for face mill chuck, Face mill

' OERTFFEHAIMT holders equipped with screws and drive keys to assemble the

OWEHIEEMKE mill cutter to holder.
ORIST RSB ITHE © Can be made upon requested dimensions.

© The pull stud must purchase alone.

BT50 - FMB - 22 - 200BG

S UEE Diengny
Diameter

=@ Holder type mlll

=@ Taper size

%
5
=
7]
i

0
=
(o]
-
o
o
-
(%]

@




SRRk Ak B BT60-FMB FACE MILL ARBOR

FIG. 1 BT.NO

L3

L2

L1

_.m_’r!
iz
/_!

== §
[ P.129 ]
#4% / B2 Model L L1 | 2 | L3 | L4 D d1 d2 Kl | K2 | FIG M
BT60-FMB22-100 279.8 | 100 52 48 18 155 22 48-58 4.8 10 1 M10*1.5P
BT60-FMB22-150 329.8 | 150 92 48 18 155 22 48-58 4.8 10 1 M10*1.5P
BT60-FMB27-100 281.8 | 100 52 48 20 155 27 58 5.8 12 1 M12*1.75P
BT60-FMB32-100 283.8 | 100 52 48 22 155 32 65 6.8 14 1 M16*2.0P
BT60-FMB40-100 286.8 | 100 52 48 25 155 40 80 8.3 16 1 M16*2.0P
BT60-FMB60-75 261.8 75 27 48 25 155 60 128 12.5 | 25.4 2 M16*2.0P
9, Features:
*: © Spindle conicity standard: JIS MAS 403 BT

OZS{EEAAE: JIS MAS 403 BT
OFBFLEFF HARMELE
OFEHMNEEEML (d) MFAELE he
OERTFEHHIMI
OREHRIFEMKE
OfIsTASRITIE

BT60 - FMB - 22 - 60

»
!

@

Lo uem Jiengnu
Bore diameter of cutter
=EJ Face mill holder type B
@ Shank size

© With water through design that reduces vibration and
steady for cutting.

© Connecting part(d) designed for metric size.

O Tool holders with BT shank for face mill chuck, Face mill
holders equipped with screws and drive keys to assemble the
mill cutter to holder.

© Can be made upon requested dimensions.

© The pull stud must purchase alone.

frey
g

(8]
=
(o]
-
o
o
-
(7]

Hd




BIETITR RS
BT-FMB FACE MILL ARBOR

FIG.1 BT.NO

‘ m

-4
dt
a2

Fl6.2 BT.NO

_ T 1°° =é
k== O
#1 1 Model L |L1|L2|L3|L4| D |[dl|d2|Kl|K2| migFHEE (PCD) |FIG| E& KGS

BT40-FMB40F-60( POiRFL) 150.4 ( 60 | 33 | 27 | 25 | 63 | 40 | 99 (8.3 | 16 66.7 1 2.8
BT40-FMB40F-100( FUs%¥.) | 190.4 |100( 73 | 27 | 25 [ 63 | 40 | 99 | 8.3 | 16 66.7 1 3.6
BT50-FMB40F-60( FO48FL) 186.8 [ 60 | 22 | 38 | 25 |100| 40 | 99 8.3 | 16 66.7 1 5.5
BT50-FMB40F-100( FUs%¥.) | 226.8 |100( 62 | 38 | 25 (100| 40 | 99 | 8.3 | 16 66.7 1 6.7
BT50-FMB40F-150( FU#%¥.) | 276.8 |150(112| 38 | 25 (100| 40 | 99 | 8.3 | 16 66.7 2 7.5
BT50-FMB40F-200( PQi27L) 326.8 |{200|162| 38 | 25 [100( 40 | 99 | 8.3 | 16 66.7 2 10.75
BT50-FMB40F-250( FUi%¥.) | 376.8 |250(212| 38 | 25 (100| 40 | 99 | 8.3 | 16 66.7 2 14
BT50-FMB40F-300( FUi%¥.) | 426.8 |300(262| 38 | 25 (100| 40 | 99 | 8.3 | 16 66.7 2 17.25
BT60-FMB40F-75( PQiZ7.) 261.8 | 75 | 37 | 38 | 25 |155| 40 |110|8.3 | 16 66.7 1 14.75
BT60-FMB40F-100( PQi27L) 301.8 |100| 62 | 38 | 25 155 40 {110| 8.3 | 16 66.7 1 16.75

9= Features:

pE © Spindle conicity standard: JIS MAS 403 BT

OZESEHHIAE: JIS MAS 403 BT © With water through design that reduces vibration and

. _ steady for cutting.
O LB AT HARIARILRE © Connecting part(d) designed for metric size.
OTEBIIEEEI (d) HARLZE h6 © Tool holders with BT shank for face mill chuck, Face mill
\ ERFEESELINT ht{lders equipped with screws and drive keys to assemble the
\\{,‘ e e st e 1 mill cutter to holder.
: \Q O ERAFRIKE © Can be made upon requested dimensions.
ONIFIMBITHE O The pull stud must purchase alone.

S RE

S71001 OND




BT-FMB FmEEt 714/ | 0k

FACE MILL ARBOR

FIG.1

K1

|

4
4

OZ (ARG : JIS MAS 403 BT

O BFLEFF HRMEMLE

OFEBNIEEEM (d) MRELE he

OERTFEBHIMI
ORERIEEMKE
OfIfIASRITHE

[ p.202 N P.405 ]

# & Model L L1 (L2 (L3 |L4| D |dl d2 K1 K2 | [iRFLAEE | FIG | EE KGS
BT40-FMB60-75 165.4 | 75 | 48 | 27 | 25 [ 63 | 60 | 128.5 | 12.5 | 254 101.6 1 D
BT50-FMB60-75 201.8 | 75|37 | 38 | 25 (100| 60 | 128.5 | 12,5 | 25.4 101.6 1 8.5
BT50-FMB60-100 226.8 |100| 62 | 38 | 25 |100| 60 | 128.5 | 12.5 | 25.4 101.6 1 10
BT50-FMB60-150 276.8 (150(112| 38 | 25 |100( 60 | 128.5 | 12.5 | 254 101.6 2 13.5
BT50-FMB60-200 326.8 |200|162( 38 | 25 |100| 60 | 128.5 | 12.5 | 25.4 101.6 2 16
BT50-FMB60-250 376.8 |250(212| 38 | 25 |100| 60 | 128.5 | 12.5 | 254 101.6 2 19
BT50-FMB60-300 426.8 |300(262| 38 | 25 |100| 60 | 128.5 | 12.5 | 25.4 101.6 2 24
BT50-FMB60-350 476.8 |350(312| 38 | 25 |100| 60 | 128.5 | 12.5 | 254 101.6 2 28
BT50-FMB60-400 526.8 |400(362| 38 | 25 |100| 60 | 128.5 | 12.5 | 25.4 101.6 2 32
BT50-FMB60-450 576.8 1450412 38 | 25 |100| 60 | 128.5 | 12.5 | 25.4 101.6 2 36
BT50-FMB60-500 626.8 (500(462| 38 | 25 |100( 60 | 128.5 | 12.5 | 254 101.6 2 40

9 Features:
*: © Spindle conicity standard: JIS MAS 403 BT

© With water through design that reduces vibration and
steady for cutting.
© Connecting part(d) designed for metric size.

O Tool holders with BT shank for face mill chuck, Face mill
holders equipped with screws and drive keys to assemble the

mill cutter to

© Can be made upon requested dimensions.

holder.

© The pull stud must purchase alone.

# @.&’w
N

S71001 OND

;ﬁ'l

Hd

Fos [



S EEVALER D

BT-FMA EHE%7IA BT-FMA FACE MILL ARBOR

1

i

K1

d2

¥ #& Model L L1 | L2 |LL3|L4| D di d2 K1 K2 | PURFLAGEE |FIG | EE KGS

BT40-FMA47.625-75 172.4 | 75 | 48 | 27 | 25 | 63 (47.625( 128.5 | 12.5 | 25.4 101.6 1 5
BT50-FMA47.625-75 208.8 | 75 | 37 | 38 [ 25 |100|47.625| 128.5 | 12.5 | 25.4 101.6 1 8.5
BT50-FMA47.625-100 233.8 |100| 62 | 38 | 25 |100|47.625| 128.5 | 12.5 | 25.4 101.6 1 10
BT50-FMA47.625-150 283.8 |150|112 | 38 | 25 |100|47.625| 128.5 | 12.5 | 25.4 101.6 2 13.5
BT50-FMA47.625-200 333.8 1200|162 | 38 | 25 |100|47.625| 128.5 | 12.5 | 25.4 101.6 2 16
BT50-FMA47.625-250 383.8 |250(212| 38 | 25 [100|47.625| 128.5 | 12.5| 25.4 101.6 2 19
BT50-FMA47.625-300 433.8 | 300|262 | 38 | 25 | 100 (47.625( 128.5 | 12.5 | 25.4 101.6 2 24
BT50-FMA47.625-350 483.8 |350(312| 38 | 25 [100|47.625| 128.5 | 12.5| 25.4 101.6 2 28
BT50-FMA47.625-400 533.8 | 400|362 | 38 | 25 |100|47.625| 128.5 | 12.5 | 25.4 101.6 2 32
BT50-FMA47.625-450 583.8 | 450|412 | 38 | 25 | 100|47.625| 128.5 | 12.5 | 25.4 101.6 2 36
BT50-FMA47.625-500 633.8 | 500|462 | 38 | 25 | 100|47.625| 128.5 | 12.5 | 25.4 101.6 2 40

e Features:

*: © Spindle conicity standard: JIS MAS 403 BT

O {FsEATIAE : JIS MAS 403 BT

Ne O EFLEFIF Ik RAEMS
WY OTEHIEALML (d) WRLE he
Y OERTFEFHIMI
O omEmEEmKE
S 71 JENETE P T e
& 1

iz

© With water through design that reduces vibration and
steady for cutting.
© Connecting part(d) designed for metric size.

© Tool holders with BT shank for face mill chuck, Face mill

holders equipped with screws and drive keys to assemble the

mill cutter to holder.
© Can be made upon requested dimensions.

© The pull stud must purchase alone.




BT-FMA FEmE$® 711 BT-FMA FACE MILL ARBOR

L2
L1

Fl1G.2

BT.NO

- L3
st= @ [ —
L P20 I 5o | )

# & Model L L1 L2 L3 L4 D di d2 K1 K2 FIG BEE KGS
BT30-FMA25.4-45 113.4 | 45 23 22 20 46 254 50 4.52 9.52 1 1.1
BT30-FMA25.4-60 12844 | 60 | 38 | 22 | 20 | 46 | 254 | 50 | 4.52 9.52 1 1.3
BT30-FMA31.75-45 115.4 | 45 23 22 22 46 | 31.75 | 60 6.7 12.7 1 1.35
BT30-FMA31.75-60 1304 | 60 | 38 | 22 | 22 | 46 | 31.75 | 60 6.7 12.7 1 1.5
BT40-FMA25.4-60 145.4 | 60 33 27 20 63 25.4 50 4.52 9.52 1 1.5
BT40-FMA25.4-100 185.4 | 100 | 73 27 20 63 25.4 50 4.52 9.52 1 2.05
BT40-FMA25.4-150 235.4 | 150 | 123 | 27 20 63 254 50 4.52 9.52 1 2.75
BT40-FMA25.4-200 285.4 | 200 | 173 | 27 | 20 | 63 | 25.4 | 50 | 4.52 9.52 1 3.6
BT40-FMA31.75-60 147.4 | 60 33 27 22 63 | 31.75 | 60 6.7 12.7 1 2.05

BT40-FMA31.75-100 187.4 | 100 | 73 27 22 63 | 31.75 | 60 6.7 12.7 1 29
BT40-FMA31.75-150 237.4 | 150 | 123 | 27 22 63 | 31.75 | 60 6.7 12.7 1 4.1
BT40-FMA38.10-60 150.4 | 60 33 27 25 63 38.1 75 8.87 15.87 2 2.1
BT40-FMA38.10-100 190.4 (100 | 73 | 27 | 25 | 63 | 38.1 | 75 | 8.87 15.87 2 2.95
BT40-FMA50.80-60 161.4 | 60 | 33 | 27 | 36 | 63 | 50.8 | 98 | 9.75 19.05 2 4.5

R Features:

iE: © Spindle conicity standard: JIS MAS 403 BT

OZESEHIIAE: JIS MAS 403 BT © With water through design that reduces vibration and

steady for cutting.

O LBAAH T itk iR © Connecting part(d) designed for metric size.

OFEMIIEAEBNL (d) 3R h6 © Tool holders with BT shank for face mill chuck, Face mill
OEHEFEEEHINT holders equipped with screws and drive keys to assemble the
OF RIS mill cutter to holder. ,’/I/

e e © Can be made upon requested dimensions.
OHIFTRFHITEE © The pull stud must purchase alone.

4
5

HE
ST00.1 JOND

Hd

Fos [



N

S

S71001 OND

HIETIMEZRT
BT50-FMA FACE MILL

ARBOR

! #& Model L L1 L2 L3 L4 D di d2 K1 K2 EE KGS

BT50-FMA25.4-60 181.8 60 22 38 20 100 25.4 50 4.52 9.52 4.5
BT50-FMA25.4-100 221.8 100 62 38 20 100 25.4 50 4.52 9.52 4.8
BT50-FMA25.4-150 271.8 150 112 38 20 100 25.4 50 4.52 9.52 6.05
BT50-FMA25.4-200 321.8 200 162 38 20 100 25.4 50 4.52 9.52 6.9
BT50-FMA25.4-250 371.8 250 | 212 38 20 100 25.4 50 4.52 9.52 8.4
BT50-FMA25.4-300 421.8 300 | 262 38 20 100 25.4 50 4.52 9.52 9.5
BT50-FMA25.4-350 471.8 350 | 312 38 20 100 25.4 50 4.52 9.52 10.5
BT50-FMA25.4-400 521.8 400 | 362 38 20 100 25.4 50 4.52 9.52 12
BT50-FMA25.4-450 571.8 450 | 412 38 20 100 25.4 50 4.52 9.52 13.5
BT50-FMA25.4-500 621.8 500 | 462 38 20 100 25.4 50 4.52 9.52 15
BT50-FMA31.75-60 183.8 60 22 38 22 100 | 31.75 60 6.7 12.7 4.65
BT50-FMA31.75-100 223.8 100 62 38 22 100 | 31.75 60 6.7 12.7 5.6
BT50-FMA31.75-150 273.8 150 112 38 22 100 | 31.75 60 6.7 12.7 7.85
BT50-FMA31.75-200 323.8 200 162 38 22 100 | 31.75 60 6.7 12.7 9.75
BT50-FMA31.75-250 373.8 250 | 212 38 22 100 | 31.75 60 6.7 12.7 12
BT50-FMA31.75-300 423.8 300 | 262 38 22 100 | 31.75 60 6.7 12.7 15
BT50-FMA31.75-350 473.8 350 | 312 38 22 100 | 31.75 60 6.7 12.7 18
BT50-FMA38.10-60 186.8 60 22 38 25 100 38.1 75 8.87 15.87 5.5
BT50-FMA38.10-100 226.8 100 62 38 25 100 38.1 75 8.87 15.87 6.7
BT50-FMA38.10-150 276.8 150 112 38 25 100 38.1 75 8.87 15.87 7.5
BT50-FMA38.10-200 326.8 200 | 162 38 25 100 38.1 75 8.87 15.87 10.75
BT50-FMA50.80-75 212.8 75 37 38 36 100 50.8 98 9.75 19.05 6.4
BT50-FMA50.80-100 237.8 100 62 38 36 100 50.8 98 9.75 19.05 7
BT50-FMA50.80-150 287.8 150 112 38 36 100 50.8 98 9.75 19.05 8.2
BT50-FMA50.80-200 337.8 200 | 162 38 36 100 50.8 98 9.75 19.05 9.4

9= Features:
pE © Spindle conicity standard: JIS MAS 403 BT

OZ{F$EmANE: JIS MAS 403 BT
OhiMEFL BN TF HKRInEME

OTEMNEEEM (d) AL h6
EATFFEStEINT

OREMIFEMKE

OfIFTASBITME

© With water through design that reduces vibration and
steady for cutting.
© Connecting part(d) designed for metric size.
© Tool holders with BT shank for face mill chuck, Face mill
holders equipped with screws and drive keys to assemble the

mill cutter to holder.

© Can be made upon requested dimensions.

© The pull stud must purchase alone.



BT-MTAEREEKTI BT-MTA TAPER ADAPTER (MORSE)

FIG. 1

L2
S Fla. 2 L H
[ P.129 ]
% [ B2 Model FIG | L i1 [ 2] 3] b | a1 d2 J$555E Range | B KGS
BT30-MTA1-45 1 93.4 45 23 22 46 25 12.065 d2-914 0.55
BT30-MTA1-120 2 168.4 120 98 22 46 25 12.065 $2-p14 0.85
BT30-MTA2-60 1 108.4 60 38 22 46 32 17.18 ©14-$23 0.6
BT30-MTA2-120 2 168.4 120 98 22 46 32 17.18 ®14-¢23 0.9
BT30-MTA3-90 1 138.4 90 68 22 46 40 23.825 ®23-¢32 0.8
BT30-MTA3-135 2 183.4 135 113 22 46 40 23.825 ®23-¢32 1
11§ [ B2S Mode FIG L L1 L2 L3 D di1 d2 J356E Range | EE KGS
BT40-MTA1-45 1 110.4 45 18 27 63 25 12.065 ¢2-p14 1.05
BT40-MTA1-120 2 185.4 120 93 27 63 25 12.065 ¢2-p14 1.4
BT40-MTA1-180 2 245.4 180 153 27 63 25 12.065 ¢2-p14 1.5
BT40-MTA2-45 1 110.4 45 18 27 63 32 17.18 ®14-$23 1.1
BT40-MTA2-120 2 185.4 120 93 27 63 32 17.18 ®14-p23 1.85
BT40-MTA2-180 2 245.4 180 153 27 63 32 17.18 ®14-$23 2
BT40-MTA3-75 1 140.4 75 48 27 63 40 23.825 ©23-¢32 1.2
BT40-MTA3-135 2 200.4 135 108 27 63 40 23.825 ©23-$32 1.9
BT40-MTA3-180 2 245.4 180 153 27 63 40 23.825 ©23-¢932 2.25
BT40-MTA4-90 1 155.4 920 63 27 63 48 31.267 $32-50 1.4
BT40-MTA4-165 2 230.4 165 138 27 63 48 31.267 $32-¢50 2.5 &///
$5m: Features: 4
E: O Spindle conicity standard: JIS MAS 403 BT ¢ S
gﬁgggggggig\%%oéjﬂa % s © Used in Morse conicity tools, drill chuck,reamer and so on. = :
Ok E AR © Dimensions 78
OHIFTAHZITHE © The pull stud must purchase alone. &
BT40 - MTA - 2 - 45 @
Lok Jiengmu A

EREES Morse taper no.
> ERERE#EE Morse taper holder type A
> EEER Taper size

1




S EEVALER D

LB NG S A AL BT50-MTA TAPER ADAPTER (MORSE)

FIG. 1

L2
L1
FIG. 2 L
g | S Model FIG L L1 L2 L3 D d1 d2 JeiFCHE Range BHE KGS
BT50-MTA1-45 1 146.8 45 7 38 [ 100 [ 25 | 12.065 $2-p14 3.8
BT50-MTA1-120 2 | 2218 | 120 82 [ 38 [100] 25 12.065 $2-p14 4.3
BT50-MTA1-180 2 | 281.8 | 180 | 142 | 38 [ 100 ] 25 | 12.065 $2-p14 5
BT50-MTA1-200 2 | 301.8 | 200 | 162 | 38 | 100 | 25 12.065 $2-p14 5.2
BT50-MTA2-60 1 161.8 60 22 | 38 [100] 32 | 17.825 $14-$23 4
BT50-MTA2-135 2 | 236.8 | 135 97 | 38 [ 100 ] 32 17.825 ®14-$23 4.7
BT50-MTA2-180 2 | 281.8 | 180 | 142 | 38 [ 100 32 | 17.825 $14-$23 5
BT50-MTA2-200 2 | 301.8 | 200 | 162 | 38 [ 100 ] 32 17.825 $14-$23 5.2
BT50-MTA3-65 1 166.8 65 27 | 38 [100] 40 | 23.825 $23-932 3.7
BT50-MTA3-75 1 176.8 75 37 | 38 | 100 ] 40 | 23.825 $23-$32 3.8
BT50-MTA3-95 1 196.8 95 57 | 38 | 100 ] 40 | 23.825 $23-932 3.85
BT50-MTA3-150 2 | 251.8 | 150 | 112 | 38 | 100 | 40 | 23.825 $23-¢$32 5
BT50-MTA3-180 2 | 281.8 | 180 | 142 | 38 [ 100 | 40 | 23.825 $23-¢32 5.5
BT50-MTA3-200 2 | 301.8 | 200 | 162 | 38 [ 100 | 40 | 23.825 $23-¢32 6
BT50-MTA3-250 2 | 351.8 | 250 | 212 | 38 [ 100 ] 40 | 23.825 $23-¢932 6.4
BT50-MTA3-300 2 | 4018 | 300 | 262 | 38 [ 100 ] 40 | 23.825 $23-¢$32 6.8
BT50-MTA4-75 1 176.8 75 37 | 38 | 100 | 48 | 31.267 $32-950 4.2
BT50-MTA4-95 1 196.8 95 57 | 38 | 100 | 48 | 31.267 $32-950 4.4
BT50-MTA4-150 2 | 251.8 | 150 | 112 | 38 | 100 | 48 | 31.267 $32-950 5
BT50-MTA4-180 2 | 281.8 | 180 | 142 | 38 | 100 | 48 | 31.267 $32-¢50 5.5
BT50-MTA4-200 2 | 301.8 | 200 | 162 | 38 | 100 | 48 | 31.267 $32-950 5.7
BT50-MTA4-250 2 | 351.8 | 250 | 212 | 38 [ 100 | 48 | 31.267 $32-¢50 6.55
BT50-MTA4-300 2 | 4018 [ 300 | 262 | 38 [ 100 ] 48 | 31.267 $32-950 6.95
\\@ BT50-MTA5-105 1 | 206.8 | 105 67 | 38 | 100 ] 65 | 44.399 $50-975 4
% BT50-MTA5-210 2 | 3118 | 210 | 172 | 38 [ 100 | 65 | 44.399 $50-975 7.2
$ BT50-MTA5-300 2 | 401.8 | 300 | 262 | 38 | 100 | 65 | 44.399 $50-¢75 10.5
o BT50-MTA5-350 2 | 4518 | 350 | 312 | 38 [ 100 65 | 44.399 $50-$p75 12.2
a s BT50-MTA6-200 1 [ 301.8 | 200 | 162 | 38 [ 100 ] 85 | 63.348 $75-¢100 5.2
d 5 BT50-MTA6-280 2 | 381.8 | 280 | 242 | 38 [ 100 | 85 | 63.348 $75-¢100 10
o
= 175 kLY Features:
i © Spindle conicity standard: JIS MAS 403 BT

OZ{F$ERAE: JIS MAS 403 BT
ONNMATFFREERHEATIA. k. BNE
Otk E KA

OHIETMBITHIE

© Used in Morse conicity tools, drill chuck,reamer and so on.

© Dimensions

© The pull stud must purchase alone.




RTINS A0 BT60-MTA TAPER ADAPTER (MORSE)

FIG. 1

" NT. NO 1_
S Y5 e
R FIG.2 L
[ P.129 ]

}4% / 2SS Model FIG L L1 L2 L3 D di d2 RFEELEE
BT60-MTA3-100 1 261.8 | 100 | 52 | 48 | 155 | 40 | 23.825 ©23-¢32
BT60-MTA3-190 2 351.8 | 190 | 142 | 48 | 155 | 40 | 23.825 ©23-¢32
BT60-MTA4-110 1 271.8 | 110 | 62 | 48 | 155 | 48 | 31.267 $32-950
BT60-MTA4-210 2 371.8 | 210 | 162 | 48 | 155 | 48 | 31.267 $32-¢50
BT60-MTA5-135 1 296.8 | 135 | 87 | 48 | 155 | 65 | 44.399 $50-$75
BT60-MTA5-240 2 401.8 | 240 | 192 | 48 | 155 | 65 | 44.399 $50-¢75
BT60-MTA6-170 1 331.8 | 170 | 122 | 48 | 155 | 90 | 63.348 ¢75-$100
BT60-MTA6-310 2 471.8 | 310 | 262 | 48 | 155 | 90 | 63.348 ¢75-9100

19 Features:
b © Spindle conicity standard: JIS MAS 403 BT

OSBRI : JIS MAS 403 BT

O7NMATHRERKHEMIA. k. RNF

Ok E KR
OfIfTASRITME

BT60 - MTA - 3 - 100

Lo uk® Jiengnuy)

© Used in Morse conicity tools, drill chuck, reamer and so on.
© Dimensions
© The pull stud must purchase alone.

ER#EES Morse taper no.

> AREEE®EI vorse taper holder type A
> EWMER Tape size

@I«
g
D EE
1
1]

Fog [



S EEVALER D

BT-MTB TmEE K]

BT-MTB MORSE TAP HOLDER

BT. NO
(]
L3 L2
L1
FI1G. 1 L
BT. NO e
E M T ] o ‘%L_, -
@l L3 L2
L P20 FIG.2 L
#4% / 215 Model | FIG L L1 | L2 |3 | D | d1 d2 12H G TS TIEE EE KGS
BT30-MTB1-45 1 93.4 45 23 22 | 46 | 25 12.065 M6 $10-¢14 0.55
BT30-MTB2-60 1 |108.4 | 60 | 38 | 22 | 46 | 32 17.780 M10 $16-922 0.60
BT30-MTB3-80 2 (1284 | 80 | 58 | 22 | 46 | 40 23.825 M12 $24-932 0.8
¥iig /| 225 Model FIG L L1 L2 L3 D di d2 B2 G TiFHTIEE EE KGS
BT40-MTB1-45 1 | 1104 | 45 18 27 | 63 | 25 12.065 M6 $10-¢14 1.05
BT40-MTB1-120 2 |185.4 | 120 | 93 27 | 63 | 25 12.065 M6 $10-p14 1.40
BT40-MTB2-45 1 | 1104 | 45 18 27 | 63 | 32 17.180 M10 $16-$22 1.10
BT40-MTB2-120 1 [185.4 | 120 | 93 27 | 63 | 32 17.180 M10 $16-¢22 1.85
BT40-MTB3-75 1 | 1404 | 75 48 27 | 63 | 40 23.825 M12 $24-¢32 1.20
BT40-MTB3-135 1 |200.4| 135 | 108 | 27 | 63 | 40 23.825 M12 $24-¢32 1.90
BT40-MTB4-90 2 (1554 | 90 | 63 | 27 | 63 | 48 31.267 M16 $32-$50 1.40
BT40-MTB4-165 2 [230.4( 165 138 | 27 | 63 | 48 31.267 M16 $32-¢50 2.50
9 Features:
\\\c b O Spindle conicity standard: JIS MAS 403 BT
B OASEEALE: JIS MAS 403 BT 8%"“6"_5'0"5 . oth <id e th .
ses in supporting on both sides not-like the taper, en
o
= 3 OTIRAT R to attach the box thread the cutting tool perhaps lengthens
‘:: = ORTRIEFEKHEE. RinMPIBKEIIRIT] AR ERT the pole.
S OHIST AR {THIE © The pull stud must purchase alone.
=
v 1A

BT40 - MTB - 2

- 45

Lol GKE Dienghiny)

ER#ES Morse taper holder no.

S

> EREEE#EIL | vorse taper holder type B
> EWER Taper size

0.012 @

1




SRRV R )2k BT-MTB MORSE TAP HOLDER

BT. NO

L3 L2

FIG. 1 L

BT. NO

E o 7 —— AR NN
— Il

L3 L2
L1
F1G. 2 L
#14% | B1E Model | FIG L L1 | L2 | L3 D di | d2 B G kiFeETIEE EE KGS
BT50-MTB1-45 1 146.8 | 45 7 38 100 25 | 12.065 M6 $10-¢14 3.80
BT50-MTB1-120 2 221.8 (120 | 82 | 38 100 25 | 12.065 M6 $10-p14 4.30
BT50-MTB1-180 2 281.8 [ 180 | 142 | 38 100 25 | 12.065 M6 $10-p14 5.00
BT50-MTB2-60 1 161.8 | 60 | 22 | 38 100 32 | 17.780 M10 $16-$22 4.00
BT50-MTB2-135 2 | 236.8 | 135 97 | 38 100 | 32 [17.780 M10 $16-22 4.70
BT50-MTB2-180 2 281.8 (180 | 142 | 38 100 32 | 17.780 M10 $16-$22 5.00
BT50-MTB3-75 1 | 166.8 | 75 | 37 | 38 100 | 40 | 23.825 M12 $24-932 3.90
BT50-MTB3-150 2 | 251.8 |150 | 112 38 100 | 40 | 23.825 M12 $24-$32 5.00
BT50-MTB3-180 2 | 281.8 | 180|142 | 38 100 | 40 | 23.825 M12 $24-932 5.50
BT50-MTB4-75 1 176.8 | 75 | 37 | 38 100 48 | 31.267 M16 $32-50 4.20
BT50-MTB4-90 1 | 191.8 | 90 | 52 | 38 100 | 48 | 31.267 M16 $32-¢50 4.40
BT50-MTB4-150 2 251.8 [ 150 | 112 | 38 100 48 | 31.267 M16 $32-$50 5.00
BT50-MTB4-180 2 281.8 | 180 | 142 | 38 100 48 | 31.267 M16 $32-$50 5.25
BT50-MTB4-200 2 | 301.8 | 200|162 | 38 100 | 48 | 31.267 M16 $32-¢50 5.60
BT50-MTB4-250 2 | 351.8 | 250|212 38 100 | 48 | 31.267 M16 $32-$50 6.55
BT50-MTB4-300 2 | 401.8 | 300262 38 100 | 48 | 31.267 M16 $32-$50 7.2
BT50-MTB5-115 1 216.8 | 115| 77 | 38 100 65 | 44.399 M20 $40-¢75 4.30
BT50-MTB5-210 2 311.8 [ 210 | 172 | 38 100 65 | 44.399 M20 ©40-p75 7.2
BT60-MTB2-100 1 261.8 | 100 | 52 | 48 155 32 | 17.780 | M10*1.5P $16-¢22 /
BT60-MTB3-100 1 261.8 | 100 | 52 | 48 155 40 | 23.825 | M12*1.75P $24-¢32 /
BT60-MTB4-100 1 261.8 | 100 | 52 | 48 155 48 | 31.267 | M16*2.0P $32-¢50 /
BT60-MTB5-100 1 261.8 | 100 | 52 | 48 155 65 | 44.399 | M20*2.5P $40-¢p75 / .
BT60-MTB6-150 1 | 311.8 [150[ 102 48 | 155 | 85 |63.348 | M24*3.0P $75-¢100 / (//
9 Features: 4
*: 8 Spindle conicity standard: JIS MAS 403 BT ;o
. Dimensions = 0
OBMBMIAMIE: JIS MAS 403 BT © Uses in supporting on both sides not-like the taper, end to = =
OTIRAT R AT attach the box thread the cutting tool perhaps lengthens the 7] 8
ORTFTHRIFEREE. EinMirBSEIIET) R TR pole. w0
OHIST AR THYE © The pull stud must purchase alone. 2
BT50 - MTB - 4 - 75 @
LoCuem Jiengna I
Morse taper holder no. —Y
=@) Morse taper holder type B

> B H R rapersize
Fro [



BIETITR RS
BT-APU DRILL CHUCK HOLDER

BT. NO

L2 12mm

L2 H
L3 [ —

~ = - L
[ P.i31 M P.129 M P.i58 ]

# & Model L L1 ({L2|L3|d1|d2|D| R |ZEZEKGS
BT30-APU08-80 140.4 | 80 |58|22|37| 8 |46| 0.08 | 0.72
BT30-APU13-110 | 170.4 | 110 | 88|22 (50|13 |46| 0.08 | 1.85
BT30-APU16-115 | 175.4 | 115 |93 |22 (57 (16 |46| 0.08 | 2.18
BT40-APU08-85 162.4 | 85 | 58|27 (37| 8 |63| 0.08 | 1.46
BT40-APU13-100 | 177.4 | 100 | 73 |27 (50 | 13 | 63 | 0.08 2
BT40-APU13-150 | 227.4 | 150 |123| 27|50 13|63 | 0.08 | 2.35
BT40-APU16-110 | 187.4 | 110 |83 |27 |57 |16 |63 | 0.08 2.3 %
BT40-APU16-150 | 227.4 | 150 |123| 27 |57 |16 |63 | 0.08 2.5 A

BT50-APU08-90 203.8 [ 90 |52 (38|37 | 8 [100/ 0.08 4.16 /)
BT50-APU13-110 223.8 | 110 | 72 |38 |50 | 13 |100| 0.08 4.7 O Em x;é'
N\ V%13
BT50-APU13-180 293.8 | 180 |142| 38 (50 | 13 |100( 0.08 5.85 right wrong
BT50-APU16-120 | 233.8 | 120 | 82|38 |57 |16 [100| 0.08 [ 5.03 GRIBTIRRER 2 EHENEHR)
Please insert the drill into the bottom
BT50-APU16-190 303.8 | 190 |152( 38 [ 57 | 16 |100( 0.08 5.85 of drill chuck and then lock it tight
R Features:
i © The shank and keyless drill chuck are combined together so

O—1{hzteEl, L TiEISIRERE, NIEIEMLEN, A2y  astoavoid the drill chuck slipping out for heavy-duty and high
speed cutting and improve the precision.

\\\ IE',;&%&M;:EIE‘.% © Not be used for gripping draw bolt and milling tools, instead
% ORTHhk. RINEXSF, FoIRAFLEMPIIFLSF of drill bit and reamer.
$ O—ATIMAERENEKE, ESMIBE, WNERES © APU drill chuck shorten the length while length the working
2 % OREHGME, HF#SRET, MIARELIR geE(;fcthoxll;U drill chuck attached 1pc APU wrench
: & OAPU ﬁi%#?li?:]_o.o_ﬁ, MFESHERRIBEA ER 2 SK R5) © The APU leaning precision is 0.06mm, like the need high
°n ORF. HEIAFHITHIE accuracy request, please use ER or the SK serise.
= i © The spanner. pull stud must purchase alone.
BT40 - APU - 13 - 110 @ @
Length(L1)
BARFERE | Max grip diameter ° e

4 = — machine /
>(3h 8 8 5 ) prill chuck . St —
> 5 AR R ]Shanksize 4D




FIG. 1
BT. NO

BT30-SLN SIDE LOCK END MILL HOLDER

L2
L1
L4
FIG. 2 L5 L6
BT. NO ‘ j
| |
T | {
- - _ — N
T|T
) % L2
== ‘ ‘ N L1
 p.120 X P.003 J
#1 1& Model L L1 | L2 | L3 | L4 L5 L6 D di | d2 T FIG | E& KGS
BT30-SLN6-75 123.4 75 53 22 50 10 12 46 25 M6 1 0.6
BT30-SLN8-75 123.4 75 53 22 50 12 14 46 28 M8 1 0.65
BT30-SLN10-75 123.4 75 53 22 55 14 15 46 10 32 M10 1 0.7
BT30-SLN12-75 123.4 75 53 22 60 16 20 46 12 40 M10 1 0.75
BT30-SLN16-75 123.4 75 53 22 60 18 22 46 16 45 M10 1 1.15
BT30-SLN16-90 138.4 90 68 22 60 18 22 46 16 45 M10 1 1.2
BT30-SLN20-80 128.4 80 58 22 70 20 25 46 20 50 M12 2 1.15
BT30-SLN20-90 138.4 920 68 22 70 20 25 46 20 50 M12 2 1.2
BT30-SLN25-90 138.4 90 68 22 70 25 24 46 25 55 M12 2 1.9
9 Features:
E: © Spindle conicity standard:JIS MAS 403 BT.

Oz {F$EIHANG: JIS MAS 403 BT

OFLIEFAE H5
OmERSs, AFELH

OMER A BIETI AN IRIIN

OEAZIAR, 7JANEOFEESS57HNNERITHNT, 38H

E
ORIsTMFHITMEE

BT30 - SLN - 6 - 75

Lo m Jienghuy)

NHER

© Aperture tolerance:H5.

© Used for remachining with rigidly grip.

© Face mill chuck used to be the holder of cutting tools.

© When attaching,cutting tools, with strong side aligned lock
between the plane of the part and notch solid screws.

© The pull stud must purchase alone.

Bore dlamenter

> 1 8 # S Jside lock end mill holder type N

> # B R )shank size

%

n o @v
N

0.006

F -

I

F -

(8]
=
(o]
-
o
o
-
(7]

Hd

oo I



HIETIMEZRT
BT40-SLN SIDE LOCK END MILL HOLDER

FI1G. 1 L4

BT. NO 2'3 L5 L6
’4—»14—»
J| (I
1| (!

L6
umaF
a N n o S =N
! ! | T
\»
B (22 ‘
( P.129 X P.003 J
#1 #% Model L L1 L2 L3 L4 L5 L6 D dl d2 d3 T Fig | EE KGS
BT40-SLN6-75 140.4 75 48 27 50 10 12 63 6 25 = M6 1 1.25
BT40-SLN8-75 140.4 75 48 27 50 12 14 63 8 28 — M8 1 1.3
BT40-SLN8-100 165.4 | 100 | 73 27 50 12 14 63 8 28 = M8 1 1.35
BT40-SLN10-75 140.4 75 48 27 55 14 15 63 10 35 — M10 1 1.3
BT40-SLN10-100 165.4 | 100 | 73 27 55 14 15 63 10 35 = M10 1 1.35
BT40-SLN12-75 140.4 75 48 27 60 16 20 63 12 40 — M10 1 1.32
BT40-SLN12-100 165.4 | 100 | 73 27 60 16 20 63 12 40 - M10 1 1.35
BT40-SLN16-90 155.4 90 63 27 | 100 | 18 22 63 16 45 — M12 1 1.5
BT40-SLN16-100 165.4 | 100 | 73 27 | 100 | 18 22 63 16 45 = M12 1 1.55
BT40-SLN16-150 215.4 | 150 | 123 | 27 100 18 22 63 16 38 45 M10 2 1.7
BT40-SLN16-200 265.4 | 200 | 173 | 27 | 100 | 18 22 63 16 38 45 M10 2 2
BT40-SLN20-90 155.4 90 63 27 | 100 | 20 25 63 20 50 — M12 1 1.6
BT40-SLN20-100 165.4 | 100 | 73 27 | 100 | 20 25 63 20 50 = M12 1 1.65
BT40-SLN20-150 215.4 | 150 | 123 | 27 | 100 | 20 25 63 20 45 50 M12 2 1.8
BT40-SLN20-200 265.4 | 200 | 173 | 27 | 100 | 20 25 63 20 45 50 M12 2 2
BT40-SLN25-90 155.4 90 63 27 | 110 | 25 24 63 25 55 — M12 1 2.5
BT40-SLN25-100 165.4 | 100 | 73 27 | 110 | 25 24 63 25 55 = M12 1 2.6
BT40-SLN25-150 215.4 | 150 | 123 27 110 | 25 24 63 25 50 55 M12 2 2.8
\\ BT40-SLN25-200 265.4 | 200 | 173 | 27 | 110 | 25 24 63 25 50 55 M12 2 3
\ @ BT40-SLN32-100 165.4 | 100 | 73 27 | 120 | 28 24 63 32 65 - M16 1 2.75
‘@ BT40-SLN32-150 215.4 | 150 | 123 | 27 | 120 | 28 24 63 32 58 63 M16 2 3
o BT40-SLN32-200 265.4 | 200 | 173 | 27 | 120 | 28 24 63 32 58 63 M16 2 3.2
ﬁ - BT40-SLN40-105 170.4 [ 105 | 78 27 | 120 | 32 30 63 40 73 — M16 1 3.5
— = BT40-SLN40-150 215.4 | 150 | 123 | 27 | 120 | 32 30 63 40 73 - M16 1 4
8 7] BT40-SLN40-200 265.4 | 200 | 173 | 27 | 120 | 32 30 63 40 73 - M16 2 4.5
= 1 BT40-SLN42-110 175.4 | 110 | 83 27 | 120 | 32 30 63 42 73 — M16 1 3.8
9 Features:
b pindle conicity standard: .
x © Spindl ici dard:JIS MAS 403 BT.
©$j¢§ﬁ\m*ﬂ1§: JIS MAS 403 BT © Aperture tolerance:H5.
OFBEREHS N © End mill are held by one or two set screws.
8ﬁg¥;§%ﬂhﬁé§§ﬂlﬂm © Used for remachining with rigidly grip.
©Eﬂﬂl§liﬁﬂt’ﬁg;‘gf’ﬁ7gjﬁﬂglﬁﬂm © Face mill chuck used to be the holder of cutting tools.
OREATIEN, JENEOTEDRS S IHNNEETHS, B © When attaching, cutting tools,with strong side aligned lock

e between the plane of the part and notch solid screws.

MBITEIE © The pull stud must purchase alone.



[

¢ BT50-SLN SIDE LOCK END MILL HOLDER

FI1G. 1

BT. NO

FIG. 2 D L4

BT. NO
e
I  — LBW

R L
— .

=

\
d3

: s = L2
|| L
[ p.i129 X P.003 |
# & Model L L1 L2 L3 L4 L5 L6 D dl d2 | d3 T Fig E= KGS

BT50-SLN6-100 201.8| 100 62 38 50 10 | 12 100 6 25 - M6 1 4.1
BT50-SLN8-100 201.8| 100 62 38 50 12 14 100 8 28 - M8 1 4.15
BT50-SLN10-100 201.8| 100 62 38 55 14 15 100 10 35 - M10 1 4.15
BT50-SLN12-100 201.8| 100 62 38 60 16 | 20 100 12 40 - M10 1 4.15
BT50-SLN16-100 201.8| 100 62 38 100 18 | 22 100 16 45 - M10 1 4.15
BT50-SLN16-150 251.8| 150 112 38 100 18 22 100 16 38 | 45 M10 2 5

BT50-SLN16-200 301.8| 200 162 | 38 100 18 | 22 100 16 38 | 45 | M10 2 6.8
BT50-SLN16-250 351.8| 250 212 38 100 18 | 22 100 16 38 | 45 | M10 2 7

BT50-SLN16-300 401.8| 300 262 | 38 100 18 | 22 100 16 38 | 45 | M10 2 7.5
BT50-SLN20-100 201.8| 100 62 38 100 20 | 25 100 20 50 - M12 1 4.8
BT50-SLN20-150 251.8 | 150 112 38 100 20 | 25 100 20 45 | 50 | M12 2 5.8
BT50-SLN20-200 301.8| 200 162 38 100 20 25 100 20 45 50 | M12 2 6.9
BT50-SLN20-250 351.8| 250 212 38 100 20 | 25 100 20 45 | 50 | M12 2 7.3
BT50-SLN20-300 401.8| 300 262 38 100 20 | 25 100 20 45 | 50 | M12 2 7.8
BT50-SLN25-100 201.8 | 100 62 38 110 25 | 24 100 25 60 - M12 1 5.5
BT50-SLN25-150 251.8| 150 112 38 110 25 24 100 25 50 55 | M12 2 6

BT50-SLN25-200 301.8| 200 162 38 110 25 | 24 100 25 50 | 55 | M12 2 7

BT50-SLN25-250 351.8| 250 212 38 110 25 24 100 25 50 55 M12 2 7.5
BT50-SLN25-300 401.8 | 300 262 38 110 | 25 | 24 100 25 50 | 55 | M12 2 8

BT50-SLN25-350 451.8 | 350 312 38 110 25 | 24 100 25 50 | 55 | M12 2 8.5

e 1o NI



S EEVLER D

> Jl ¢ BT-SLN SIDE LOCK END MILL HOLDER

D
f L4

l I
Bz
| N
L L6
L5 L
Fig. 1 L
L3 L2,
.
\»
(5 \ ,
a v Fig.2 L
(P20 X P.003 J
A [ 215 Model dl [ d2 |d3 | L L1 | L2 |13 | L4 |L5]| L6 D T | Fig | EEKGS
BT50-SLN32-105 32 [ 65| - [206.8| 105 | 24 | 28 | 120 | 38 | 67 | 100 | M16 | 1 8
BT50-SLN32-150 32 | 58 | 63 |251.8| 150 | 24 | 28 | 120 | 38 | 112 | 100 | M16 | 2 6.5
BT50-SLN32-200 32 | 58 | 63 |301.8| 200 | 24 | 28 | 120 | 38 | 162 | 100 | M16 | 2 7.5
BT50-SLN32-250 32 | 58 | 63 |351.8| 250 | 24 | 28 | 120 | 38 | 212 | 100 | M16 | 2 8
BT50-SLN32-300 32 | 58 | 63 |401.8| 300 | 24 | 28 | 120 | 38 | 262 | 100 | M16 | 2 8.5
BT50-SLN32-350 32 | 58 | 63 |451.8| 350 | 24 | 28 | 120 | 38 | 312 | 100 | M16 | 2 9
BT50-SLN40-115 40 | 80 | - |[216.8| 115 | 30 | 32 | 120 | 38 | 77 | 100 | M20 | 1 6.6
BT50-SLN40-150 40 | 70 | 75 |251.8| 150 | 30 | 32 | 120 | 38 | 112 | 100 | M16 | 2 7
BT50-SLN40-200 40 | 70 | 75 |301.8| 200 | 30 | 32 | 120 | 38 | 162 | 100 | M16 | 2 7.5
BT50-SLN40-250 40 | 70 | 75 [351.8| 250 | 30 | 32 | 120 | 38 | 212 | 100 | M16 | 2 8
BT50-SLN40-300 40 | 70 | 75 |401.8| 300 | 30 | 32 | 120 | 38 | 262 | 100 | M16 | 2 8.5
BT50-SLN40-350 40 | 70 | 75 |451.8| 350 | 30 | 32 | 120 | 38 | 312 | 100 | M16 | 2 9
BT50-SLN42-120 42 | 80 | - |[221.8]| 120 |30 |32 | 120 |38 | 82 | 100 | M20 | 1 6.5
BT50-SLN42-150 42 | 75 | 80 |251.8| 150 | 30 | 32 | 120 | 38 | 112 | 100 | M20 | 1 7.5
BT50-SLN42-200 42 | 75 | 80 |301.8| 200 | 30 | 32 | 120 | 38 | 162 | 100 | M20 | 1 8.5
\\\ BT50-SLN50-120 50 | 90 | - |[221.8]| 120 |35 |35 | 120 |38 | 82 | 100 | M20 | 1 7.2
(2 BT50-SLN50-150 50 | 85 | 90 |[251.8| 150 | 35 | 35 | 120 | 38 | 112 | 100 | M20 | 1 8.5
% BT50-SLN50-200 50 | 85 | 90 |301.8| 200 | 35 | 35 | 120 | 38 | 162 | 100 | M20 | 1 9.5
o BT50-SLN50.8-120 50.8 | 90 | - |221.8| 120 |35 |35 | 120 [ 38 | 82 | 100 | M20 | 1 7.3
O g BT50-SLN50.8-150 50.8 | 85 | 90 |251.8| 150 | 35 | 35 | 120 | 38 | 112 | 100 | M20 | 1 8.5
Py 7 BT50-SLN50.8-200 50.8 | 85 | 90 |301.8| 200 | 35 | 35 | 120 | 38 | 162 | 100 | M20 | 1 9.5
= BT60-SLN25-135 25 |60 | - [296.8]| 135 | 24 | 25 | 110 | 48 | 87 | 155 | M12 | 1
o 1 BT60-SLN32-135 32 | 65| - |296.8]| 135 | 24 | 28 | 120 | 48 | 87 | 155 | M16 | 1
BT60-SLN40-135 40 |80 | - [296.8| 135 | 30 |32 | 120 | 48 | 87 | 155 | M16 | 1
BT60-SLN42-135 42 | 80 | - [296.8| 135 |30 | 32 [ 120 |48 | 87 | 155 | M20 | 1
BT60-SLN50-135 50 | 90 | - |296.8| 135 | 35 | 35 | 120 | 48 | 87 | 155 | M20 | 1
BT60-SLN50.2-135 50.2 | 90 | - [296.8| 135 | 35 | 35 | 120 | 48 | 87 | 155 | M20 | 1

S



BT-SCA % 7] i BT-SCA SIDE CUTTER ADAPTET

M # Model L L1 | L2 | L3 [ L4 | L5 D dl d2 | d3 k H T BEE KGS
BT30-SCA10-60 150.4| 60 | 38 [ 22 | 30 | 12 | 46 10 18 | 18 - - M8X1.25P 0.8
BT30-SCA16-60 154.4] 60 [ 38 | 22 | 30 [ 16 | 46 16 26 | 26 4 17.7 | M14X1.5P 1
BT30-SCA22-60 160.4] 60 [ 38 | 22 | 30 [ 22 | 46 22 34 | 34 6 243 | M20X1.5P 1.2
BT30-SCA22-75 1754 75 [ 53 | 22 | 30 | 22 | 46 22 34 | 34 6 243 | M20X1.5P 1.4
BT40-SCA16-60 1714 60 | 33 | 27 | 30 | 16 [ 63 | 16 | 26 | 26 4 | 177 | MI14X1.5P 15
BT40-SCA22-60 177.4] 60 | 33 | 27 | 30 [ 22 | 63 22 34 | 34 6 24.3 | M20X1.5P 1.6
BT40-SCA22-75 1924 75 | 48 | 27 | 30 [ 22 | 63 22 34 | 34 6 243 | M20X1.5P 1.7

BT40-SCA22-120 2374|120 93 [ 27 | 30 | 22 | 63 22 34 | 34 6 24.3 | M20X1.5P 2
BT40-SCA27-75 198.4| 75 [ 48 | 27 | 30 [ 28 | 63 27 41 | 40 7 30 M24 X 1.5P 2.1
BT40-SCA27-120 2434|120 | 93 [ 27 | 30 | 28 | 63 27 41 | 40 7 30 M24X1.5P 2.5
BT40-SCA32-90 217.4| 90 | 63 | 27 | 30 | 32 | 63 | 32 | 47 | 471 8 35 | M30X1.5P 2.6
BT40-SCA22.22-75 192.4| 75 | 48 | 27 | 30 | 22 | 63 [22.22| 34 | 34 | 3.17 | 24.6 | M20X1.5P 1.7
BT40-SCA22.22-120 [237.4| 120 | 93 | 27 | 30 | 22 | 63 |22.22| 34 | 34 [3.17 | 24.6 | M20X1.5P 2
BT40-SCA25.4-75 198.4] 75 [ 48 | 27 | 30 | 28 | 63 | 254 | 41 | 40 | 6.35 | 28.4 | M24X1.5P 2
BT40-SCA25.4-120 [243.41 120 93 | 27 | 30 | 28 | 63 | 254 | 41 | 40 | 6.35[ 28.4 | M24X1.5P 2.4
BT40-SCA31.75-90 |217.4] 90 | 63 [ 27 | 30 | 32 | 63 |31.75] 47 | 47 [ 793 [ 34.8 | M30X1.5P 2.6
BT50-SCA22-90 243.8| 90 | 52 | 38 | 30 | 22 | 100 | 22 | 34 | 34 6 | 243 | M20X1.5P 4.4
BT50-SCA22-135 288.8|135| 97 | 38 | 30 | 22 [ 100 | 22 | 34 | 34 6 | 243 | M20X1.5P 4.7
BT50-SCA22-180 333.8| 180 | 142 | 38 [ 30 | 22 | 100 | 22 [ 34 | 34 6 | 243 | M20X1.5P 5
BT50-SCA27-90 249.8 90 | 52 | 38 [ 30 | 28 | 100 | 27 41 | 40 7 30 M24X1.5P 4.6
BT50-SCA27-135 294.8[135) 97 | 38 | 30 | 28 | 100 | 27 41 | 40 7 30 M24 X 1.5P 5
BT50-SCA27-180 339.8(180) 142 | 38 | 30 | 28 | 100 | 27 41 | 40 7 30 M24 X 1.5P 5.5
BT50-SCA32-90 253.8] 90 | 52 | 38 [ 30 | 32 | 100 | 32 47 | 47 8 35 M30X1.5P 4.7
BT50-SCA32-135 298.8 135 97 | 38 | 30 | 32 | 100 [ 32 47 | 47 8 35 M30X1.5P 5.2
BT50-SCA32-180 343.8/180 | 142 | 38 | 30 | 32 | 100 | 32 | 47 | 471 8 35 M30X1.5P 5.7
BT50-SCA40-90 261.8] 90 | 52 | 38 | 30 | 40 | 100 | 40 55 | 55 10 | 43.7 | M36X2.0P 5
BT50-SCA40-135 306.8| 135 | 97 | 38 | 30 | 40 | 100 | 40 55 | 55 10 | 43.7 | M36X2.0P 6
BT50-SCA40-180 351.8(180 ) 142 | 38 | 30 | 40 | 100 [ 40 55 | 55 10 | 43.7 | M36X2.0P 7
BT50-SCA22.22-90 243.8] 90 | 52 [ 38 | 30 | 22 | 100 |22.22| 34 | 34 [ 3.17 [ 24.6 | M20X1.5P 4.4
BT50-SCA22.22-135 |288.8) 135 | 97 [ 38 | 30 | 22 | 100 |22.22| 34 | 34 | 3.17 | 24.6 | M20X1.5P 4.7
BT50-SCA25.4-90 [249.8| 90 | 52 | 38 | 30 | 28 | 100 | 254 | 41 | 40 | 6.35| 28.4 | M24X1.5P 4.5
BT50-SCA25.4-135 |294.8| 135| 97 | 38 | 30 | 28 | 100 | 254 | 41 | 40 | 6.35| 28.4 | M24X1.5P 4.9
BT50-SCA31.75-90 |253.8( 90 [ 52 | 38 | 30 | 32 | 100 [31.75| 47 | 47 | 7.93 [ 34.8 | M30X1.5P 4.7
BT50-SCA31.75-135 [298.8]| 135| 97 | 38 | 30 | 32 | 100 |31.75| 47 | 47 | 7.93 [ 348 | M30X1.5P 5.2
BT50-SCA38.10-90 [261.8] 90 | 52 | 38 | 30 | 40 | 100 ) 38.1| 55 [ 55 | 9.52 [ 42.4 | M36X2.0P 4.9
BT50-SCA38.10-135 |306.8) 135| 97 | 38 | 30 | 40 | 100 ) 38.1 | 55 | 55 [ 9.52 | 42.4 | M36X2.0P 5.9
ST Features:
i © Shears the trough knife, when uses and so on three edge

O], ZENHNFEAN, HERNRESTDIFERIEM, 8

AR

OEM7IM, RIEMTREFRHIAKER FAARD FHFHIET

OfIsT AR ITME

milling cutters, is uses the cutting tool and the cutter bar
contacts closely, requests transfer the entire filling piece.

© Selects and purchases the hilt, according to the processing
needs please to confirm that installs the saw blade jamming
size. Does not supplement the puller bolt to select.

© The pull stud must purchase alone.




S EEVALER D

BT30-SLD SMALL DIAMETER SIDE LOCK TOOL HOLDER

BT30-SLD /hZ{m

D
> BT. NO
”
%, T L4156
i ) - _ ——— | — T—% N
3 S
—
L7
L3
R
[ P.129 ]

# & Model L L1 |L2|L3|L4|L5|L6|L7| D (dl|d2| d3 T a R | EE KGS
BT30-SLD3-80-A5 1284|180 |58|22( 6 |6 | 6 |18(46| 3 | 9 |18.5| M3.5*3*0.35P*T6 | 5° [ 5
BT30-SLD3-100-A5 | 148.4 |100(78 (22| 6 | 6 | 6 |18|46| 3 | 9 | 22 | M3.5*3*0.35P*T6 | 5° | 5
BT30-SLD4-80-A5 128.4 (80 (58|22 7| 7| 6 (20|46 4 |11 (20.5| M4*2.8*0.5P*H2 | 5° | 5
BT30-SLD4-100-A5 148.4 (10078 (22| 7 | 7| 6 (20|46 | 4 |11 | 24 M4*2.8*0.5P*H2 | 5° [ 5
BT30-SLD6-80-A5 1284|180 |58|22( 8 |8 |6 |22(46| 6 |13 |22.5| M5*4*0.5P*H2.5 | 5° [ 5
BT30-SLD6-100-A5 148.4 |1100| 78 |22 8 | 8 | 6 |22|46| 6 |13 |25.5| M5*4*0.5P*H2.5 5°| 5
BT30-SLD8-80-A5 128.4 (80 (58 (22 (10|10| 7 |27 |46 | 8 |15(24.5| M5*4*0.5P*H2.5 | 5° | 5
BT30-SLD8-100-A5 148.4 |100| 78 (22 (10|10 7 |27 |46 | 8 |15 | 28 M5*4*0.5P*H2.5 5°| 5

SLD {ME TR T AIRL

SLD side fixed extension rod special screw

# & Model

{#£M7L1 D Using aperture

M3.5X3XP0.35XT6 D3
M4Xx2.8XP0.5XT8 D4
M4X4XP0.5XT8 D4
M5X3.5XP0.5XT10 D6
M5X5XP0.5XT10 D6 D8 D10
M6X4XP0.75XT15 D12
M6X6XP0.75XT15 D12
M8X5XP0.75XL4 D16 D20
M4X2.8XP0.5XH2 D4
M5X4XP0.5XH2.5 D6 D8 D10
M6X4XP0.75XH3 D12
M6X5XP0.75XH3 D12

& BRRF T, ANBRF W

&

b

.

BT30 - SLD - 3 -

%
=
7
A

0
=
(o]
-
o
o
-
(7]

80

NARF  EXNBEN (FEBERRT)
IBRERF . EFRESE

A5

SR

Taper
Length(L1)
Diameter
(3 8 & 5 JHolder type
={m Taper size




BT40-SLD /Mg

4

—

Al

BT40-SLD SMALL DIAMETER SIDE LOCK TOOL HOLDER

BT. NO

o

& BRRF T, ABRF W
ANARF  EXNBEN (FERERRT)
IBRERF . FRESE

# 1§ Model L L1 L2 (L3 (L4 |L5(L6|L7| D |dl|d2| d3 T a R | EE KGS
BT40-SLD3-135-A5 200.4 | 135 |108|27| 6 | 6 | 6 (18|63 3 | 9 | 27 |M3.5*3*0.35P*T6| 5° 5
BT40-SLD4-135-A5 200.4 | 135 |108|27| 7|7 |6 |(20(63| 4 (11| 29 | M4*2.8*0.5P*H2 | 5° 5
BT40-SLD6-135-A5 200.4 | 135 (108|278 | 8 | 6 |22|63| 6 |13| 31 | M5*4*0.5P*H2.5 | 5° 5
BT40-SLD6-150-A5 215.4 | 150 |123|27| 8 | 8 | 6 |22|63| 6 |13|33.5| M5*4*0.5P*H2.5 | 5° 5
BT40-SLD6-200-A5 265.4 | 200 (173|278 | 8 | 6 |22(63| 6 |13|41.5| M5*4*0.5P*H2.5 | 5° 5
BT40-SLD8-135-A5 200.4 | 135 |108|27|10|10| 7 |27|63| 8 15| 33 | M5*4*0.5P*H2.5 | 5° 5
BT40-SLD8-150-A5 215.4 | 150 |123(27(10|10( 7 |27(63| 8 | 15| 35.5| M5*4*0.5P*H2.5 | 5° 5
BT40-SLD8-200-A5 265.4 ( 200 |173|27|10|10| 7 |27|63| 8 |15| 43.5| M5*4*0.5P*H2.5 | 5° 5

BT40-SLD10-135-A5 | 200.4 | 135 [108|27|10(10|10(35|63(10(17| 35 | M5*4*0.5P*H2.5 | 5° 5
BT40-SLD10-150-A5 | 215.4 | 150 (123|27(10|10|10|35|63|10|17(37.5| M5*4*0.5P*H2.5 | 5° 5
BT40-SLD10-200-A5 | 265.4 | 200 |173|27|10(10|10(35|63 (10|17 |45.5| M5*4*0.5P*H2.5 | 5° 5
BT40-SLD12-135-A5 | 200.4 | 135 (108|27(10|10|10|45|63|12|22| 40 | M6*5*0.75P*H3 | 5° 5
BT40-SLD12-150-A5 | 215.4 ( 150 |123|27|10/10|10|45|63|12|22|42.5| M6*5*0.75P*H3 | 5° 5
BT40-SLD12-200-A5 | 265.4 | 200 (173|27(10|10|10|45|63|12|22(50.5| M6*5*0.75P*H3 | 5° 5
BT40-SLD6-150-A3 215.4 | 150 |123(27( 8 | 8 | 6 |22(63| 6 | 13| 25.5| M5*4*0.5P*H2.5 | 3° 5
BT40-SLD6-200-A3 265.4 | 200 |173|(27| 8 | 8| 6 |22(63| 6 |13|30.5| M5*4*0.5P*H2.5 | 3° 5
BT40-SLD8-150-A3 215.4 | 150 |123(27(10|10( 7 |27(63| 8 | 15| 27.5| M5*4*0.5P*H2.5 | 3° 5
BT40-SLD8-200-A3 265.4 | 200 |173|27|10|10| 7 |27|63| 8 |15|32.5| M5*4*0.5P*H2.5 | 3° 5
BT40-SLD10-150-A3 | 215.4 | 150 (123(27(10(10|10|35|63|10( 17| 29.5| M5*4*0.5P*H2.5 | 3° 5
BT40-SLD10-200-A3 | 265.4 | 200 (173(27|10(10|10|(35|63|10|17|34.5| M5*4*0.5P*H2.5 | 3° 5
SLD MBI TR KIS iR :
SLD side fixed extension rod special screw
# & Model fEF#L1Z D Using aperture BT40 - SLD - 3 - 135 - A5
M3.5X3XP0.35XT6 D3 # E ) taper
M4xX2.8XP0.5XT8 D4 Length(L1)
M4X4XP0.5XT8 D4 .
Diameter
M5X3.5XP0.5XT10 D6 e e—
M5X5XP0.5XT10 D6 D8 D10 >(30 8 £ 5 JHolder type
M6X4XP0.75XT15 D12 > 58 1 2 X )aper size
M6X6XP0.75XT15 D12
M8X5XP0.75X L4 D16 D20
M4X2.8XP0.5XH2 D4
M5X4XP0.5XH2.5 D6 D8 D10
M6X4XP0.75XH3 D12
M6X5XP0.75XH3 D12

T



S EEVALER D

BT50-SLD /MEMIE

A BT50-SLD SMALL DIAMETER SIDE LOCK TOOL HOLDER

T L4156

A Rl
L7
1 #& Model L L1 (L2 |L3|L4[L5(L6|L7| D |dl|d2]| d3 T a | R |EEKGS
BT50-SLD4-150-A5 251.8 | 150 |112|38| 7 | 7| 6 |20|100| 4 |12| 30 [M4*2.8*0.5P*H2| 5° | 10
BT50-SLD4-200-A5 301.8 | 200 |162 (38| 7 | 7 | 6 |20|100| 4 |12 38.5 [M4*2.8*0.5P*H2| 5° | 10
BT50-SLD4-250-A5 351.8 | 250 |212(38| 7 | 7| 6 |20|100| 4 |12 | 47.5[M4*2.8*0.5P*H2| 5° | 10
BT50-SLD4-300-A5 401.8 | 300 (262(38| 7 | 7 |6 [20)100( 4 |12| 56 [M4*2.8*0.5P*H2| 5° | 10
BT50-SLD6-150-A5 251.8 | 150 (112(38| 8 | 8 [ 6 |22|100( 6 |14 | 32 [M5*4*0.5P*H2.5| 5° | 10
BT50-SLD6-200-A5 301.8 | 200 [(162(38| 8 | 8 | 6 |22)100( 6 |14 | 40.5 [M5*4*0.5P*H2.5| 5° | 10
BT50-SLD6-250-A5 351.8 | 250 [(212(38| 8 | 8 | 6 |22)100( 6 |14 | 49.5 [M5*4*0.5P*H2.5| 5° | 10
BT50-SLD6-300-A5 401.8 | 300 |262|38| 8 | 8 | 6 |22(100| 6 |14 | 58 |M5*4*0.5P*H2.5| 5° | 10
BT50-SLD8-150-A5 251.8 | 150 |112|38|10|10| 7 |27 |100| 8 |16 | 34 [M5*4*0.5P*H2.5| 5° | 10
BT50-SLD8-200-A5 301.8 | 200 (16238 |10|10| 7 |27|100( 8 |16 | 42.5 [M5*4*0.5P*H2.5| 5° | 10
BT50-SLD8-250-A5 351.8 | 250 |212|38|10|10| 7 |27 |100| 8 |16 | 51.5 [M5*4*0.5P*H2.5| 5° | 10
BT50-SLD8-300-A5 401.8 | 300 (26238 |10(10( 7 [27 (100 8 |16| 60 |M5*4*0.5P*H2.5| 5° [ 10
BT50-SLD10-150-A5 251.8 | 150 |112|38|1010|10)35|100/10|18| 36 [M5*4*0.5P*H2.5| 5° | 10
BT50-SLD10-200-A5 301.8 | 200 |162 |38 (1010|1035 |100|10 |18 | 44.5 [M5*4*0.5P*H2.5| 5° | 10
BT50-SLD10-250-A5 351.8 | 250 |212 (3810|1010 )35|100/10 |18 |53.5 [M5*4*0.5P*H2.5| 5° | 10
BT50-SLD10-300-A5 401.8 | 300 (26238 |10(10(1035(100/10|18| 62 |M5*4*0.5P*H2.5| 5° [ 10
BT50-SLD12-150-A5 251.8 | 150 |112|38|10|10|10)|45|100/12 22| 40 [ M6*5*0.75P*H3 | 5° | 10
BT50-SLD12-200-A5 301.8 | 200 (162 (3810|1010 |45)100(12 |22 |48.5|M6*5*0.75P*H3 | 5° | 10
BT50-SLD12-250-A5 351.8 | 250 [212|38 (10 (1010 |45 (100|12 |22 ]|57.5| M6*5*0.75P*H3 | 5° [ 10
BT50-SLD12-300-A5 401.8 | 300 [262|38|10|10|10|45(100{12|22| 66 | M6*5*0.75P*H3 | 5° | 10
BT50-SLD16-150-A5 251.8 | 150 (112381212 |10|50)100(16|26| 44 [ M8*5*0.75P*L4 | 5° | 10
BT50-SLD16-200-A5 301.8 | 200 |162|38|12|12|10|50(100{16 |26 |52.5| M8*5*0.75P*L4 | 5° | 10
BT50-SLD16-250-A5 351.8 | 250 |[212|38|12|12|10 |50 (100{16 |26 |61.5 | M8*5*0.75P*L4 | 5° | 10
BT50-SLD16-300-A5 401.8 | 300 |262|38|12|12|10|50(100{16|26| 70 | M8*5*0.75P*L4 | 5° | 10
BT50-SLD20-150-A5 251.8 | 150 |112|38|12|12|10|55|100/20|30| 48 [ M8*5*0.75P*L4 | 5° | 10
BT50-SLD20-200-A5 301.8 | 200 [(162(38|12|12|10|55|100(20|30]56.5| M8*5*0.75P*L4 | 5° | 10
BT50-SLD20-250-A5 351.8 | 250 |212|38 12|12 |10 |55 |100|20 |30 | 65.5 [ M8*5*0.75P*L4 | 5° | 10
BT50-SLD20-300-A5 401.8 | 300 |262|38|12|12|10|55|100/20|30| 74 [ M8*5*0.75P*L4 | 5° | 10

SLD MEXTIRIERT & AIRL

SLD side fixed extension rod special screw

%
5
=
7]
i

0
=
(o]
-
o
o
Lo
(%]

# 1& Model fEMFL12 D Using aperture
M3.5X3XP0.35XT6 D3
M4X2.8XP0.5XT8 D4
M4X4XP0.5XT8 D4
M5X3.5XP0.5XT10 D6
M5X5XP0.5XT10 D6 D8 D10
M6X4XP0.75XT15 D12
M6X6XP0.75XT15 D12
M8X5XP0.75X L4 D16 D20
M4Xx2.8XP0.5XH2 D4
M5X4XP0.5XH2.5 D6 D8 D10
M6X4XP0.75XH3 D12
M6X5XP0.75XH3 D12

i1 BRRF T, RBRF W

ANARTF  EXNBIES (FEEEHRT)

JeiRF : ERESE
F110

BT50 - SLD - 4 - 150 - A5

Taper
Length(L1)

Diameter

> EE RS ]Holdertype

={$E LGRS ]Tapersize




Al

BT. NO

T

BT50-SLD SMALL DIAMETER SIDE LOCK TOOL HOLDER

L415L6

D
PR it
—
L2
L3 L1
L
# 1% Model L |(L1|L2|L3|L4|L5|L6|LT7| D |d1|d2|d3 T a | R | EBKGS
BT50-SLD6-150-A3 | 251.8 15011238 | 8 | 8 | 6 |22|100| 6 |14 | 25| M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD6-200-A3 | 301.8 {200(|162|38| 8 | 8 | 6 [22|100| 6 |14 |30 | M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD6-250-A3 | 351.8 |250(212|38| 8 | 8 | 6 [22(100| 6 |14 |35| M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD6-300-A3 | 401.8 {300(262|38| 8 | 8 | 6 [22|100| 6 |14 |40 | M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD8-150-A3 | 251.8 |150 (11238 |10|10| 7 |27 (100| 8 |16 |27 | M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD8-200-A3 | 301.8 |200(16238|10|10| 7 |27 [100| 8 |16 |32| M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD8-250-A3 | 351.8 |250(212(38|10|10| 7 |27 (100| 8 |16 |37 | M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD8-300-A3 | 401.8 30026238 |10|10| 7 |27|100| 8 |16 |42 | M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD10-150-A3 | 251.8 (150|112 (38|10 (10 |10|35|100|10 |18 |29 | M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD10-200-A3 | 301.8 |200(162|38|10|10|10|35|100|10|18|34| M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD10-250-A3 | 351.8 (250|212 (38|10 |10 |10|35|100|10 |18 |39 | M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD10-300-A3 | 401.8 |300(262|38|10|10|10|35|100|10|18|44| M5*4*0.5P*H2.5 | 3° | 10
BT50-SLD12-150-A3 | 251.8 (150 (112 (38 (10|10 |10 |45 (10012 |22|33| M6*5*0.75P*H3 | 3° | 10
BT50-SLD12-200-A3 | 301.8 |200(162|38 |10 |10|10 |45 |100|12|22|38| M6*5*0.75P*H3 | 3° | 10
BT50-SLD12-250-A3 | 351.8 (250 (212 (38 (10|10 |10 |45 (10012 |22|43| M6*5*0.75P*H3 | 3° | 10
BT50-SLD12-300-A3 | 401.8 |300(262|38 |10 (10|10 |45 |100|12|22|48| M6*5*0.75P*H3 | 3° | 10
SLD ME X 7IRERATE AR :
SLD side fixed extension rod special screw
#M #& Model {ERIFL1Z D Using aperture | BT50 - SLD - 6 - 150 - A3
M3.5X3X P0.35XT6 D3 Taper
M4x2.8XP0.5XT8 D4 (LLEE Jiength(Ly)
M4X4XP0.5X T8 D4 .
M5 X 3.5 X P0.5 X T10 D6 Diameter
M5 X 5X P0.5XT10 D6 D8 D10 =@) Holder type
M6X4xP0.75XT15 D12 > 3% W R |tapersize
M6X6XP0.75X T15 D12
M8X5X P0.75 X L4 D16 D20
M4 % 2.8 X P0.5XH2 D4
M5X4XP0.5XH2.5 D6 D8 D10
M6 X4 X P0.75 X H3 D12
M6X5XP0.75X H3 D12

i BERF T, ABIRF W
ANERF  EXNBIES (FEEEHRT)
IBERF . FREHE




SIETIWMRT
BT30 SEMI-FINISHED TOOL HOLDER

FIG. 1

D1

35mm

D1

L3 |
L4 L2 35mm
« $ARAERE HRC50-53 « BHHERE HRCA0-45 L1
e Taper shank hardnessHRC50-53 e Front end hardness HRC40-45 L
# & Model L L1 L2 L3 L4 D D1 D2 FIG BEE KGS
BT30-D40-100 148.4 100 78 22 - 46 40 - 1
BT30-D40-125 173.4 125 103 22 - 46 40 - 1
BT30-D40-150 198.4 150 128 22 - 46 40 - 1
BT30-D40-175 223.4 175 153 22 - 46 40 - 1
BT30-D40-200 248.4 200 178 22 - 46 40 - 1
BT30-D40-225 273.4 225 203 22 - 46 40 - 1
BT30-D40-250 298.4 250 228 22 - 46 40 - 1
BT30-D63-100 148.4 100 68 22 32 46 63 44 2
BT30-D63-125 173.4 125 93 22 32 46 63 44 2
BT30-D63-150 198.4 150 118 22 32 46 63 44 2
BT30-D63-175 223.4 175 143 22 32 46 63 44 2
BT30-D63-200 248.4 200 168 22 32 46 63 44 2
BT30-D63-225 273.4 225 193 22 32 46 63 44 2
BT30-D63-250 298.4 250 218 22 32 46 63 44 2
BT30-D63-275 323.4 275 243 22 32 46 63 44 2
BT30-D63-300 348.4 300 268 22 32 46 63 44 2
BT30-D83-100 148.4 100 68 22 32 46 83 44 2
BT30-D83-125 173.4 125 93 22 32 46 83 44 2
BT30-D83-150 198.4 150 118 22 32 46 83 44 2
BT30-D83-175 223.4 175 143 22 32 46 83 44 2
BT30-D83-200 248.4 200 168 22 32 46 83 44 2
\\\ BT30-D83-225 273.4 225 193 22 32 46 83 44 2
,@ BT30-D83-250 298.4 250 218 22 32 46 83 44 2
Q BT30-D83-275 323.4 275 243 22 32 46 83 44 2
2 58 BT30-D83-300 348.4 300 268 22 32 46 83 44 2
O i BT30-D102-100 148.4 100 68 22 32 46 102 44 2
5' 7 BT30-D102-125 173.4 125 93 22 32 46 102 44 2
2 BT30-D102-150 198.4 150 118 22 32 46 102 44 2
n i BT30-D102-200 248.4 200 168 22 32 46 102 44 2
BT30-D127-100 148.4 100 68 22 32 46 127 44 2
BT30-D127-130 178.4 130 98 22 32 46 127 44 2




BT40- ERiW I 0l

SEMI-FINISHED TOOL HOLDER

FIG. 1

D

BT. NO y $5Smm
27, 777877,
—
L3 L2 35mm
D L1
L
FIG. 2 $5mm
BT. NO ﬁ
- — — — - L - J - ‘5
D A
L3
L4 35mm
* SEARIEE HRC50-53 * BIHEE HRCA40-45 L2
* Taper shank hardnessHRC50-53 e Front end hardness HRC40-45 L L1
#1 & Model L L1 L2 L3 L4 D D1 D2 FIG EE KGS
BT40-D40-100 165.4 100 73 27 - 63 40 - 1
BT40-D40-125 190.4 125 98 27 - 63 40 - 1
BT40-D40-150 215.4 150 123 27 - 63 40 - 1
BT40-D40-175 240.4 175 148 27 - 63 40 - 1
BT40-D40-200 265.4 200 173 27 - 63 40 - 1
BT40-D40-225 290.4 225 198 27 - 63 40 - 1
BT40-D40-250 315.4 250 223 27 - 63 40 - 1
BT40-D40-275 340.4 275 248 27 - 63 40 - 1
BT40-D40-300 365.4 300 273 27 - 63 40 - 1
BT40-D40-330 395.4 330 303 27 - 63 40 - 1
BT40-D50-100 165.4 100 73 27 - 63 50 - 1
BT40-D50-125 190.4 125 98 27 - 63 50 - 1
BT40-D50-150 215.4 150 123 27 - 63 50 - 1
BT40-D50-175 240.4 175 148 27 - 63 50 - 1
BT40-D50-200 265.4 200 173 27 - 63 50 - 1
BT40-D50-225 290.4 225 198 27 - 63 50 - 1
BT40-D50-250 315.4 250 223 27 - 63 50 - 1
BT40-D50-275 340.4 275 248 27 - 63 50 - 1
BT40-D50-300 365.4 300 273 27 - 63 50 - 1
BT40-D50-330 395.4 330 303 27 - 63 50 - 1
BT40-D63-100 165.4 100 63 27 37 63 63 61 2
BT40-D63-125 190.4 125 88 27 37 63 63 61 2
BT40-D63-150 215.4 150 113 27 37 63 63 61 2
BT40-D63-175 240.4 175 138 27 37 63 63 61 2
BT40-D63-200 265.4 200 163 27 37 63 63 61 2
BT40-D63-225 290.4 225 188 27 37 63 63 61 2
BT40-D63-250 315.4 250 213 27 37 63 63 61 2
BT40-D63-275 340.4 275 238 27 37 63 63 61 2
BT40-D63-300 365.4 300 263 27 37 63 63 61 2
BT40-D63-330 395.4 330 293 27 37 63 63 61 2
BT40-D73-100 165.4 100 63 27 37 63 73 61 2
BT40-D73-125 190.4 125 88 27 37 63 73 61 2
BT40-D73-150 215.4 150 113 27 37 63 73 61 2
BT40-D73-175 240.4 175 138 27 37 63 73 61 2
BT40-D73-200 265.4 200 163 27 37 63 73 61 2
BT40-D73-225 290.4 225 188 27 37 63 73 61 2
BT40-D73-250 315.4 250 213 27 37 63 73 61 2
BT40-D73-275 340.4 275 238 27 37 63 73 61 2
BT40-D73-300 365.4 300 263 27 37 63 73 61 2
BT40-D73-330 395.4 330 293 27 37 63 73 61 2




S EEVALER D

sy D= Ak BT30 SEMI-F INISHED TOOL HOLDER

BT. NO

L

I

7,

D1

D D2
L3 |
L4

o m.
L1
L
* $EIRAEE HRC50-53 * BiiHAEE HRC40-45
e Taper shank hardnessHRC50-53 e Front end hardness HRC40-45
# & Model L L1 L2 L3 L4 D D1 D2 BE KGS
BT40-D83-100 165.4 100 63 27 37 63 83 61
BT40-D83-125 190.4 125 88 27 37 63 83 61
BT40-D83-150 215.4 150 113 27 37 63 83 61
BT40-D83-175 240.4 175 138 27 37 63 83 61
BT40-D83-200 265.4 200 163 27 37 63 83 61
BT40-D83-225 290.4 225 188 27 37 63 83 61
BT40-D83-250 315.4 250 213 27 37 63 83 61
BT40-D83-275 340.4 275 238 27 37 63 83 61
BT40-D83-300 365.4 300 263 27 37 63 83 61
BT40-D83-330 395.4 330 293 27 37 63 83 61
BT40-D92-100 165.4 100 63 27 37 63 92 61
BT40-D92-125 190.4 125 88 27 37 63 92 61
BT40-D92-150 215.4 150 113 27 37 63 92 61
BT40-D92-175 240.4 175 138 27 37 63 92 61
BT40-D92-200 265.4 200 163 27 37 63 92 61
BT40-D92-225 290.4 225 188 27 37 63 92 61
BT40-D92-250 315.4 250 213 27 37 63 92 61
BT40-D92-275 340.4 275 238 27 37 63 92 61
BT40-D92-300 365.4 300 263 27 37 63 92 61
BT40-D92-330 395.4 330 293 27 37 63 92 61
BT40-D102-100 165.4 100 63 27 37 63 102 61
BT40-D102-125 190.4 125 88 27 37 63 102 61
BT40-D102-150 215.4 150 113 27 37 63 102 61
BT40-D102-175 240.4 175 138 27 37 63 102 61
BT40-D102-200 265.4 200 163 27 37 63 102 61
BT40-D102-225 290.4 225 188 27 37 63 102 61
BT40-D102-250 315.4 250 213 27 81l 63 102 61
\\\¢ BT40-D102-275 340.4 275 238 27 37 63 102 61
: Q BT40-D102-300 365.4 300 263 27 37 63 102 61
o BT40-D102-330 395.4 330 293 27 37 63 102 61
(E i BT40-D127-100 165.4 100 63 27 37 63 127 61
5! BT40-D127-130 195.4 130 93 27 37 63 127 61
o 7 BT40-D127-150 215.4 150 113 27 37 63 127 61
o L] BT40-D127-200 265.4 200 163 27 37 63 127 61
BT40-D157-110 175.4 110 73 27 37 63 157 61
BT40-D157-160 225.4 160 123 27 37 63 157 61
BT40-D157-210 275.4 210 173 27 37 63 157 61
BT40-D157-260 3254 260 223 27 37 63 157 61




SRSt Ak BT40 SEMI-F INISHED TOOL HOLDER

=)
\fl];ﬂl}—

D1

35mm
L2 DN
L1
L
* $EAREEE HRC50-53 * FiimAEE HRC40-45
e Taper shank hardnessHRC50-53 e Front end hardness HRC40-45
# #& Model L L1 L2 L3 L4 D D1 D2 EE KGS
BT50-D102-110 211.8 110 62 38 48 100 102 98
BT50-D102-160 261.8 160 112 38 48 100 102 98
BT50-D102-210 311.8 210 162 38 48 100 102 98
BT50-D102-260 361.8 260 212 38 48 100 102 98
BT50-D102-310 411.8 310 262 38 48 100 102 98
BT50-D127-110 211.8 110 62 38 48 100 127 98
BT50-D127-160 261.8 160 112 38 48 100 127 98
BT50-D127-210 311.8 210 162 38 48 100 127 98
BT50-D127-260 361.8 260 212 38 48 100 127 98
BT50-D127-310 411.8 310 262 38 48 100 127 98
BT50-D157-110 211.8 110 62 38 48 100 157 98
BT50-D157-160 261.8 160 112 38 48 100 157 98
BT50-D157-210 311.8 210 162 38 48 100 157 98
BT50-D157-260 361.8 260 212 38 48 100 157 98
BT50-D157-310 411.8 310 262 38 48 100 157 98

%

n o @v
N

(8]
=
(o]
-
o
o
-
(7]

Hd




S EEVALER D

BT30-DC [ghi{ 7]

BT30-DC BACK LOCKING COLLET HOLDER

FIG. 1 b
BT. NO
-
Fo 158
L4
L
FIG. 2 b
BT. NO
T et
R L2
= L3 L1
[ P.129 ]
#7148 Model L |w|2|3|s|p|p1|Dp2|D3|D4| a |1 FIG | %4438/ Range | B8 KGS
BT30-DC6-60 | 108.4 | 60 | 38 [ 22 | - | 46 13| - [165] 30 | - 2 2-6mm
BT30-DC6-90 | 138.4 | 90 | 68 [ 22 | - | 46 13| - [19.5] 30 | - 2 2-6mm
BT30-DC6-120 | 168.4 |120| 98 | 22 | - | 46 13| - 233 - 2 2-6mm
BT30-DC8-60 | 108.4 | 60 | 38 [ 22| - | 46 15| - [185] 3° | - 2 2-8mm
BT30-DC8-90 | 138.4 | 90 | 68 |22 | - | 46 15| - |215] 3° | - 2 2-8mm
BT30-DC8-120 | 168.4 |120| 98 | 22 | - | 46 15| - |245) 3° | - 2 2-8mm
BT30-DC10-90 | 138.4 | 90 |68 |22 | - | 46 2| - |29]3] - 2| 310mm
BT30-DC10-105 | 153.4 |105| 83 | 22 46 22 30 | 3° 1| 3-10mm
BT30-DC12-60 | 108.4 | 60 | 38 | 22 | - | 46 30| - [33.5) 3| - 2| 312mm
BT30-DC12-90 | 108.4 | 60 | 68 | 22 | - | 46 30| - [36.5 3| - 2| 312mm

2

@

%
=
7
A

0
=
(o]
-
o
o
-
(7]




BT40-DC Fhix{ 711/ BT40-DC BACK LOCKING COLLET HOLDER

F1G. 1
BT. NO

F1G. 2

#1& Model L L1 (L2 (L3 (L4 | D (D1|D2|D3|D4| a |al| R |FIG| FiFBE Range |EE KGS
BT40-DC6-90 155.4 | 90 |63 |27 | - |63 13| - |185/3°| - (10| 2 2-6mm
BT40-DC6-120 185.4(120| 93 [ 27 | - | 63 13| - [215/3°| - (10| 2 2-6mm
BT40-DC6-150 | 215.4 | 150 (123| 27 | - | 63 13| - |25|3°| - [10] 2 2-6mm
BT40-DC6-200 265.4 200 173 27 |118] 63 13 (25.5 43 | 10°| 3° 1 2-6mm
BT40-DC6-250 315.4 | 250 (223 27 |168| 63 13 (30.5| 48 | 10° | 3° 1 2-6mm
BT40-DC8-90 1554 90 |63 |27 | - |63 15| - 205/ 3°| - (10| 2 2-8mm
BT40-DC8-120 185.4|120| 93 | 27 | - | 63 15| - |235/3°| - (10| 2 2-8mm
BT40-DC8-150 215.4|150 |123( 27| - | 63 15| - |27|3°| - [10] 2 2-8mm
BT40-DC8-200 265.4 | 200 (173 | 27 |118| 63 15 |27.5( 45 | 10°| 3° 1 2-8mm
BT40-DC8-250 315.4 | 250 |223| 27 |168| 63 15 (32.5/ 50 | 10° | 3° 1 2-8mm
BT40-DC10-75 1404 | 75 |48 |27 | - | 63 22| - |26 (3°| - [10] 2 3-10mm
BT40-DC10-90 155.4 90 | 63 |27 | - | 63 22| - [275(3°| - |10 2 3-10mm
BT40-DC10-120 |185.4(120|93 [27 | - | 63 22| - [30.5(3°| - |10 2 3-10mm
BT40-DC12-90 155.4 | 90 |63 |27 | - | 63 30| - |35.55(3°| - |10 2 3-12mm
BT40-DC12-120 |(185.4|120| 93 (27 | - | 63 30| - [385[3°| - |10 2 3-12mm
BT40-DC12-150 |215.4 (150 |123|27 | - | 63 30| - [42(3°| - |10 2 3-12mm
BT40-DC12-200 | 265.4 | 200 |173| 27 | - | 63 30| - |47.5(3°| - | 5| 2 3-12mm

Y

N

y

>
=
7]
L]

(8]
=
(o]
-
o
o
-
(7]




BIETITR RS
BT50-DC BACK LOCKING COLLET HOLDER

FIG. 1
BT. NO D

FI6.2 D
BT.NO %
o L4
: L3 L
R - L1
L_P.120 ]

#14& Model L |t |12|L3|14| D |D1|D2|D3|D4| a |al| R |FIG| Ji¥EE Range | EE KGS
BT50-DC6-100 | 201.8 [100| 62 | 38 | - |100 13| - 185/ 3°| - [10] 2 2-6mm
BT50-DC6-150 | 251.8 (150|112 38 | - |100 13| - [235/3°| - |10 2 2-6mm
BT50-DC6-200 | 301.8 (200|162 38 | 102|100 13 [23.5) 41 [10°| 3° [ 10| 1 2-6mm
BT50-DC6-250 | 351.8 (250|212 38 |152|100 13 | 29 |46.5{10° | 3° | 10 | 1 2-6mm
BT50-DC6-300 | 401.8 (300|262 | 38 |202 | 100 13 | 34 |51.5{10° 3° |10 | 1 2-6mm
BT50-DC8-100 | 201.8 [100| 62 | 38 | - [100 15| - 205/ 3°| - |10 2 2-8mm
BT50-DC8-150 | 251.8 (150|112 38 | - [100 15| - |2555)3° | - |10 2 2-8mm
BT50-DC8-200 | 301.8 (200|162 38 | 102|100 15 [25.5) 43 [10°| 3° | 10 | 1 2-8mm
BT50-DC8-250 | 351.8 (250|212 38 |152|100 15 | 31 [48.5{10° | 3° | 10 | 1 2-8mm
BT50-DC8-300 | 401.8 (300|262 | 38 |202|100 15 | 36 [53.5{10° | 3° | 10 | 1 2-8mm
BT50-DC10-100 | 201.8 (100| 62 | 38 | - [100 22| - [275/3° | - |10 2 3-10mm
BT50-DC10-150 | 251.8 (150|112 38 | - [100 22| - (3253 | - |10] 2 3-10mm
BT50-DC10-200 | 301.8 (200|162 | 38 |102 | 100 22 [32.5/ 50 |10° | 3° | 10 | 1 3-10mm
BT50-DC12-100 | 201.8 [100| 62 | 38 | - [100 30| - (3553 | - |10] 2 3-12mm
BT50-DC12-150 | 251.8 (150|112 38 | - [100 30| - [405/3° | - |10 2 3-12mm
BT50-DC12-200 | 301.8 (200|162 | 38 |102|100 30 |40.5 58 |10° | 3° | 10 | 1 3-12mm
No BT50-DC12-250 | 351.8 (250|212 38 |152|100 30 | 46 (63.5/10° | 3° | 10 | 1 3-12mm
' BT50-DC12-300 | 401.8 (300|262 | 38 |202|100 30 | 51 (68.5/10° | 3° | 10 | 1 3-12mm

%
5
=
7]
i

()
=
(g}
—
o
o
-
(72}




BT30-GSK =& 7] BT30-GSK HIGH SPEED COLLET CHUCK

D T
BT. NO D2 M
L

1

#11& Model L L1 | L2 | L3 D D1 | D2 M FFFEE Range BE KGS
BT30-GSK06-60 108.4 | 60 38 22 46 | 19.5 | 20 M15.5*1.0P 2-6mm 0.51
BT30-GSK06-75 123.4 75 53 22 46 | 19.5| 20 M15.5*1.0P 2-6mm 0.53
BT30-GSK06-90 138.4 [ 90 68 22 46 | 19.5 | 20 M15.5*1.0P 2-6mm 0.55
BT30-GSK10-60 108.4 60 38 22 46 | 27.1 | 27.6 M21.5*1.0P 3-10mm 0.53
BT30-GSK10-75 123.4 75 53 22 46 | 27.1 | 27.6 M21.5*1.0P 3-10mm 0.6
BT30-GSK10-90 138.4 90 68 22 46 | 27.1 | 27.6 M21.5*1.0P 3-10mm 0.67
BT30-GSK10-120 168.4 | 120 | 98 22 46 | 27.1 | 27.6 M21.5*1.0P 3-10mm 0.74
BT30-GSK13-60 108.4 | 60 38 22 46 33 | 335 M27.0*1.0P 3-13mm 0.55
BT30-GSK13-75 1234 | 75 53 22 46 33 | 335 M27.0*1.0P 3-13mm 0.62
BT30-GSK13-90 138.4 920 68 22 46 33 | 33,5 M27.0*1.0P 3-13mm 0.69
BT30-GSK13-120 168.4 | 120 | 98 22 46 33 | 335 M27.0*1.0P 3-13mm 0.76
BT30-GSK16-60 108.4 60 38 22 46 40 | 405 M32.0*1.0P 3-16mm 0.58
BT30-GSK16-75 1234 | 75 53 22 46 40 | 40.5 M32.0*1.0P 3-16mm 0.64
BT30-GSK16-90 138.4 | 90 68 22 46 40 | 40.5 M32.0*1.0P 3-16mm 0.7
BT30-GSK16-120 168.4 | 120 | 98 22 46 40 | 40.5 M32.0*1.0P 3-16mm 0.76
BT30-GSK20-60 108.4 60 38 22 46 48 | 48.5 M40.0*1.0P 4-20mm 0.63
BT30-GSK20-75 1234 | 75 53 22 46 48 | 48.5 M40.0*1.0P 4-20mm 0.8
BT30-GSK20-90 138.4 90 68 22 46 48 | 48.5 M40.0*1.0P 4-20mm 0.97
BT30-GSK20-120 168.4 | 120 | 98 22 46 48 | 48.5 M40.0*1.0P 4-20mm 1.15

%

n o @v
N

()
=
(g}
—
o
o
-
(72}

Hd




SIETIWMRT
BT40-GSK HIGH SPEED COLLET CHUCK

BT. NO T

#11& Model L L1 | L2 | L3 D D1 D2 M HI556E Range | EE KGS
BT40-GSK06-60 125.4 | 60 33 27 63 | 19.5 20 M15.5*1.0P 2-6mm 0.96
BT40-GSK06-75 1404 | 75 48 27 63 [ 19.5 20 M15.5*1.0P 2-6mm 1.07
BT40-GSK06-90 155.4 | 90 63 27 63 | 19.5 20 M15.5*1.0P 2-6mm 1.18
BT40-GSK06-120 185.4 | 120 | 93 27 63 [ 19.5 20 M15.5*1.0P 2-6mm 1.3
BT40-GSK10-60 125.4 | 60 33 27 63 | 27.1 | 27.6 M21.5*1.0P 3-10mm 1.04
BT40-GSK10-75 140.4 | 75 48 27 63 | 27.1 27.6 M21.5*1.0P 3-10mm 1.15
BT40-GSK10-90 155.4 | 90 63 27 63 | 27.1 | 27.6 M21.5*1.0P 3-10mm 1.26
BT40-GSK10-120 185.4 | 120 | 93 27 63 |[27.1 27.6 M21.5*1.0P 3-10mm 1.37
BT40-GSK10-150 215.4 | 150 | 123 | 27 63 | 27.1 27.6 M21.5*1.0P 3-10mm 1.5
BT40-GSK13-60 125.4 | 60 33 27 63 33 33.5 M27.0*1.0P 3-13mm 1.12
BT40-GSK13-75 1404 | 75 48 27 63 33 3385 M27.0*1.0P 3-13mm 1.22
BT40-GSK13-90 155.4 | 90 63 27 63 33 33.5 M27.0*1.0P 3-13mm 1.33
BT40-GSK13-120 185.4 | 120 | 93 27 63 33 3385) M27.0*1.0P 3-13mm 1.44
BT40-GSK13-150 215.4 | 150 | 123 | 27 63 33 33.5 M27.0*1.0P 3-13mm 1.55
BT40-GSK16-60 125.4 | 60 33 27 63 40 40.5 M32.0*1.0P 3-16mm 1.2
BT40-GSK16-75 140.4 | 75 48 27 63 40 40.5 M32.0*1.0P 3-16mm 1.3
BT40-GSK16-90 155.4 | 90 63 27 63 40 40.5 M32.0*1.0P 3-16mm 1.4
BT40-GSK16-120 185.4 | 120 | 93 27 63 40 40.5 M32.0*1.0P 3-16mm 1.5
BT40-GSK16-150 215.4 | 150 | 123 | 27 63 40 40.5 M32.0*1.0P 3-16mm 1.6
BT40-GSK20-60 125.4 | 60 33 27 63 48 48.5 M40.0*1.0P 4-20mm 1
BT40-GSK20-75 1404 | 75 48 27 63 48 48.5 M40.0*1.0P 4-20mm 1.15
BT40-GSK20-90 155.4 | 90 63 27 63 48 48.5 M40.0*1.0P 4-20mm 1.3
BT40-GSK20-120 185.4 | 120 | 93 27 63 48 48.5 M40.0*1.0P 4-20mm 1.5
BT40-GSK20-150 215.4 | 150 | 123 | 27 63 48 48.5 M40.0*1.0P 4-20mm 1.7
BT40-GSK25-90 155.4 | 90 63 27 63 55 55.5 M45.0*1.0P 6-25mm 1.5
BT40-GSK25-120 185.4 | 120 | 93 27 63 55 55.5 M45.0*1.0P 6-25mm 1.8

Y
:

%
5
=
7]
i

()
=
(g}
—
o
o
-
(72}

S



BT50-GSK =& 711/ BT50-GSK HIGH SPEED COLLET CHUCK

BT. NO T

D2 M

—

e T TF@UT

D1

L3 L1 L2
L
#11& Model L L1 L2 | L3 D D1 | D2 M J35356E Range | E& KGS

BT50-GSK10-105 168.8 105 67 38 | 100 | 27.1 | 27.6 M21.5*1.0P 3-10mm 3.7
BT50-GSK10-135 198.8 135 97 38 | 100 | 27.1 | 27.6 M21.5*1.0P 3-10mm 3.8
BT50-GSK10-165 228.8 165 | 127 | 38 | 100 | 27.1 | 27.6 M21.5*1.0P 3-10mm 3.9
BT50-GSK13-105 168.8 105 67 38 | 100 | 33 | 33.5 M27.0*1.0P 3-13mm 3.8
BT50-GSK13-135 198.8 135 97 38 | 100 | 33 | 33.5 M27.0*1.0P 3-13mm 3.9
BT50-GSK13-165 228.8 165 | 127 | 38 | 100 | 33 | 33.5 M27.0*1.0P 3-13mm 4

BT50-GSK16-105 168.8 105 67 38 | 100 | 40 | 40.5 M32.0*1.0P 3-16mm 3.9
BT50-GSK16-135 198.8 135 97 38 | 100 | 40 | 40.5 M32.0*1.0P 3-16mm 4

BT50-GSK16-165 228.8 165 | 127 | 38 | 100 | 40 | 40.5 M32.0*1.0P 3-16mm 4.1
BT50-GSK16-200 263.8 200 | 162 | 38 | 100 [ 40 | 40.5 M32.0*1.0P 3-16mm 4.3
BT50-GSK20-105 168.8 105 67 38 | 100 | 48 | 48.5 M40.0*1.0P 4-20mm 4

BT50-GSK20-135 198.8 135 97 38 | 100 | 48 | 48.5 M40.0*1.0P 4-20mm 4.2
BT50-GSK20-165 228.8 165 | 127 | 38 | 100 | 48 | 48.5 M40.0*1.0P 4-20mm 4.4
BT50-GSK20-200 263.8 200 | 162 | 38 | 100 [ 48 | 48.5 M40.0*1.0P 4-20mm 4.6
BT50-GSK25-105 168.8 105 67 38 | 100 | 55 | 55.5 M45.0*1.0P 6-25mm 4.1
BT50-GSK25-135 198.8 135 97 38 [ 100 | 55 | 55.5 M45.0*1.0P 6-25mm 4.43
BT50-GSK25-165 228.8 165 | 127 | 38 | 100 | 55 | 55.5 M45.0*1.0P 6-25mm 4.76
BT50-GSK25-200 263.8 200 | 162 | 38 100 | 55 | 55.5 M45.0*1.0P 6-25mm 5.1

%

n o @v
N

(8]
=
(o]
-
o
o
-
(7]

Hd




BIETITR RS
BT-M THERADED CHUCK

BT. NO
M
|1 (]
m
| L2
L1
L
#11& Model L L1 L2 L3 L4 D D1 D2 M R B= KGS
BT30-M08-60 108.4 60 38 22 | 12 | 46 | 154 | 85 M8*1.25P 4
BT30-M08-90 138.4 90 68 22 | 12 | 46 | 154 | 8.5 M8*1.25P 4 0.5
BT30-M08-110 158.4 | 110 88 22 | 12 | 46 | 154 | 85 M8*1.25P 4
BT30-M10-60 108.4 60 38 22 | 12 | 46 19 10.5 M10*1.5P 4
BT30-M10-90 138.4 | 90 68 22 | 12 | 46 19 10.5 M10*1.5P 4 0.5
BT30-M10-110 158.4 | 110 88 22 | 12 | 46 19 10.5 M10*1.5P 4
BT30-M12-60 108.4 60 38 22 | 12 | 46 24 | 12.5 | M12*1.75P 4
BT30-M12-90 138.4 90 68 22 | 12 | 46 24 | 12.5 | M12*1.75P 4 0.6
BT30-M12-110 158.4 | 110 88 22 | 12 | 46 24 | 12.5 | M12*1.75P 4
BT30-M16-60 108.4 60 38 22 | 12 | 46 29 17 M16*2.0P 4
BT30-M16-90 1384 | 90 68 22 | 12 | 46 29 17 M16*2.0P 4 0.7
BT30-M16-110 158.4 | 110 88 22 | 12 | 46 29 17 M16*2.0P 4
BT40-M08-60 125.4 60 33 27 | 12 | 63 | 154 | 85 M8*1.25P 10 1.1
BT40-M08-90 155.4 90 63 27 | 12 | 63 | 154 | 85 M8*1.25P 10 1.2
BT40-M08-110 175.4 | 110 83 27 | 12 | 63 | 154 | 8.5 M8*1.25P 10 1.2
BT40-M10-60 125.4 60 33 27 12 | 63 19 10.5 M10*1.5P 10 1.1
BT40-M10-90 155.4 | 90 63 27 | 12 | 63 19 10.5 M10*1.5P 10 1.1
BT40-M10-110 175.4 | 110 83 27 12 | 63 19 10.5 M10*1.5P 10 1.2
BT40-M12-60 125.4 60 33 27 | 12 | 63 24 | 12.5 | M12*1.75P 10 1.2
BT40-M12-90 155.4 90 63 27 12 | 63 24 | 12.5 | M12*1.75P 10 1.3
BT40-M12-110 175.4 | 110 83 27 | 12 | 63 24 | 12.5 | M12*1.75P 10 1.3
BT40-M16-60 125.4 60 33 27 12 | 63 29 17 M16*2.0P 10 1.2
BT40-M16-90 155.4 90 63 27 12 | 63 29 17 M16*2.0P 10 1.3
BT40-M16-110 175.4 | 110 83 27 12 | 63 29 17 M16*2.0P 10 1.4
BT50-M08-60 161.8 60 22 38 | 12 | 100 | 15.4 | 8.5 M8*1.25P 10
,\\\ BT50-M08-90 191.8 90 52 38 12 | 100 | 15.4 | 8.5 M8*1.25P 10 3.8
2 BT50-M08-110 211.8 | 110 72 38 | 12 | 100 | 15.4 | 8.5 M8*1.25P 10 3.8
$ BT50-M10-60 161.8 60 22 38 12 | 100 | 19 10.5 M10*1.5P 10
:z: gf BT50-M10-90 191.8 90 52 38 | 12 | 100 | 19 10.5 M10*1.5P 10 3.8
- & BT50-M10-110 211.8 | 110 72 38 12 | 100 | 19 10.5 M10*1.5P 10 3.8
8 7 BT50-M12-60 161.8 60 22 38 | 12 | 100 | 24 | 12.5 | MI12*1.75P 10
1 BT50-M12-90 191.8 90 52 38 12 | 100 | 24 | 12.5 | M12*1.75P 10 3.9
BT50-M12-110 211.8 | 110 72 38 | 12 | 100 | 24 | 12.5 | MI12*1.75P 10 3.9
BT50-M16-60 161.8 60 22 38 | 12 | 100 | 29 17 M16*2.0P 10 3.9
BT50-M16-90 191.8 90 52 38 | 12 | 100 | 29 17 M16*2.0P 10 3.9
BT50-M16-110 211.8 | 110 72 38 | 12 | 100 | 29 17 M16*2.0P 10 3.9




BT30/40-M SBSUEIETIN (RIH) | 208 == e

BT. NO

¥4& Model L L1 L2 L3 L4 D D1 | D2 | D3 M a R EE KGS

BT30-M08-60-A5 108.4 | 60 38 22 12 46 | 154 | 8.5 |19.5| M8*1.25P | 5° 4 0.5
BT30-M08-90-A5 138.4 | 90 68 22 12 46 | 154 | 8.5 | 24.5| M8*1.25P | 5° 4
BT30-M10-60-A4 108.4 | 60 38 22 12 46 19 | 10.5 | 22 M10*1.5P | 4° 4 0.5
BT30-M10-90-A4 138.4 | 90 68 22 12 46 19 | 10.5| 26 M10*1.5P | 4° 4
BT30-M12-60-A4 108.4 | 60 38 22 12 46 24 | 12,5 | 27 | M12*1.75P | 4° 4 0.5
BT30-M12-90-A4 138.4 | 90 68 22 12 46 24 | 12.5 | 31.5 | M12*1.75P | 4° 2
BT30-M16-60-A4 108.4 | 60 38 22 12 46 29 17 | 32.5| M16*2.0P | 4° 2 0.6
BT30-M16-90-A4 138.4 | 90 68 22 12 46 29 17 | 36.5 | M16*2.0P | 4° 2 0.7
BT40-M08-60-A5 125.4 | 60 33 27 12 63 |15.4 | 8.5 | 18 M8*1.25P | 5° 5 1.1
BT40-M08-90-A5 155.4 | 90 63 27 12 63 | 15.4 | 8.5 | 23.5| M8*1.25P | 5° 5 1.2
BT40-M08-110-A5 175.4 | 110 | 83 27 12 63 | 15.4 | 85 | 27 M8*1.25P | 5° 5 13
BT40-M08-150-A5 215.4 | 150 | 123 | 27 12 63 | 154 | 85 | 34 M8*1.25P 5° 5 1.5
BT40-M08-200-A5 265.4 | 200 | 173 | 27 12 63 | 15.4 | 8.5 | 42.5 | M8*1.25P 5° 5
BT40-M10-60-A4 125.4 | 60 33 27 12 63 19 |10.5|21.5| M10*1.5P 4° 5 1.1
BT40-M10-90-A4 155.4 | 90 63 27 12 63 19 | 10.5 | 25.5 | M10*1.5P | 4° 5 1.2
BT40-M10-110-A4 175.4 | 110 | 83 27 12 63 19 | 10.5 | 28.5 | M10*1.5P 4° 5 1.3
BT40-M10-150-A4 215.4 | 150 | 123 | 27 12 63 19 | 105 | 34 M10*1.5P | 4° 5 1.6
BT40-M10-200-A4 265.4 | 200 | 173 | 27 12 63 19 |10.5| 41 M10*1.5P 4° 5 2
BT40-M12-60-A4 125.4 | 60 33 27 12 63 23 | 12,5 | 25.5 | M12*1.75P | 4° 5 1.2
BT40-M12-90-A4 155.4 | 90 63 27 12 63 23 | 12.5|29.5 | M12*1.75P | 4° 5 1.2
BT40-M12-110-A4 175.4 | 110 | 83 27 12 63 23 | 12.5 | 32.5 | M12*1.75P | 4° 5 1.5
BT40-M12-135-A4 200.4 | 135 | 108 | 27 12 63 23 | 12.5| 36 | M12*1.75P | 4° 5 1.6
BT40-M12-150-A4 215.4 | 150 | 123 | 27 12 63 23 | 12.5| 38 | M12*1.75P | 4° 5 1.7
BT40-M12-200-A4 265.4 | 200 | 173 | 27 12 63 23 | 12.5| 45 | M12*1.75P | #° 5 2.5
BT40-M16-60-A4 125.4 | 60 33 27 12 63 |28.8 | 17 31 M16*2.0P | 4° 5
BT40-M16-90-A4 155.4 | 90 63 27 12 63 |28.8| 17 | 35.5| M16*2.0Pp | 4° 5
BT40-M16-110-A4 175.4 | 110 | 83 27 12 63 |28.8 | 17 38 M16*2.0P | 4° 5
BT40-M16-135-A4 200.4 | 135 | 108 | 27 12 63 |28.8| 17 | 41.5| M16*2.0Pp | 4° 5 17
BT40-M16-150-A4 215.4 | 150 | 123 | 27 12 63 |28.8| 17 |43.5| M16*2.0P | 4° D)
BT40-M16-200-A4 265.4 | 200 | 173 | 27 12 63 |28.8| 17 |50.5| M16*2.0Pp | 4° 5

Y

N

y

>
=
7]
L]

()
=
(g}
—
o
o
-
(72}

e oo I



S EEVALER D

BT50-M 2480EE I ($14/) BT50-M THERADED CHUCK

st= |

D

L3

L2

L1

##& Model L L1 L2 L3 L4 D D1 D2 D3 M a R EE KGS
BT50-M08-60-A5 161.8 | 60 22 38 12 | 100 | 154 | 8.5 17.5 | M8*1.25P 5° | 10
BT50-M08-90-A5 194.8 | 90 52 38 12 | 100 | 15.4 | 8.5 | 20.5 | M8*1.25P 5° | 10 3.9

BT50-M08-110-A5 211.8| 110 | 72 38 12 | 100 | 154 | 8.5 24 M8*1.25P 5° | 10 4
BT50-M08-150-A5 251.8 | 150 | 112 | 38 12 | 100 [ 15.4| 8.5 31 M8*1.25P 5° [ 10 4.3
BT50-M08-200-A5 301.8 | 200 | 162 | 38 12 | 100 | 15.4| 8.5 40 M8*1.25P 5° [ 10 5
BT50-M08-250-A5 351.8 | 250 | 212 | 38 12 | 100 | 15.4 | 8.5 | 48.5 | M8*1.25P 5° | 10
BT50-M08-300-A5 401.8 | 300 | 262 | 38 12 | 100 (154 | 85 | 57.5 | M8*1.25P 5° | 10
BT50-M10-60-A4 161.8 | 60 22 38 12 | 100 | 19 | 10.5 | 20.5 | M10*1.5P 4° | 10
BT50-M10-90-A4 194.8 | 90 52 38 12 | 100 | 19 | 10.5 23 M10*1.5P 4° [ 10 3.9
BT50-M10-110-A4 211.8 | 110 | 72 38 12 | 100 | 19 | 10.5 26 M10*1.5P 4° | 10 4
BT50-M10-150-A4 251.8 | 150 | 112 | 38 12 | 100 | 19 | 10.5 | 31.5 | M10*1.5P 4° | 10 4.3
BT50-M10-200-A4 301.8 | 200 | 162 | 38 12 | 100 | 19 | 10.5 | 38.5 | M10*1.5P 4° | 10 4.7
BT50-M10-250-A4 351.8 | 250 | 212 | 38 12 (100 | 19 | 10.5 | 45.5 | M10*1.5P 4° [ 10
BT50-M10-300-A4 401.8 | 300 | 262 | 38 12 | 100 | 19 | 10.5 | 52.5 | M10*1.5P 4° | 10 6.4
BT50-M12-60-A4 161.8 | 60 22 38 12 | 100 | 24 | 12.5 | 25.5 | M12*1.75P | 4° | 10
BT50-M12-90-A4 194.8 | 90 52 38 12 | 100 | 24 | 12.5 28 M12*1.75P | 4° | 10 4.2
BT50-M12-110-A4 211.8 | 110 | 72 38 12 | 100 | 24 | 12.5 31 M12*1.75P | 4° | 10 4.1
BT50-M12-135-A4 236.8 | 135 | 97 38 12 | 100 | 24 | 12.5 | 34.5 | M12*1.75P | 4° | 10 4.3
BT50-M12-150-A4 251.8 | 150 | 112 | 38 12 | 100 | 24 | 12.5 | 36.5 | M12*1.75P | 4° | 10 4.6
BT50-M12-200-A4 301.8 | 200 | 162 | 38 12 | 100 | 24 | 12.5 | 43.5 | M12*1.75P | 4° | 10 5.2
BT50-M12-250-A4 351.8 | 250 | 212 | 38 12 | 100 | 24 | 12.5 | 50.5 | M12*1.75P | 4° | 10 5.8
BT50-M12-300-A4 401.8 | 300 | 262 | 38 12 | 100 | 24 | 12.5 | 57.5 | M12*1.75P | 4° | 10 7.2
BT50-M16-60-A4 161.8 | 60 22 38 12 | 100 | 29 17 30.5 | M16*2.0Pp | 4° | 10
BT50-M16-90-A4 194.8 | 90 52 38 12 | 100 | 29 17 33 M16*2.0P 4° | 10 4
BT50-M16-110-A4 211.8 | 110 | 72 38 12 | 100 | 29 17 36 M16*2.0P | 4° | 10 4.2
BT50-M16-135-A4 236.8 | 135 | 97 38 12 | 100 | 29 17 39.5 | M16*2.0P 4° | 10 4.4
BT50-M16-150-A4 251.8 | 150 | 112 | 38 12 | 100 | 29 17 41.5 | M16*2.0P | 4° | 10 4.8
BT50-M16-200-A4 301.8 | 200 | 162 | 38 12 | 100 | 29 17 48.5 | M16*2.0P 4° | 10 5.5
BT50-M16-250-A4 351.8 | 250 | 212 | 38 12 | 100 | 29 17 55.5 | M16*2.0Pp | 4° | 10 6.2
BT50-M16-300-A4 401.8 | 300 | 262 | 38 12 | 100 | 29 17 62.5 | M16*2.0P 4° | 10

%
5
=
7]
i

S71001 OND




BT-HGER 5% 7]/ BT-HGER HIGH SPEED ER COLLET CHUCK

BT. NO
.
755
R
\f o

_ L3 L1

X L

20

#E Model L B 2 3 D1 D2 T %3780 Range | BE KGS

BT30-HGER16-60 1084 | 60 38 22 30 | 305 | TR22°15 | 3-10mm
BT30-HGER16-75 1234 | 15 53 22 30 | 305 | TR22°1.5 | 3-10mm
BT30-HGER16-90 138.4 | 90 68 22 30 | 305 | TR22°15 | 3-10mm
BT30-HGER16-120 168.4 | 120 | 98 | 222 | 30 | 305 | TR22*1.5 | 3-10mm
BT30-HGER20-60 108.4 | 60 38 2 32 | 325 | TR26°1.5 | 3-13mm
BT30-HGER20-75 1234 | 15 53 22 32 | 325 | TR26°1.5 | 3-13mm
BT30-HGER20-90 1384 | 90 68 22 32 | 325 | TR26°15 | 3-13mm
BT30-HGER20-120 1684 | 120 | 98 22 32 | 325 | TR26°L5 | 3-13mm
BT30-HGER25-60 1084 | 60 38 2 40 | 40.5 | TR32°1.5 | 3-16mm
BT30-HGER25-75 1234 | 15 53 22 40 | 40.5 | TR32*15 | 3-16mm
BT30-HGER25-90 1384 | 90 68 22 40 | 405 | TR32°1.5 | 3-16mm
BT30-HGER25-120 168.4 | 120 | 98 22 40 | 405 | TR32*1.5 | 3-16mm
BT30-HGER32-75 1234 | 15 53 2 50 45 | TRA0*15 | 3-20mm
BT30-HGER32-90 1384 | 90 68 22 50 45 | TR40*1.5 |  3-20mm
BT30-HGER32-120 1684 | 120 | 98 22 50 45 | TR40°15 | 3-20mm
BT40-HGER16-75 1404 | 15 48 27 30 | 305 | TR22°15 | 3-20mm
BT40-HGER16-90 1554 | 90 63 27 30 | 305 | TR22°15 | 3-10mm
BT40-HGER16-120 1854 | 120 | 93 27 30 | 305 | TR22°15 |  3-10mm
BT40-HGER16-150 2154 | 150 | 123 | 27 30 | 305 | TR22°15 | 3-10mm
BT40-HGER20-75 1404 | 75 48 27 32 | 325 | TR26*°15 | 3-13mm
BT40-HGER20-90 1554 | 90 63 27 32 | 325 | TR26°15 | 3-13mm
BT40-HGER20-120 185.4 | 120 | 93 27 32 | 325 | TR26*1.5 | 3-13mm
BT40-HGER20-150 2154 | 150 | 123 | 27 32 | 325 | TR26*1.5 | 3-13mm
BT40-HGER25-75 1404 | 75 48 27 40 | 40.5 | TR32°15 | 3-16mm
BT40-HGER25-90 1554 | 90 63 27 20 | 405 | TR32°15 | 3-16mm
BT40-HGER25-120 185.4 | 120 | 93 27 40 | 405 | TR32°1.5 | 3-16mm
BT40-HGER25-150 2154 | 150 | 123 | 27 40 | 405 | TR32°15 | 3-16mm
BT40-HGER32-75 1404 | 75 48 27 50 | 50.5 | TR40*1.5 |  3-20mm
BT40-HGER32-90 1554 | 90 63 27 50 | 50.5 | TR40°15 |  3-20mm
BT40-HGER32-120 185.4 | 120 | 93 27 50 | 50.5 | TR40*1.5 |  3-20mm
BT40-HGER32-150 2154 | 150 | 123 | 27 50 | 50.5 | TR40*15 |  3-20mm
BT50-HGER16-105 206.8 | 105 | 67 38 30 | 305 | TR22°15 |  3-10mm
BT50-HGER16-135 236.8 | 135 | 97 38 30 | 305 | TR22°15 | 3-10mm
BT50-HGER16-165 266.8 | 165 | 127 | 38 30 | 305 | TR22°15 |  3-10mm
BT50-HGER20-105 206.8 | 105 | 67 38 32 | 325 | TR26°1.5 | 3-13mm
BT50-HGER20-135 236.8 | 135 | 97 38 32 | 325 | TR26°15 | 3-13mm
BT50-HGER20-165 266.8 | 165 | 127 | 38 32 | 325 | TR26°15 | 3-13mm
BT50-HGER25-105 206.8 | 105 | 67 38 40 | 405 | TR32°15 | 3-16mm
BT50-HGER25-135 236.8 | 135 | 9F 38 40 | 405 | TR32°1.5 | 3-16mm
BT50-HGER25-165 266.8 | 165 | 127 | 38 40 | 40.5 | TR32°15 | 3-16mm
BT50-HGER25-200 301.8 | 200 | 162 | 38 40 | 405 | TR32°1.5 | 3-16mm
BT50-HGER32-105 206.8 | 105 | 67 38 50 | 50.5 | TR40*1.5 |  3-20mm
BT50-HGER32-135 236.8 | 135 | 97 38 50 | 50.5 | TR40°1.5 | 3-20mm
BT50-HGER32-165 266.8 | 165 | 127 | 38 50 | 50.5 | TR40*1.5 | 3-20mm
BT50-HGER32-200 301.8 | 200 | 162 | 38 50 | 50.5 | TR40"1.5 | 3-20mm

e I



SIETIWMRT
BT-MOD MODULAR TOOL HOLDER

FIG. 1 BT. NO

=

L1

D

L3
L
FIG. 2 BT. NO % gj
|
p— i 1| 1S
|
{ = e
13 L2
] L1
e L
[ P.129 ]

#1#& Model L L1 L2 L3 D D1 d Gl G B KGS
BT30-MOD060-040 88.4 40 | 18 | 22 | 46 | 60 | 30 M8*1.0P M5*0.8P 0.7
BT30-MODO070-040 88.4 40 18 | 22 | 46 | 70 | 35 M8*1.0P M6*1.0P 0.8
BT40-MOD060-055 1204 | 55 | 28 | 27 | 63 | 60 | 30 M8*1.0P M5*0.8P 1.5
BT40-MOD070-055 1204 | 55 | 28 | 27 | 63 | 70 | 35 M8*1.0P M6*1.0P 1.6
BT40-MOD080-065 1304 | 65 | 38 | 27 | 63 | 80 | 40 M8*1.0P M6*1.0P 2
BT40-MOD100-070 1354 | 70 | 43 | 27 | 63 | 100 | 50 | M10*1.0Pp | M8*1.25P 2.6
BT45-MOD060-065 1478 | 65 | 32 | 33 | 8 | 60 | 30 M8*1.0P M5*0.8P 3
BT45-MOD070-065 1478 | 65 | 32 | 33 | 8 | 70 | 35 M8*1.0P M6*1.0P 3.1
BT45-MOD080-065 147.8 | 65 | 32 | 33 | 8 | 80 | 40 M8*1.0P M6*1.0P 3.3
BT45-MOD100-075 1578 | 75 | 42 | 33 | 8 | 100 | 50 | M10*1.0p | M8*1.25P 3.5
BT45-MOD117-075 1578 | 75 | 42 | 33 | 8 | 117 | 60 | M10*1.0P | M8*1.25P 4.4
BT50-MOD060-070 171.8 | 70 | 32 | 38 | 100 | 60 | 30 M8*1.0P M5*0.8P 4.8
BT50-MOD070-070 171.8 | 70 | 32 | 38 [ 100 | 70 | 35 M8*1.0P M6*1.0P 4.9
BT50-MOD080-070 171.8 | 70 | 32 | 38 | 100 | 80 | 40 M8*1.0P M6*1.0P 5.1
BT50-MOD100-070 171.8 | 70 | 32 | 38 | 100 | 100 | 50 | M10*1.0P | M8*1.25P 5.3
BT50-MOD117-080 181.8 | 80 | 42 | 38 | 100 | 117 | 60 | M10*1.0P | M8*1.25P 6.3
BT50-MOD140-080 181.8 | 80 | 42 | 38 | 100 | 140 | 80 | M10*1.0P | M8*1.25P 6.6

N
\\.@:‘@ Nominalsize | 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160
N R ol module

2 54 ) & @ diameter D 60 70 80 100 | 117 | 140 | 180 | 210
P ;; D2+/-0.1 44 | 53 | 63 | 79 | 96 | 119 | 150 | 185
3 — D3F8 30 | 35 | 40 | 50 | 60 | 80 | 100 | 120
S R D4 31 | 36 | 41 | 51 | 61 | 81 | 101 | 121
o i JH e D5 45 | 5 5 5 6 6 6 6
) o L1 12 | 12 | 12 | 14 | 14 | 14 | 24 | 37
‘ 30° L2 7 7 7 8 8 8 8 8

‘ Gl M5 | M6 | M6 | M8 | M8 | M10 | M12 | M12

@ ] G2 M8*1 | M8*1 | M8*1 [M10*1|M10*1|M10*1|M10*1|M10*1
L2 rpiiae T 11 | 14 | 14 | 15 | 15 | 18 | 25 | 25

T1+0.5 3 | 35| 35 | 35 | 45 | 45 | 45 | 45

S



[e)p == MOD FLANGE PLATE

alo

FIG. 1

a|lo

FIG. 2
1 #% Model D D1 d dl d2 L L1 L2 L3 PCD FIG
MOD060-GSK16-48 60 40 30 6 9 58 48 10 15 44 1
MOD070-GSK16-48 70 40 35 7 11 58 48 10 15 53 1
MOD080-GSK16-49 80 40 40 7 11 59 49 10 16 63 1
MOD080-ER32-49 80 50 40 7 11 59 49 10 16 63 2
MOD100-ER40-63 100 63 50 9 14 75 63 12 18 79 2

A
#
7
7]
L]

S71001 OND

e o7



SIETIWMRT
BT-MOD ADJUSTABLE CHUCK (REAMER USING)

1 1& Model L L1 | L2 | L3 | L4 D | D1 | d3¥FEE Range | #{ERFE Collets
BT30-MOD060-GSK16-88 136.4 | 88 66 22 48 46 40 3-16mm GSK16
BT30-MODO070-GSK16-88 136.4 | 88 66 22 48 46 40 3-16mm GSK16
BT40-MOD060-GSK16-103 168.4 | 103 | 76 27 48 63 40 3-16mm GSK16
BT40-MOD070-GSK16-103 168.4 | 103 | 76 27 48 63 40 3-16mm GSK16
BT40-MOD080-ER32-114 179.4 | 114 | 87 27 49 63 50 2-20mm ER32
BT40-MOD080-GSK16-114 179.4 | 114 | 87 27 49 63 40 3-16mm GSK16
BT40-MOD100-ER40-133 198.4 | 133 | 106 | 27 63 63 63 2-26mm ER40
BT50-MOD060-GSK16-118 219.8 | 118 | 80 38 48 | 100 | 40 3-16mm GSK16
BT50-MOD070-GSK16-118 219.8 | 118 | 80 38 48 | 100 | 40 3-16mm GSK16
BT50-MOD080-ER32-119 220.8 | 119 | 81 38 49 | 100 | 50 2-20mm ER32
BT50-MOD080-GSK16-119 220.8 | 119 | 81 38 49 | 100 | 40 3-16mm GSK16
BT50-MOD100-ER40-133 134.8 | 133 | 95 38 63 | 100 | 63 2-26mm ER40

i

B} ¥ 5 340438

SCREW ADJUST
A2 1L
s\0
LS’\ W -
% [ zero : %
“O” g H
A\
o# — AN
ok 5
o D
o 1R
5 Features:
OTIRUBTIAE “0” {iE O The tool tip postition can be adjusted as “0” position.
OMMEM. %L, TJENEIHEEET—RAEE © The accumulated error value of the spindle,the chuck,and

the tool can all be adjusted and corrected at the same time.

S



[

BT-EMH JETTING END MILL HOLDER

BT-EMH 548!

FIG. 1

wz

BT.NO H1

Vol
D1

<

FIG. 2
BT. NO

L
1 1§ Model d1 D1 L H H1 FIG M EE KGS

BT40AD/B-EMH6C-50 6 25 50 35 18 1 M6*1.0P 1
BT40AD/B-EMH8C-50 8 28 50 35 18 1 M8*1.25P 1
BT40AD/B-EMH10C-63 10 35 63 35.5 20 1 M10*1.5P 1.1
BT40AD/B-EMH12C-63 12 42 63 36 22.5 1 M12*1.75P 1.3
BT40AD/B-EMH14C-63 14 44 63 36 22.5 1 M12*1.75P 1.4
BT40AD/B-EMH16C-63 16 48 63 46 24 1 M14*2.0P 1.7
BT40AD/B-EMH18C-63 18 50 63 46 24 1 M14*2.0P 1.7
BT40AD/B-EMH20C-63 20 52 63 48 25 1 M16*2.0P 1.8
BT40AD/B-EMH25C-90 25 65 920 55 25 2 M18*2.5P 1.8
BT40AD/B-EMH32C-100 32 72 100 57 28 2 M20*2.5P 2
BT50AD/B-EMH6C-63 6 25 63 35 18 1 M6*1.0P 3.3
BT50AD/B-EMH8C-63 8 28 63 35 18 1 M8*1.25P 3.6
BT50AD/B-EMH10C-65 10 35 65 35.5 20 1 M10*1.5P 3.8
BT50AD/B-EMH12C-80 12 42 80 36 22.5 1 M12*1.75P 3.8
BT50AD/B-EMH14C-80 14 44 80 36 22.5 1 M12*1.75P 4
BT50AD/B-EMH16C-80 16 48 80 46 24 1 M14*2.0P 4
BT50AD/B-EMH18C-80 18 50 80 46 24 1 M14*2.0P 4.2
BT50AD/B-EMH20C-80 20 52 80 48 25 1 M16*2.0P 4.2
BT50AD/B-EMH25C-100 25 65 100 55 25 2 M18*2.5P 4.6
BT50AD/B-EMH32C-105 32 72 105 57 28 2 M20*2.5P 4.7
BT50AD/B-EMH40C-120 40 90 120 68 32 2 M20*2.5P 4.9

¢ o I



HETIMARS
SPINDLE TENSION METER

Al
L5 L6

g | 15 Model L1 L2 L3 L4 L5 L6 D1 D2 D3

BT30 171.2 23 50.4 20 62 15.8 46 70 50

BT40 187.4 32 67.4 10 63 15 63 72 50

BT50 240.6 45 104.8 12 63 15.8 100 84 50

ERTHICIEE LATHE SPINDLE INSPECTION BAR

Flig [ 315 Model D d L L1 L2 D1 d1 d2
A2-4 108 50 330 300 30 82.6 11 14.25
A2-5 130 50 330 300 30 104.8 11 15.9
A2-6 160 50 330 300 30 1334 13 19.05
A2-8 210 50 330 300 30 171.4 17 23.8
A2-11 280 50 390 350 40 235 21 28.6
A2-15 380 80 390 350 40 330.2 25 34.9

5
=
7]
i

0
=
(o]
-
o
o
-
(7]

S



EE&D *ﬁﬁﬁﬁﬁ,ﬁ SIDE LOCK OIL HOLE HOLDER USAGE METHOD
. HRTIARSE . TIER 1S IRAAT

)
14 | ?

B=5: FiinEIT E2SRAT
QSREMFREBRIABE)

s
JE|
S
g
A
>
bE
m
H

k& FHL: KK, BENETH, BAUUERT,
CEE: EXMENTIES, TREDEIH)

"

A
é
#
7
7]
L]

S71001 OND




I TIR RS
RSO SIS S Ak R e =e 795 WTA-OHS SIDE LOCK OIL HOLE HOLDER (BUILT IN BEARING)

1@k
m\ | ! ,
E — e e e e o [eee
I A

I— - 1] Fﬁ 12 L1
—— e L

F 003 |

g [ 8BS Model L L1 L2 D D1 D2 d

MTA4-OHS20 120 25 - 31.267 50 82 20
MTA4-OHS25 130 15 20 31.267 50 82 25
MTA4-OHS32 140 15 20 31.267 60 98 32
MTA4-OHS40 150 15 25 31.267 60 98 40

SR p0) (3B Al a9 B BT-0HER SIDE LOCK OIL HOLE HOLDER (BUILT IN BEARING)

D1

L2

L1

Fiig | 15 Model d L L1 L2 D D1

BT40-OHER20-165 20 218.4 165 40 34 D82
BT40-OHER25-165 25 218.4 165 40 42 $82
BT40-OHER32-165 32 218.4 165 40 50 $82
BT40-OHER40-165 40 218.4 165 40 63 $82
BT50-OHER20-170 20 259.8 170 50 34 $82
BT50-OHER25-170 25 259.8 170 50 42 $82
BT50-OHER32-170 32 259.8 170 50 50 $82
BT50-OHER40-170 40 259.8 170 50 63 982

S71001 OND




SRR )RR A e = 9 S BT-0HS SIDE LOCK OIL HOLE HOLDER (BUILT IN BEARING)

L3 L4 2B
\H/ T “r*:T‘/
‘} EREEE
ool lerte
- _
F—- -—- - -— o o a
- 4
L L2
Hi& | B2 Model d L L1 L2 L3 L4 D D1
BT40-OHS16-150 16 215.4 150 36 25 ©49.5 82
BT40-OHS20-150 20 215.4 150 36 25 ©49.5 82
BT40-OHS25-165 25 230.4 165 51 20 15 ©49.5 82
BT40-OHS32-170 32 235.4 170 52 20 15 ©59.5 ©98
BT50-OHS16-165 16 266.8 165 36 25 ©49.5 82
BT50-OHS20-165 20 266.8 165 36 25 ©49.5 82
BT50-OHS25-165 25 266.8 165 52 20 15 ©59.5 ©98
BT50-OHS32-165 32 266.8 165 52 20 15 ©59.5 ©98
BT50-OHS40-165 40 266.8 165 52 25 15 ©59.5 ©98
BT50-OHS50-210 50 311.8 210 95 25 35 ©89.5 ©123

SN R Pak ) BT/OSL INTERCHANGEABLE OIL GIRCUIT TOOL HOLDER

Fitg | B85S Model d D L L1 H1 H2 S G BE KGS
BT30-0SL16-150 16 49 150 48 25 = 65 M12X1.75

BT30-0SL20-150 20 49 150 50 25 - 65 M12X1.75

BT30-0SL25-150 25 49 150 56 15 20 65 M16X2.0

BT30-0SL32-150 32 49 150 60 15 20 65 M12X1.75

BT40-0SL16-150 16 49 150 48 25 = 65 M12X1.75 4.3 ,{//
BT40-0SL20-150 20 49 150 50 25 - 65 M12X1.75 4.2 @, .
BT40-0SL25-165 25 49 150 56 15 20 65 M16X2.0 4.1
BT40-0SL32-165 32 59 165 60 15 20 65 M16X2.0 5.6 ¢ ‘2
BT50-0SL16-165 16 59 165 48 25 - 80 M12X1.75 8.2 o
BT50-0SL20-165 20 59 165 50 25 - 80 M12X1.75 8.1 6'
BT50-0SL25-165 25 59 165 56 15 20 80 M16X2.0 7.9 7] o
BT50-0SL32-165 32 59 165 60 15 20 80 M16X%2.0 7.7 1 &
BT50-0SL40-165 40 59 165 70 15 25 80 M14X2.0 7.5

¢ oo I



=TI RS
SIS TG ST Pl ) BT/OSER INTERCHANGEABLE OIL GIRCUIT TOOL HOLDER

g | B1S Model RiFCE D D1 D2 L S E= KGS
BT30-OSER16-130 $2-¢10 39.5 28 66 130 50
BT30-OSER20-130 $2-¢13 39.5 34 66 130 50
BT30-OSER25-130 $3-916 39.5 42 66 130 50 3.5
BT30-OSER32-130 $3-$20 40 50 66 130 50 3.8
BT40-OSER25-165 d4-916 42 42 82 165 65 4
BT40-OSER32-165 $4-$20 49.5 50 82 165 65 4
BT40-OSER40-165 d4-$26 50 63 82 165 65 4.1
BT50-OSER25-170 ¢4-916 42 42 98 170 80 7.1
BT50-OSER32-170 $4-$20 50 50 98 170 80 7.3
BT50-OSER40-170 d4-$26 59 63 98 170 80 7.2
reys
ST-18 FE (iR ST-18 FIXED BLOCK
20°
OIL INJECTION HOLE J T_\/
D
5|3 o
allaila) ) =T s
NAINZIS G @ -
-
C _
BT R TR MR Sk PT3/8-19
145 / 'S Mode D L L1 L2 L3 L4 C EE KGS
ST-18 18 27 9 181 | 17.2 18 46.2 0.29
-~
RO R M INES Bz gk k=35 BT/0SL STAIGHT SLEEVE v
\\\\‘.:}. % - T T T - . - T - jn
% oy
= =
'(2 JJ L2
w il L
g | B1S Mode d2-d1 D L L1 L2 |EE KGS | #Mig/BS Mode d2-d1 D L L1 L2 |EE KGS
OSL-20-16 30 54 48 5.5 0.07 OSL-40-16 50 74 48 5.5 0.57
OSL-25-16 35 60 48 5.5 0.19 OSL-40-20 50 74 50 5.5 0.54
OSL-25-20 35 60 50 5.5 0.15 OSL-40-25 50 74 56 5.5 0.47
OSL-32-16 42 64 48 5.5 0.35 OSL-40-32 50 74 60 5.5 0.30
OSL-32-20 42 64 50 5.5 0.32
OSL-32-25 42 64 56 5.5 0.22

S



ISO-ER &3 711 ISO-ER HIGH SPEED CHUCK

i~

#28k: 5um  RUN-OUT:5um
ZhF®% (BALANCING):G2.5 30000RPM

L .y
5!}

# #& Model L1 D J4%5EE d Range EE KGS
1SO30-ER25-60 60 40 42 1-16mm
1SO30-ER32-50 50 30 50 1-20mm

L1

L2

-D1

#1 % Model L L1 L2 L3 D1 M J2i5EE d Range | E& KGS
1SO30-ER16-60MS 108.4 60 38 22 22 M19*1.0P 1.0-10.0
1SO30-ER20-60MS 108.4 60 38 22 22 M24*1.0P 1.0-13.0

T=S5485RKRTIE BT THREE-POINT COMBINED TOOL CALIBRATOR

L1
L
) L2 ‘
1§ / 25 Model D D1 D2 L L1 L2
BT30-ATC 31.75 46 16 49.4 21 110
BT40-ATC 44.45 63 20 66.4 26 135
BT50-ATC 69.85 100 25 103.3 36.5 145

=



S e WAL ERT
TOOL SYSTEMS TRANSFORMATION SET

BT. NO

FIG. 1N E1RETHY

BT. NO

af= A

/7 4> 1)

— FIG. 2fmichrsT &Y
##& | 1S Model BT.NO | bt.no d1 d2 D D1 L L1 G FIG
BT60-BT50-58( MNH<HIETR! ) BT60 | BT50 | 69.85 135 155 | 107.95| 220 58 M24 2
BT60-BT50-58( EIB§TH! ) BT60 | BT50 | 69.85 135 155 | 107.95 | 220 58 M24 1
BT50-BT40-45 (MN{<hisTR!) BT50 | BT40 | 44.45 90 100 69.85 150 45 M16 2
BT50-BT40-45 (RE12§THY) BT50 | BT40 | 44.45 90 100 | 69.85 150 45 M16 1
BT50-BT30-45 (REi25TH) BT50 | BT30 | 31.75 75 100 | 69.85 150 45 M12 1
BT40-BT30-36 (REIBFIRY) BT40 | BT30 | 31.75 62 63 44.45 102 36 M12 1
##& [ 1S Model SK.NO | sk.no d1 d2 D D1 L L1 G FIG
SK60-BT50-58( MMH<HIETR ) SK60 | BT50 | 69.85 135 155 | 107.95 | 220 58 M24 2
SK60-BT50-58( AEIBETR! ) SK60 | BT50 | 69.85 | 135 155 | 107.95 | 220 58 M24 1
SK50-BT40-45 (BNH<HIsTRY) SK50 | BT40 | 44.45 90 97.5 | 69.85 | 150 45 M16 2
SK50-BT40-45 (REIBTH!) SK50 | BT40 | 44.45 90 97.5 | 69.85 150 45 M16 1

8

o
g % / RS Model BT.NO bt.no D D1 d1 L L1 G K
S 7 BT40-BT40-80 BT40 BT40 68 44.45 44.45 145.4 80L M16*2.0P | 8
C BT40-BT40-120 BT40 BT40 68 44.45 44.45 185.4 120L M16*2.1P | 8
@ BT40-BT40-150 BT40 BT40 68 44.45 44.45 215.4 150L M16*2.2P | 8
BT40-BT40-200 BT40 BT40 68 44.45 44.45 265.4 200L M16*2.3P | 8
BT50-BT50-120 BT50 BT50 103 69.85 69.85 221.8 120L M24*3.0p | 12
BT50-BT50-150 BT50 BT50 103 69.85 69.85 251.8 150L M24*3.0P | 12
BT50-BT50-200 BT50 BT50 103 69.85 69.85 301.8 200L M24*3.0P | 12
BT50-BT50-250 BT50 BT50 103 69.85 69.85 351.8 250L M24*3.0p | 12
BT50-BT50-300 BT50 BT50 103 69.85 69.85 401.8 300L M24*3.0p | 12
BT50-BT50-350 BT50 BT50 103 69.85 69.85 451.8 350L M24*3.0p | 12

S



Uf iroppdiiaoit=s | BT BORING MACHINE QUICK CHANGE CONVERSION SLEEVE

L1
L4
L5
N | . . ™M
I
2
o ComZd |
}ig | B1S Model A B D1 D2 D3 L1 L2 L3 L4 L5
BT50-BT50 R BT50 BT50 69.85 100 130 218.8 104.8 42 72 60
BT50-BT40 {Rif BT50 BT40 69.85 100 92 231.8 104.8 42 85 56
BT60-BT40 R BT60 BT40 107.95 155 92 294.8 164.8 45 85 56
BT60-BT50 fRif BT60 BT50 107.95 155 130 300.8 164.8 45 91 60
SK60-BT50 {Rift SK60 BT50 107.95 155 130 271.9 165 15.9 91 60
VW s sTip e s 0 NT BORING MACHINE QUICK CHANGE CONVERSION SLEEVE

L1

g | B4S Model A B D1 D2 D3 L1 L2 L3 L4 L5 L6
NT50-BT50 R NT50 BT50 69.85 97.5 130 221 130 60 25
NT50-BT40 i NT50 BT40 69.85 97.5 92 215 130 12 73 56 25
1T i ro i MORSE BORING MACHINE QUICK CHANGE CONVERSION SLEEVE
L1
L2 L4
L3
A A Lé
[0 N ¥4
i - = s M
[=)

H gf %

r

) | BB

i
g | S Model A B D1 D2 L1 L2 L3 L4 L5 L6 H
MT5-BT40 {Rift MT5 BT40 44.399 92 241 156 149.5 56 35 40 13
MT6-BT40 {Rift MT6 BT40 63.348 92 303 218 210 56 45 40 17
MT6-BT50 {Rift MT6 BT50 63.348 130 347 218 210 62 45 40 17
2%l 80-BT40 fRif 2% 80 BT40 80 92 313 228 220 56 53 45 20
2 80-BT50 1Rik 2% 80 BT50 80 130 307 228 220 62 53 45 20

o7



BIETITR RS
BT40-HSK CONVERSION SLEEVE (BUILT—IN SCREW)

FIG. 1

MAS. BT

D
!

-2
AE_*\,
d

L3

M18%*1

L1

L _P.129 ]
¥it& Model L L1 L2 L3 T D D1 FIG BEE KGS
BT40-HSK63C-60S 125.4 60 33 27 M18*1 63 63 1
BT40-HSK50C-30S 95.4 30 3 27 M16*1 63 50 2
BT40-HSK40C-30S 95.4 30 3 27 M12*1 63 40 2
BT40-HSK32C-30S 95.4 30 3 27 M10*1 63 32 2

BT40 - HSK - 63C- 60 -

0
=
(o]
-
o
o
-
(7]

S

sutinscrew
Length(L1)

»(# 0 % I ] Collect model
»(1h 8 £ 5 ) Holder type
m Taper size




SN S (12O B BT50-HSK CONVERSION SLEEVE (BUILT—IN SCREW)

FIG.1 D

MAS. BT 3 Z

M24%1.5

D1|

L3 - L2
L1
L
D
FIG. 2
MAS. BT
M20%*1.5
F [ ] \
| J‘*;i,Ji,i,E
L3 |2
L1
L
FI6.3 D)
MAS. BT
I 25 i o P e B
13 L2
L L1
& Model L L1 L2 L3 T D D1 FIG EE KGS
BT50-HSK100C-95S 196.8 95 57 38 M24*1.5 100 100 1
BT50-HSK80C-50S 151.8 50 12 38 M20*1.5 100 80 2
BT50-HSK63C-40S 141.8 40 2 38 M18*1 100 63 3
BT50-HSK50C-40S 141.8 40 2 38 M16*1 100 50 3
BT50-HSK40C-40S 141.8 40 2 38 M12*1 100 40 3
BT50-HSK32C-40S 141.8 40 2 38 M10*1 100 32 3

BT50 - HSK - 100C- 95 - S

Built-in screw

Length(L1)
»(# 0O X 4 ) collect model
»(1 8 K 5 ) Holder type
=@] Taper size

¢ o I



BIETITR RS
BT CONVERSION SLEEVE (CLAMPING CARTRIDGES)

FIG. 1 D

D2
D1

L3 L2
L1
L
FIG. 2 :
MAS. BT
(1) D ) I s 1722 o=
[=] )
\ {
L2
S
L
G L L1 L2 L3 D D1 D2 FIG

BT30-HSK32C-40C 88.4 40 18 22 46 37 32 2
BT30-HSK40C-40C 88.4 40 18 22 46 45 40 1
BT40-HSK32C-40C 105.4 40 13 27 63 37 32 2
BT40-HSK40C-40C 105.4 40 13 27 63 45 40 2
BT40-HSK50C-50C 115.4 50 23 27 63 55 50 2
BT40-HSK63C-70C 135.4 70 43 27 63 70 63 1
BT50-HSK32C-50C 151.8 50 12 38 100 37 32 2
BT50-HSK40C-50C 151.8 50 12 38 100 45 40 2
BT50-HSK50C-60C 161.8 60 22 38 100 55 50 2
BT50-HSK63C-60C 161.8 60 22 38 100 70 63 2
BT50-HSK80C-60C 161.8 60 22 38 100 87 80 2
BT50-HSK100C-90C 191.8 90 52 38 100 110 100 1

o

BT30- HSK - 32C- 40 - C

@

Clamping cartridges
Length(L1)
=@) Collect model
=(@ Holder type
:m Taper size

%
=
7
A

0
=
(o]
-
o
o
-
(7]

e



